1922-1923.

NEW ZEALAND.

### APPROPRIATIONS

CHARGEABLE ON

# THE CONSOLIDATED FUND

AND

#### OTHER ACCOUNTS

FOR THE YEAR ENDING 31st MARCH, 1923.

• 

# INDEX.

### 1922-1923.

			Page	3.6		Page
Accident Insurance Account		• •	230	Mental Hospitals		117
Advances to Local Authorities B	rancn	• •	001	Mercantile Marine, Superintendents of	• •	
Advances to Settlers Branch	• •	• •		Messengers, Office-keepers, and Charwomen	• •	98
Advances to Settlers Branch Advances to Workers Branch Agriculture Audit Department Aviation	• •	• •	A 197.03	Meteorological Office Mines Department Mines: Miscellaneous Services Ministers' Secretaries	• •	152
Agriculture	• •	. ••	172	Mines Department	• •	91 98
Audit Department	• •	• • •	110 141	Ministers' Secretaries	• •	98
Aviation	••	• •	191	Museum	• •	103
<b>.</b>			<b>.</b>	Museum	• •	100
Bankruptey Bellamy's	• •	• •	75	Mina-llenana Campiana		
	• •	• •	34	Miscellaneous Services—		3.45
Control Mattella In Dations				Customs	• •	$\frac{145}{199}$
Carriage of Mails by Kallway	••	• •	57 101	Education Internal Affairs	• •	105
Child Waltane	• •	• •	194	Tugtion	• •	76
Civil Liet	••	• •	6	Lands and Survey		165
Clork of Eventive Council	••	••	98	Marine		156
Conveyance of Inland Mails	••	• • •	56	Mines		
Conveyance of Ocean Mails	••	• • •	55	Native		65
Cook Islands	••	• • •	68	Native		87
Carriage of Mails by Railway Census and Statistics Child Welfare Civil List Clerk of Executive Council Conveyance of Inland Mails Conveyance of Ocean Mails Cook Islands Coroners Criminal Prosecutions Crown Law Office Customs Offices and Services Customs: Miscellaneous	•••	• •	75	Miscellaneous Services— Customs Education Internal Affairs	• •	57
Criminal Prosecutions	• • • • • • • • • • • • • • • • • • • •	• •	79	Treasury		37
Crown Law Office	••		83			
Customs Offices and Services			143	37 () 3 75 ( ) 3 75 ( ) 3 75 ( ) 5 75 ( )	1)e.	
Customs; Miscellaneous			145	nartment	20-	45
			,	National Provident and Friendly Societies partment Native Department Native Trustee's Account Native Land Settlement Account Native Land Purchase Expenses Native Schools Native: Miscellaneous Services Nauru and Ocean Islands Account Naval Defence	••	64
Defence Department			132	Native Trustee's Account	• •	
Discharged Soldiers Settlement	Account	• •		Native Land Settlement Account	• • •	
Dominion Laboratory	• •		104	Native Land Purchase Expenses		215
				Native Schools		190
Education Department: Head C Education: Miscellaneous Servi Education of the Blind Electoral Elementary Education External Affairs	Office		185	Native: Miscellaneous Services		65
Education: Miscellaneous Servi	ces		199	Nauru and Ocean Islands Account Naval Defence Non-Effective Services—Defence		211
Education of the Blind	• •	• •	192	Naval Defence		<b>12</b> 9
Electoral	• •	• •	170	Non-Effective Services—Defence		142
Elementary Education	••	• •	187	•		
External Affairs	••	• •	66	Patent Office		74
			1	Pensions Department	٠.	88
Fishing Industry Promotion Acc		• •	218	Permanent Charges		7
Forestry Friendly Societies Department	••	• •	201	Physical Instruction		191
Friendly Societies Department	••	• •	45	Police		85
General Assembly Library			33.	Police: Miscellaneou Services Post and Telegraph working-expenses Post and Telegraph Salaries Post and Telegraph: Miscellaneous Services Post and Stationers		87
General Expenses, Legislative D	langetmante	• •	35	Post and Telegraph working-expenses		52
Geological Survey Branch of t			50	Post and Telegraph Salaries	٠.	52
ment	me mines i	opart-	92	Post and Telegraph: Miscellaneous Services	• •	57
Government Accident Insurance	Account	• • • • • • • • • • • • • • • • • • • •	230	Printing and Stationery Prisons Protection of Fish and Oysters	• •	114
Government Domains		• • • • • • • • • • • • • • • • • • • •	0.0	Prisons	٠.	79
Government Insurance Account	• • •	• • •	228	Dublic Duilling Description of Maintenant	٠.	155
Government Insurance Account Government Steamers	•••		155	Public Buildings, Domains, and Maintenance		61
		• •		Roads Public Service Commissioner's Office	• •	61
Hansard			34	Public Service Commissioner's Office Public Service Superannuation Fund Account	• •	$\frac{112}{233}$
Health Department			122	Public Trustee's Account		223
High Commissioner's Office	••		102	I ubite I tustee's Account	• •	420
Hansard Health Department High Commissioner's Office House of Representatives			32	Beilmann Demanters of		
Housing Account	• •		216	Railways Department Rates on Crown Lands	• •	47
			!	T 4 . 37 / F 3	• •	38
Industries and Commerce	• •		70	Desire a la com	• •	$\frac{38}{100}$
Tulou J Domonano		• •		Repatriation		
Inland Revenue	• •	•••	39			
Inspection of Machinery		••	154	Diffe Clube	••	
Inspection of Machinery Insurance, Government Life Ac	count		154 228	Rifle Clubs		
Inspection of Machinery Insurance, Government Life Actionsurance, Government Acciden	count it Account	••	154 228 230	Rifle Clubs		142
Inspection of Machinery Insurance, Government Life Accident Insurance, Government Accident Insurance, State Fire Account	count nt Account	••	154 228 230 231	Rifle Clubs Scenery Preservation Account	••	142 209
Inspection of Machinery Insurance, Government Life Ac- Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund	count it Account	••	154 228 230 231 7	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites		142 209 191
Inspection of Machinery Insurance, Government Life Ac- Insurance, Government Aciden Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department	count nt Account 		154 228 230 231 7 95	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf		209 191 192
Inspection of Machinery Insurance, Government Life Ac- Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund	count nt Account 	••	154 228 230 231 7	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded		209 191 192 193
Inspection of Machinery Insurance, Government Life Act Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous	count nt Account 		154 228 230 231 7 95 105	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education		209 191 192 193 188
Inspection of Machinery Insurance, Government Life Ac Insurance, Government Acciden Insurance, State Fire Account Interest and Sinking Fund. Internal Affairs Department Internal Affairs: Miscellaneous Justice Department	count it Account Services		154 228 230 231 7 95 105	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature		209 191 192 193 188 27
Inspection of Machinery Insurance, Government Life Act Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous	count it Account Services		154 228 230 231 7 95 105	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department		209 191 192 193 188 27
Inspection of Machinery Insurance, Government Life Ac- Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous Justice Department Justice: Miscellaneous Services	count it Account Services		154 228 230 231 7 95 105	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account		209 191 192 193 188 27 41 234
Inspection of Machinery Insurance, Government Life Act Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services Labour Department	count it Account Services		154 228 230 231 7 95 105 78 76	Rifie Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account		209 191 192 193 188 27 41 234 207
Inspection of Machinery Insurance, Government Life Ac- Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund. Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry.	count nt Account Services		154 228 230 231 7 95 105 78 76	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites Schools for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account		209 191 192 193 188 27 41 234 207 231
Inspection of Machinery Insurance, Government Life Act Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services Labour Department	count nt Account Services		154 228 230 231 7 95 105 78 76	Rifie Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary		209 191 192 193 188 27 41 234 207 231 201
Inspection of Machinery Insurance, Government Life Ac- Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry Land and Income Tax Department	count nt Account Services		154 228 230 231 7 95 105 78 76 158 42 39	Rifie Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Forests Account State Forests Account		209 191 192 193 188 27 41 234 207 231 201
Inspection of Machinery Insurance, Government Life Ac- Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry Land and Income Tax Departm Land for Settlements Account	count int Account Services count (Disch		154 228 230 231 7 95 105 78 76 158 42 39	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites Schools for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Courts		209 191 192 193 188 27 41 234 207 231 201
Inspection of Machinery Insurance, Government Life Ac Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry Land and Income Tax Departm Land for Settlements Account Land for Settlements Account Lands and Survey Department	count nt Account Services ount (Disch	   	154 228 230 231 7 95 105 78 76 158 42 39 212	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites Schools for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction		222 142 209 191 192 193 188 27 41 234 207 231 201 4 77
Inspection of Machinery Insurance, Government Life Ac Insurance, Government Life Ac Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry Land and Income Tax Departm Land for Settlements Account Land for Settlements Account Lands and Survey Department Lands and Survey Department Lands and Survey: Miscellaneo	count nt Account Services ount (Disch		154 228 230 231 7 95 105 78 76 158 42 39 212 214 161 165	Rifie Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction Tourists		209 191 192 193 188 27 41 234 207 231 201 4 77
Inspection of Machinery Insurance, Government Life Actinsurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry Land and Income Tax Departm Land for Settlements Account Land for Settlement Account Lands and Survey Department Lands and Survey: Miscellaneo Law Drafting Office	count nt Account Services ount (Disch	oarged	154 228 230 231 7 95 105 78 76 158 42 39 212 214 161 165 33	Rifie Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction Tourists Training of Teachers		209 191 192 193 188 277 41 234 207 231 201 4 77
Inspection of Machinery Insurance, Government Life Ac Insurance, Government Acciden Insurance, State Fire Account Interest and Sinking Fund. Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry  Land and Income Tax Departm Land for Settlements Account Land for Settlements Account Lands and Survey Department Lands and Survey: Miscellaneo Law Drafting Office Legislative Council	count int Account Services ount (Disch	onarged	154 228 230 231 7 95 105 78 76 158 42 39 212 214 161 165 33 32	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction Tourists Training of Teachers Treasury Department		209 191 192 193 188 27 41 234 207 231 201 47 77 189 181 190 36
Inspection of Machinery Insurance, Government Life Actinsurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry Land and Income Tax Departm Land for Settlements Account Land for Settlement Account Lands and Survey Department Lands and Survey: Miscellaneo Law Drafting Office	count nt Account Services ount (Disch	oarged	154 228 230 231 7 95 105 78 76 158 42 39 212 214 161 165 33	Rifie Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction Tourists Training of Teachers		209 191 192 193 188 277 41 234 207 231 201 4 77
Inspection of Machinery Insurance, Government Life Ac Insurance, Government Life Ac Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry  Land and Income Tax Departm Land for Settlements Account Land for Settlements Account Land for Settlement Account Lands and Survey Department Lands and Survey: Miscellaneo Law Drafting Office  Legislative Council Legislative: General Expenses	count nt Account Services count (Disch) ount (Disch) ous Services	anarged	154 228 230 231 7 95 105 78 76 158 42 39 212 214 161 165 33 32 35	Rifie Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction Tourists Training of Teachers Treasury Department Treasury: Miscellaneous		209 191 192 193 188 27 41 234 207 231 201 47 77 189 181 190 36
Inspection of Machinery Insurance, Government Life Act Insurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund. Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry Land and Income Tax Departm Land for Settlements Account Land for Settlements Account Lands and Survey Department Lands and Survey: Miscellaneo Law Drafting Office Legislative Council Legislative: General Expenses  Magistrates' and Wardens' Cour	count nt Account Services nent count (Disch	narged	154 228 280 231 7 95 105 78 76 158 42 39 212 214 161 165 33 32 35 77	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction Tourists Training of Teachers Trassury Department		209 191 192 193 188 27 41 234 207 231 201 47 77 189 181 190 36
Inspection of Machinery Insurance, Government Life Ac Insurance, Government Acciden Insurance, State Fire Account Interest and Sinking Fund. Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry Land and Income Tax Departm Land for Settlements Account Land for Settlements Account Lands and Survey Department Lands and Survey Department Lands and Survey: Miscellaneo Law Drafting Office Legislative Council Legislative: General Expenses  Magistrates' and Wardens' Cour Maintenance and Improvement	count int Account Services count (Disch ) count (Disch ) count services count coun		154 228 230 231 7 95 105 76 158 42 39 212 214 161 165 33 32 35 77 63	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction Tourists Training of Teachers Treasury Department Treasury: Miscellaneous  Valuation		209 191 192 193 188 27 41 234 207 231 201 47 77 189 181 190 36 37
Inspection of Machinery Insurance, Government Life Ac Insurance, Government Acciden Insurance, State Fire Account Interest and Sinking Fund. Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry  Land and Income Tax Departm Land for Settlements Account Land for Settlements Account Lands and Survey Department Lands and Survey: Miscellaneo Law Drafting Office Legislative Council Legislative: General Expenses  Magistrates' and Wardens' Cour Maintenance and Improvement Maintenance of Irrigation Work	count int Account Services count (Disch ) .		154 228 230 231 7 95 105 73 76 158 42 39 212 214 161 165 33 32 35 77 76 63 63	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction Tourists Training of Teachers Treasury Department Treasury: Miscellaneous  Valuation  Wardens' Courts		209 191 192 193 188 277 41 234 207 231 201 477 189 181 190 36 37
Inspection of Machinery Insurance, Government Life Actinsurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Land for Settlements Account Lands and Survey Department Lands and Survey: Miscellaneo Law Dratting Office Legislative: General Expenses  Magistrates' and Wardens' Cour Maintenance and Improvement Maintenance of Irrigation Work Maintenance of Telegraph and I	count it Account Services count (Disch count	nes	154 228 230 231 7 95 105 78 76 158 42 39 212 214 161 165 33 35 57	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction Tourists Training of Teachers Treasury Department Treasury: Miscellaneous  Valuation  Wardens' Courts War Expenses Account		209 191 192 193 188 27 41 234 207 231 201 4 77 189 36 37
Inspection of Machinery Insurance, Government Life Actinsurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund. Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry Land and Income Tax Department and for Settlements Account Land for Settlements Account Lands and Survey Department Lands and Survey: Miscellaneo Law Drafting Office Legislative Council Legislative: General Expenses  Magistrates' and Wardens' Count Maintenance and Improvement Maintenance of Irrigation Work Maintenance of Telegraph and I Marine, Harbours, and Inspecti	count int Account int Account int Account int Account int Account interest interest interest interest into a count interest interest interest interest into a count interest i	ness.	154 228 280 231 7 95 105 78 76 158 42 39 212 214 161 165 33 32 35 77 63 63 63 65 77	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Fore Insurance Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction Tourists Training of Teachers Treasury Department Treasury: Miscellaneous  Valuation  Wardens' Courts  War Expenses Account Weather Reporting Office		209 191 192 193 188 27 41 201 234 47 77 189 181 190 36 37
Inspection of Machinery Insurance, Government Life Actinsurance, Government Accident Insurance, State Fire Account Interest and Sinking Fund Internal Affairs Department Internal Affairs: Miscellaneous  Justice Department Justice: Miscellaneous Services  Labour Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Land for Settlements Account Lands and Survey Department Lands and Survey: Miscellaneo Law Dratting Office Legislative: General Expenses  Magistrates' and Wardens' Cour Maintenance and Improvement Maintenance of Irrigation Work Maintenance of Telegraph and I	count int Account Services	nes	154 228 230 231 7 95 105 78 76 158 42 39 212 214 161 165 33 35 57	Rifle Clubs  Scenery Preservation Account School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary and Higher Education Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Courts  Technical Instruction Tourists Training of Teachers Treasury Department Treasury: Miscellaneous  Valuation  Wardens' Courts War Expenses Account		209 191 192 193 188 27 41 234 207 231 201 4 77 189 181 190 36

### $\label{lem:appropriations} \textit{Appropriations for Consolidated Fund Services}.$

### 1922-1923.

### SUMMARY.

Page.	Summary of Services chargeable on the Con- solidated Fund and other Accounts	1922	-23.
	solidated fully and other Accounts	'	_
ļ	REVENUE ACCOUNT.	£	£
6	PERMANENT APPROPRIATIONS—	00.001	'5
7	Civil List Interest and Sinking Fund		
$2\dot{7}$	Under Special Acts of the Legislature		
ļ	•		
-	Annual Appropriations—	12,958,434	
32	Vote, Legislative Departments	69,382	
36	" Treasury Department	32,104	
39	" Land and Income Tax Department	65,770	
41	" Stamp Duties Department	84,847	
45	" National Provident and Friendly Societies		
	Department	22,485	
47	,, Working Railways Department	6,165,921	
52	,, Post and Telegraph Working Expenses	2,382,037	
61	" Public Buildings	103,158	
63	,, Domains	4,815	
63	,, Maintenance and Improvement of Roads	59,468	
63 64	,, Maintenance of Irrigation Works	2,250	
66	,, Native Department	28,504	
68	,, Department of External Affairs	18,756	
70	,, Cook Islands ,, Department of Industries and Commerce	$\begin{bmatrix} 22,837 \\ 48,150 \end{bmatrix}$	
73	TO TO A P. T. C. A. P.	$48,150 \\ 41,963$	
77	Supreme and Magistrates' Courts	91,127	
79	Prisons Danartment	78,324	
83	Crown Law Office	6,027	
85	Police Department	405,260	
88	Pansions Danartment	127,496	
91	,, Mines Department	36,220	
95	" Department of Internal Affairs	363,580	
110	,, Audit Department	24,893	
112	" Public Service Commissioner's Office	8,312	
114	,, Printing and Stationery	220,094	
117	,, Mental Hospitals	305,558	
122	" Health Department	<b>238</b> , 236	
129	" Naval Defence	257,350	
132	" Defence Department	328,630	
143	,, Customs Department	111,627	
148	,, Marine Department	132,290	
158	,, Department of Labour	39,803	
161	,, Department of Lands and Survey	205,442	
168	,, Valuation Department	42,353	
170	,, Electoral Department	84,658	
172	,, Department of Agriculture	251,811	
$\begin{array}{c} 181 \\ 185 \end{array}$	" Tourist Department	$\begin{bmatrix} 74,229 \\ 2,571,505 \end{bmatrix}$	
100	,, Education Department	2,011,000	
		15,157,272	
	TOTAL—REVENUE ACCOUNT		28,115,706
	•		
	•		
1			28,115,706
ļ	For comparison with last year's expenditure, de-	•••	208,125
	duct Printing and Stationery Office receipts,		
	now credited to "Revenue"		27,907,581
1			l————

#### SUMMARY—continued.

Page.			
- age.		1922 - 9	23.
1	Summary of Services chargeable on the Consolidated Fund and other Accounts—contd.	!	
		£	£
	OTHER ACCOUNTS.		
201	STATE FORESTS ACCOUNT	107,360	
207	STATE COAL-MINES ACCOUNT	270,304	
209	SCENERY PRESERVATION ACCOUNT	11,141	
211	NAURU AND OCEAN ISLANDS ACCOUNT	175,000	
212	LAND FOR SETTLEMENTS ACCOUNT	5,258	
214	LAND FOR SETTLEMENTS ACCOUNT (DIS-	·	
	CHARGED SOLDIERS SETTLEMENT		
	ACCOUNT)	5,123	
215	NATIVE LAND SETTLEMENT ACCOUNT	8,688	
216	HOUSING ACCOUNT	151,237	
218	DISCHARGED SOLDIERS SETTLEMENT	44 000	
0-0	ACCOUNT	44,000	
218	FISHING INDUSTRY PROMOTION ACCOUNT	10,113	
219	WINDOW ITADDOLLD ACCOUNT	23,925	
219 220	WAD EXPENSES ACCOUNT	768,652	
220 223	DIDLIC addicaments a cooling	187,397	
426 226	MADINE UDITORIENO ACCOUNT	7,397	
220 228	GOVERNMENT INSURANCE ACCOUNT	103,518	
230 230	GOVERNMENT ACCIDENT INSURANCE	100,010	
400	ACCOUNT	10,975	
231	STATE FIRE INSURANCE ACCOUNT	75,793	
233	PUBLIC SERVICE SUPERANNUATION	,	
_00	FUND ACCOUNT	6,146	•
	STATE ADVANCES ACCOUNT—	·	
234	Advances to Settlers Branch	392,403	
236	Advances to Workers Branch	105,926	
237	Advances to Local Authorities Branch	104,548	

#### 1922-1923.

### CIVIL LIST

	1922–23.		
	Salaries.	Other Charges.	Total.
	£	£	£
His Excellency the Governor-General	5 ,000	2,500	7,500
Establishment of the General Government	13,331	2,000	15,331
For Native Purposes	····	7,000	7,000
TOTAL—CIVIL LIST	18,331	11,500	29,831
TOTAL CIVIL LIST	••••	****	£29,831

#### PERMANENT CHARGES.

. INTEREST AND SINKING FUND.		1922–23.
New Zealand Loans Act, 1908— Aid to Public Works and Land Settlement Act, 1896— Interest on £175,000 @ 4½ per cent., 1 February and 1 August	£ 7,875	£
Interest on 25,000 ,, 6 per cent., 1 February and 1 August	1,500	9,375
Aid to Public Works and Land Settlement Act, 1900— Interest on £1,000 @ 4 per cent., 1 May and 1 November Interest on 94,600 ,, 4½ per cent., 1 May and 1 November Interest on 600 ,, 5½ per cent., 1 January and 1 July	40 4,257 33	4 990
£96,200		4,330
Aid to Public Works and Land Settlement Act, 1900, and Finance Act, 1915 (Section 106)— Interest on £55,400 @ 4½ per cent., 1 May and 1 November	•••	2,493
Aid to Public Works and Land Settlement Act, 1901— Interest on £61,600 @ 4 per cent., 1 June and 1 December Interest on 10,000 ,, $4\frac{1}{2}$ per cent., 1 June and 1 December Interest on 32,900 ,, $4\frac{1}{2}$ per cent., 1 January and 1 July	2,464 450 1,481	4 905
£104,500		4,395
Aid to Public Works and Land Settlement Act, 1901, and Finance Act, 1915 (Section 106)— Interest on £1,800 @ 4½ per cent., 1 June and 1 December		. 81
Aid to Public Works and Land Settlement Act, 1902— Interest on £203,100 @ 4 per cent., 1 June and 1 December Interest on 14,900 ,, 4½ per cent., 1 June and 1 December	$8,124 \\ 671$	0.705
£218,000		8,795
Aid to Public Works and Land Settlement Act, 1902, and Finance Act, 1915 (Section 106)— Interest on £249,800 @ 4½ per cent., 1 June and 1 December		11,241
Aid to Public Works and Land Settlement Act, 1903— Interest on £2,500 @ 4 per cent., 1 January and 1 July Interest on 300 ,, 6 per cent., 1 January and 1 July Interest on 225,615 ,, 4½ per cent., 1 January and 1 July Interest on 12,595 ,, 4½ per cent., 152 days to 1 July and	100 18 10,153	
Interest on 16,500 ,, $5\frac{1}{2}$ per cent., 1 January and 1 July  Interest on 283,600 ,, 4 per cent., 1 February and 1 August Interest on 25,100 ,, $4\frac{1}{2}$ per cent., 1 February and 1 August	908 11,344 1,130	94 179
£566,210  Aid to Public Works and Land Settlement Act, 1903, and Finance Act, 1915 (Section 106)— Interest on £23,350 @ 4½ per cent., 1 January and 1 July	1,051	24,172
Interest on $191,200$ ,, $4\frac{1}{2}$ per cent., 1 February and 1 August $214,550$	8,604	9,655
Aid to Public Works and Land Settlement Act, 1904— Interest on £565,500 @ 4 per cent., 1 February and 1 August		22,620

INTEREST AND SINKING FUND-continued.		1922-23.
New Zealand Loans Act, 1908—continued.  Aid to Public Works and Land Settlement Act, 1905— Interest on £156,000 @ 4½ per cent., 1 January and 1 July Interest on 53,500 ,, 5½ per cent., 1 January and 1 July	£ 7,020 2,943	£
£209,500		9,963
Aid to Public Works and Land Settlement Act, 1905, and Finance Act, 1915 (Section 106)—		
Interest on £500,500 @ $4\frac{1}{2}$ per cent., 1 January and 1 July	•••	22,523
Aid to Public Works and Land Settlement Act, 1906— Interest on £79,100 @ 4 per cent., 1 January and 1 July Interest on 624,900 ,, 4½ per cent., 1 January and 1 July Interest on 200,000 ,, 5¼ per cent., 1 January and 1 July Interest on 26,800 ,, 6 per cent., 1 January and 1 July	3,164 28,120 10,500 1,608	43,392
£930,800		10,002
Aid to Public Works and Land Settlement Act, 1906, and Finance Act, 1915 (Section 106)— Interest on £29,100 @ 4½ per cent., 1 January and 1 July		1,309
Aid to Public Works and Land Settlement Act, 1907—		,
Interest on £500,000 @ 4 per cent., 1 January and 1 July  Interest on 220,800 ,, 4½ per cent., 1 January and 1 July  Interest on 145,500 ,, 6 per cent., 1 January and 1 July	20,000 9,936 8,730	38,666
£866,300		50,000
Aid to Public Works and Land Settlement Act, 1907, and Finance Act, 1915 (Section 106)— Interest on £122,500 @ 4½ per cent., 1 January and 1 July		5,513
Aid to Public Works and Land Settlement Act, 1908— Interest on £50,000 @ 4½ per cent., 1 April and 1 October	•••	2,250
Aid to Public Works and Land Settlement Act, 1910— Interest on £191,010 @ 4½ per cent., 1 June and 1 December		8,595
Aid to Public Works and Land Settlement Act, 1911— Interest on £50,000 @ 4½ per cent., 1 June and 1 December Interest on 50,000,, 3½ per cent., 1 June and 1 December Interest on 49,000,, 4 per cent., 1 January and 1 July	2,250 1,750 1,960	5 960
£149,000	•	5,960
Aid to Public Works and Land Settlement Act, 1911, and		
Finance Act, 1915 (Section 106)— Interest on £25,000 @ $4\frac{1}{2}$ per cent., 1 June and 1 December		1,125
Aid to Public Works and Land Settlement Act, 1912— Interest on £186,500 @ 4½ per cent., 15 April and 15 October	•••	8,393
Aid to Public Works and Land Settlement Act, 1912, and Finance Act, 1915 (Section 106)— Interest on £19,500 @ 4½ per cent., 15 April and 15 October		877
Aid to Public Works and Land Settlement Act, 1914— Interest on	26,804 81,900 2,696 4,000	115,400
£2,650,000		110, ±00

		1922–23.
· INTEREST AND SINKING FUND—continued.		
Aid to Public Works and Land Settlement Act, 1921— Interest on £1,450,000 @ 4½ per cent., broken period to 1 June, ½-year to 1 December	£ 53,401	£
Interest on 200,000 ,, 5 per cent., $122$ days to 1 June, $\frac{1}{2}$ -year to 1 December	8,342	,
Interest on 100,000, 5 per cent., 6 February and 6 August Interest on 5,700, 5½ per cent., broken period to 1 August, ½-year to 1 February	5,000	
Interest on 207,850 ,, 6 per cent., broken period to 1 August, ½-year to 1 February	12,000	
On further issues, say	500	79,543
£1,963,550		
Aid to Water-power Works Act, 1910— Interest on £350,000 @ 4 per cent., 1 May and 1 November Interest on 119,000 ,, 4½ per cent., 1 May and 1 November On further issues, say	14,000 5,355 500	
£469,000	19,855	
Amount to be recovered from Electric Supply Account	19,855	
Appropriation Act, 1912 (Irrigation and Water-supply Account)— Interest on £15,000 @ 4 per cent., 1 May and 1 November		600
Appropriation Act, 1917 (Cold-storage Advances Account)— Interest on £93,750 @ 4 per cent., 1 March and 1 September Amount to be recovered from Cold-storage Advances Account	3,750 3,750	
Appropriation Act, 1918 (Section 33), (Waimarino Bush Fire		•••
Relief Account)— Interest on £75,000 @ 4 per cent., 1 March and 1 September Amount to be recovered from Waimarino Bush Fire	3,000	
Relief Account	3,000	•••
Coal-mines Act, 1908— Interest on £120,000 @ 4 per cent., 1 April and 1 October Interest on 30,000 ,, $4\frac{1}{2}$ per cent., 1 April and 1 October	4,800 1,350	
£150,000	6,150	
Amount to be recovered from State Coal-mines Account	6,150	
Coal-mines Act, 1908, and Appropriation Act, 1912— Interest on £25,000 @ 4 per cent., 1 April and 1 October Amount to be recovered from State Coal-mines Account	1,000 1,000	•••
Discharged Soldiers Settlement Act, 1915, and Amendment		•••
Act, 1916— Interest on £100,000 @ $4\frac{1}{2}$ per cent., 1 March and 1 September Amount to be recovered from Discharged Soldiers Settle-	4,500	
ment Account	4,500	
Discharged Soldiers Settlement Act, 1915, and Finance Act, 1917 (Section 82)—		•••
Interest on £380,000 @ 4 per cent., 1 March and 1 September Interest on £20,000 ,, $4\frac{1}{2}$ per cent., 1 March and 1 September	15,200 900	
Amount to be recovered from Discharged Soldiers Settle-	16,100	
ment Account	16,100	
2—B. 7.	,	

PERMANENT CHARGES—continued.		
INTEREST AND SINKING FUND—continued.	The second secon	1922–23.
Discharged Soldiers Settlement Loans Act, 1919 (Section 4), (Land		
for Settlements)— Interest on $£350,000$ @ 4 per cent., due 1 March and 1 September Interest on $2,380,000$ ,, $4\frac{1}{2}$ per cent., due 1 March and	£ 14,000	£
1 September Interest on 5,000 ,, 5 per cent., due 1 March and	107,100	
1 September	250	
Interest on $243,050$ ,, $4\frac{1}{2}$ per cent., due 3 March and 3 September	10,937	
£2,978,050	132,287	
Amount to be recovered from Land for Settlements Account (Discharged Soldiers)	132,287	
Discharged Soldiers Settlement Loans Act, 1920—		
Interest on £250,000 @ 4½ per cent., 1 March and 1 September Interest on 1,626,950 ,, 5½ per cent., 15 January and 15 July Interest on 38,000 ,, 6 per cent., 1 February and 1 August On further issues, say	11,250 89,482 2,280 500	·
£1,914,950	103,512	
Amount to be recovered from Discharged Soldiers Settlement Account	103,512	
District Railways Purchasing Acts, 1885–86— Interest on £40,000 @ 4 per cent. 1 January and 1 July	•••	1,600
Education Purposes Loans Act, 1919— Interest on £570,000 @ $4\frac{1}{2}$ per cent., 1 January and 1 July Interest on 60,000 ,, 5 per cent., 1 January and 1 July Interest on 600 ,, $5\frac{1}{2}$ per cent., 1 January and 1 July Interest on 5,700 ,, 6 per cent., 1 January and 1 July Interest on 40,500 ,, 6 per cent., 1 January and 1 July On further issues, say	25,650 3,000 33 342 2,430 2,000	
£676,800	<del></del>	33,45
Electric Power Works Loans Act, 1919— Interest on £56,150 @ 5 per cent., due 15 January and 15 July Amount to be recovered from the Electric Supply Account	2,808 2,808	
Finance Act, 1909 (Public Works)— Interest on £46,901 @ 4½ per cent., 1 February and 1 August	•••	2,11
Finance Act, 1915 (Section 105), (Public Works)— Interest on £1,794,400 @ $4\frac{1}{2}$ per cent., 15 June and 15 December Interest on 69,330 ,, $5\frac{1}{2}$ per cent., 15 June and 15 December	80,748 3,813	- 84,56
£1,863,730		
*Finance Act, 1915 (Section 106), (Conversions)	•••	
Finance Act, 1916 (Section 35), (War Expenses)— Interest on £194,450 @ 6 per cent., 1 Feb. and 1 Aug Interest on 140,100 ,, $4\frac{1}{2}$ per cent., for broken period Interest on 6,210,550 ,, $4\frac{1}{2}$ per cent., 1 March and 1 Sept. Interest on 6,842 ,, 5 per cent., 31 March and 30 Sept. Interest on 1,120,000 ,, 4 per cent., to 1 April and $4\frac{1}{2}$ per cent. to 1 October	11,667 1,483 279,475 342 47,600	
Interest on $100,000$ ,, $4\frac{1}{2}$ per cent., 1 April and 1 October Interest on $4,730,000$ ,, 5 per cent., 1 June and 1 Dec	4,500	
	236,500	581,56

<sup>\*</sup> Shown for year 1922–23 under separate authorizing Acts

£12,501,942

### ${\tt PERMANENT \ CHARGES--} continued.$

· · · · · · · · · · · · · · · · · · ·		1000 00
INTEREST AND SINKING FUND—continued.		1922–23.
Finance Act, 1916 (Section 35), Appropriation Act, 1917 (Section		£
27), (War Expenses)— Interest on £17,900 @ $4\frac{1}{2}$ per cent., broken period		390
Finance Act, 1916 (Section 49), (Public Works)— Interest on £700,000 @ 4 per cent., 1 February and 1 August Interest on 300,000 ,, 4½ per cent., 1 February and 1 August	£ 28,000 13,500	41,500
£1,000,000		11,000
Finance Act, 1916 (Section 50), (State Forests)— Interest on £39,000 @ 4 per cent., 1 February and 1 August Interest on 11,000 ,, 4½ per cent., 1 February and 1 August	1,560 495	
£50,000	2,055	
Amount to be recovered from State Forests Account	2,055	
Finance Act, 1917 (Section 77), (Aid to Public Works)— Interest on £850,000 @ 4 per cent., 1 February and 1 August		34,000
$\begin{array}{cccccccccccccccccccccccccccccccccccc$	60,200 1,040 54,461 26,433 354,750	400,004
£9,928,650	en e companyo na manada mahababa A	496,884
Finance Act, 1918 (No. 2), Part 4 (War Expenses)— Interest on £3,226,710 @ 4½ per cent., 20 April and 20 October		145,202
Finance Act, 1918 (No. 2), (Section 6)— Sinking Fund on War Loans @ 1 per cent		816,857
Finance Act, 1918 (No. 2), (Section 29), (Public Works)— Interest on £1,950,000 @ 4 per cent., 1 February and 1 August Interest on 550,000 ,, 4½ per cent., 1 February and 1	78,000	
£2,500,000	24,750	102,750
Finance Act, 1918 (No. 2), (Section 30), Cold-storage Advances Account—		
Interest on £27,000 @ 4 per cent., 1 March and 1 September Amount to be recovered from Cold-storage Advances	1,080	
Account	1,080	
Finance Act, 1918 (No. 2), (Section 31), (Discharged Soldiers)— Interest on £1,000,000 @ 4 per cent., 1 March and 1 September Amount to be recovered from Discharged Soldiers Settle-	40,000	
ment Account,	40,000	
Finance Act, 1918 (No. 2), (Section 32), (State Forests)— Interest on £80,000 @ 4 per cent., 1 February and 1 August Interest on 120,000 ,, 4½ per cent., 1 February and 1 August	3,200 5,400	
£200,000	8,600	
Amount to be recovered from State Forests Account	8,600	
Finance Act, 1919 (Section 5), (Public Works)— Interest on £150,000 @ 4½ per cent., 1 February and 1 August	•••	6,750

The state of the s		
INTEREST AND SINKING FUND-continued.		1922–23.
Finance Act, 1920 (Section 15), (Public Works)— Interest on £1,600,000 @ 4½ per cent., 1 June and 1 December Interest on 900,000, 5 per cent., 1 June and 1 December	£ 72,000 45,000	£
£2,500,000		117,000
Finance Act, 1920 (Section 15), (Nauru and Ocean Islands)— Interest on £600,000 @ 5 per cent., 1 June to 1 December Amount to be recovered from the Nauru and Ocean Islands Account	30,000	
Finance Act, 1921 (Section 10), (Public Works)— Interest on £250,000 @ 4½ per cent., 1 June to 1 December		 11,250
Fishing Industry Promotion Act, 1919— Interest on £5,305 @ 4½ per cent., 1 June and 1 December Interest on 270 ,, 5 per cent., 1 June and 1 December On further issues, say	237 14 100	
£5,575	351	
Amount to be recovered from Fishing Industry Promotion Account	351	
Fruit-preserving Industry Act, 1913, and Finance Act, 1917 , (Section 80)—		
Interest on £44,710 @ 4 per cent., 1 April and 1 October Interest on $24,900$ ,, $4\frac{1}{2}$ per cent., 1 April and 1 October	$1,789 \\ 1,121$	,
£69,610	2,910	
Amount to be recovered from Fruit-preserving Industry Advances Account	2,910	
Government Railways Act, 1908— Railways Improvements Authorization Acts, 1904-7— Interest on £31,300 @ 4½ per cent., 1 January and 1 July Interest on 5,300 ,, 4½ per cent., 1 February and 1 August Interest on 17,000 ,, 4 per cent., 30 June and 31 December Interest on 140,000 ,, 4½ per cent., 30 June and 31 December Interest on 35,700 ,, 6 per cent., 1 January and 1 July £229,300	1,408 239 680 6,300 2,142	10,769
Government Railways Act, 1908, Railways Improvements Author-		
ization Acts, 1904-7, and Finance Act, 1915 (Section 106)— Interest on £600 @ 4½ per cent., 1 January and 1 July Interest on 1,600 ,, 4½ per cent., 1 March and 1 September Interest on 500 ,, 4½ per cent., 30 June and 31 December	27 72 22	121
£2,700		
Government Railways Act, 1908— Finance Act, 1909— Interest on £50,000 @ 4½ per cent., 30 June and 31 December Interest on 1,400 ,, 4 per cent., 1 February and 1 August Interest on 6,500 ,, 4½ per cent., 1 February and 1 August  £57,900	2,250 56 293	2,599
Government Railways Act, 1908, Finance Act, 1909, and Finance Act, 1915 (Section 106)— Interest on £15,400 @ 4½ per cent., 1 February and 1 August Interest on 1,200 ,, 4½ per cent., 1 March and 1 September £16,600	693 54	747

	·····	
INTEREST AND SINKING FUND—continued.		1922-23.
Government Railways Amendment Act, 1910— Interest on £53,350 @ 4½ per cent., 1 February and 1 August Interest on 114,180 ,, 4 per cent., 1 January and 1 July	£ 2,401 4,567	£
£167,530		6,968
Government Railways Amendment Act, 1910, and Finance Act, 1915 (Section 106)— Interest on £2,000 @ 4½ per cent., 1 January and 1 July		90
	•••	30
*Greymouth Harbour Board Act, 1884— Interest on £100,000 @ 4 per cent., 1 September and 1 March Amount to be recovered from the Greymouth Harbour	4,000	
Board	4,000	
**Harbours Act, 1908, and Greymouth Harbour Loans Consolidation Act, 1910, and Amendment Act, 1910— Interest on £260,000 @ 4 per cent., 1 January and 1 July	10,400	,
Amount to be recovered from the Greymouth Harbour		<u> </u>
Board	10,400	
Hauraki Plains Amendment Acts, 1913 and 1914— Interest on £44,000 @ 4 per cent., 1 February and 1 August Amount to be recovered from the Hauraki Plains Settle-	1,760	
ment Account	1,760	
Hauraki Plains Amendment Act, 1913, and Appropriation Act, 1918 (Section 43)—		
Interest on £46,000 @ 4 per cent., 1 February and 1 August Interest on $34,000$ ,, $4\frac{1}{2}$ per cent., 1 February and 1 August	$1,840 \\ 1,530$	
£80,000	3,370	
Amount to be recovered from the Hauraki Plains Settlement Account	3,370	,
Hauraki Plains Amendment Act, 1913, and Appropriation Act,	*****	•••
1919 (Section 18)— Interest on £50,000 @ 4½ per cent., 1 February and 1 August Amount to be recovered from Hauraki Plains Settlement	2,250	
Account	2,250	
Hauraki Plains Amendment Act, 1913, and Finance Act, 1920 (Section 16)—		
Interest on £100,000 @ 4½ per cent, 1 February and 1 August Amount to be recovered from Hauraki Plains Settlement	4,500	
Account	4,500	
Housing Act, 1919 (Section 30), (Housing Account)— Interest on £377,400 @ 4½ per cent., 1 January and 1 July Interest on 20,000 ,, 4½ per cent., 158 days to 1 July and	16,983	
$\frac{1}{2}$ -year to 1 January Interest on 15,000 ,, $4\frac{1}{2}$ per cent., 92 days to 1 July, 1922,	840	
On further issues, say  and ½-year to 1 January, 1923	$\begin{smallmatrix} 508 \\ 5,000 \end{smallmatrix}$	
£412,400	23,331	
Amount to be recovered from Housing Account	23,331	
Housing Act, 1919 (Section 46), (Loans to Employers for Workers'		•••
Dwellings Account)— Interest on £3,975 @ $4\frac{1}{2}$ per cent., 1 January and 1 July On further issues, say	179 100	
£3,975	279	
Amount to be recovered from Loans to Employers for Workers' Dwellings Account	279	
		• • • •

<sup>\*</sup>Greymouth Harbour loans guaranteed by Government. Not included in Public Debt.

#### PERMANENT CHARGES—continued. 1922-23. INTEREST AND SINKING FUND -continued. Hutt Railway and Road Improvement Acts, 1903, 1905, 1907, and £ Interest on £102,000 @ 4 per cent., 1 May and 1 November Interest on 127,000 ,, $4\frac{1}{2}$ per cent., 1 May and 1 November Interest on 4,000 ,, $4\frac{1}{2}$ per cent., 1 January and 1 July ... Interest on 55,190 ,, $4\frac{1}{2}$ per cent., 1 February and 1 August 5,190 ,, 4 per cent., 30 June and 31 December Interest on 4,000 and 1 per cent. 4,080 5,715 180 2,484 208 Interest on 7,000,, $4\frac{1}{2}$ per cent., 152 days to 1 July and $\frac{1}{2}$ -year to 1 January ... 4,700 ,, $4\frac{1}{2}$ per cent., 117 days to 1 July and 289 Interest on ½-year to 1 January 173 Interest on 300 ,, 6 per cent., 1 January and 1 July ... 18 13,147 £305,380 Irrigation and Water-supply Act, 1913— Interest on £75,100 @ 4 per cent., 1 April and 1 October ... Interest on 24,900 ,, 4½ per cent., 1 April and 1 October ... 3,004 1,121 4,125 £100,000 Kauri-gum Industry Amendment Act, 1914-Interest on £17,000 @ 4 per cent., 1 May and 1 November... 680 Interest on 33,000 ,, $4\frac{1}{2}$ per cent., 1 May and 1 November ... 1,485£50,000 2,165 Amount to be recovered from Kauri-gum Industry Account-2,165 Kauri-gum Industry Amendment Act, 1914, Appropriation Act, 1918 (Section 45)-Interest on £3,000 @ 4 per cent., 1 May and 1 November ... 120 Interest on 15,000 ,, $4\frac{1}{2}$ per cent., 1 May to 1 November 675 Interest on 3,000 ,, $4\frac{1}{2}$ per cent., 157 days to 1 May and $\frac{1}{2}$ -year to 1 November 193 Interest on 4,000 ,, $4\frac{1}{2}$ per cent., 97 days to 1 May and 1-year to 1 November 138 £25,000 1,126 Amount to be recovered from Kauri-gum Industry Account 1,126 Lands Improvement and Native Lands Acquisition Act, 1894-Interest on £400,000 @ 4½ per cent., 31 March and 30 September 18,000 Land for Settlements Act, 1908— Interest on £162,725 @ 4 per cent., 1 January and 1 July ... Interest on £22,285 , $4\frac{1}{2}$ per cent., 1 January and 1 July ... Interest on 822,285 , $4\frac{1}{2}$ per cent., 1 January and 1 July ... Interest on 300,000 , $5\frac{1}{4}$ per cent., 1 January and 1 July ... Interest on 11,200 , 6 per cent., 1 January and 1 July ... Interest on 177,215 ,, 4 per cent., 1 February and 1 August Interest on 305,845 ,, $4\frac{1}{2}$ per cent., 1 February and 1 August Interest on 5,300 ,, 5 per cent., 1 February and 1 August Interest on 9,700 ,, 6 per cent., 1 February and 1 August Interest on 10,000 ,, $4\frac{1}{7}$ per cent., 1 March and 1 September 6,509 37,003 52815,750 6727,089 13,763265 225 582 10,000 ,, $4\frac{1}{2}$ per cent., 1 March and 1 September Interest on 450 77,000 ,, 4½ per cent., 1 March and 1 September 77,000 ,, 4½ per cent., 15 March and 15 Sept. 800 ,, 4½ per cent., 31 March and 30 Sept. 51,800 ,, 4 per cent., 1 April and 1 October ... 62,000 ,, 4½ per cent., 1 April and 1 October ... 26,000 ,, 4 per cent., 1 May and 1 November 45,100 ,, 4½ per cent., 1 May and 1 November 37,778 44 per cent. 1 June and 1 December 3,080 Interest on Interest on 36 2,072 Interest on Interest on 2,790 1,040 Interest on 2,029 Interest on 37,778 ,, $4\frac{\tilde{\imath}}{2}$ per cent., 1 June and 1 December Interest on 1,700 £2,118,448 95,583 Amount to be recovered from the Land for Settlements Account 95,583

	<del></del>	
INTEREST AND SINKING FUND—continued.		1922–23.
Land for Settlements Act, 1908, and Finance Act, 1915 (Section 106)—Interest on £170,350 @ $4\frac{1}{2}$ per cent., 1 January and 1 July Interest on 108,100 , $4\frac{1}{2}$ per cent., 1 February and 1 August Interest on 127,500 , $4\frac{1}{2}$ per cent., 31 March and 30 September Interest on 71,700 , $4\frac{1}{2}$ per cent., 1 April and 1 October Interest on 110,600 , $4\frac{1}{2}$ per cent., 1 May and 1 November	£ 7,666 4,864 5,737 3,226 4,977	£
£588,250	26,470	
Amount to be recovered from the Land for Settlements Account	26,470	
Interest on £14,200 @ 4 per cent., 1 January and 1 July Interest on £14,200 @ 4 per cent., 1 January and 1 July Interest on 24,200 ,, $4\frac{1}{2}$ per cent., 1 January and 1 July Interest on 8,000 ,, $4\frac{1}{2}$ per cent., 22 January and 22 July Interest on 119,050 ,, 4 per cent., 1 February and 1 August Interest on 65,300 ,, $4\frac{1}{2}$ per cent., 1 February and 1 August Interest on 244,800 ,, $4\frac{1}{2}$ per cent., 1 March and 1 September Interest on 10,200 ,, $4\frac{1}{2}$ per cent., 26 March and 26 September Interest on 15,000 ,, $4\frac{1}{2}$ per cent., 29 March and 29 September Interest on 166,000 ,, $4\frac{1}{2}$ per cent., 30 March and 30 September Interest on 698,000 ,, 4 per cent., 31 March and 30 September Interest on 89,600 ,, 4 per cent., 1 April and 1 October Interest on 100,000 ,, 4 per cent., 1 April and 1 October Interest on 10,000 ,, 4 per cent., 1 June and 1 December Interest on 10,000 ,, 4 per cent., 30 June and 30 December	568 1,089 360 4,762 2,938 11,016 459 1,000 675 7,470 2,250 27,920 4,032 4,000 450 68,989	•••
Amount to be recovered from the Land for Settlements Account	68,989	
Land Laws Amendment Act, 1913, and Appropriation Act, 1918 (Section 42)— Interest on £560,000 @ 4 per cent., 1 April and 1 October Interest on 10,000 ,, $4\frac{1}{2}$ per cent., 1 April and 1 October Interest on 17,000 ,, $4\frac{1}{2}$ per cent., 1 January and 1 July	22,400 450 765	
£587,000	23,615	
Amount to be recovered from the Land for Settlements Account	23,615	
Land Laws Amendment Act, 1913, and Finance Act, 1915 (Section 106)— Interest on £ 1,100 @ 4½ per cent., 1 January and 1st July Interest on 13,900 ,, 4½ per cent., 1 February and 1 August £15,000	$-\frac{49}{625}$ $-674$	
Amount to be recovered from the Land for Settlements Account	674	
Local Bodies' Loans Act, 1908— Government Loans to Local Bodies Act, 1886— Interest on £250,300 @ 4 per cent., 1 March and 1 September	•••	10,012
Local Bodies' Loans Act, $1908$ — Interest on £790,000 @ $4\frac{1}{2}$ per cent., 1 January and 1 July Interest on 416,000 ,, 4 per cent., 1 March and 1 September Interest on 50,000 ,, $4\frac{1}{2}$ per cent., 1 March and 1 September Interest on 50,000 ,, 4 per cent., 1 June and 1 December	35,550 16,640 29,025 2,000	09 01≉
£1,901,000		83,215

INTEREST AND SINKING FUND—continued.		1922–23.
Maori Land Settlement Act, 1905— Interest on £ 39,175 @ 4 per cent., 1 January and 1 July Interest on 145,000 ,, 4½ per cent., 1 January and 1 July	£ 1,567 6,525	£ 8,092
£184,175	:	,
Maori Land Settlement Act, 1905, and Finance Act, 1915 (Section 106)— Interest on £15,375 @ 4½ per cent., 1 January and 1 July		692
Maori Land Settlement Act Amendment Act, 1907—		002
Interest on £50,000 @ 4½ per cent., 1 January and 1 July		2,250
Mining Amendment Act, 1913— Interest on £7,000 @ 4 per cent., 1 May and 1 November Interest on 4,500,, 4½ per cent., 1 May and 1 November	280 202	
£11,500	482	
Amount to be recovered from the Mining Advances Account	482	•
Mining Amendment Act, 1913, and Amendment Act, 1919— Interest on £23,200 @ $4\frac{1}{2}$ per cent., 1 May and 1 November On further issues, say	1,044 100	•••
Amount to be recovered from the Mining Advances Account	$\frac{1,144}{1,144}$	
Native Land Amendment Act, 1913—		
Interest on $$£4,800 @ 4\frac{1}{2}$ per cent., 1 January and 1 July$ Interest on $$20,000 @ 4\frac{1}{2}$ per cent., 165 days to 13 September$ Interest on $$753,500 @ 4\frac{1}{2}$ per cent., 1 April and 1 October$ Interest on $$25,000 @ 4\frac{1}{2}$ per cent., 1 April and 1 October$ Interest on $$25,000 @ 4\frac{1}{2}$ per cent., 1 April and 1 October$ Interest on $$3,000 @ 4\frac{1}{2}$ per cent., 1 April and 1 October$ Interest on $$3,000 @ 4\frac{1}{2}$ per cent., 5 June and 5 December On further issues, say$	216 407 30,140 50,126 1,250 135 2,500	
£1,920,200	84,774	
Amount to be recovered from the Native Land Settlements Account	84,774	
Native Land Purchases Act, 1892— Interest on £125,000 @ 4 per cent., 30 April and 31 October		5,000
Naval Defence Act, 1909— Interest on £963,131 @ 4½ per cent., 1 June and 1 December Sinking Fund on £1,795,167 @ 4 per cent	43,341 71,807	115,148
New Zealand Consols Act, 1908— Interest on £ 6,845 @ 3½ per cent., 1 February and 1 August Interest on 469,147 ,, 4 per cent., 1 February and 1 August	240 18,766	
£475,992		19,006
New Zealand Loans Act, 1908— Consolidated Loan Act, 1867— Interest on £13,000 @ 4½ per cent., 15 April and 15 October	• • •	585
Consolidated Stock Act, 1884— Interest payable— On £194,200 @ 4 per cent., 1 February and 1 August On 165,000 ,, 4½ per cent., 1 January and 1 July On 385,500 ,, 4 per cent., 30 June and 31 December	7,768 7,425 15,420	30,613
£744,700		50,010

, INTEREST AND SINKING FUND—continued.	•	1922-23.
New Zealand Loans Act, 1908—continued.		
Defence and other Purposes Loan Act, 1870— Interest on £25,000 @ 4 per cent., 1 January and 1 July	£ 1,000	£
Interest on 75,000 ,, $4\frac{1}{2}$ per cent., 15 April and 15 October	3,375	A 978
£100,000	-	4,375
General Purposes Loan Act, 1873—	0.100	
Interest on £54,700 @ 4 per cent., 28 May and 28 November Interest on 5,200 ,, 4 per cent., 15 April and 15 October	$\frac{2,188}{208}$	
Interest on 800 ,, 5 per cent., 15 April and 15 October	40	2,436
£60,700		2,100
Immigration and Public Works Loan Act, 1870—	1 095	
Interest on £23,000 @ $4\frac{1}{2}$ per cent., 15 April and 15 October Interest on 4,900 @ $4\frac{1}{2}$ per cent., 1 February and 1 August	$\substack{1,035\\220}$	
£27,900		1,255
New Zealand Consolidated Inscribed Stock (London issue)—		1
Interest @ 4 per cent., payable 1 May and 1 November—	120,000	
On 1,500,000 New Zealand Loan Act, 1884	60,000	
On 1,567,800 New Zealand Loan Act, 1886 On 1,000,000 North Island Main Trunk Railway Loan Act,	62,712	ļ
1882	40,000	
On 1,000,000 New Zealand Loan Act, 1888 On 5,371,200 First series of Conversions	$40,000 \\ 214,848$	
On 6,263,811 Second series of Conversions	250,553	
On 4,688,444 Third series of Conversions On 4,557,047 Sixth series of Conversions	187,538 $182,282$	
On 619,500 Expenses of Conversions and Raising Loans On 100,000 additional to £3,000,000 Loan, 1912	24,780	
On 230,500 for Redemptions	4,000 9,220	
On 2,100 for Naval Defence On 200,000 for Redemptions	84 8,000	
£30,100,402	1,204,017	
	1,204,017	
Amount to be recovered from— $\pounds$ Land for Settlements Account 951		
State Coal-mines Account 21		
Native Land Settlement Account 149 State Advances Account 9,549		
	10,670	1 109 947
Interest @ 4 per cent., payable 1 February and 1 August—	100 000	1,193,347
On £3,000,000 Loan, 1912 On 600,000 additional to £3,000,000 Loan, 1912	$120,000 \\ 24,000$	
On 1,951,825 Conversions £3,500,000 Loan, October, 1913	78,073	
On 4,590,000 Conversions £4,500,000 Loan, January, 1914 On 375,000 Bank of New Zealand Act, 1913	183,600 15,000	
On 100,000 part Charges and Expenses £3,000,000 Loan,		
On 5,000 for Redemption Expenses	4,000 200	
On 262,803 for Conversions, Aid to Public Works and Land Settlement Act, 1914 (scrip)	10,512	
£10,884,628	435,385	
Amount to be recovered from—		
Land for Settlements Account 34,346	ļ	
State Coal-mines Account 2,067 Native Land Settlement Account 10,200	Ì	
State Advances Account 113,381		
	159,994	075 901
3—B. 7.		275,391

INTEREST AND SINKING FUND—continued.		1922–23.
New Zealand Loans Act, 1908—continued.  New Zealand Consolidated Inscribed Stock (London issue)—contd.  Interest @ 3½ per cent., payable 1 January and 1 July—  On £2,768,000 Fourth series of Conversions  On 717,068 Fifth series of Conversions  On 1,036,000 Seventh series of Conversions  On 12,947,541 for Conversions  On 85,323 Expenses of Conversions and Raising Loans  On 15,000 Naval Defence Act, 1909	£ 96,880 25,097 36,260 453,164 2,986 525	£
£17,568,932	614,912	
Amount to be recovered from—  Land for Settlements Account	80,205	F0.4 F0.5
Interest @ 3 per cent., payable 1 April and 1 October— On £2,750,000 Government Advances to Settlers Loan On 240,000 Government Advances to Settlers Loan On 2,500,000 Aid to Public Works and Land Settlement Loan On 759,000 for Conversion, Aid to Public Works On 3,368,616 for Conversions On 42,364 for Expenses	82,500 7,200 75,000 22,770 101,058 1,271	534,707
£9,659,980	289,799	
Amount to be recovered from—  Land for Settlements Account 2,075 State Advances Account 89,700  New Zealand Consolidated Stock, 1935-45— Broken periods to 1 July, 1922, and ½-year to 1 January, 1923—	91,775	198,024
Aid to Public Works and Land Settlement Act, 1921— Interest on £2,800,000 @ 5 per cent	98,000	
Discharged Soldiers Settlement Loans Act, 1920— Interest on £250,000 @ 5 per cent	8,750	
Education Purposes Loans Act, 1919— Interest on £500,000 @ 5 per cent	17,500	
Electric-power Works Loan Act, 1919— Interest on £500,000 @ 5 per cent	17,500	
Finance Act, 1916 (Section 50), and Finance Act, 1920 (Section 16), (State Forests)— Interest on £200,000 @ 5 per cent	7,000	
Native Land Settlement Amendment Act, 1913— Interest on £250,000 @ 5 per cent	8 ,750	
War Purposes Loan Act, 1917— Interest on £500,000 @ 5 per cent On further issues, say	17,500 5,000	
£5,000,000	180,000	
Amount to be recovered from—  State Forests Account 7,000 Discharged Soldiers Settlement Account 8,750 Electric Supply Account 17,500 Native Land Settlement Account 8,750		
	42,000	138,000

INTEREST AND SINKIN	NG FUND—continued.		1922–23.
New Zealand Consolidated Stock, 1936-5.  Electric Power-works Loan Act, 1919— Interest on £1,076,938 @ 6 per cent., 1  Finance Act, 1916 (Section 50), an   (Section 16), (State Forests)— Interest on £1,775 @ 6 per cent., 1	February and 1 August of Finance Act, 1920 February and 1 August	£ 64,616	£
Finance Act, 1918 (No. 2), (Part IV), (Interest on £512,533 @ 6 per cent., 1	February and 1 August	30,752	
Finance Act, 1920 (Section 15), (Electric Interest on £807,704 @ 6 per cent., 1	February and 1 August	48,462	
Finance Act, 1921 (Section 10), (Public Interest on £2,423,112 @ 6 per cent., 1 Railways Improvement Authorization A	February and 1 August	145,387	
Interest on £1,076,938 @ 6 per cent., 1	February and 1 August	64,616	
£5,899,000 —————————————————————————————————		353,940	
Amount to be recovered from— State Forest Account Electric Supply Account	107 113,078	113,185	240,755
New Zealand Inscribed Stock Act, 1917— Aid to Public Works and Land Settlemen Interest on £4,430 @ 5½ per cent., 1 Ja	t Act, 1903— nuary and 1 July		244
Aid to Public Works and Land Settlement Interest on £100 @ 6 per cent., 1 Janu			6
Aid to Public Works and Land Settlemen Interest on £900 @ 6 per cent., 1 Janu		•••	• 54
Aid to Public Works and Land Settlemen Interest on £100,000 @ 5½ per cent., 30			5,500
Aid to Public Works and Land Settlement Interest on $£52,210$ at $5\frac{1}{2}$ per cent., br $\frac{1}{2}$ -year to 1 February 196,120 at 6 per cent., brol $\frac{1}{2}$ -year to 1 February 196,120 at 6 per cent.	oken period to 1 August, lary ken period to 1 August,	1,640 10,660	
£248,330			12,300
Discharged Soldiers Settlement Loans Act Interest on £80,000 @ 6 per cent., 1			4,800
Discharged Soldiers Settlement Loans Act. Interest on £2,900 @ 5 per cent., Interest on 2,858,830 ,, 5½ per cent., Interest on 1,000 ,, 6 per cent., 1 On further issues, say	15 January and 15 July 15 January and 15 July	145 157,236 60 1,000	
£2,862,730	•	158,441	
Amount to be recovered from Dischment Account	arged Soldiers Settle- 	158,441	
Education Purposes Loans Act, 1919— Interest on £100,000 at 5½ per cent., 1 Interest on 10,780 at 6 per cent., 1	February and 1 August February and 1 August	5,500 647	 6 147
£110,780			6,147
Electric Power-works Loan Act, 1919— Interest on £1,331,360 @ 5 per cent., 15 Amount to be recovered from Electr		66,568 66,568	
	,		•••

The second secon		
INTEREST AND SINKING FUND—continued.		1922–23.
New Zealand Inscribed Stock Act, 1917—continued. Finance Act, 1915 (Section 105), (Public Works)— Interest on £1,300 @ 5 per cent., 15 June and 15 December Interest on 140,490 ,, 5½ per cent., 15 June and 15 December	£ 65 7,727	£
£141,790		7,792
Finance Act, 1916 (Section 35), (War Purposes)— Interest on £2,760,200 @ 4½ per cent., 15 May and 15 November Interest on 627,120 ,, 6 per cent., 1 February and 1 August £3,387,320	124,209 37,627	161,836
Finance Act, 1918 (Section 10), (War Purposes)— Interest on £4,801,950 @ $4\frac{1}{2}$ per cent., 15 May and 15 November Interest on 281,100 ,, 5 per cent., 15 May and 15 November Interest on 4,569,480 ,, $4\frac{1}{2}$ per cent., 20 April and 20 October Interest on 439,340 ,, 5 per cent., 20 April and 20 October £10,091,870	216,088 14,055 205,627 21,967	457,737
Finance Act, 1918 (No. 2), (Part IV), (War Purposes)— Interest on £27,060 @ 5 per cent., 20 April and 20 October Interest on 1,778,870 ,, 4½ per cent., 20 April and 20 October	1,353 80,049	Q1 409
Finance Act, 1919 (Section 5), (Public Works)— Interest on £600,000 @ 5 per cent., 15 January and 15 July		81,402
Government Railways Act, 1908— Finance Act, 1909— Interest on £500 @ 6 per cent., 1 February and 1 August Railways Improvement Authorization Act, 1904—7— Interest on £500 @ 6 per cent., 1 January and 1 July		30 30
Land for Settlements Act, 1908— Interest on £800 @ $5\frac{1}{2}$ per cent., 1 January and 1 July Interest on 5,500 ,, 6 per cent., 1 January and 1 July Interest on 11,600 ,, 6 per cent., 1 February and 1 August Interest on 14,150 ,, $5\frac{1}{2}$ per cent., 1 February and 1 August	44 330 696 778	
£32,050	1,848	
Amount to be recovered from Land for Settlements Account	1,848	
Railways Improvement Authorization Act, 1914— Interest on £12,490 @ 5 per cent., 15 January and 15 July	••	625
War Purposes Loan Act, 1917— Interest on £2,810 @ 3 per cent., 15 May and 15 November Interest on 787,460 ,, 5 per cent., 15 May and 15 November Interest on 13,034,315 ,, 4½ per cent., 15 May and 15 November	84 39,373 586,544	626,001
£13,824,585		020,001
New Zealand State-guaranteed Advances Act, 1909— Land for Settlements Branch— Interest on £25,000 @ 3½ per cent., 1 April and 1 October Interest on 470,000 ,, 3¾ per cent., 1 April and 1 October	875 17,625	
£495,000	18,500	
Amount to be recovered from Land for Settlements Account	18,500	
		1

INTEREST AND SINKING FUND—continued.		1922–23.
New Zealand State-guaranteed Advances Act, 1909—continued.  Native Land Settlement Branch—  Interest on £381,600 @ 3½ per cent., 1 April and 1 October  Interest on 54,500 ,, 3¾ per cent., 1 April and 1 October  Interest on 110,000 ,, 4 per cent., 1 April and 1 October	£ 13,356 2,044 4,400	£
£546,100	19,800	
Amount to be recovered from Native Land Settlement Account	19,800	
Guaranteed Mining Advances Branch— Interest on £5,000 @ 3\frac{3}{4} per cent., 1 April and 1 October Amount to be recovered from Mining Advances Account	187 187	•••
Advances to Local Authorities Branch— Interest on £200,515 @ 3½ per cent., 1 April and 1 October Interest on 95,425 ,, 3¾ per cent., 1 April and 1 October Interest on 56,800 ,, 4 per cent., 1 April and 1 October	7,018 3,579 2,272	•••
£352,740	12,869	
Amount to be recovered from— £.  Hauraki Plains Settlement Account 3,438  Land for Settlements Account 7,981  Rangitaiki Land Drainage Account 1,450	12,869	
New Zealand State-Guaranteed Advances Acts, 1909–10—  Land for Settlements Branch—  Interest on £53,900 @ 4 per cent., 1 May and 1 November Interest on 148,465 ,, 4 per cent., 1 January and 1 July  Interest on 154,500 ,, 4 per cent., 1 April and 1 October  Interest on 39,500 ,, 4½ per cent., 1 April and 1 October  Interest on 741,066 ,, 4 per cent., 30 April and 31 October Interest on 73,700 ,, 3½ per cent., 30 April and 31 October Interest on 24,000 ,, 4 per cent., 1 March and 1 September Interest on 282,800 ,, 4 per cent., 1 February and 1 August Interest on 6,000 ,, 4½ per cent., 1 March and 1 September	2,156 5,939 6,180 1,580 29,643 2,580 960 11,312 270	
£1,523,931	60,620	
Amount to be recovered from the Land for Settlements Account	60,620	
Native Land Settlement Branch— Interest on £30,000 @ 33 per cent., 1 April and 1 October Interest on 50,000 , 4 per cent., 1 April and 1 October	1,126 2,000	•••
£80,000	3,126	
Amount to be recovered from the Native Land Settlement Account	3,126	
New Zealand State-guaranteed Advances Acts, 1909-10, and Finance Act, 1915 (Section 106)—  Land for Settlements Branch—  Interest on £73,550 @ 4½ per cent., 1 January and 1 July  Interest on 10,000 ,, 4½ per cent., 1 February and 1 August Interest on 4,000 ,, 4½ per cent., 1 March and 1 September	3,310 450 180	
£87,550	3,940	
Amount to be recovered from the Land for Settlements Account	3,940	
Guaranteed Mining Advances— Interest on £10,000 @ 4½ per cent., 1 January and 1 July Amount to be recovered from Mining Advances Account	450 450	•••

		1922–23.
INTEREST AND SINKING FUND—continued.		,
Post and Telegraph Act, 1908— Interest on £200,000 @ 4½ per cent., 1 January and 1 July		9,000
	£ 216,913 156,715	
Amount to be recovered from other accounts	373,628 70,000	303,628
Public Revenues Act, 1910— Reserve Fund Securities Act, 1907— Interest on £800,000 @ 4 per cent., 1 February and 1 August		32,000
Treasury Bills— Interest on issues during the year, say		5,000
Public Revenues Amendment Act, 1914 (Section 8), (War Expenses)- Public Revenues Amendment Act, 1915 (No. 2), (Section 9)— Interest on £898,990 @ 4½ per cent., 1 June and 1 December Interest on 168,421,, 3½ per cent., 30 September and 31 March Interest on 1,000,000,, 3½ per cent., 1 September and 1 March £2,067,411	40,454 5,895 35,000	81,349
Public Revenues Amendment Act, 1915 (Section 5), (War Expenses)—Public Revenues Amendment Act, 1915 (No. 2), (Section 2)—Interest on £3,669 @ 5 per cent., 31 March and 30 Sept. Interest on 1,700,000, 4½ per cent., 1 February and 1 August Interest on 3,750, 4½ per cent., 1 February and 1 August Interest on 390,000, 4½ per cent., 1 May and 1 November Interest on 3,232,323, 4½ per cent., 1 June and 1 December Interest on 4,870,000, 5 per cent., 1 June and 1 December	183 76,500 169 17,550 145,455 243,500	
£10,199,742		483,357
Public Works Act, 1908— Paeroa-Waihi Railway Act, 1903— Interest on £86,250 @ 4 per cent., 31 March and 30 September		3,450
Waikaka Branch Railway Act, 1905— Interest on 53,476 @ $4\frac{1}{2}$ per cent., 1 May and 1 November		2,406
Railways Improvement Authorization Act, 1914— Interest on £177,000 @ 4 per cent., 1 February and 1 August Interest on 522,200 ,, 4½ per cent., 1 February and 1 August Interest on 30,000 ,, 5 per cent., 1 February and 1 August Interest on 1,000,000 ,, 4½ per cent., 78 days to 1 June On further issues, say	7,080 23,499 1,500 9,616 1,000	40.005
£1,729,200		42,695
Rangitaiki Land Drainage Amendment Act, 1913— Interest on £10,000 @ 4 per cent., 1 March and 1 September Amount to be recovered from Rangitaiki Land Drainage Account	400 400	
Rangitaiki Land Drainage Amendment Acts, 1913 and 1914— Interest on £12,000 @ 4 per cent., 1 March and 1 September Interest on 38,000 ,, 4½ per cent., 1 March and 1 September	480 1,710	
£50,000	2,190	.1.
Amount to be recovered from Rangitaiki Land Drainage Account	2,190	

INDEDECT AND SINKING BUND continued		1922–23.
' INTEREST AND SINKING FUND—continued.		
Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1917 (Section 81)— Interest on £30,000 @ 4 per cent., 1 March and 1 September Interest on 10,000,, 4½ per cent., 1 March and 1 September	£ 1,200 450	£
£40,000	${1,650}$	
Amount to be recovered from Rangitaiki Land Drainage Account	1,650	
Rangitaiki Land Drainage Amendment Act, 1913, and Appropriation Act, 1918 (Section 44)— Interest on £47,000 @ 4 per cent., 1 March and 1 September Interest on 3,000,, 4½ per cent., 1 March and 1 September	1,880 135	•••
£50,000	2,015	
Amount to be recovered from the Rangitaiki Land Drainage Account	2,015	
Rangitaiki Land Drainage Amendment Act, 1913, and Appropria- tion Act, 1919 (Section 19)—  Interest on £60,000 @ 4½ per cent., 1 March and 1 September Amount to be recovered from the Rangitaiki Land Drain- age Account	2,700 2,700	
Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1920 (Section 16)— Interest on £82,000 @ 4½ per cent., 1 June and 1 December Interest on 10,000,, 5 per cent., 1 June and 1 December Interest on 8,000,, 4½ per cent., 173 days to 1 June and ½-year to 1 December	3,690 500 351	
Amount to be recovered from the Rangitaiki Land Drainage Account	4,541	
Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1921–22 (Section 23)—  Interest on £10,000 @ 4½ per cent., 92 days to 1 June and ½-year to 1 December On further issues, say	339 2,500	
Amount to be recovered from the Rangitaiki Land Drainage Account	2,8 <b>3</b> 9 2,839	
Scenery Preservation Act, 1908— Interest on £74,000 @ 4 per cent., 1 May and 1 November Interest on 26,000 ,, 4½ per cent., 1 May and 1 November	2,960 1,170	
£100,000  Amount to be recovered from the Scenery Preservation Account	4,130	•••
Scenery Preservation Act, 1908, and Finance Act, 1921-22 (Section 21)		
tion 21)— Interest on £40,000 @ 4½ per cent., 1 January and 1 July Amount to be recovered from the Scenery Preservation Account	1,800	
		ı

PERMANENT CHARGES—continued.		
INTEREST AND SINKING FUND—continued.		1922–23
Scenery Preservation Act, 1908, and Finance Act, 1921-22 (Section 23)— Interest on £10,000 @ 4½ per cent., 61 days to 1 May and	£	£
$\frac{1}{2}$ -year to 1 November Interest on 4,000 ,, $4\frac{1}{2}$ per cent., 33 days to 1 May and	300	
On further issues, say $\frac{1}{2}$ -year to 1 November	196 200	
£14,000	696	
Amount to be recovered from the Scenery Preservation Account	696	
State Advances Act, 1913— Advances to Settlers Branch— Interest on £573,200 @ 4 per cent., 1 June and 1 December	22,928	•••
Amount to be recovered from State Advances Office	22,928	•••
Advances to Workers Branch— Interest on £50,000 @ 4 per cent., 1 June and 1 December Amount to be recovered from State Advances Office	2,000 2,000	
Local Authorities Branch— Interest on £200,000 @ 4 per cent., 1 June and 1 December Amount to be recovered from State Advances Office	8,000 8,000	•••
Swamp Drainage Act, 1915— Interest on £30,000 @ 4 per cent., 1 May and 1 November Interest on 16,000 ,, 4½ per cent., 1 May and 1 November	1,200 720	•••
£46,000	1,920	
Amount to be recovered from Swamp Land Drainage Account	1,920	
Swamp Drainage Act, 1915, and Appropriation Act, 1918 (Section 46)—		•••
Interest on £27,000 @ 4 per cent., 1 May and 1 November Interest on 145,000 ,, 4½ per cent., 1 May and 1 November Interest on 5,000 ,, 5 per cent., 1 May and 1 November On further issues, say	1,080 6,525 250 500	
£177,000	8,355	·
Amount to be recovered from Swamp Land Drainage Account	8,355	
Waihou and Ohmemuri Rivers Improvement Act, 1910— Interest on £130,000 @ 4 per cent., 1 February and 1 August Interest on 20,000 ,, 4½ per cent., 1 February and 1 August	5,200 900	
£150,000	6,100	
Amount to be recovered from the Waihou and Ohinemuri Rivers Improvement Account	6,100	
Waihou and Ohinemuri Rivers Improvement Act, 1910, and Finance Act, 1919 (Section 6)— Interest on £101,000 @ 4½ per cent., 1 February and 1 August Interest on 15,000, 4½ per cent., 123 days to 1 August,	4,545	
On further issues, say $\frac{12}{2}$ -year to 1 February	565 1,000	
£116,000	6,110	
Amount to be recovered from the Waihou and Ohinemuri Rivers Improvement Account	6,110	

PERMANENT CHARGES-continued.		
·		1922–23.
INTEREST AND SINKING FUND—continued.		
Interest on 3,300,000 , $5\frac{1}{3}$ per cent., 1 March and 1 September 17 Interest on 30,000 , 5 per cent., 31 March and 30 September Interest on 7,943,950 , $4\frac{1}{2}$ per cent., 15 May and 15 November 35	£ 5,250 7,375 1,500 7,478 5,000	£
£14,278,950		686,603
Wellington and Manawatu Railway Purchase Act, 1908— Interest on £500,000 @ 4½ per cent., 1 March and 1 September	,	22,500
Westport Harbour Act, 1920—		
	6,000 1,500	
	0,000 5,000	
Westport Harbour Act, 1920, and Appropriation Act, 1919		
(Section 32)—	1,677	
	0,000 2,000	
	3,177 3,177	
To provide for increase in rate of interest for renewal of loans falling due during the year		10,000
State Advances Debt— The Government Advances to Settlers Act, 1894, and Extension Act, 1901—		
	3,600	
	3,600	
Government Advances to Settlers Act, 1908— Advances to Settlers—		•••
Interest on £105,000 @ 4½ per cent., 1 June and 1 December Interest on 57,900 ,, 4 per cent., 1 January and 1 July	1,725 2,316 1,500	
£262,900	,541	
Amount to be recovered from the State Advances Office	,541	
Advances to Workers— Interest on £ 5,000 @ 4 per cent., 1 January and 1 July Interest on $25,000$ ,, $4\frac{1}{2}$ per cent., 1 June and 1 December	200 1,125	
£30,000	,325	
Amount to be recovered from the State Advances Office	,325	

PERMANENT CHAR	GES—c	ontinued.		
INTEREST AND SINKING FU	JNDc	ontinued.		1922-23.
Government Advances to Settlers Act, 1908, a	nd Fine	ınce Act,		
1915 (Section 106)— Advances to Workers—			£	£
Interest on £10,000 @ 4½ per cent., 1st Janu	arv and	1st July	$\overset{\infty}{450}$	20
Amount to be recovered from the	State	Advances	100	
Office		•••	450	
New Zealand State-guaranteed Advances Acts, 19	$09 \ and$	1910		•••
Advances to Settlers—	. 11 T	1	00 549	
Interest on £1,967,626 @ 4½ per cent., 1 June			88,543	
Interest on 750,000, 4 per cent., 23 Apr Interest on 41,700, 4 per cent., 1 February	n and 26	1 Angust	30,000 1,668	
Interest on $2,094$ , $4\frac{1}{2}$ per cent., 1 February 1	uary and 12rv 2nd	1 August	94	
	aar y ama	* 1300 and		
£2,761,420			120,305	
Amount to be recovered from the	State .	Advances		
Office	•••	•••	120,305	
Advances to Workers— Interest on £205,000 @ 4 per cent., 1 Janua	my and 1	Turke	8,200	•••
Interest on 5205,000 @ 4 per cent., I Janua.			280	
Interest on 750,000, 4 per cent., 1 February	arv and	1 Anongt	30,000	
Interest on 406,, 44 per cent., 1 February			18	
Interest on 328,283,, 41 per cent., 1 June a			14,773	
£1,290,689			53,271	
2 0 0	<b>Q</b> 1 1	A 7		
Amount to be recovered from the Office	State 1	Advances	59 071	
Onice	•••	••.	53,271	
TOTAL INTEREST	AND S	INKING	FUND	£8,913,104
Interest and Sinking Fund				10,875,195
Less Recoveries	•••	• • •	•••	1,962,091
· ·	•••	•••	•••	
Net charge to Consolidated Fund	•••			£8,913,104

#### ANALYSIS.

	•	1922-23. ESTIMATED.	
Purpose of Loans.	Gross.	Recoveries from respective Accounts.	Net charge to Consolidated Fund.
Interest—	£	£	£
War Expenses	3,855,580		3,855,580
Discharged Soldiers Settlement (including	, ,		3,000,000
purchase of Estates)	468,390	463,590	4,800
Land for Settlements	380,784	380,784	
State Advances	472,183	472,183	•••
Naval Defence	43,341		43,341
Electric Supply	219,809	219,809	
Greymouth Harbour Board	14,400	14,400	
Westport Harbour	37,677	37,677	•••
Public Works and Miscellaneous	4,112,239	295,148	3,817,091
Total-Interest	£9,604,403	£1,883,591	£7,720,812
SINKING FUND—			
War Loans	816,857		816,857
Naval Defence	71,807		71,807
Westport Harbour	8,500	8,500	•••
Public Debt Extinction	373,628	70,000	303,628
Total-Sinking Fund	£1,270,792	£78,500	£1,192,292
TOTALINTEREST AND SINKING FUND	£10,875,195	£1,962,091	£8,913,104

#### ${\bf PERMANENT~CHARGES-} \textbf{-} \textbf{continued}.$

	1000 00
· UNDER SPECIAL ACTS OF THE LEGISLATURE.	1922–23.
Appropriation Act, 1916 (Section 9)— Payment of subsidies to County Councils, Road and Town Boards in	£
respect of general rates	182,000
Appropriation Act, 1917 (Section 24)— Interest on amounts borrowed on security of Reserve Fund Securities	<b>34</b> 2
Appropriation Act, 1920 (Section 12)— Butter subsidy payable for season 1920–21	15,000
Auckland University College Act, 1882— Grant-in-aid	4,000
Civil Service Act, 1908— Pensions, Compensation, and Gratuities under Civil Service Act, 1908	37,000
Defence Act, 1909— Pensions and allowances	3,000
Education Act, 1914— Education Boards— Subsidies on bequests and on voluntary contributions on account of Public Primary Schools (including District High Schools)	14,000
Technical Instruction— Subsidies on bequests and on voluntary contributions	4,000
National Scholarships— Grants to Education Boards for junior and senior scholarships	12,500
Secondary Schools— Subsidies on bequests and on voluntary contributions	1,000
Education Reserves Amendment Act, 1913 (Section 3)— Compensation for improvements	13,000
Finance Act, 1918 (No. 2), (Section 8)— Free issue of official postage-stamps to members of both Houses	1,850
Finance Act, 1919 (Section 14)— Pensions in respect of Police Officers	500
Finance Act, 1920 (Section 21)— Interest at 4 per cent. on New Zealand Expeditionary Force canteen profits and regimental funds deposited with Government at call	900
Finance Act, 1920 (Section 43)— Canterbury College (additional to statutory grant)	2,000
Finance Act, 1921–22 (Section 13)—  Transfer to Advances to other Governments Account 20,000  Less recoveries from advances to other Governments Account 20,000	
Finance Act, 1921–22 (Section 38)— Grant to Otago Hospital Board	1,745
Fire Brigades Act, 1908— Section 21 (subsidies payable)	2,000
Greymouth Harbour Board Amendment Act, 1920 (Section 5) — Subsidy for interest, sinking fund, and other loan charges	15,000

#### PERMANENT CHARGES—continued. 1922-23.UNDER SPECIAL ACTS OF THE LEGISLATURE—continued. High Commissioner Act, 1908— £ Salary of High Commissioner 2,000 Hospitals and Charitable Institutions Acts, 1909, 1910, and 1913-Subsidies payable 425,000 Industrial Conciliation and Arbitration Act, 1908— Salaries of Judge and Members of the Arbitration Court 2,718 Judicature Act, 1908— Superannuation allowances 3,750 Judicature Amendment Acts, 1913 and 1920-Salaries of Judges of the Supreme Court 17,250 Land Act, 1908-Payments to Receivers of Land Revenue, Local Bodies' Deposit Accounts, for payment to local authorities in respect of rents, royalties, &c. 35,000 National Endowment Residue— 68,488 For Education purposes For Old-age Pensions 29,352 97,840 Land Settlement Finance Act, 1909 (Section 13)— Deficiencies in interest due on debentures guaranteed by the Government 150 Legislature Act, 1908, and Civil List Act, 1920-11,340 Payment to Members of the Legislative Council ... Payment to Members of the House of Representatives 33,306 44,646 Legislative Officers' Salaries— Legislative Council-Speaker 720 Chairman of Committees ... ... . . . **4**50 Clerk 750 Clerk Assistant 550 ... ... House of Representatives-Speaker 900 . . . - : . Chairman of Committees 675 ... Clerk ... 750 . . . ... Clerk Assistant 550 Local Bodies' Amendment Act, 1908 (Section 10)-Sinking funds of guaranteed loans payable to Public Trustee ... 600 Local Bodies' Loans Act, 1913 (Subsections 3 and 4 of Section 70)— Sinking funds payable to State Advances Office ... 500 . . . Magistrates' Courts Amendment Acts, 1913 and 1920-Salaries of Magistrates 25,048 ٠.. Marlborough High School Act, 1899-Grant-in-aid 400 . . . Miner's Phthisis Act, 1915, and Finance Act, 1920— Pensions and allowances 32,000 Less credits from gold duty under section 9, Miner's Phthisis Act, 1915 ... ... 2,300 29,700 Municipal Corporations Act, 1920 (Section 72)-Subsidies payable to Borough Councils in respect of general rates 26,000

PERMANENT CHAR	GES—con	itinued.		,
				1922–23.
UNDER SPECIAL ACTS OF THE LEG	ISLATUI	RE—cont	inued.	
National Provident Fund Act, 1910 (Section 25)- Subsidies on contributions	···	•••	£ 31,628	£
Finance Act, 1916, and National Provident Maternity allowances (section 18) Maternity allowances for Friendly Societies Subsidy on total contributions from ap Societies for the year ended 31st Dece tion 75)	s (section oproved F	67) Friendly	7,500 33,000 1,121	
New Plymouth Harbour Board Endowment Act, One-fourth of proceeds of sales, &c., payable to		r Board		73,249 4,300
New Zealand Institute Act, 1908— General expenses of Institute	•••	•••		1,000
New Zealand Loans Act, 1908— New Zealand Consolidated Stock— Charges and expenses of management Less recoverable from other accounts	•••	· · · · · · · · · · · · · · · · · · ·	25,750 3,600	22,150
New Zealand University Act, 1908— Contribution to University			•••	4,000
New Zealand University Amendment Act, 1914 Act, 1919 (Section 4)— University National Scholarships University bursaries National Research Scholarships Grants-in-aid to— Auckland University College Victoria University College Canterbury University College University of Otago	1, and Ame	endment £ 7,100 7,200 4,100 9,000		3,200 10,500 250
Less second deduction from cost-of increase or bonus	f-living 	***	27,400 680	
University Colleges— Subsidies on bequests and on voluntary con	tributions	•••		26,720 7,000
Orchard-tax Act, 1916 (Section 4)— Proceeds of Orchard-tax payable to New growers' Federation, Limited	z Zealand 	Fruit-		1,870
Pensions Act, 1913, and Finance Act, 1920— Military pensions (Maori War) Old-age pensions Less amount charged to National Endow	 vment Res	 idue <b></b>	750,000 29,352	37,000
Widows' pensions	•••	•••	***	720,648 200,000
Public Revenues Act, 1910, and Appropriation A Salary of Controller and Auditor-General Claims repayable under sections 16, 29, and 9	•••	· · · · · · · · · · · · · · · · · · ·	1,170 300	1 470
Public Revenues Amendment Act, 1912 (Section Fire Insurance Fund	5)	•••		1,470
Public Service Act, 1912, and Appropriation section 1)— Salaries of Public Service Commissioners	Act, 1920	(Section	16, Sub-	2,442
		• • •		_,

'UNDER SPECIAL ACTS OF THE LEG	IST A TIT	REcon to	muad	1922–23.
Public Service Classification and Superannuat			nuea.	£
Acts, 1908, 1909, and 1912— Annual contributions— Public Service Superannuation Fund Railway Superannuation Fund Teachers' Superannuation Fund			£ 86,000 25,000 43,000	
Rabbit Nuisance Act, 1908—	, .			154,000
Expenses connected with the destruction of rak		•••	•••	5,500
Reserves and other Lands Disposal and Public Bo (Section 67)— Compensation to Mrs. Ann Noble, of Alexandra	_	owering A	lct, 1916	78
Schafer, McGuire, and Others Pension Act, 1872— Mrs. Ellen McGuire	_	•••		18
Slaughtering and Inspection Act, 1908—Compensation to owners of condemned stock			•••	10,000
Stock Act, 1908— Compensation for stock destroyed				12,000
Valuation of Land Act, 1908 (Section 33)— Acquisition of land under Sections 30 and 31				1,000
Victoria College Act, 1905— Grant-in-aid		•••	•••	4,000
Waihou and Ohinemuri Rivers Improvement Act, 1 Section 17 (d) and Amendment Act, 1912, an (Section 27), (Crown's proportion of interest	d Approp			
raised under the Act)	•••			1,000
War Pensions Act, 1915, and Finance Act, 1920— Pensions and allowances				1,600,000
War Pensions Act, 1915 (Section 3), and Finance 2 Pensions and allowances	1ct, 1920	••• ,		50,000
Walsh and Others Pension Act, 1869— Mrs. Ellen Ann Hewett		•••	•••	50
Westport Harbour Act, 1920, and Finance Act, 192 Transfer to Westport Harbour Account	21 (Section	n 4) 		26,270
TOTAL UNDER SPECIAL A	CTS	•••		£4,015,499

#### ${\bf PERMANENT} \quad {\bf CHARGES--} continued.$

### ANALYSIS.

	•					1922–23.
						Expended.
Education Purposes Pensions		***				£ 175,058 2,711,096
Subsidies to Superannua		ational Pro				186,749
Subsidies to Local Author Subsidies to Hospital Bo	orities oards	•••	•••	•••	•••	225,000 426,745
Subsidies on account of	Butter	•••			• • •	15,000
Miscellaneous		•••		•••		275,851
TOTALS	•••	•••	•••	***		£4,015,499

#### SUMMARY

					1922–23.
Interest and Sinking Fund		•••	•••	•••	£ 8,913,104
Under Special Acts	•••	,	•••	• . •	4,015,499
TOTAL PERMANENT	CHARGES	•••		•••	£12,928,603

#### LEGISLATIVE DEPARTMENTS.

ŧ					19	22–23.	
				Salaries.	Othe	r Charges.	Total.
Vote No	1 —T	egislative Departments—	1	£		g	£
Subdivisi	ion N	o. I.—Legislative Council		1, 992		300	2, 29
		II.—House of Representatives		3,104	1	6,904	10,00
" .		III.—Law Drafting Office		2,045		200	2,24
"		IV.—General Assembly Library		3,182	İ	1,345	4,52
. "		V.— $Hansard$		7,040		7,000	14,04
"		VI —Bellamy's		4,711		2,207	6,91
"		VII — General Expenses		3,468		25,884	29,35
Тота	ALV	Уоте No. 1		25,542		43,840	69,38
	TOT	AL	•••	25,542		43,840	69,38
	1 1	The second secon					
Number of Persons.	Item.	VOTE No. 1.—LEGISLATIV	E DE	PARTMENT	rs.	1922	2-23.
1922–23.	 	Subdivision No. I.—Legi	slative	Council.			
.022 20.				Commoni		£	£
	1	SALARIES AND OTHER CHARGES-			;	0.100	
4		Salaries and other Charges		•••		2,190	
		Cost-of-living increase, in addi		salaries prov			
		by the Civil List Act, 192	·U		£ ;		
	i i	Clerk, Legislative Council		•••	$\begin{array}{c c} 25 \\ 25 \end{array}$	·	
		Clerk Assistant	•	•••	20	50	
1	2	Staff of Minister leading Legis	slative	Council		$\begin{bmatrix} 50 \\ 255 \end{bmatrix}$	
5						2,495	
		Less second reduction	from	cost-of-living	in-	,	
		crease or bonus			• • • •	85	
						2,410	
	ĺ	Less estimated credits		Section 48	of		
		Public Revenues Act, 1	1910	••		118	
		${\it Total}$ —Subdivis	ion No	). I	•••		*2,292
		Subdivision No. II.—House	of Rej	presentatives.			
	3	Salaries—					
1		Second Clerk Assistant				480	
î		†Sergeant-at-Arms				286	
î		Reader and Clerk of Bills and	Paper	s		360	
ī		Accountant and Record Clerk	•			330	
1	1 1	Chief Messenger				310	
$\bar{1}$		Assistant Chief Messenger				290	
1		Messenger (to Mr. Speaker)				250	
$\overline{4}$		Committee Clerks: 3 at £220,		3190		850	
	.	Cost-of-living increase in additional					
11		by the Civil List Act, 1920		1			
		Clerk, House of Represen		3		25	
		Clerk Assistant, House of			•••	25	
						3,206	
		Less second reduction	from	cost-of-living	in-	3,200	
		crease or bonus				102	
					]	*3,104	
						0,104	

<sup>\*</sup>Includes cost-of-living increase to scale salaries or wages. † Also receives £175 16s. per annum superannuation.

#### LEGISLATIVE DEPARTMENTS—continued.

Number of Persons.	Item.	VOTE No. 1.—LEGISLATIVE DEPARTMENTS— continued.	1922–23.		
1922–23.			£	£	
	4	OTHER CHARGES FOR AND INCIDENTAL TO— Office fittings and requisites, including printing and stationery	1,100	æ	
	5	Telephone services, including installation, extensions, maintenance, rent, and calls	300		
	6	Temporary Assistance—       £         Extra Clerks       1,568         Extra Messengers       4,126         5,604       5,604		•	
		Less second deduction from cost-of- living increase or bonus 200	*5,494		
	7	Contingencies, including unforeseen expenditure incidental to the other items of the vote	10		
		Total—Subdivision No. II	6,904	10,008	
		Subdivision No. III.—Law Drafting Office.			
1	8	Salaries— Bill Drafting Department— Law Draftsman Assistant Law Draftsmen—	837		
2		2 at £525 Clerical and General—	1,050		
1	_	Shorthand-writer, Typiste, and Office Assistant	191		
4	-	Less second deduction from cost-of-living increase or bonus	2,078		
		OTHER CHARGES FOR AND INCIDENTAL TO—	*2,045		
	9	Office requisites, printing and stationery, postage, purchase of law reports, telephones, and contingencies	200		
		Total—Subdivision No. III		2,245	
		Subdivision No. IV.—General Assembly Library.			
1	10	Salaries—  Library—  Chief Librarian (also grant of £50 per annum as Advisory Director, Turnbull Library)	700		
1 5		Assistant Librarian	480		
1 <b>1</b>		(1 at £320 retired July, 1921) Binder for Parliamentary Library Messenger	1,610 280 175		
9			3,245		
		Less second deduction from cost-of-living increase or bonus	63		
			*3,182		

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### $A \ propriations \ for \ Consolidated \ Fund \ Services.$

#### LEGISLATIVE DEPARTMENTS—continued.

Number of Persons.	Item.	VOTE No. 1.—LEGISLATIVE DEPARTMENTS—	1922–23.		
922–23.		Subdivision No. IV.—General Assembly Library— continued.	£	£	
	11 12	OTHER CHARGES FOR AND INCIDENTAL TO— Binding books Grant to Library Fund	400 700		
,	• 13	Newspapers and carriage of books	245		
		Total—Subdivision No. IV		4,59	
		Subdivision No. V.— Hansard.			
	14	Salaries—			
1 11		Hansard Staff and Reporters— Chief Reporter *11 Reporters: 5 at £440 (£460), 2 at £435 (£455),	680		
		1 at £405 (£425), 1 at £385 (£405), 2 at £360 (£380)	4,580		
1		Hansard Supervisor	410		
1		Hansard Supervisor's Assistant	385		
1 1		Clerk to Hansard Supervisor Hansard Indexer	$\begin{array}{c} 180 \\ 210 \end{array}$		
$\frac{1}{2}$		Committee Reporters: 2 at £240	480		
	-	Extra assistance for Hansard	250		
18	_		7,175		
		Less second deduction from cost-of-living in- crease or bonus	135		
			†7,040		
	15	Other Charges for and incidental to— Printing of Hansard	7,000		
		Total—Subdivision No. V		14,04	
		Subdivision No. VI.—Bellamy's.			
1	16	Salaries—  Manager (also Custodian)  Attendants, Manager's staff: 3 at 16s. (17s.), 3 at	430		
		14s. 6d. (15s. 6d.), and 1 at 13s. (15s.) per diem Extra Attendants, Manager's staff, during session	$\frac{1,917}{2,550}$		
		Ī	4,897		
		Less second deduction from cost-of-living increase or bonus	186		
			†4,711		
	17	OTHER CHARGES FOR AND INCIDENTAL TO— Linen, glassware, china, cutlery, plateware, towels, kitchen utensils, uniforms, furniture, &c., for use of members in Bellamy's and Parliamentary	4 100		
	10	Buildings	1,132		
	18	Maintenance of staff during session Washing linen, &c	875   200		
	1 (		2,207		
	1	Total—Subdivision No. VI	۵,۵01	6,91	

<sup>\* 1</sup> at £385 also receives £200 from Justice Department. † Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 1.—LEGISLATIVE DEPARTMENTS—continued.	1922–23.		
922–23.		Subdivision No. VII.—General Expenses.	£	£	
	20	Salaries-	≖	2	
		Gardeners in grounds	950		
		Night-watchman	250		
		Extra Watchmen	1,950		
	!	Electrician in charge of lighting, bells, and telephones			
		during session	202		
	: !	Furnace Attendant during session	202		
			3,554		
		Less second deduction from cost-of-living in-	0,001		
		crease or bonus	86		
		<u> </u>			
			*3,468		
	01	OTHER CHARGES FOR AND INCIDENTAL TO-	10		
	$egin{array}{c c} 21 \ 22 \end{array}$	Advertising Charwomen	2 170		
	23		3,179 100		
	$\begin{vmatrix} 23 \\ 24 \end{vmatrix}$	Compassionate allowance to Mrs. Forster, widow of	100		
		late Messenger Forster	50		
	25	Fuel, light, power, and water	2,000		
	26	Furniture, brooms, brushware, soap, towels, linen,	_,		
		matches, tools, coal-buckets, and shovels (purchase	:		
		and repairs)	300		
	27	Laundry-work for Legislative Department	150		
	$\begin{array}{ c c c } 28 \\ 29 \end{array}$	Parliamentary photographic shield	25		
	29	Passages and expenses of witnesses attending Committee	50		
	30	Passages of Members of both Houses	600		
	31	Passages of members of both Houses other than pro-	000		
		vided for by the Civil List Act, 1920	1,800		
	i	Payment in lieu of 6 months' leave of absence on	,		
		retirement granted to—			
	$\begin{vmatrix} 32 \\ 29 \end{vmatrix}$	H. M. Gore, Hansard reporter (£440 per annum)	220		
	33 34	W. Berry, <i>Hansard</i> reporter (£440 per annum) J. J. Costall, Library attendant (£370 per annum)	$\begin{array}{c c} 220 \\ 185 \end{array}$		
	35	Mrs. M. A. Noon, head charwoman (£166 per	100		
		annum)	83		
	36	Postage and telegrams, including parliamentary papers	. 800		
	37	Postage of Statutes, Journals, &c., to other Parlia-			
	00	ments and Libraries	30		
	38	Printing of Statutes, Journals, Appendices, Bills,	15 050		
	39	Order Papers, &c. (part recoverable) Private Secretary to the Leader of the Opposition	$\begin{array}{c c}17,250\\110\end{array}$		
	39	Recess Licensing Committee:—	110		
	40	Travelling-allowances of Members, and reporting			
		evidence	160		
	41	Refreshments to Messengers on late-sitting nights	125		
	42	Travelling allowances and expenses	25		
	43	Typewriters: Purchase and repairs	100		
	44	Uniforms for messengers	100		
	45	Upkeep of parliamentary grounds	130		
	46	Window closing which removed and chimney	42		
	41	Window-cleaning, rubbish-removal, and chimney-sweeping	390		
	48	Contingencies	25		
		-			
			28,259		
		Less estimated credits under Section 48 of the			
		Public Revenues Act, 1910—	0 275		
		Sale of Statutes, Journals, &c	$\frac{2,375}{}$		
			25,884	`.	
		Total—Subdivision No. VII	,	29,35	
		TOTAL—VOTE No. 1		69,38	

<sup>\*</sup> Including cost-of-living increase to scale salaries or wages.

#### TREASURY DEPARTMENT.

							19	22–23.	
		AMPA AND AND A			Salari	Salaries. Other Char		r Charges.	Total.
Vote No. 2	2.— <b>T</b> r	easury Departmen	t—						
Subdivisa	ion I	.—Treasury Depar	tment			£ ,937	£		£ 21,937
"	II	.—Miscellaneous S	ervices	•••	•			10,117	10, <b>11</b> 7
,,	" III.—Rates on Crown and Native Lands							50	50
TOTAL—VOTE No. 2						1,937		10,167	32,10
Number		- 17 (20) (20) (20) (20) (20) (20) (20) (20)		union makenda il unioni il Ali il i		Market State College	A SAME THE REAL PROPERTY.		
of Persons.	mber ersons. Item. VOTE No. 2.—TREASURY DEF							1922	-23.
1922–23.		Subdivision	ı No. I.—Tred	a <b>sur</b> y .	Departme	nt.		£	£
	1	*Salaries	MINISTRATIVE	Division	ON				
1	!	1 at £1,138 (S	Secretary, Rece	eiver-G	eneral,				
		Paymaster- Zealand Co	General, Reg onsols and N	gistrar Iew Z	New ealand	j	દ		
		Inscribed S	tock)				138		
1		1 at £920 (A	ssistant Secre and Deputy R	tary a	nd Ac-				
		Zealand C	onsols and N	lew Z	ealand				
		Inscribed S	tock) .	•••	•••	ę	920	0.050	
			CLERICAL DI	VISION.				2,058	
0		Class I—							
2		$2  ext{ at } \pounds 625$ $Class II$ —		••	•••		•••	1,250	
4		4  at  £525						2,100	
0		Class IV—							
3		3 at £430 Class V—	•	••	• • •		•••	1,290	
		2 at £380		•••	•••	r	760		
6		4 at £360			•••	1,4	<b>44</b> 0	0 000	
		Class VI— 11 at £330				3.6	<b>63</b> 0	2,200	
12		1 at £310			•••		310		
		Class VII—						<b>3</b> ,940	
		5 at £305 3 at £295		• • •	•••		<b>52</b> 5 885		
		1 at £275					275		
		5 at £255					<b>27</b> 5		
		2 at £265					<b>53</b> 0		
		1 at £235		• • •	•••		235		
		1 at £215		• • •	•••		215		
		6 at £205 3 at £150		• • • •	•••	1,	<b>23</b> 0 <b>45</b> 0	*	
		1 at £130					130		
		1 at £120	**************************************		•••		<b>12</b> 0		
		2  at  £105	r No.	<u>.</u>			<b>21</b> 0		
	1:	7 at £90		•••			630		
45		7 at £75		• • •	•••	ė	<b>52</b> 5	8,235	
								0.230	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

### $A \ propriations \ for \ Consolidated \ Fund \ Services.$

#### ${\bf TREASURY} \quad {\bf DEPARTMENT-} continued.$

Number of Persons.	Item.		1922-	23.
1922–23.	-  <b></b>   	VOTE No. 2.—TREASURY DEPARTMENT— continued.		
		Subdivision No. I—Treasury Department—continued.	£	£
	1	Salaries—continued.		
		GENERAL DIVISION. £  1 at £270 270  1 at £225 225  1 at £215 215		
		1 at £196        196         1 at £174           4 at £154           1 at £142		
15		1 at £130 130 3 at £105 315 1 at £90 90	2,373	
89		•		
<del> </del>		Less salaries of officers provided for and not required	23,796	
		Less salaries of officers on loan— & 1 at High Commissioner's office 430	23,496	
		2 at Samoa 610	1,040	
			22,456	
		Less second deduction from cost-of-living increase or bonus	469	
		Less estimated credits under section 48 of the Public Revenues Act, 1910	*21,987 50	
		Total—Subdivision No. I		21,937
		Subdivision No. II—Miscellaneous Services.		
•	2	MISCELLANEOUS SERVICES— CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other publications	50	
	3 4	Bank exchange, commission, discount, and stamp duty Office fittings and requisites (including printing and stationery)	1,000	
	5 6 7	Overtime and meal allowances  Postage, telegrams, and rent of boxes  Refund of unclaimed moneys paid to Public Account	150 3,400	
	8	under Section 89 of the Public Revenues Act, 1910 Refunds under the Unclaimed Moneys Act, 1908	13	
	9	(section 8) Telegrams beyond the Dominion (part recoverable) Telephone services (including installation, extensions,	8,000	
	11 12	maintenance, rent, and calls)	80 *514 50	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

TOTAL

# Appropriations for Consolidated Fund Services.

#### ${\bf TREASURY} \ \ {\bf DEPARTMENT--} continued.$

Number of Persons.	Item.		1922-	2 <b>3</b> .
1922-23.		VOTE No. 2.—TREASURY DEPARTMENT— continued  Subdivision No. II.—Miscellaneous Services—continued.	£	£
	13	MISCELLANEOUS SERVICES—continued.  CHARGES FOR AND INCIDENTAL TO—continued.  Value of interest coupons paid by Post-office, but lost in transit after cancellation  Contingencies, including unforeseen expenditure incidental to the other items of the vote  Less estimated credits under Section 48 of the Public Revenues Act, 1910— & Telegrams beyond the Dominion 7,200 Miscellaneous 50	10 50 17,367 7,250	10,11
	15	Subdivison No. III.—Rates on Crown and Native Lands.  Payable under section 108 of the Rating Act, 1908— Special rates on Crown Lands, payable in respect of security given by local bodies for certain loans	40	
	16 17	Payment of special rates on lands acquired by the Crown, as provided by section 112 of the Local Bodies' Loans Act, 1913 Special rates on Native Lands, payable in respect	5	
ļ		of security given by local bodies for certain loans  Total—Subdivision No. III		ε
		TOTAL—VOTE No. 2		32,10

£32,104

#### DEPARTMENTS OF INLAND REVENUE.

						19	022–23.	
		Service from the		-	Salaries.	Oth	er Charges.	Total.
7ote No. 3	.—Lar	nd and Income Tax Dep	partment	•••	£ 32,41	18	£ 33,352	£ 65,770
ote No. 4	—Stan	np Duties Department—	<del></del>					
Subdivisio	n I. —	Stamp Duties Departme	nt		18,09	96	11,766	29,862
,,		Land and Deeds Registr			31,6	15	23,370	54,985
,,		Total—Vote No. 4	9		49,7		35,136	84,847
an.	0 m 1 T	TOTAL—VOTE NO. #	••					
Т	CAL	•••			82,12	29	68,488	150,617
Number	Item.		21 102 2 2 2 2 2 2 2 2			110 00 00 00 00 00 00	1000	
of Persons.	item.	NOME N O I	ANTS AN	ID TNG	OME MA	.,	1925	2–23.
1922–23.	! 	VOTE No. 3.—L DE	PARTME		OME TA.	X		
	1	*Salaries					£	£
	1		STRATIVE	Divisio	N.			
1		1 at £1,138	•	••	•••		1,138	
		CLE	RICAL DIV	vision.				
		Special Class—						
. 1		$1$ at £775 $Class\ I$ —		• • •		•••	775	
1		1 at £625					625	
_		$Class\ II-$	·	.,		•••	020	
4		4 at £525		• •			2,100	
0		Class IV—					0.700	1
6		6 at £430 Class V—	•	••	• • • •	€	2,580	
		11 at £380				$\frac{1}{4}, \frac{1}{1}80$		
12		1 at £360				360		
		Class VI—					4,540	
3.3		10 at £330 1 at £310	•	• •		3,300 310		
11		Class VII—		••	• • • •	310	3,610	
		1 at £305				305	3,010	
		1 at £295				295		
5		3 at £275		• •		825		
		Class VIII—				1 000	1,425	Ĺ
	İ	4 at £255 6 at £235	,	• •	• • • •	1,020		
		7 at £215	•	• •	• • •	1,410 $1,505$		
		29 at £200	•	••		5,800		
	į į	15 at £130				1,950		
		15 at £105				1,575		
	T ,	15 at £90				1,350		
	;	6 at £75		••		450	!	
		6 at £75 (6 mont	hs) .	• •		225		
109		6 at £75 (2 mont		••		75		
	;						15,360	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

Number f Persons.	Item.	VOTE No. 3-LAND AND INCOME TAX	1922	-23.
922–23.	-   	DEPARTMENT—continued.	£	£
			~	~
	1	Salaries—continued.	,	
		General Division.		
		2 at £255 510		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$egin{array}{cccccccccccccccccccccccccccccccccccc$		
10		1 at £105 105		
160	-		2,202	
:	-	· · ·	*35,455	
		Less— Proportion of salaries and increases	-1	
		provided for but not payable for		
	İ	full year 1,910		
		Second deduction from cost-of-living increase or bonus 927		
		Estimated credits on account of leave		
	i	of absence on reduced pay 200	0. 007	
		·	3,037	
			32,418	
				•
		OTHER CHARGES FOR AND INCIDENTAL TO—		
	2	A. C. Nottingham: Amount required for credit of		
		Consolidated Fund, being amount due on account of income-tax, 1916-17	41	
	3	Advertising, photographs, books, newspapers, and	4.1	
		other publications	550	
	5	Contribution to Valuation Department Electric-light, gas, and water services	$15,771 \\ 60$	
	6	Law-costs (part recoverable)	1,450	
	7	Office equipment (furniture, fittings, and machinery)	<b>46</b> 0	
	8	Office requisites (including printing and stationery)	4,854	
	9	Overtime and meal allowances Payment to Customs Department for services of	250	
	10	officers	200	
	11	Payment to Post and Telegraph Department for	0 #90	
	12	services of officers Postage, telegrams, and rent of boxes	$\begin{array}{c} 2,530 \\ 4,000 \end{array}$	
	$\begin{vmatrix} 12 \\ 13 \end{vmatrix}$	Rent of offices	50	
	14	Repairs and renewals to office equipment	100	
	$\begin{vmatrix} 15 \\ 16 \end{vmatrix}$	Taxation Committee expenses  Telephone services	$\begin{array}{c} 450 \\ 120 \end{array}$	
	17	Temporary assistance	*917	
	18	Travelling allowances and expenses	2,000	
	19	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
		cidental to the other items of the vote		
		T	33,853	
		Less estimated credits— & Law-costs recoverable from defendants 450		
		Miscellaneous 51		
			501	
		**	33,352	
	1 1	TOTAL-VOTE No. 3	00,004	65,77

 $<sup>\ ^*</sup>$  Includes cost-of-living increase to scale salaries or wages.

#### ${\bf DEPARTMENTS} \ \ {\bf OF} \ \ {\bf INLAND} \ \ {\bf REVENUE-} continued.$

Number f Persons.	Item.	VOTE No. 4.—STA	MP DUTTES	DEPART	MENT	1922-	23.
922–23.		Subdivision No. 1				£	£
					,		~
	1	Salaries — Cle	RICAL DIVISION.				
		Special Class—					
1		$1$ at £775 $Class\ I$ —	•••	•••	$\mathfrak{E}$	775	
		1 at £625	• •		$6\overline{25}$		
2		1 at £575			575		
		Class II—				1,200	
2	1	1 at £525 1 at £500	•••	•••	525 500		
2	.	Class III	•••	•••		1,025	
2		2 at £480	•••	•••		960	
		Class V— 3 at £380	ı		1 140		
4		1 at £345	•••	•••	$\begin{bmatrix} 1,140 \\ 345 \end{bmatrix}$		
		Class VI—				1,485	
		7 at £330	•••	• • •	2,310		
		1 at £310 2 at £295	***		310 590		
11		1 at £275	•••		275		
		Class VII—				3,485	
		2 at £305 1 at £255	•••		610		
		1 at £235			$255 \mid 235 \mid$		
		2 at £215	•••	•••	430		
	1	16 at £200			3,200		
		1 at £150 10 at £130	•••	• • •	$\begin{bmatrix} 150 \\ 1,300 \end{bmatrix}$		
		6 at £105	•••		630		
43		4 at £90	•••	•••	360		
		Crow	ERAL DIVISION.			7,170	
		1 at £230		•••	230		
		5 at £210	•••		1,050	,	
		1 at £191 3 at £142	•••		191		
		5 at £142 4 at £114	•••	y-•	$\begin{array}{c c} 426 \\ 456 \end{array}$		
15		1 at £105	•••	***	105		
		· ·				2,458	
80						18,558	
		Less second de	duction from co	st-of-living	g increase	10,000	
		or bonus	•••	••••		462	
						*18,096	
		OMMED CHARGES FOR	ANTO TATALON TO STORY	T ITO			
	2	OTHER CHARGES FOR Allowances to office	ers performing	special o	r higher		
	_	$\operatorname{duties}$		• • • • • • • • • • • • • • • • • • • •		150	,
	3	Amusement-tax— Inspection and c	ollection			500	
	4	Printing tickets (	recoverable)	•••		400	
	5	Compassionate alle	owance to wide		e P. C.	1 500	
	6	Corliss, Commiss Cost of printing sta	ioner of Stamp	Duties nent Print	ter (nert	1,500	
	U	recoverable)	mbs na dozetti	TENO THU	ter (part	4,570	
	7	Freight, cartage, an		rges		150	•
	8	Fuel, light, power,	and water	•••	• • •	150	
	$\begin{vmatrix} 9 \\ 10 \end{vmatrix}$	Law-costs New embossing die	s	• • • •		500 200	
	11	New postage dies		•••		500	

<sup>\*</sup>Includes cost-of-living increase to scale salaries or wages.

Number of Persons.		VOTE No. 4.—STAMP DUTIES DEPARTMENT—	1922-	-23.
1922–23.	-   	Communaci.	1	
		Subdivision No. I.—Stamp Duties Department—continued.	£	£
	10	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	20	
	12   13	Office-cleaning	20	
	14	Office equipment	450 50	
	15	Overtime and meal allowances Postage, telegrams, and rent of boxes	2,000	
	16	The state of the s	4,000	
	17	Postage-stamp paper Printing and stationery	2,100	
	18	Printing ink	500	
	19	Refund of duty paid by Messrs, Sainsbury, Logan,	,,,,,	
		and Williams, Napier	28	
	20	Relieving-allowances	100	
	21	Samoan stamps (recoverable)	50	
	22	Stamps lost from stock at Auckland	20	
	23	Stamp-printing machinery	100	
	24	Telephone services (including installations, exten-		
		_ sions, maintenance, rent, and calls)	150	
	25	Temporary assistance	*592	
	26	Thos. Peacock, deceased: Interest on account of	105	
	0.7	cancellation of Death Duty stock	125	
	$\begin{vmatrix} 27 \\ 28 \end{vmatrix}$	Travelling allowances and expenses	1,050	
	29	Typewriters: Purchase and repairs	$\frac{100}{350}$	
	$\begin{vmatrix} \frac{2}{30} \\ 30 \end{vmatrix}$	Valuation fees	75	
	31	Valuator's services (T. B. Dwan) Contingencies, including unforeseen expenditure in-	19	
-	01	cidental to the other items of the vote	50	
		Cidential to the outer holls of the vote		
			20,530	
		Less estimated credits under Section 48 of Public		
		Revenues Act, 1910—		
		Postage on parcels of stamped forms 130		
		Cost of printing amusement-tax tickets 250		
		Samoan stamps 50		
		Cost of printing stamps 8,284 Miscellaneous 50		
		Miscellaneous 50	8,764	
			11,766	
		$TotalSubdivision \ No. \ I \ \  $		29,8
		Subdivision No. II.—Land and Deeds Registry.		
	32	Salaries— Professional Division,		
		I ROFESSIONAL DIVISION.		
1	i	1 at £775 (Registrar-General of Land and District	į	
	1	Land Registrar, Wellington)	775	
		Class A—		
_		1 at £725 $725$		
2		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1 400	
	ļ l	Class B— — — — — — — — — — — — — — — — — —	1,400	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
6	1	2 at £525 1,050		
0		Class C—	3,325	
1		1 at £470	470	
-				
+		Class D—		

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of living increase to scale salaries or wages.

# $Appropriations \ for \cdot Consolidated \ Fund \ Services.$

Number of Persons.	Item.	VOTE No. 4.—STAMP DUTIES DEPARTMENT—			1922–2 <b>3.</b>		
1922–23.			pntinued.	INT ALVE IN	111111-	_	_
		Subdivision No. 11	Land and De	ada Basi	utaesi	£	£
			ontinued.	cus riegi	s <i>ury</i> —	İ	
	00	Contraction and the second				i	
	32	Salaries—continued.					
			ICAL DIVISION.		ļ		
O		$Class\ IV - 8  ext{ at } \pounds 430$				2 440	
8		Class V-	***	•••	£	3,440	
		1 at £380			380		
5		4 at £360	•••		1,440	4 000	
		Class VI— 4 at £330			1,320	1,820	
6		2 at £310	•••	•••	620		
O		Class VII—				1,940	
		5 at £305	***	• • •	1,525		
		3 at £295 8 at £275	• • •	• • •	$\frac{885}{2,200}$		
		4 at £255	•••		1,020	İ	
		6 at £235			1,410	. ]	
		3 at £215			645		
	į į	12 at £200 1 at £150	***		$\begin{bmatrix} 2,400 \\ 150 \end{bmatrix}$		
	!	20 at £130	• • •		2,600		
		18 at £105	•••		1,890	1	
84		4 at £90	•••		360		
		Guno	RAL DIVISION.			15,085	
		1 at £235	RAL DIVISION.		235		
		1 at £220	***	•••	220	1	
		1 at £191	• • •		191		
		1 at £174 1 at £166	•••	• •	174 166		
		3 at £154	•••	 	462		
		9 at £142	•••		1,278	1	
		2 at £130	•••	•••	260		
22		2 at £114 1 at £90		•••	228 90		
		1 80 2500	•••	••		3,304	
137							
		T	- 3 £ £			32,349	
		Less second de crease or bon		cost-oi-li	ving in-	734	
		crounce of poin	us	•••		101	
						*31,615	
		Omman Council and	IND THAT	- ma	-		
	33	OTHER CHARGES FOR Advertising, photog			ers and		
	00	other publications				950	
	34	Allowances to officer	s temporarily p	performin	g special		
	05	or higher duties	mian of Domester	 D T.a	J D	100	
	35	Alteration of bounda tration District:					
	i	documents				2,000	
	36	Binding		•••		600	
	37	Contract work for re	cording	 Landa an		100	
	38	Defalcation: W. N. Office, Wellington		uanas an	d Deeds	500	
	39	Draughtsman's work	performed by t	he Survey		000	
		ment	•••	•••		12,500	
	40	Freight, cartage, and		-		120	
	41	Fuel, light, power, a	nu water		•••	350	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.		1922-	23.
1922-23.		VOTE No. 4—STAMP DUTIES DEPARTMENT— continued.  Subdivision No. 11.—Land and Deeds Registry— continued.	£	£
	43 44 45 46 47 48 49 50 51 52 53	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Office-cleaning	50 200 50 350 2,750 150 180 *1,170 1,150 150	
		Less estimated credits under Section 48 of Public Revenues Act, 1910— Salaries, travelling - expenses, &c., refunded through various causes  Total—Subdivision No. II	23,520 150 23,370	54,985 <b>84,84</b> 7

<sup>\*</sup> Includes cost of-living increase to scale salaries or wages.

# NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT.

•						19	22–23.	
		<del></del>			Salaries.	Othe	er Charges.	Total.
Vote No. 5	5 <b>_</b> N	National Provid Societies Office	ent and	Friendly	9,70	06	£ 12,779	£ 22,485
TOTA	ΑL	•••	•	•••	9,70	6	12,779	22,485
Number of Persons.	Item.	NATIONAL		ENT AND DEPARTMI		Υ	1922	<b>–23.</b>
1922-23.	 	VOTE No. 5.	METTES 1	)EPAKIMI	an I.		£	£
	1	*Salaries	D	1)				-
1	!	1 at £550	PROFESSION	AL DIVISION	· · ·	••	550	
	!	Class III—	CLERICAL	Division.				
$\begin{bmatrix} 1 \\ 1 \end{bmatrix}$		1 at £480 Class IV 1 at £430		•••	•••	•••	480	
$\begin{bmatrix} 1 \\ 2 \end{bmatrix}$		Class V— 2 at £380		***	•••	•••	430 760	•
8	i	Class VI— 8 at £330					2,640	
		Class VII— 2 at £305 2 at £295		•••		£ 610 590		
6	1	2 at £275 Class VIII— 1 at £220			•••	550 	1,750	
		1 at £215 4 at £205 1 at £150		•••	•••	215 820 150		
		2 at £130 3 at £105 4 at £90		•••	•••	260 315 360		
18		2 at £55 Cadets' lodgi	ng-allowan	 ces			$\begin{smallmatrix}2,450\\222\end{smallmatrix}$	
		"		Division.				
3		1 at £305 2 at £142		•••		305 284 ———	589	
40		Proportion of ment Insu	f salaries to rance Depar		ed by the G 	overn-	- 200	
				increases to		ovided	10,071	
				ole for full ye		•••	140	
			cond deduce	ction from	cost-of-livin	ng in-	9,931 225	
		0.5000		,		•••	†9,706	

<sup>†</sup> Includes cost-of-living increase

### NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT—continued.

Number of Persons.	Item.		1922-	23.
· · · · · · · · · · · · · · · · · · ·		NATIONAL PROVIDENT AND FRIENDLY		
192223.	Ì	SOCIETIES DEPARTMENT—continued.		£
		VOTE No. 5—continued.	£	ž.
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Audit Office for inspection of Accounts	50	
	3	Commission, allowances, and agency expenses	5,426	
	4	Fuel, light, power, and water	100	
	5	Maternity payments specially approved	12	
	6	Office fittings and requisites (including printing and	1.5	
		stationery)	1,000	
	7	Overtime and meal allowances	100	
	8	Payment to Department of Internal Affairs for	100	
		services of messengers, night-watchmen, and char-		
		women	500	
	9	Payment to officers of Friendly Societies for statisti-	300	
		cal returns of sickness and mortality	800	
	10	Payment to Post and Telegraph Department	600	
	11	Postage, telegrams, and rent of boxes	900	
	12	Rent	1,300	
	13	Shortages due to contributions over-credited	1	
	14	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	75	
	15	Temporary assistance	*1,115	
	16	Travelling allowances and expenses	500	
	17	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	60	
			12,539	
	18	WAR EXPENSES		
	10	Assistance to Sick and Funeral Funds of Friendly		
		Societies on account of deficiencies due to the war	250	
	1	and of excess after-discharge sickness	200	
			12,789	
		Less estimated credits under Section 48 of the		
		Public Revenues Act, 1910	10	
			12,779	
		TOTAL—VOTE No. 5		22,48
		7 3 3 2 1 3 7 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		,-

£22,485

\* Includes cost-of-living increase to scale salaries or wages.

TOTAL

### WORKING RAILWAYS DEPARTMENT.

			and the second second second second
· · · · · · · · · · · · · · · · · · ·		19	922-23. Total.
Vote No. 6.—Working Railways	•••		£ 6,1 <b>6</b> 5,921
TOTAL	•••		6,165,921
GROSS REVENUE	•	£	Estimated. 6,700,000
Item.		192	2-23.
*Classification and Increases under Act. WORKING RAILWAYS.		3,035	Miles.
VOTE No. 6.  Head Office—  General Manager	2, 's, f, f, f, f, f, f, f, f, f, f, f, f, f,	£ 70C 6558	£
	53,0	000	

<sup>\*</sup> For particulars of salaries see Railways Department Classification List, "D-3."

#### WORKING RAILWAYS—continued.

Item.		1929	2–23.
4	WORKING RAILWAYS—continued.	3,035	Miles.
	VOTE No. 6—continued.	£	£
2	DEPARTMENTAL OFFICES—	~	ಹ
	Maintenance Branch—Chief Engineer, £1,137 10s.; Assistant Chief Engineer, £775; Supervising Engineer, £775; Officer in Charge, Architectural Branch, £775; 2 Inspectors of Building Construction—1 at £430, 1 at £380; 8 District Engineers—2 at £775, 2 at £725, 4 at £675; 6 Assistant District Engineers—4 at £525, 1 at £480, 1 at £405; 107 Clerks and Draughtsmen—1 at £575, 6 at £525, 3 at £480, 9 at £430, 1 at £405, 2 at £390, 3 at £380, 1 at £370, 1 at £360, 5 at £335, 6 at £330, 17 at £305, 7 at £295, 9 at £255, 18 at £235, 8 at £215, 4 at £275, 6 at £200; 22 Cadets—7 at £105, 6 at £100, 6 at £90, 3 at £75; Cadets' lodging-allowance—1 at £40, 10 at £30, 5 at £20.		
	Signal Branch—Signal Engineer, £837; Assistant Signal Engineer, £675; Chief Clerk, £445; 7 Draughtsmen and Clerks—1 at £430, 1 at £335, 1 at £305, 1 at £295, 1 at £235, 2 at £215; 1 Civil Engineering Cadet, £100; 1 Cadet, £90; Cadet's lodging-allowance, £30.		
:	Locomotive Branch — Chief Mechanical Engineer, £1,137 10s.; Assistant Chief Mechanical Engine er, £775; 4 Locomotive Engineers—2 at £775, 1 at £525, 1 at £480; 4 Assistant Locomotive Engineers—1 at £525, 1 at £360, 1 at £335; 1 at £305; 2 Locomotive Inspectors at £525; 2 Boiler Inspectors at £430; 2 Brake Inspectors—1 at £345, 1 at £330; 66 Clerks—2 at £625, 2 at £525, 2 at £480, 5 at £430, 1 at £380, 1 at £355, 1 at £350, 11 at £335, 5 at £330, 11 at £305, 1 at £295, 6 at £275, 5 at £255, 3 at £235, 8 at £215, 2 at £200; 5 Cadets—3 at £105, 2 at £90; Cadet's		
	lodging-allowance—1 at £30.  Traffic Branch — Chief Traffic Manager, £1,137 10s; Assistant Chief Traffic Manager, £775; 10 District Traffic Managers—2 at £775, 1 at £725, 5 at £675, 1 at £625, 1 at £550; 4 Assistant District Traffic Managers—2 at £625, 2 at £575; 188 Clerks—1 at £625, 3 at £525, 1 at £500, 6 at £480, 1 at £455, 2 at £430, 21 at £380, 9 at £335, 13 at £330, 37 at £305, 6 at £295, 10 at £275, 3 at £255, 22 at £235, 39 at £215, 14 at £200; 31 Cadets—12 at £105, 12 at £90, 6 at £75, 1 at £130; Cadets' lodging-allowance—4 at £40, 9 at £30,	153,330	
	sistance, stationery and supplies, travelling allowances and expenses, allowances to members under Regulation No. 86 (made under the Government Railways Act, 1908), increased night allowances to members and allowances to members on transfer in excess of the regulations, and all other unforeseen expenditure incidental to the other items of the vote	6,670 160,000 213,000	
	Total Head and Departmental Offices		

#### WORKING RAILWAYS—continued.

	The second secon		
Item.		192	2-23.
	WORKING RAILWAYS—continued.	3,035	Miles.
	VOTE No. 6—continued.	1	
3	Working-expenses of Sections— Including salaries and wages; allowances made to members by regulations made under section 68 of the Government Railways Act, 1908, for special work performed in the course of their duty; payments for Sunday duty; general repairs and miscellaneous services; supplies of stores, provisions, stationery, water, and material; advertising; compensation for accidents, personal injuries received, loss of property by fire, damage to or loss of goods; freights on goods lost or destroyed; postages, telegrams, telephones, maintenance of wires; payments under the Workers' Compensation Acts; payments in connection with works outside railway boundaries in which Department has beneficial interest; compassionate allowances; temporary clerical and draughting assistance; travelling allowance and expenses; allowances to members under Regulation No. 86 (made under the Government Railways Act, 1908); increased night allowances to members and allowances to members on transfer in excess of the regulations; stationery and supplies; also contingencies and all other unforeseen expenditure incidental to the other items of the vote—	£	£
	Maintenance of Way and Works—		
	Section—	32,500	
	Whangarei Kaihu	4,500	
	Gisborne	11,000	
	North Island Main Line and Branches	513,500	
	South Island Main Line and Branches	446,950	
	Westland	51,000	
	Westport Nelson	15,500 11,000	
	Di-4	14,000	
	Special allowance to ex-Inspector J. Smith for	11,000	
	originating idea of ballast plough	50	
		1,100,000	
	Less estimated credits under Section 48 of the	1,100,000	
	Public Revenues Act, 1910	10,000	
			ů.
		1,090,000	
	Maintenance of Signals, Telegraphs, and Telephones, 1922–23— Section—		
	Whangarei	900	
	Gisborne	180	
	North Island Main Line and Branches	42,890	
	South Island Main Line and Branches	23,750	
	$\underline{\underline{W}}$ estland	1,150	
	Westport	650	
	Nelson	210	
	Pieton	270	
		70, 000	
		70,000	
_	l		

### WORKING RAILWAYS—continued.

em.		1929	2–23.
	WORKING RAILWAYS-continued	3,035	Miles
	VOTE No 6.—continued.		hard and accommoditions
3	Working-expenses of Sections—continued.	£	£
	Locomotive Running and Repairs and Renewals of		
	$Rolling ext{-}stock ext{-}$ $Section ext{-}$		
	Whangarei	25,000	
	Kaihu	2,850	
	Gisborne	21,000	
	North Island Main Line and Branches	1,737,740	
		1,096,150	
	Westland	62,700 $36,600$	
	$egin{array}{cccccccccccccccccccccccccccccccccccc$	14,200	
	T): 1	15,500	
	Allowance to enginemen and firemen employed on	10,000	
	Rimutaka Incline	260	
		3,012,000	
	Less estimated credits under section 48 of the		
	Public Revenues Act, 1910	3,000	
		3,009,000	
	Traffic Expenses—		
	Section—	15 000	
	Whangarei Kaihu	15,000	
	Gial anna	$\frac{2,400}{7,600}$	
	Namel Taland Main Time and Dunnahan	7,600	
	C1 T.1 7 M-1- T 1 TD1	856,179 669,000	
	777 41 3	50,500	
	Westport	25,800	
	Nelson	9,400	
	Picton	11,200	
	Allowance to guards employed on Rimutaka Incline	100	
	Money stolen from Mount Albert, Rangiotu, and		
	Milton Stations	21	
		1,647,200	
	Less estimated credits under Section 48 of the	, ,	
	Public Revenues Act, 1910	15,000	
		1,632,200	
	Lake Wakatipu steamer service	13,000	
	Miscellaneous-		
	Allowances to be paid to members of the First and		
	Second Divisions in excess of the maximum rates		
	of pay set forth in the schedules to the Government		
	Railways Act, 1912, for special work performed in		
	the course of their duty £101		
	Less already provided for under the various sections 100		
		1	
	Audit fees for inspection of accounts	900	
	Compassionate allowances to—		
	Mrs. E. O. McLeod, widow of late Fireman J. P.	0.50	
	McLeod, killed on duty Mrs. S. Flannagan, widow of late Engine-driver	250	
	THE BUTS. D. PIBLOBERBE. WILLOW OF 18TH CONTROL OF TWAT		
	J. Flannagan	100	

### $WORKING\ RAILWAYS-continued.$

em.		199	22-23.
	WORKING RAILWAYS—continued.	3,03	5 Miles.
	VOTE No. 6.—continued.		
3	Working-expenses of Sections-continued.	£	£
	Miscellaneous—continued.  Expenses in connection with members of Railway Department visiting Australia, England, and America on official business Fee to Chairman of Railway Appeal Boards New Zealand Railways Military Transport Corps— Pay and travelling-expenses of Instructors, and incidental expenses Salary granted to members in terms of regulations, in lieu of leave on retirement Special allowance to Private Secretary: 1 at £380	350 500 500 1,200	
	m + 1 rt - 1 og - 1 - + + 1 og 1	3,721	
	Total Head Office, Departmental Offices, and Working-expenses of Sections	6,030,921	
	store expenses, including salaries, wages, cartage, freights, miscellaneous services, workers' compensation for accidents, £ contingencies 1,791,000  Less estimated credits for stores to be issued, provided for in other votes and items 1,741,000  State Sawmills— Purchase of land, standing timber,	50,000	
	expenses of working mills, including salaries, wages, machinery, supplies, repairs, transport charges, tram construction, royalties, workers' compensation for accidents, and contingencies—  Piha Sawmill 700  Mamaku Sawmill 55,000  Pukete Timber Reserve 600  Maroa Timber Reserve 50  Pokako Timber Reserve 65,000  Frankton Juncton Sawmill and Timber-yard 65,000		
	121,350 Less estimated credits 71,350	<b>#</b> 0 000	
	Advances to High Commissioner's Imprest Account for purchase of stores, &c.	50,000 100,000	
ĺ	Less second deduction from cost-of-living increase or bonus	6,230,921 65,000	
	TOTAL—VOTE No. 6		*6,165,9

<sup>\*</sup>Includes cost-of-living increase to scale salaries or wages.

### POST AND TELEGRAPH DEPARTMENT.

		192	2–23.	
	Salaries.	Other	Charges.	Total.
	£		£	£
egraph Work-	1,542,266	8	39,771	2,382,037
	1,542,266	8	39,771	2,382,037
		_2		
ification and I	ncreases un	der A	.ct.	1922-23.
AND TELEC				£
7.	<del></del>			
Telegraph Sale	ıries—			
	IVE DIVISION	١.	£	
138			1,138	
. <b>15</b> O	•••	•••	$1,115 \\ 920$	
7	•••	•••	920 837	4 040
RICAL AND ENG	ineering Di	VISION	<del></del>	4,010
<i>Class</i> 83 <b>7</b>			837	
800	•••		800	
790 10s.	•••	•••	2,371	
775		•••	2,325	
725		•••	4,350	
700			700	
675	•••	•••	1,350	
675 (6 months)	•••	•••	1,013	13,746
-			0.050	
650 625	• • •	•••	3,250	
625 (6 months)	•••	• • •	$5,000 \\ 1,563$	
600	•••	•••	, 3,600	
£575	•••		7,475	
£575 (6 months)	•••	•••	2,875	
				23,763
550	•••	•••	1,650	
£525	•••	•••	8,400	
<b>£525</b> (6 months)	•••	••	2,888	12,938
I 500			1 000	
	•••	•••		
	•••			
475	•••	•••		
455	•••	• • • •		
		3480 3480 (6 months) 475	3480 3480 (6 months) 475	3480         11,520         3480 (6 months)        2,640         475         950

<sup>\*</sup> For particulars of salaries see "Post and Telegraph Classification List."

No. of Persons.	Item.	POST AND TELEG	RAPH V	VORKINO	1-	1922–23.
192 <b>2</b> –23.		EXPENSES			<u>.</u>	
		VOTE No. 7—continued.				£
	1	Postal and Telegraph Salar	<i>ies-</i> con	tinued.		
		CLERICAL AND ENGINEERIN	ng Divis	ions—con	tinued.	
		Class IV—			£	
01		13 at £450	•••	•••	5,850	:
91		78 at £430		•••	33,540	39,390
		Class V—				00,000
		6 at £400		• • •	2,400	
		142 at £380		•••	53,960	
		1 at £380 (10 months) 6 at £360		•••	316	
156		1 at £345	• • •		$\frac{2,160}{345}$	
100		1 20 20 40	•••	•••	010	59,181
		Class VI—				,
		2 at £350	•••		700	
		257 at £330	• • •	•••	84,810	
200		1 at £330 (10 months)	• • •	•••	275	
260		1 at £330 (2 months)	•••	•••	55	85,840
		Class VII—				00,040
		3 at £320			960	
		959 at £305	•••	•••	292,495	
		1 at £305 (2 months)		•••	50	
		165 at £295			48,675	
		1 at £290	•••		290	
	}	359 at £275	•••		98,725	
		1 at £260	• • •	•••	260	
		129 at £255 3 at £243	•••	•••	32,895 $729$	
		263 at £235	•••	•	61,805	
		170 at £215	•••	•••	36,550	
		214 at £200			42,800	
		2 at £153		•••	306	
		274 at £150	• • •		41,100	
		136 at £130	•••	•••	17,680	
0.706		46 at £105	•••	***	4,830	
2,726		1 at £90	•••	•••	90	680,240
		GENERAL	Division	•		000,210
		Female	Officers.			
1		Class I— 1 at £360				360
1		Class II—	***	•••	•••	300
8		8 at £310				2,480
· ·		Class III—				
		2 at £290			580	
42		40 at £275			11,000	
20	Ì	Class IV—				11,580
22		22 at £255	•••	•••	•••	5,610
		Class V—				
100		100 at £235			•••	23,500
		Class VI—			2.5.4	
20		2 at £217	•••	•••	434	
<b>5</b> 8		56 at £215 Class VII—	• • •	•••	12,040	12,474
		1 at £204			204	12,414
		2 at £200	•••	•••	400	
122		119 at £195	•••	•••	23,205	
						23,809

No. of Persons.	Item.	POST AND TELE	GRAPH	WORKI	NG-	1922–23
1922-23.		EXPENSES	Scontinu	ucd.		
		VOTE No. 7—continued.				£
	1	Postal and Telegraph Sala	<i>ries</i> —con	tinued.		
		GENERAL DIVIS	sioncont	tinued.		
		Female Officer	rscontin	nued.		
		Class VIII—			£	
		233 at £150		•••	34,950	:
		98 at £140 89 at £127	• • • •	• • •	$13,720 \\ 11,303$	
		66 at £114	***	•••	7,524	
		27 at £101	•••	•••	2,727	
		10 at £88		•••	880	ļ
525		2 at £75	***	•••	150	
		SHOPEHAND WEIGHTS To	Phroma 45	ın Magre		71,254
		SHORTHAND-WRITERS, Tr	YPISTS, AI	ND MACHI	NISTS.	
2		$\begin{array}{c} Special \ Class- \\ 2 \ { m at} \ \pounds 255 \end{array}$				
2		$2$ at £255 $Class\ I$ —	•••	•••	•••	510
8		8 at <b>£</b> 235		•••	•••	1,880
14		Class~II 14 at £215				
14		Class III—	•••	•••	•••	3,010
		17 at £191	• • •		3,247	
		5 at £174	• • • •		870	
35		13 at £154		•••	2,002	
		Class IV—				6,119
		14 at £142	•••	•••	1,988	
24		5 at £130 5 at £114	•••	•••	650 570	
21		Class V—	· •••	•••	570	3,208
		8 at £105			840	5,206
12		4 at £90	•••	•••	360	
		Male (	Officers.			1,200
		Special Class—	J,000701			
1	1	1 at £480		• • •		480
_		Class I—				
2		2 at £430		• • • •	•••	860
8		Class II—				0.100
o		8 at £390 Class III—	•••	•••	•••	3,120
7		7 at £360				2,520
		Class IV—		•••	•••	2,020
		43 at £330	• • •	•••	14,190	
44		1 at £330 (9 months)	•••		247	
		Class V—			i	14,437
013		93 at £305	• • •		28,365	
93		1 at £305 (3 months)	•••	•••	76	
		Class VI—			CE 550	28,441
232		230 at £285 2 at £285 (6 months)	•••		65,550	
202		Class VII—	•••	• • • •	285	65 995
		8 at £280			2,240	65,835
		172 at £269		•••	46,268	
180		2 at £269 (6 months)	•••		269	
		Class VIII—				48,777
		939 at £243	•••	•••	228,177	
		5 at £230		•••	1,150	
		80 at £217	•••		17,360	İ
		12 at £204	•••	•••	2,448	
	!	54 at £191	• • •	•••	10,314	
	1 1	10 at £153	• • •	• • •	1,530	İ

No. of Persons. 1922-23.	Item.	POST AND TELEGRAPH WORKING- EXPENSES—continued.		1922–23.
1020 20.	-	VOTE No. 7—continued.		£
	1	Postal and Telegraph Salaries—continued.	•	
		GENERAL DIVISION—continued.		
		Male Officers—continued.		
		Class VIII—continued.	£	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	3,240 $4,826$	
			3,794	
			,845	
			616	
1,985		8 at £75	600	353,90
		Class IX—		
777		777 at £62 $\dots$	•••	48,17
7,657		Logg proportion of calcular provided for but	- not	1,669,666
		Less proportion of salaries provided for but payable during current year		10,000
				1,659,666
		New stations, telegraphists, cadets, messengers	, and	3,000
		training cadets	•••	
		Less second deduction from cost-of-living	oonus	1,662,666
		or increase	•••	49,000
				*1,613,666
		Salaries of engineers and linemen recovered from Vote "Telegraph Extension" 81 Services performed for other Govern-	£ 3,000 ,200 ,800	160,000
				1,453,666
		Contribution to Railways Department for complete Post-Telegraph-Railway Offices		26,000
		Non-classified officers, including country postma and telephonists, payable by salary (number, 1		61,000
		Salaries of Medical Referees  Married Officers: To provide a minimum sala	·	700
		£209 15s. per annum		900
		•		88,600
				1,542,266
		CONVEYANCE OF OCEAN MAILS.		
!	2	CHARGES FOR AND INCIDENTAL TO		
		Suez Services—	£	
		Australian overland transit 1	,700 ,000	
	ı I	The state of the s		2,700

POST AND TELEGRA	PH WORK	ING-EXF	PENSES	1922	-23.
VOTE No. 7—continued.				£	£
CONVEYANCE OF C	CEAN MA	ILS—cont	inued.		
2 CHARGES FOR AND INCID Pacific Services— Vancouver service	ENTAL TO-	-continued.	£ 20,000		
San Francisco servic	e	•••	25,000		
Resident Agency, Sa			325		
North American and			6,100		
Australia–San Franc Coastal Services—	cisco service	·	400	51,825	
Auckland services,	including	Great		01,020	
Barrier		•••	3,000		
Blenheim services	•••		1,100		
Chatham Islands	•••	•••	500		
Invercargill services Nelson services		•••	300 200		
Merson services	• • •	•••	<u></u>	5,100	
Gratuities and landing	and shippin	ng	•••	23,000	
Postal Union transit c		•••	•••	800	
				00 105	
Less estimated cree Public Revenue	s Act, 1910-	<del></del>		83,425	
Industries and Co Vancouver serv		_	- £ 10,000		
San Francisco s		•••	10,000 $12,500$		
Chatham Island		•••	250		
	20 DOL 1100	•••		22,750	
	301 7100	•••		22,750	
CONVEYANCE	OF INLAN	D MAILS			
3 CHARGES FOR AND INCID	OF INLAN	D MAILS		60,675	
	OF INLAN	D MAILS		19,500	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch	OF INLAN	D MAILS	3	19,500 1,900 9,900	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin	OF INLAN	D MAILS	3. 	19,500 1,900 9,900 8,900	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin Gisborne	OF INLAN	D MAILS	  	19,500 1,900 9,900 8,900 7,800	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin Gisborne Greymouth	OF INLAN	D MAILS	S	19,500 1,900 9,900 8,900 7,800 4,800	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin Gisborne Greymouth Hamilton	OF INLAN	D MAILS	S	19,500 1,900 9,900 8,900 7,800 4,800 16,500	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin Gisborne Greymouth	OF INLAN	D MAILS	S	19,500 1,900 9,900 8,900 7,800 4,800	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin Gisborne Greymouth Hamilton Invercargill Napier Nelson	OF INLAN	D MAILS	S	19,500 1,900 9,900 8,900 7,800 4,800 16,500 5,500 9,650 6,600	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin Gisborne Greymouth Hamilton Invercargill Napier Nelson New Plymouth	OF INLAN	D MAILS	S    	19,500 1,900 9,900 8,900 7,800 4,800 16,500 5,500 9,650 6,600 6,500	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin Gisborne Greymouth Hamilton Invercargill Napier Nelson New Plymouth Oamaru	OF INLAN	D MAILS	S    	19,500 1,900 9,900 8,900 7,800 4,800 16,500 5,500 9,650 6,600 6,500 1,800	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin Gisborne Greymouth Hamilton Invercargill Napier Nelson New Plymouth Oamaru Thames	OF INLAN	D MAILS	S    	19,500 1,900 9,900 8,900 7,800 4,800 16,500 5,500 9,650 6,600 6,500 1,800 5,500	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin Gisborne Greymouth Hamilton Invercargill Napier Nelson New Plymouth Oamaru Thames Timaru	OF INLAN	D MAILS	S    	19,500 1,900 9,900 8,900 7,800 4,800 16,500 5,500 9,650 6,600 6,500 1,800	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin Gisborne Greymouth Hamilton Invercargill Napier Nelson New Plymouth Oamaru Thames Timaru Wanganui Wellington	OF INLAN  ENTAL TO—	D MAILS	S    	19,500 1,900 9,900 8,900 7,800 4,800 16,500 5,500 6,600 6,500 1,800 5,500 6,350	
3 CHARGES FOR AND INCID Auckland Blenheim Christchurch Dunedin Gisborne Greymouth Hamilton Invercargill Napier Nelson New Plymouth Oamaru Thames Timaru Wanganui	OF INLAN  ENTAL TO—	D MAILS	3    	19,500 1,900 9,900 8,900 7,800 4,800 16,500 5,500 6,600 6,500 1,800 5,500 6,350 10,650	
Auckland Blenheim Christchurch Dunedin Gisborne Greymouth Hamilton Invercargill Napier Nelson New Plymouth Oamaru Thames Timaru Wanganui Wellington New services, &c. (all  Less estimated con Public Revenue Subsidies by Subsidies by	OF INLAN  ENTAL TO—  districts)  redits under s Act, 1910- settlers	D MAILS  t Depart-	S	19,500 1,900 9,900 8,900 7,800 4,800 16,500 9,650 6,600 6,500 1,800 5,500 6,350 10,650 26,000	

Item.	POST AND TELEGRAPI	H WORKII	NG-EX	PENSES	192	2-23.
	VOTE No. 7—continued.				£	£
	CARRIAGE OF MA	ILS BY R	AILWA	ΔY.		
4	CHARGES FOR AND INCIDEN Carriage of Mails by Rails Special trains and trucks Ordinary mails	way—	•••	3,000 102,000	105,000	
	MAINTENANCE OF TE PHONE	LEGRAPH LINES.	AND	TELE-		
5	Charges for and inciden Maintenance of Telegraph Extra labour Material for repairs Rural telephones (assista Travelling-expenses of te and linemen Camp allowances Cost of cable repairs  Less estimated cred Public Revenues Sale of old materia Recoveries on acc effected in Depa	and Teleph nce to settle elegraph eng its under S s Act, 1910- bl count of re	ection 4	72,750 92,000 150 9,000 8,000 10,000	191,900	
					6,000	
					185,900	
	MISCELLANEO	us servi	CES.			
6	Charges for and incident Allowances— Calculation of Savings-Forage Locality allowances for away from home Lodging to cadets and non-clerical officers Miscellaneous allowance Payment to nominated on Post and Teleg Appeal Savings-bank tellers allowed the savings-bank tellers allowed tellers allowed tellers allowed the savings-bank tellers allowed tellers allow	cadets static  d cadettes,  es l representa raph Board  owances	and  ative l of	£ 5,000 1,200 250 15,000 4,000 100 1,000	26,550	
	Allowance to officers we bicycles, and to motor Purchase of motor-cycles and bicycles Purchase of motor-oil Repairs and hire Typewriters purchased	ısing their r-cycle rider	own s	£ 4 500 10,000 20,000 10,000 900		
	-JPS Paromanda			100	1	

POST AND TELEGRAPH WORKING-EXPENSI —continued.	ES 192	1922–23.	
VOTE No. 7—continued.	£	£	
MISCELLANEOUS SERVICES—continued.	. 35	25	
	20		
6 CHARGES FOR AND INCIDENTAL TO—continued.			
Cash Deficiencies— Cash destroyed in Te Teko Post-office fire	£ 75		
Misappropriation (of amount received for $5\frac{1}{2}$ per cent. Inscribed Stock) by E. H. K. Hughes, Dunedin 1,0	000		
	30		
ember, 1918	2 1 107		
Office Management Expenses—	1,107		
Advertising, photographs, books, newspapers, and other publications 8	000		
	25		
and stamp duty 1,0	00		
Cleaning and scavenging 17,0 Law-costs 2			
Light, fuel, and water 22,0	00		
Mail-bags, purchase of 3,0			
New Zealand's share of the cost of			
International Postal and Telegraph	00		
	00		
Office expenses 8,5 Payment to High Commissioner, Lon-	00		
don, for clerical work performed for			
	65		
Rent of buildings leased for post and			
telegraph offices, &c 8,5			
71	50		
Stamps, production of 8,2 Stationery, printing, and binding 83,0			
*Temporary clerks and telegraphists 2,0			
*Temporary exchange attendants 15,0			
* Temporary officers, postmen, messen-	İ		
gers, and general division 40,00	$00 \\ 210,524$	-	
Less second deduction from cost-of-living	ng		
increase or bonus	1,979		
<b>.</b>	208,545		
Overtime and meal allowances 5,00			
Parcel-post expenses 26,0			
Repairs, fittings, new buildings, &c 5,60			
Sundry Charges—	36,600		
Amounts improperly withdrawn from			
Post-office Savings-bank accounts—			
	12 .		
,	11		
	30		
Compassionate allowances to— Widow of the late J. Morton, Reliev			
	25		
Widow of D. N. McIntosh, late			
	65		

<sup>\*</sup> Includes cost-of-living increase to wages.

Item.			1929	2–23.
	POST AND TELEGRAPH WORKING-EXPEN	SES		
	-continued.		£	£
	VOTE No. 7—continued.			
	MISCELLANEOUS SERVICES—continued.			
6	CHARGES FOR AND INCIDENTAL TO—continued.			
	Sundry Charges—continued.  Compassionate allowances to—continued.	£		
	Widow of S. H. Keast, late Post- men's Sorter, Invercargill	150		
	Widow of D. H. Scott, late Clerk, Chief Post Office, Wellington	150		
	Compensation for articles lost or damaged during transmission by post	200		
	Compensation to—	200		
	J. Hannagan, Lineman, Gisborne: loss of left forefinger through			
	accident on duty F. H. Butler, Lineman, Palmerston	91	:	
	North: Loss of thumb through	<b>7</b> 0		
	accident  Parents of late message-boy, E. H.	72		
	Forster, Wellington, killed whilst on duty through motor accident	135		
	W. L. Taylor, temporary Lineman,			
	Dunedin, for loss of left index-finger through accident whilst in the per-			
	formance of his duty Miss K. Conaghan, for injuries re-	62		
	ceived through being run into by a Departmental motor vehicle at			
	Wellington	15		
	W. J. Collins, for injuries received to himself and motor-car colliding			
	with a guy-rope stretched across the road by Departmental workmen			
	erecting telegraph-poles at Maurice- ville	142		
	Expenses in connection with Post and			
	Telegraph Board of Appeal Funeral expenses of E. H. Forster, late	350		
	Telegraph Messenger, Wellington,	22		
	killed whilst on duty  Payment to A. F. Wimsett, Supervisor,	44		
	Mail Branch, Palmerston North, for legal expenses of defence (authorized			
	by Cabinet, 6th February, 1912, then refused, now accepted)	100		
	Pensions for officers retired, whose			
	allowance from the Superannuation Fund is under £52 per annum	350		
	Photograph of first Promotion Board Travelling-expenses of members of the	4		
	Executive Committee and delegates of the Post and Telegraph Officers'			
	Association attending a meeting in			
	Wellington to discuss the question of affiliation with the Alliance of Labour	183		
			2,469	
	Travelling-expenses, &c.— Inspection of offices	2,500		
	Railway travelling post-offices allow-			
	ances	3,350	I	ı

Item.		192	22-23.
•	POST AND TELEGRAPH WORKING-EXPENSES—continued.		
	VOTE No. 7—continued.	£	£
	MISCELLANEOUS SERVICES—continued.		
6	Charges for and incidental to—continued. Travelling-expenses, &c.—continued.  Relieving-expenses 7,500 Removal expenses 7,500 Travelling expenses, allowances, and		,
	tram-fares 5,000	25,850	
	Uniform clothing	12,000	
	Less estimated credits under Section 48 of the Public Revenues Act, 1910—  Motor service: Telegraph Extension 5,000  Savings-bank management expenses 7,100  Workshops 4,000  Sundries 3,900	358,621	
	TOTAL—VOTE No. 7	338,621	2,382,03

### PUBLIC BUILDINGS, DOMAINS, MAINTENANCE OF ROADS, AND IRRIGATION WORKS.

						19	22-23.	
					Salaries.	Othe	r Charges.	Total.
					£		£	£
ote No.	8.—F	Pablic Buildings			5,655		97,503	103,15
		lovernment Domain	α		4,415		400	4,81
"					1,110		59,468	
		Maintenance and Imp		Lioaus	•••			59,46
		Aaintenance of Irriga	ation Works	•••			2,250	2,25 ———
T	OTA.	L ,	•••	•••	10,070		159,621	169,69
Number of Persons.	Item.	PU	BLIC BUII	LDINGS	5.		1922	2–23.
1922–23.	Ì	VOTE No. 8.					£	£
	1	EXPENSES INCIDEN BUILDINGS, IN FITTINGS, ANI *Salaries—	NCLUDING AD  TURNITURE-	DITIONS, 	IMPROVEME			
		Class A—	ofessional I	Division				
1		1 at £837 (A: Class C	rchitect) .	••			837	
1		1 at £505 (7	months) .	••	•••		295	
		Class D— 1 at £430	•	••	•••	£ 430		
2		1 at £395		••	•;•	395	825	
		Class IV—	CLERICAL DIV	vision.				
. 1		1 at £430			•••		430	
3		Class V— 3 at £380		••			1,140	
3		Class VI— 3 at £330			•••		990	
•		Class VII— 1 at £305				305	223	
2		1 at £235	•		•••	235		
			GENERAL DIV	VISION.	<del></del>		540	
		1 at £355 1 at £280	•	••		355		
3		1 at £250	•			280 255		
16							890	
		T. 222 22-22	nd deduction	fuom	noat of living		5,947	
		crease o	1	···	ost-or-nying	ın- 	292	
							+5,655	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List." † Includes cost-of-living increase to scale salaries or wages.

# PUBLIC BUILDINGS, DOMAINS, AND MAINTENANCE OF ROADS—continued.

Number of Persons.	Item.	PUBLIC BUILDINGS—continued.	1922–	23.
1922–23.	- <del> </del> -	VOTE No. 8—continued.		
		Maintenance, etc.—continued.	£	2
		Other Charges for and incidental to—		
	2	*Accident compensation, sick-pay, holiday pay, and		
		special leave to workmen	500	
	3	Advertising, photographs, books, newspapers, and other publications	150	
	4	Contribution to Drainage Board for drainage, public	150	
		buildings, Christchurch	150	
	5	Contribution to Drainage Board for drainage, public	150	
		buildings, Dunedin Expenses in addition to or in excess of amount pro-	100	
		vided under the Civil List Act, 1920: Govern-		
	6	ment Houses, Auckland and Wellington—	i	
	0	Fuel, light, water, and cleaning for official and reception rooms, outbuildings, and grounds	475	
	7	Telephones	140	
	8	Freight, cartage, and transport charges (£10,000 re-	1- 000	
	9	coverable)	12,000	
		Office requisites, fuel, light, power, water, cleaning,		
		scavenging, and other annual services	3,000	
	$\begin{vmatrix} 10 \\ 11 \end{vmatrix}$	Government House, Auckland	300 700	
	111	Government House, Wellington Government Buildings throughout the Dominion—	700	
	12	Departmental Buildings	20,000	
	13	Rents	19,000	
	14   15	Courthouses Gaols	$\begin{bmatrix} 5,785 \\ 2,000 \end{bmatrix}$	
	16	Police-stations	11,000	
	17	Customhouses	700	
	18	Post and Telegraph Offices	26,000	
	19 20	Mental Hospitals Quarantine Stations	3,000 500	
	21	Public Works Workshops	3,000	
	22	Other Government Buildings	2,000	
	23	Lyttelton Borough Council, for extra water supplied to Government Departments	100	
	24	Parliamentary Buildings	2,000	
	25	Rent of sites for fumigation-shed and poison-depot,		
	0.0	Dunedin, for Department of Agriculture	458	
	$\begin{array}{ c c } 26 \\ 27 \end{array}$	Repairs to Seddon Memorial Services and supplies for other Departments (£7,000	50	
		recoverable)	8,000	
	28	"Special and other rates on Government properties	200	
	29	Telephone services (including installation, extensions, maintenance, rent, and calls)	350	
	30	Tramways: Expenses re inquiries, appointments to	550	
		Appeal Boards, &c	50	
	$\begin{vmatrix} 31 \\ 32 \end{vmatrix}$	Travelling allowances and expenses	1,500	
	04	Wages of overseers and staff workmen (£17,000 recoverable)	†12,207	
	33	Contingencies, including unforeseen expenditure in-	,12,20	
		cidental to the other items of the vote	100	
	-		135,565	
	1	Less estimated credits under Section 48 of the	100,000	
		Public Revenues Act, 1910—		
		Freight, &c 10,000		
		Services, &c., for other Departments 7,000 Wages of overseers, &c 17,000		
		Miscellaneous items 4,062		
			38,062	
			97,503	
	]	TOTAL—VOTE No. 8	31,000	108,

<sup>\*</sup> Previously charged to "Contingencies."

<sup>†</sup> Includes cost-of-living increase to scale salaries or wages.

### ${\it Appropriations \ for \ Consolidated \ Fund \ Services}.$

# PUBLIC BUILDINGS, DOMAINS, AND MAINTENANCE OF ROADS—continued.

Number f Persons.	Item.	GOVERNMENT DOMAINS.	1922-	23.
922-23.		VOTE No. 9.		
	1	SALARIES—	£	£
		GENERAL DIVISION. £ 1 at £280 280		
		1 at £270 270		
		3 at £254 762		
6		1 at £238 238		
		<del></del>	1,550	
		TEMPORARY OFFICERS.		
		8 Gardeners at £235 1,880		
14		6 Gardeners at £227 1,135	0.015	
20	1		3,015	
	_		4,565	
		Less second deduction from cost-of-living in-	_,	
		crease or bonus	150	
			*4,415	
		OTHER CHARGES FOR AND INCIDENTAL TO—	4, 110	
	2	†Casual labour	*85	
	3	†Coal, coke, &c	100	
	4	†Flower seeds, bulbs, plants, &c	100	
	5	†Garden implements, manures, &c	100	
	6	Contingencies, including unforeseen expenditure in-	50	
		cidental to the other items of the vote	50	
			435	
		Less estimated credits under Section 48 of the		
		Public Revenues Act, 1910	35	
			400	
		TOTAL—VOTE No. 9	100	4,8
			.	,
		MAINTENANCE AND IMPROVEMENT OF ROADS. VOTE No. 10.		
	1 2	OTHER CHARGES FOR AND INCIDENTAL TO— Expenses incidental to the Maintenance and Improvement of Roads Compassionate allowance to Mrs. Marion C. Soufflot, widow of the late A. L. Soufflot, Overseer, Public	60,394	,
		Works Department overseer, I unite	74	
		T 10 10 1 00 1 00 10 10 10	60,468	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910	1,000	
		Public Kevenues Act, 1910	1,000	
		TOTAL—VOTE No. 10		59,4
	!	MAINTENANCE OF IDDICATION WODE	ĺ	
		MAINTENANCE OF IRRIGATION WORKS.		
		VOTE No. 11.		
	1	OTHER CHARGES FOR AND INCIDENTAL TO— Expenses incidental to maintenance of dams, headworks, races, weirs, &c., Central Otago Irrigation Works, including interest on purchase-money of		
		Chatto Creek water-rights (£2,250 recoverable)	2,275	
		Less estimated credits under Section 48 of the	,	
		Public Revenues Act, 1910	25	
		MODAT, MODE N. 11		
	1	TOTAL—VOTE No. 11!		$^{2,2}$

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

TOTAL

£169,691

<sup>†</sup> Previously charged to "Contingencies."

#### NATIVE DEPARTMENT.

			1922–23.	
	-	Salaries.	Other Charges.	Total.
Vote No. 12.—Native Department—		£	£	£
Subdivision I.—Native Department		15,054	3,500	18,554
,, II.—Miscellaneous Services		•••	9,950	9,950
TOTAL—VOTE No. 12		15,054	13,450	28,504
TOTAL		15,054	13,450	28,504

Number of Persons.	Item.					1922-	23.
	-	VOTE No. 12	2.—NATIVE DEI	PARTME	NT.		
1922–23.		Subdivision	No. I.—Native L	)epartmen	t.	£	£
	1	SALARIES—					
			LERICAL DIVISION				
	1 1	Class II—					
4		4 at £525	•••	•••		2,100	
		Class III—					
1		1 at £455	•••	•••		455	
_						ĺ	
		Class IV—			£		
		1 at £430	•••	•••	430		
3		2 at £405	•••	•••	810	1 040	
		Class V—				1,240	
1		1 at £380	•••			380	
		Class VI				ĺ	
11		11 at £330	•••			3,630	
**	1		• • • • • • • • • • • • • • • • • • • •	• • • • • • • • • • • • • • • • • • • •		,,,,,	
		Class VII—			2 272		
	1	10 at £305	•••	• • •	3,050		
		2 at £275	***	•••	550	1	
		1 at £265	•••	•••	265		
		8 at £255	•••	•••	2,040		
	1	3 at £235	***		705		
	1	1 at £215	•••	• - •	215		
		9 at £200	•••		1,800		
	[	2 at £130			260		
		1 at £125			125		
		1 at £120	•••	•••	120		
39	í !	1 at £105	***	•••	105		
อฮ		1 80 25100	***	•••		9,235	
		2 at £191	ENERAL DIVISION.		382		•
		2 at £142	•••	••	284		
			•••	•••			
		2 at £130	•••	•••	260		
_		1 at £120		•••	120		
8		1 at £105	•••	•••	105	1,151	

 $<sup>\</sup>boldsymbol{*}$  For particulars of salaries see "Public Service Classification List."

7 -74 -2 2 3 4 5 6 7 8 9 10 11	Subdivision No. I.—Native Department—continued.  Salaries—continued.  Judges of Native Land Court.  £ 1 at £920 (Chief Judge) 920 4 at £775 3,100 2 at £725 1,450  Less proportion of increases to salaries provided for but not payable for full year  Less second deduction from cost-of-living increase or bonus  Other Charges for and incidental to— Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— £ Translations 50 Services for other Departments 400 Administration expenses of Maori Land Boards 7,550	£	£
7 -74 -74 -2 2 3 4 5 6 7 8 9 10 11 11	JUDGES OF NATIVE LAND COURT.  1 at £920 (Chief Judge) 920 4 at £775 3,100 2 at £725 1,450  Less proportion of increases to salaries provided for but not payable for full year  Less second deduction from cost-of-living increase or bonus  OTHER CHARGES FOR AND INCIDENTAL TO— Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— £ Translations 50 Services for other Departments 400 Administration expenses of Maori	23,661 116 23,545 491 *23,054 3,500	£
74 2 3 4 5 6 7 8 9 10 11	1 at £920 (Chief Judge) 920 4 at £775 3,100 2 at £725 1,450  Less proportion of increases to salaries provided for but not payable for full year  Less second deduction from cost-of-living increase or bonus  OTHER CHARGES FOR AND INCIDENTAL TO— Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— £ Translations 50 Services for other Departments 400 Administration expenses of Maori	23,661 116 23,545 491 *23,054 3,500	
74 2 3 4 5 6 7 8 9 10 11	1 at £920 (Chief Judge) 920 4 at £775 3,100 2 at £725 1,450  Less proportion of increases to salaries provided for but not payable for full year  Less second deduction from cost-of-living increase or bonus  OTHER CHARGES FOR AND INCIDENTAL TO— Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— £ Translations 50 Services for other Departments 400 Administration expenses of Maori	23,661 116 23,545 491 *23,054 3,500	
74 2 3 4 5 6 7 8 9 10 11	Less proportion of increases to salaries provided for but not payable for full year  Less second deduction from cost-of-living increase or bonus  OTHER CHARGES FOR AND INCIDENTAL TO— Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— £ Translations 50 Services for other Departments 400 Administration expenses of Maori	23,661 116 23,545 491 *23,054 3,500	
74 2 3 4 5 6 7 8 9 10 11	Less proportion of increases to salaries provided for but not payable for full year  Less second deduction from cost-of-living increase or bonus  Other Charges for and incidental to— Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— & Translations 50 Services for other Departments 400 Administration expenses of Maori	23,661 116 23,545 491 *23,054 3,500	
3 4 5 6 7 8 9 10 11	Less second deduction from cost-of-living increase or bonus  Other Charges for and incidental to— Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— £ Translations 50 Services for other Departments 400 Administration expenses of Maori	23,545 491 *23,054 3,500	
3 4 5 6 7 8 9 10 11	Less second deduction from cost-of-living increase or bonus  Other Charges for and incidental to— Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— £ Translations 50 Services for other Departments 400 Administration expenses of Maori	23,545 491 *23,054 3,500	
3 4 5 6 7 8 9 10 11	Crease or bonus  OTHER CHARGES FOR AND INCIDENTAL TO— Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— & Translations 50 Services for other Departments 400 Administration expenses of Maori	*23,054 3,500	
3 4 5 6 7 8 9 10 11	Crease or bonus  OTHER CHARGES FOR AND INCIDENTAL TO— Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— & Translations 50 Services for other Departments 400 Administration expenses of Maori	*23,054	
3 4 5 6 7 8 9 10 11	OTHER CHARGES FOR AND INCIDENTAL TO— Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— £ Translations 50 Services for other Departments 400 Administration expenses of Maori	*23,054	
3 4 5 6 7 8 9 10 11	Travelling allowances and expenses  Less estimated credits under Section 48 of the Public Revenues Act, 1910— £ Translations 50 Services for other Departments 400 Administration expenses of Maori	3,500	
3 4 5 6 7 8 9 10 11	Less estimated credits under Section 48 of the Public Revenues Act, 1910— & Translations 50 Services for other Departments 400 Administration expenses of Maori		
4 5 6 7 8 9 10 11	Public Revenues Act, 1910— £ Translations 50 Services for other Departments 400 Administration expenses of Maori	26,554	
4 5 6 7 8 9 10 11	Public Revenues Act, 1910— £ Translations 50 Services for other Departments 400 Administration expenses of Maori		
4 5 6 7 8 9 10 11	Services for other Departments 400 Administration expenses of Maori		
4 5 6 7 8 9 10 11			
4 5 6 7 8 9 10 11			
4 5 6 7 8 9 10 11	$Total-Subdivision \ No. \ I \$	8,000	18,55
13 14 15 16	Subdivision No. II.—Miscellaneous Services.  Charges for and incidental to— Allowances to officers temporarily performing special or higher duties	125 54 7,500 25 200 150 9 10 50 1,000 900 250 *577	
	Less estimated credits under Section 48 of the Public Revenues Act, 1910—	100	0.05
	Administration expenses of Maori Land Boards  Total—Subdivision No. II		9,95 <b>28,5</b> 0

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### DEPARTMENT OF EXTERNAL AFFAIRS.

			w		19	22–23.	
				Salaries.	Oth	er Charges.	Total.
Vote No. 1	3.—I	Department of External	Affairs	£ 2,141	L	£ 16,615	£ 18,756
		TOTAL		2,141	I	16,615	18,756
Number of Persons.	Item.	ł	art talen, maadas, ja 194 de 196 ja 196 selektristen en en en en en en en en en en en en e			1922	2–23.
1922–23.	-	DEPARTMENT	OF EXTERNAL	L AFFAIRS	•		
1022 20.		VOTE No. 13.				£	£
	1	*Salaries— Admin	ISTRATIVE DIVISIO	N			
1		1 at £775 (Secreta	ry)	•••		775	
		Class IV—	erical Division.				
1		1 at £430	•••		•••	430	
1		Class V— 1 at £380 Class VII—		•••	•••	380	
1		1 at £215	•••	•••	•••	215	
		GE	NERAL DIVISION.		£		
		1 at £230	•••		$\frac{230}{150}$		
2	-	1 at £152	•••	•••	152	382	
6							
101 - 101 -	-	Less second	deduction from	cost-of-living	ø in-	2,182	
		crease or b			•••	41	
						†2,141	
		OTHER CHARGES FO	, AND INCIDENTAL	- mo-			
	2	Advertising, book			and		
	0	other publicatio	ns Obgow	/090		40	
	3	Expenses of upk	British Governme		0 re-	1,600	
	4	Freight, cartage, a	nd transport char	ges	• • •	5	
	5	Grant to Samoan Medical and Ed	Administration on ucational Services	behalf of— £18	3,500		
		Wireless service		2	2,500		
	6	Office fittings and	requisites includ	ling printing	r and	16,000	
		stationery	•••	•••		140	
	7	Photographic film	: Cost of obtainin	g and printin	ıg	50	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List." † Includes cost-of-living increase to scale salaries or wages.

#### DEPARTMENT OF EXTERNAL AFFAIRS—continued.

Number of Persons.	Item.		1922-2	23.
	<u> </u>	DEPARTMENT OF EXTERNAL AFFAIRS—contd.		
1922–23.			£	£
		VOTE No. 13.	£	± •
	8	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Postage, telegrams, and rent of boxes, including		
		cost of High Commissioner's cables	400	
	9	Telephone services, including installation, extensions,		
	10	maintenance, rent, and calls	$\begin{vmatrix} 30 \\ 120 \end{vmatrix}$	
	11	Travelling allowances and expenses Contingencies, including unforeseen expenditure in-	120	
		cidental to the other items of the vote	30	
		-	18,415	
		Less estimated credits under section 48 of the Public Revenues Act, 1910— & Apia Observatory 1,600 Miscellaneous 200		
		Miscenaneous 200	1,800	
		MOMALY TYOMEN AS	16,615	40 ===
		TOTAL—VOTE No. 13		18,750
T	ATC	L	£18,756	3

### COOK ISLANDS.

					199	22–23.	
		_		Salaries.	Othe	r Charges.	Total.
				£		£	£
ote No. 1	4.—C	ook Islands		11,415		11,422	22,83
	тс	TAL		11,415		11,422	22,83
Number f Persons.	Item.		<del></del>			1922	2–23.
		COOK ISLA	NDS.				
1922–23.		VOTE No. 14.				£	£
		VOLE NO. 14.				<b>3</b> 2	, æ
	1	Salaries—					
		Head Office—					
			<b>D</b>				
		Administrative Cook Islands—	DIVISIO	N.			
		Resident Commissioner		• • •		920	
		Land Court Judge	 Er 3 1	0505		625	
		Medical Officers: 1 at £6 Collector of Customs	75, 1 at	£575 ·	•••	$1,250 \ 245$	ļ
		Fruit Inspector	•••	•••		$\frac{245}{205}$	
		Police Officer		•••		235	
		Postmaster (Rarotonga)			•••	350	
10		Wireless Operators: 1 (in	charge)	at £400, 1 at 1	3200	600	
10		School-teachers	•••	•••	• • • •	4,600	
		Niue—					
		Resident Commissioner	•••	•••		600	
		Assistant to Resident Con				215	1
		School-teachers: 1 at £37 Medical Officer	(5, 1 at a	£330, 1 at £2	05	910	
7		Police Officer		***	•••	610 50	
	-	1		•••	•••		
17						11,415	
	-	OTHER CHARGES FOR AND INC	HDENTAL	то—			
	2	Advertising, photographs,			and		
		other publications		• • •		30	ļ
	3	Cook and other Islands A	administ	ration and o		1 900	
	4	expenses Erection of fruit-packing sh	eds. Rar	otonga	•••	1,200 $250$	
	5	Expenses in connection wi					
		to Rarotonga to act as De	eputy Fr	uit Inspector	•••	50	
	6	Freight, cartage, and transp	ort chai	ges	•••	10	
	7	Grant for erection of additio			onga	1,000	
	$\begin{vmatrix} 8\\9 \end{vmatrix}$	Installation of wireless-tele Installation of wireless-tele	ahone sz ohone sz	stem at Aitu	taki	500 1,500	1
•	10	Medical service, Niue	parome b)	STOTE OF THE	WILL	250	

#### COOK ISLANDS—continued.

Number of Persons.		1922-	<b>23</b> .
1000 00	COOK ISLANDS—continued.		
1922–23. VOTI	E No. 14—continued.	£	£
От	HER CHARGES FOR AND INCIDENTAL TO—continued.		
11 C	office fittings and requisites (including printing and		
	stationery)	20	
$ \begin{array}{c c} 12 & P \\ \hline \end{array}$	ostage, telegrams, and rent of boxes	100	
13   F	Carotonga wireless: Adjustment of accounts with	0.000	
1.1	Post and Telegraph Department	3,000	
14   S	ubsidy for service to Niue	1,400	
15 T	elephone services (including installation, extensions,	57	
16 T	maintenance, rent, and calls)	30	
17 T	ravelling allowances and expenses ropical allowances	2,050	
	ropical allowances ontingencies, including unforeseen expenditure in-	4,000	
	cidental to the other items of the vote	25	
	cidential to the other hems of the vote		
		11,472	
	Less estimated credits under Section 48 of the	,	
	Public Revenues Act, 1910—		
	Miscellaneous	50	
	<u> </u>		
		11,422	
	TOTAL—VOTE No. 14		22,83
		, ,	

#### DEPARTMENT OF INDUSTRIES AND COMMERCE.

						19	22-23.	
		<del></del>			Salarie	s. Otho	er Charges.	Total.
Vote No. 1	5.—I	Department of Indust	ries and Com	merce		£ 143	£ 41,007	£ 48,150
		TOTAL	•••		7,	,148	41,007	48,150
Number of Persons.	Item.	1	OF INDIG	MDIEG	AND	COM	1922	-23.
1922–23.		VOTE No. 15.	MERCE		AND	OOM-	£	£
	1	*Salaries—						
2	i	Pro Class B— 2 at £525	OFESSIONAL I	Oivision. 	***	•••	1,050	
2		Class D 2 at £430	•		•••	•••	860	
1	-	CLE Class I— 1 at £625	erical Divis	ION.	• •••	•••	625	
1		Class IV— 1 at £430			•••		430	
2		Class VI— 1 at £330 (2 r 1 at £295 (£1				£ 55 300		
1		Class VII— 1 at £295 (£10	0, 7 months)		•••	•••	355 301	
		1 at £235 1 at £191 1 at £142 (£12, 1 at £114 (£16,	10 months) .	••		235 191 154 127		
5		1 at £114 (£16,	$5\frac{1}{2}$ months)	•			829	
2		E 1 at £920 (Chair 1 at £775 (3½ m		ADE.	•••	920 212	1,132	
		Trai	DE REPRESEN	TATIVES				
3		1 at £300 (also 7 1 at £100 (also 7 1 at £50 (also To	Courist Agent	, £350)	•••	300 100 50	450	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

#### DEPARTMENT OF INDUSTRIES AND COMMERCE—continued.

Number of Persons.	ltem.		1922-	23.
1922-23.	t	DEPARTMENT OF INDUSTRIES AND COM- MERCE—continued.	<u> </u>	
		VOTE No. 15—continued.	£	£
	1	Salaries of Officers on loan from other Departments—		
		Professional Division.		
1		1 at £430 (3 months) and at £420 (9 months)	423	
		CLERICAL DIVISION.		
1		Class II— 1 at £525 (3 months)	131	
1		Class IV—  1 at £430 (3 months) and at £420 (9 months)	423	
1		Class V— 1 at £360 (3 months) and at £350 (\frac{1}{3} month approxi-		
		mate)	99	
		$ \begin{array}{c cccc} Class \ VI & & & & & & & & & & & & & & & & & & $		
$^2$		1 at £330 (1 month approximate) 34	06	•
		GENERAL DIVISION.	96	
		1 at £215 ( $1\frac{1}{2}$ months approximate) 27		
		1 at £215 ( $1\frac{1}{2}$ months approximate) 26		
3		1 at £114 (1 month approximate) 10	63	
28				
		Less second deduction from cost-of-living in-	7,267	
		crease or bonus	124	
			*7,143	
		OWNERS CHARGES TOR AND INCIDENTAL TO		
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and		
		other publications	185	
	3	Account, record, and other books (including cost of material, printing, and binding)	75	
	4	Bicycles: Purchase and upkeep	1	
	5	British Empire Exhibition Mission: Travelling and	200	
	6	incidental expenses British Empire Exhibition (first instalment)	300 15,000	
	7	Distribution of commodities, expenses in connection	15,000	
		with	25	
	$\begin{bmatrix} 8 \\ 9 \end{bmatrix}$	Freight, cartage, and transport charges Fuel, light, power, and water	20 65	
	10	Industrial Exhibitions—		
		Auckland 35		
		Christchurch 96	131	
	11	Law-costs	50	
	12	Office-cleaning	50	
	13	Office furniture, fittings, and requisites (including printing and stationery)	250	
	14	Overtime and meal allowances	5	
	15	Postage, telegrams, and rent of boxes	400	
	16 17	Price Investigations Promotion of sale of New Zealand manufactures in	50	
į		outside markets	20	
	18	Purchase of wheat, to establish a credit for the	250,000	
	19	(£250,000 recoverable) Publications, preparation and distribution of	100	
J	20	Rates, Head Office	5	

 $<sup>\</sup>boldsymbol{\ast}$  Includes cost-of-living increase to scale salaries or wages.

### DEPARTMENT OF INDUSTRIES AND COMMERCE—continued.

Number of Persons.	Item.		1922–23.	
1922–23.	-	DEPARTMENT OF INDUSTRIES AND COM- MERCE—continued.	<u> </u>	
		VOTE No. 15—continued.	£	£
	21	OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	21	Rent, High Commissioner's Office, London, proportion of	150	
		Subsidies to—	190	
	22	Flow millors	250	
	22	Steamer services—	400	
	23	N (1 - 1 - 1 N - 1 - 1 N	10,000	
	24	N	12,500	
	25	NI 7 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	250	
	26	Telephone services (including installation, extension,	200	
	20	maintenance mont and collet	125	
	27	Transfer and removal expenses	100	
	28	Travelling allowances and expenses	800	
	29	Typewriters, purchase and repairs of	10	
	30	Work performed by other Departments	70	
	31	Contingencies, including unforeseen expenditure in-	, ,	
	0.1	cidental to the other items of the vote	20	
		77.		
			291,007	
	]		298,150	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910—		
		Sales of wheat	250,000	
		TOTAL—VOTE No. 15		48,150

#### JUSTICE DEPARTMENT.

					1922–23.	
				Salaries.	Other Charges.	Total.
Vote No. 1	16.—]	Department of Justice—		£	£	£
,, ,,	$II \ II \ I$	I.—Justice: Head Office I.—Patent Office I.—Bankruptcy V.—Coroners V.—Justice: Miscellaneous Servi		3,178 2,406 2,690	1,665 2,450 6,000 23,574	3,178 4,071 5,140 6,000 23,574
,,		TOTAL—VOTE No. 16		8,274	<u> </u>	41,963
Vote No. 1	17.—	Supreme and Magistrates' Court	s—			
Subdivisa	i	I.—Supreme Court II.—Magistrates' and Wardens' ( II.—Criminal Prosecutions	Courts	8,946 42,791 	6,150 15,620 17,620	15,096 58,411 17,620
		TOTAL—VOTE No. 17	••• :	51,737	39,390	91,127
Vote No. 1	8.—1	Prisons Department		52,149	26,175	78,324
TO	ОТАІ			112,160	99,254	211,414
Number of Persons.	Item.	VOTE No. 16.—DEPARTI	MENT OF	' JUSTICE.	:	22–23.
1922–23.		Subdivision No. I.—Ju			£	£
	1	*Salaries— Administrative	Division			
1	!	1 at £129 (also Controller Chief Probation Officer, £		of Prisons a	and 129	
		Clerical D.	ivision.			
1	ļ	1 at £625 Class III—	•••	•••	625	
1	:	1 at £480 Class V—	•••		480	
1		1 at £380 Class VII— 2 at £305 1 at £295 1 at £200		6	380 £ 10 95 00	
6		1 at £130 1 at £120			30 20 1,355	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

#### JUSTICE DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 16—DEPARTM		JUSTIC	E—	1922–	<b>2</b> 3.
1922–23.	-!!	continue Subdivision No. I.—Justice:		ice— conti	- nued.		0
	1	Salaries—continued.	1100000 011			£	£
		GENERAL D	IVICION		£		
		1 at £174		•••	174		
2		1 at £105	•••	•••	105	279	
12							
		Less proportion of incr	eases to	salaries p	rovided	3,248	
	i	for but not payable i	for full ye	ar	•••	22	
					[	*3,226	
		Less second deduction crease or bonus	n from	cost-of-livi	ng in-	48	
			<b></b>	 NT T		10	0.4-
		Total— $Subc$	division 1	No. I	-		3,178
		Subdivision No II	-Patent	Office.			
		Salaries—					
		CLERICAL D	ivision.				
1		$Special\ Class$ — 1 at £675		•••		675	
-		Class $V$ 1 at £380					
1		Class VII—	•••	•••	£	380	
		1 at £295 1 at £235	•••	•••	$   \begin{array}{c c}     295 \\     235   \end{array} $		
		1 at £130	•••	•••	130		
5		1 at £125 1 at £105	•••	•••	$\begin{array}{c c} 125 \\ 105 \end{array}$		
J			•••	•••		890	
		GENERAL D. 1 at £280	IVISION.		280		
		1 at £142	•••		142		
3		1 at £105	•••	•••	105	527	
10							
	- Î	Less proportion of inc	reases to	salaries p	ovided	*2,472	
		for but not payable f	or full ye	ar	•••	2	
						2,470	
		Less second deductio	n from	cost-of-livi	ng in-	64	
		<b>010000 01</b> 00 00 00 00 00 00 00 00 00 00 00 00 00		•••			
		OTHER CHARGES FOR AND IN	CIDENTAL	то	_	2,406	
	3	Expenses in connection wi	th appeal	ls under P	atents,	10	
	4	Designs, and Trade-mark Fees to Patent Office Agent				10 15	
	5	Fuel, light, power, and wat	er	 D. 4 4 4		30	
	6	Grant to J. C. Lewis, Regi expenses attending En					
		London	•••	• • •		100	
	$\begin{bmatrix} 7 \\ 8 \end{bmatrix}$	Postage, telegrams, rent of Printing, stationery, office is				90 1,200	
	9	Temporary assistance	•••			*200	
	10	Travelling allowances and e Contingencies, including u		expendit	ure in-	10	
	11	cidental to the other item				10	
						1,665	
		Total—S	ubdivisio	n No. II			4,071

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### JUSTICE DEPARTMENT --- continued.

Number f Persons.	Item.			1922-	23.
922–23.		VOTE No. 16.—DEPARTMENT OF JUSTICE continued.	-		
		Subdivision No. III.—Bankruptcy.		£	£
	12	Salaries			
		CLERICAL DIVISION.			
		Class I— 1 at £575	£   575		
2		1 at £50 (also £525 as Registrar, Supreme	313		
24		Court)	50		
		Class II—		625	
		1 at £525 (3 months)	132		
3			,050	4 .0-	
		Class VII—		1,182	
		1 at £275	275		
5		1 at £200 3 at £115	200		
9	j .	0 at £110	345	820	
		GENERAL DIVISION.		020	
1		1 at £215		215	
			-		
11				st2,842	
	-	Less proportion of increases to salaries prov	ided		
		for but not payable for full year	••••	88	
	İ		-	2,754	
		Less second deduction from cost-of-living	in.	2,754	
		crease or bonus	111-	64	
		orongo or somas ,			
			ĺ	2,690	
			-		
				ļ	
	10	OTHER CHARGES FOR AND INCIDENTAL TO—	,		
	13	Advertising bankruptcy notices in the New Zea Gazette	iana	180	
	14	Advertising, books, newspapers, and other pub	lica-	100	
	11	tions		100	
	15	Commission to Deputy Assignees		1,300	
	16	Fuel, light, power and water, cleaning, cartage,	and		
		office equipment and maintenance	•••	25	
	17	Payment to Public Trust officers acting as Dep	outy	400	
	10	Official Assignees	•••	130	
	18	Postage, telegrams, and rent of boxes	•••	260	
	19 20	Printing and stationery Temporary assistance	•••	100 300	
	$\begin{vmatrix} 20 \\ 21 \end{vmatrix}$	Travelling allowances and expenses	•••	30	
	22	Contingencies, including unforeseen expenditure	in-	00 ;	
		cidental to the other items of the vote		25	
			-		
			!	2,450	
		Total-Subdivision  No.  III	-		5,14
		Subdivision No. IV.—Coroners.			
	22	CHARGES FOR AND INCIDENTAL TO-		F 000	
	23	Fees and expenses on inquests	•••	5,000	
	$\begin{bmatrix} 24 \\ 25 \end{bmatrix}$	Payment of jurors	•••	500 500	
	20	Witnesses' expenses	•••	500	
,					

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## JUSTICE DEPARTMENT—continued.

	î I			A
Number of Persons.	Item.	·	1922 -	23.
1922–23.		VOTE No. 16—DEPARTMENT OF JUSTICE— continued.		
			£	£
		Subdivision No. V.—Justice: Miscellaneous Services.		
		CHARGES FOR AND INCIDENTAL TO		
	26	Advertising, photographs, books, newspapers, and other publications	100	
	27	Allowances to officers temporarily performing special		
	28	or higher duties	100	
	29	Compassionate allowance to widow of late V. G. Day, Stipendiary Magistrate	388	
	30	Compilation of new edition Justices' Handbook— Payment to W. G. Riddell, S.M., for £ editing and revision 100	300	
		Printing and binding 450	~ ~ ~	
	$\begin{vmatrix} \\ 31 \end{vmatrix}$	Contribution towards salary of Analyst at Auckland	550 50	
	32	Expenses under the Juries Act, 1908	3,000	
	33	Expenses under the Reformatory Institutions Act,	5,000	
	34	Fines, refund of	100	
	35	Fuel, light, water, cleaning, freight, cartage, office equipment, and maintenance of Court grounds and offices	3,400	
		Grants to—	0,100	
	36	P. L. Hollings, Stipendiary Magistrate, in lieu of leave of absence on retirement	383	
	37	V. G. Day, Stipendiary Magistrate, in lieu of leave		
	38	of absence on retirement  A. L. Souter in full settlement of compensation on account of costs incurred in Souter v. Souter and	194	
		others	250	
	39 40	Law-costs	$\begin{bmatrix} 25 \\ 3,400 \end{bmatrix}$	
	41	Postage, telegrams, and rent of boxes Printing and stationery	5,000	
	42	Proportion of cost of administering licensing laws in districts where the Counties Act is not in operation	50	
	43	Telephone services (including installation, extensions,		
	44	maintenance, rent, and calls) Temporary clerical and other assistance— £	1,000	
	44	Clerks, Bailiffs, and Messengers 534		
		Interpreters 50	501	
	45	Travelling allowances and expenses	584   200	
	46	Typewriters: Purchase and repairs	300	
	47	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
	į		04 904	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910—	24,324	
		Jury fees 600		
		Miscellaneous 150	750	
		Total—Subdivision No. V		28,57
	ļ '	TOTAL—VOTE No. 16		41,96

#### JUSTICE DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 17.—SUPREME AND MAGISTRATES' COURTS.				1922–	23.
1922–23.			No. I.—Suprem	e Court.		£	£
	1	Salaries—	•				
		CLE	RICAL DIVISION.				
1		Special Class— 1 at £675				675	
1		Class I—	•••	•••	£	0.0	
		2 at £625	•••		1,250		
3		1 at £525 Class V—	••••	•••	525	1 775	
4		4 at £380	•••			$\begin{array}{c c} 1,775 \\ 1,520 \end{array}$	
		Class VI—					
1		1 at £330 Class VII—	•••	•••	•••	330	
		1 at £295	•••		295		
		3 at £255	•••	•••	765		
		2 at £235	•••		470		
		1 at £215 1 at £200	•••		215 200		
10		2 at £130	•••		260	ļ	
						2,205	
		Geni 1 at £305	eral Division.		305	***	
4	İ	3 at £280	•••		840		
						1,145	
		U	NCLASSIFIED.				
8		8 Clerks to Judges	at £190	•••		1,520	
31	-				-	*9,170	
	-		n of increases p	rovided fo	r but not	1	
		payable for	full year	•••	•••	29	
					-	9,141	
		Less second		cost-of-l	iving in-		
		crease or bo	nus	• • • •	•••	195	
					-	8,946	
		OTHER CHARGES FOR	AND INCIDENTA	L TO-	-		
	$\begin{vmatrix} 2\\3 \end{vmatrix}$	Proportion of fees t	to be refunded to	Sheriffs	1	350	
	0	Travelling allowan clerks	ces and expens	ses or Ju	ages and	4,500	
	4	Other expenses of	f Circuit Cour	ts and	Court of		
		Appeal	•••			1,300	
					-	6,150	
		2	Total—Subdivisa	ion No. I	-		15,096
		Subdivision No. II	Mauietratee'	and Wa	rdons,		
			Courts.	will fre	, 20100		
	5	SALARIES					
		Class II—	RICAL DIVISION.				
3		3 at £525	•••			1,575	
		Class III—					
1		1 at £480 Class IV—	•••	•••		480	
		9 at £430	***		£ 3,870		
10		1 at £405	•••		405		
		Class V—				4,275	
		9 at £380 2 at £365	•••		$\begin{bmatrix} 3,420 \\ 730 \end{bmatrix}$		
1.1	1			• • • •	190		
11		Class VI	•			4,150	
11 17		Class VI 16 at £330 1 at £295	•	•••	5,280 295	4,150	

\* Includes cost-of-living increase to scale salaries or wages.

#### JUSTICE DEPARTMENT -continued.

umber Persons.	Item.	VOTE No. 17.—SUP	REME AND RTS—continued		RATES'	1922–2	23.
22-23.		Subdivision No. II.—M			Courts—	£	£
	5	Salaries—continued.	continued.				
			Division—contr	imarad			
		Class VII—	DIVISION—CONT	mueu.	£		
	' !	9 at £305	•••		2,745		
		3 at £295	•••	•••	885		
		5 at £275 16 at £255	•••	•••	1,375 4,080		
		10 at £235	•••	•••	2,350		
		7 at £215 14 at £200	• • •	•••	$\frac{1,505}{2,800}$		
		1 at £150	•••	•••	150		
		8 at £130	•••	•••	1,040		
j		1 at £125 11 at £120	•••		$\begin{array}{c} 125 \\ 1,320 \end{array}$		
		3 at £105	•••	•••	315		
89		1 at £90	•••	•••	90	18,780	
			ERAL DIVISION.			10,100	
		4 at £300 1 at £280	•••	• • •	$\begin{array}{c c} 1,200 \\ 280 \end{array}$	: Î	
į		25 at £260	•••		6,500		
1		6 at £250	•••		1,500		
ļ		1 at £240 7 at £225			$egin{array}{c} 240 \ 1,575 \ \end{matrix}$		
45		1 at £142			142		
176						11,437	
						*46,272	
		Less second d crease or bor	leduction from	cost-of-li	iving in-	1,222	
					-		
		Public Rev Salaries as C mittees Salaries as C Salaries as R	credits under venues Act, 1910 lerks Licensing  lerks of Awards legistrars of Elec under Land	0— Com-  s	£ 900 230 500	45,050	
ļ		,				2,000	
	İ	Taga manauti-	n of increases to	o golowicz	nnovidad	43,050	
		for but not p	ayable for full y	year	provided	259	
		OTHER CHARGES FOR A	AND INCIDENTAL	. то—		42,791	
	6	Allowances to office Factories—		_	ctors of	40-	
i.	7	5 at £25 Allowances to Polic	e Constables ac	ting as	Clerks of	125	
	8	Courts Mileage fees to be r	efunded to Bail	iffs		1,820 4,500	
	9	Office-cleaners				1,900	
. :	$\begin{vmatrix} 10 \\ 11 \end{vmatrix}$	Rents Travelling allowanc	es and expenses	··· š ···		400 7,000	
!		Š	credits under		-	15,745	
			enues Act, 1910	0			
			o omcors acum	8 azt		105 !	
		Factories			•••	$\frac{125}{15,620}$	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### JUSTICE DEPARTMENT--continued.

Number of Persons.	Item.	VOTE No. 17.—SUPREME AND MAGISTRATES' COURTS—continued.	1922-	23.
1922-23.		Subdivision No. III—Criminal Prosecutions.	£	£
	12	CHARGES FOR AND INCIDENTAL TO— Expenses in connection with the defence of prisoners under the Justices of the Peace Amendment Act, 1912		•
	13 14 15	Expenses of witnesses Fees to Crown Solicitors and Prosecutors Payment of jurors under the Juries Act, 1908	8,500 3,500	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910— Refund of costs of prosecution	18,120	
		Total—Subdivision No. III		17,620
		TOTALVOTE No. 17	A contract of the contract of	91,127
	4	PRISONS DEPARTMENT. VOTE No. 18.	·	
	$\begin{vmatrix} 1 \end{vmatrix}$	Salaries— Administrative Division.		
1		1 at £791 (Controller-General of Prisons and Chief Probation Officer; also Under-Secretary for Justice, £129)		
		Professional Division.		
1		1 at £756 (Superintendent, Waikeria, also Medical Superintendent, Mental Hospital, Tokanui, £200)	756	
		CLERICAL DIVISION. Class III—		
1	-	1 at £455	455	
1		1 at £405	405	
1		1 at £380 £	380	•
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	965	
4		1 at £90 90	765	
1		GENERAL DIVISION. Inspector of Prisons Superintendents—	650	
5		1 at £525 (Borstal Institution), (9 months)       394         1 at £510        510         1 at £495        495         2 at £260        520         Gaolers—       440         1 at £440        440         1 at £430        430         1 at £360        360         1 at £345 (4 months)        115	1,919	
10		4 at £330 \ 2 at £300 \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	3,265	

# JUSTICE DEPARTMENT—continued.

Number of Persons.	Item.	PRISONS DEPA	RTMENT-	–continued	₹.	1922-	<b>2</b> 3.
1922–23.	<del></del>	VOTE No. 18—continued.				^	
	1	Salaries—continued.				£	£
		GENERAL DIV	sion-cont	inued.	Ì		
0		Deputy Superintendent	s			770	
2		2 at £385 Officer in Charge—	•••	•••	•••	770	
1		1 at £360			•••	360	
		Chief Warders—			£		
		1 at £345 1 at £335	•••	••	345 335		
		2 at £330		•••	660		
5		1 at £320	•••		320	1 660	
		Principal Warders— 4 at £315			1,260	1,660	
		2 at £310		•••	620		
9		3 at £295			885	0.505	
		Acting Principal Warde	ers		4 120	2,765	
15		14 at £295 1 at £275	•••		$\begin{array}{c} 4,130 \\ 275 \end{array}$		
		Warders—				4,405	
		21 at £290	•••	• • • •	6,090		
		3 at £285 3 at £280	•••	• • •	855 840	{	
		6 at £275	•••	•••	1,650		
		8 at £270			2,160		
		9 at £265 18 at £260			$\frac{2,385}{4,680}$		
		5 at £255			1,275		
		17 at £250		• • •	4,250		
		1 at £245 7 at £240		•••	$ \begin{array}{c c} 245 \\ 1,680 \end{array} $		
		7 at £230	•••		1,610		
109		4 at £215		***	860	00 700	
		Warder Instructors— 2 at £290			580	28,580	
		4 at £285		•••	1,140		
		2 at £280			560		
		6 at £275		•••	$\begin{array}{c c} 1,650 \\ 1,080 \end{array}$		
		4 at £270 1 at £265			265		
		2 at £260	•••		520	-	
22		1 at £250	••		250	6,045	
1		Matron— 1 at £215				215	
-		Assistant Matrons—					
		1 at £205	•••		205		
	:	1 at £200 1 at £165			200 165		
		1 at £155	•••	•••	155		
6		2 at £150	•••	• • •	300	1 005	
1		Office Assistant				$egin{array}{c c} 1,025 & \\ 215 & \\ \end{array}$	
1		Shorthand-writer and t	ypiste	•••	•••	174	
		Schoolmaster, Waikeria		• • • •	330		
		Farm manager, Inverce		•••	390 365		
		Farm-manager, Waiker Farm-manager, Pap	ria arua (£30	05), (6	500		
		months)			152		
		Quarry Manager, Auck Institutional Instructo	land	hation	335		
		Officer, Invercargill (	£340), (6 n	onths)	170		
	Į :	Brickworks Manager, V	Vi Tako		390		
8		Electrician and Engi	neer, Wai		150		
		(£305), (6 months)	•••	•••	152	2,284	
					-		
					1	58,849	

### ${\tt JUSTICE\ DEPARTMENT--} continued.$

Number of Persons.	Item.	DDIGONG DEDADGMENTS	1922	-23.
1922-23.	·[;	PRISONS DEPARTMENT—continued.  VOTE No. 18—continued.	£	£
	1	SALARIES—continued.	_	~
	-			
1		Non-classified. Police Gaoler	255	
-		Medical Officers— £	200	
		3 at £200 600		
		1 at £150 150 1 at £85 85		
		1 at £75 75		
7		1 at £65 65		
		Honorary Probation Officers—  1 at £100 100	975	
		3 at £50 150		
8		4 at £25 100	ļ ļ	
	-		350	
224			1,580	
		Less second deduction from cost-of-living in-	*60,429	
		crease or bonus	1,480	
			58,949	
		Less recoveries for use of houses and quarters	4,900	
		Taga magazanica of calcular of officers annalosed	54,049	
		Less recoveries of salaries of officers employed on public works	1,900	
			52,149	•
		OTHER CHARGES FOR AND INCIDENTAL TO-		l
	2	Advertising, photographs, books, newspapers, and other publications	250	
	3	Allowances to instructing and other officers	500	
	4	Clothing, bedding, furniture, &c	4,500	
	5	Crimes Amendment Acts— Administration expenses	500	
	6	Assistance to discharged prisoners	50	
	7	Gratuities to short-sentenced prisoners	300	
	$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Payment to prisoners' dependants Prisoners' industry earnings	5,000 2,800	
	10	Fuel, light, power, and water	4,000	
	11	Grants to Prisoners' Aid Societies (5)	200	
	12	Invercargill Borstal Institution— Construction of rifle-range, timber and materials	500	
	13	Equipment and instructional work	50	ı
	14	Estuary lands: Development, draining, and		
	15	roading Lodging-allowances	200 2,300	
	16	Medical services— Maintenance of prisoners in public hospitals	350	
	17	Medicines and medical comforts	500	
	18	Offenders Probation Act, administration of and preventative work	450	
	19	Office fittings and requisites (including printing and		
	20	stationery)	700 600	
	20	Postage, telegrams, and rent of boxes Prison Industries—	000	
	21	Brickmaking: Purchase of plant, coal supplies, &c.	750	
	22	General prison works, buildings, and workshops	2,000	
	$\begin{array}{ c c } 23 \\ 24 \end{array}$	Tools and materials for prison labour Workshops equipment	60	
	,	· · · · · · · · · · · · · · · · · · ·	1	1

<sup>\*</sup>Includes cost-of-living increase to scale salaries or wages.

### JUSTICE DEPARTMENT—continued.

Number f Person <b>s.</b>	Item.		1922 - 1	23.
1 200	ļ	PRISONS DEPARTMENT—continued.		
1922–23.	ļ	VOTE No. 18—continued.	£	£
	0.5	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	1 100	
	25	Prison camps: Expenses connected with	1,400	
	26	Prison farms: Purchase of stock, plants, seeds, im-		
	07	plements, &c	6,800	
	27	Rations	17,000	
	28	Sanitary services, cleaning, and disinfectants	650	
	29	Telephone services (including installation, extensions,	450	
	90	maintenance, rent, and calls)	450	
	30	Temporary warders and matrons	3,865	
	0.1	Travelling Allowances and Expenses—	700	
	$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Allowances and expenses of Departmental officers	700	
	33	Transfer of officers and families	500	
	34	Transfer of prisoners	1,250	
	34	Conveyance of prisoners on release	1,800	
	35	Transport Charges—	500	
	36	Forage	300	
	37	Freight, cartage, &c	2,000	
	38	Vehicles: Purchase and upkeep, petrol supplies, &c. Uniforms and accourrements for prison officers	600	
	39	Contingencies, including unforeseen expenditure in-	000	
	99		100	
		cidental to the other items of the vote	100	
			66,175	
		Less estimated credits under Section 48 of the		
		Public Revenues Act, 1910—		
		Sale of metal 14,500	ŀ	
	1	Farm-produce 8,500		
		Farm stock 3,500		
		Concrete blocks and piles 1,000 Bricks 2,000		
		m 1 500		
		1 700		
		0.700		
	}	7.000		
		Miscellaneous credits 1,000	40,000	
			96 175	
		TOTAL—VOTE No. 18	26,175	78,

TOTAL .... £211,414

### CROWN LAW OFFICE.

		-			192	22-23.	
				Salaries.	Other	Charges.	Total.
Vote No.	19	Crown Law Office	•••	£ 5,6	92	£ 335	£ 6,02
	ı	TOTAL		5,6	92	335	6,02
Number of Persons.	Item.					1929	2–2 <b>3.</b>
1922-23.	- <b> </b>		LAW OFF	ICE.	-		<u> </u>
		VOTE No. 19.				£	£
	1	*SALARIES					
1		Solicitor-General		•••	•••	1,350	
		Profess	SIONAL DIVISIO	ON.			
3		1 Crown Solicitor at 2 Crown Solicitors at			£ 956 1,674		
		Class C-				2,630	
1		1 at £550	•••	•••		<b>55</b> 0	
1		CLERI Class II— 1 at £525 (also Pri	CAL DIVISION			EOE	
		Class VII—	valo pecretar;	y, æ20)	•••	<b>5</b> 25	
1		1 at £205	•••	•••	•••	205	
		GENE 1 at £235 (4 months	RAL DIVISION		79		
		1 at £215	•••	•••	215		
3	_	1 at £191 (10 month	s)	•	160	454	
10					-	5,714	
		Less second de crease or bon	eduction from	cost-of-liv	_		•
		Crease or bon		•••		22	
					1-	+5,692	
	2	OTHER CHARGES FOR Annual certificates u			ers Act,		
	3 4	1908 Law-costs Office fittings and re	 eq <b>uisites (inc</b> l	 uding printi	ng and	30 1 <b>25</b>	
	5 6	stationery) Postage, telegrams, a Printing "Index to	and rent of bo	xes w Zealand'	, (6850	175 50	
	"	recoverable)			(€550	350	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List." to scale salaries or wages.

<sup>†</sup>Includes cost-of-living increase

### CROWN LAW OFFICE—continued.

1922-23.	CROWN LAW OFFICE—continued.	1	
1922-23.	Woman As		
	VOTE No. 19—continued.	£	£
7 8 9 10	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Purchase of Law Reports and Treatises and other publications Telephone services (including installation, extensions, maintenances, rent, and calls) Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to the other items of the vote	100 35 20 50	,
	Less estimated credits under Section 48 of the Public Revenues Act, 1910— £ Law-costs 250 Sale of "Index to Laws of New Zealand" 350	935 6,627 600	
	TOTAL—VOTE No. 19		6,02

#### POLICE DEPARTMENT.

					199	22–23.	
	<u></u>	<del></del>		Salaries.	Othe	r Charges.	*Total.
Vote No. 20.	.—Pol	ice—		£		£	£
Subdinisio	n I.	-Police Department		306, <b>1</b> 36		98,000	404,136
3.0000000000		-Miscellaneous				1,124	1,12
,,			•••		-		
T	COTAI		•••	306,136	,	99,124	405,260
Number of Persors.	Item.					192	2-23.
1922–23.		VOTE No. 20.—	POLICE DEP	ARTMENT.			1
		Subdivision No	o. I.—Police De	partment.		£	£
	1	Salaries-					
	Ì	Head Office—		•			
1		Commissioner	•••	•••		920	
		*Ськ	ICAL DIVISION.				
1		Class II— 1 at £525			ı	525	
$\begin{bmatrix} 1 \\ 2 \end{bmatrix}$		Class VI— 2 at £330	•••	•••	•••	660	
2		Class VII	· · ·	•••	£	. 000	
$_{2}$		1 at £215 1 at £120	•••	•••	$\frac{215}{120}$		
		Gen	ERAL DIVISION.			335	
1		1 at £305	•••	•••		305	· I
$\begin{vmatrix} 1 \\ 2 \end{vmatrix}$	i i	Inspector 2 Senior Sergeants	. 1 at 00a 93 1	0.1 no		470 745	4
$\begin{array}{c c} 2 \\ 1 \end{array}$		1 Sergeant at 18s. 2		at 208. 20. per	uay	332	
$\overline{4}$		4 Constables: 1 at	16s., 2 at 15s. 6d	l. 1 at 14s. per	day:	1,113	
. 4		Districts— 4 Superintendents:				2,210	•
13		13 Inspectors: 1 a £480, 5 at £470,	3 at £460	0, 1 at ±400, 	2 ai	6,175	
$\frac{4}{29}$		4 Sub-Inspectors a 29 Senior Sergean		 l., 15 at 20s.	2d.,	1,680	
86		5 at 19s. 8d. p 86 Sergeants: 56 a	er day	•••		10,710	)
850		17s. 8d. per da 850 Constables: 9 15s. 6d., 110 at 1	y 90 at 16s. 6d., 1	 120 at 16s., 1	 70 at	28,878	3
8		day 8 Senior Detectives				233,143	<b>3</b>
12		19s. 8d. per da 12 Detective-Serge		•••		2,944	
12		1 at 18s. 2d. per		ou., o at 108	. ou.,	4,188	3

 $<sup>\</sup>boldsymbol{*}$  For particulars of salaries see "  $\boldsymbol{Public}$  Service Classification List."

### POLICE DEPARTMENT—continued.

Number of Persons.	Item.		1922-	23.
1922 <b>–2</b> 3.	-	VOTE No. 20.—POLICE DEPARTMENT—continued.		
.022-20.		Subdivision No. I.—Police Department—continued.	£	£
	1	Salaries—continued.		
		GENERAL DIVISION—continued.		
24		24 Detectives: 4 at 19s. 6d., 1 at 16s. 6d., 1 at 16s., 14 at 15s. 6d., 4 at 15s. per day	7,072	
4	ĺ i	4 Native Constables	250	
8		7 District Constables	700	
8		8 Matrons: 3 at £177, 4 at £158, 1 at £146	1,309	
12		12 Surgeons: 4 at £120, 8 at £25 Probationary Constables	5,000	
1,077		Female Searchers	120	
· · · · · · · · · · · · · · · · · · ·	-	Allowances to members of Force for detective,		
		clerical, and special duty	3,000	
		Contribution towards salary of Analyst, Auckland	50	
			313,514	
		Less contributions from other Departments	10	
			313,504	
		Less second deduction from cost-of-living in-	323,301	
	, ,	crease or bonus	7,368	
			*306,136	
		0		
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and		
	-	other publications	900	
	3	Bicycles: Purchase and upkeep	1,200	
	4	Clothing (free issue), including repairs, allowance for	10.000	
	5	making up uniforms, and boot allowance	12,000	
	6	Freight, cartage, insurance, and transport charges Fuel, light, power, and water	5,000 3,500	
	7	Horse allowances, purchase, forage, bedding, shoeing,	3,300	
	,	clipping, and grazing of horses, including com-		
	٥	pensation for loss of private horses	5,000	
	8	House allowances to officers and men unprovided with quarters	19,500	
	9	Medical, dental, and veterinary services, medicines	10,000	
		and medical stores, ambulance instruction and		
		hire, and hospital charges for police disabled	450	
	10	through duty	450 2 500	
	11	Motor vehicles: Purchase and maintenance Office fittings and requisites (including printing and	3,500	
		stationery and typewriter allowances)	8,000	
	12	Police examinations, expenses of	150	
	13	Police prosecutions and inquests, legal and medical		
		advice, interpreting, payments for special services, and expenses of Departmental inquiries	2,500	
	14	Postage, telegrams, and rent of boxes	6,200	
	15	Rations	1,000	
	16	Rent of stations, quarters, and paddocks, and rates	0.500	
	17	on leasehold and acquired properties Repairing, painting, and improving police premises	2,500 500	
	18	Rewards and expenses for the suppression of sly-grog	900	
		selling and the introduction of liquor into prohibited districts	500	
	19	Rewards to members of the Force for meritorious		
		conduct	500	
	20	Saddlery, horse-covers, &c	150	
	21	Scavenging, chimney-sweeping, cleaning stations and	500	
	22	windows, sanitary services and washing  Stores, supplies, accountrements, and expenses inci-	500	
		dental thereto	1,500	

 $<sup>\</sup>mbox{\tt\#}$  Includes cost-of-living increase to scale salaries or wages.

#### POLICE DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 20.—POLICE DEPARTMENT—continued.	1922-	28.
1922–23.		Subdivision No. I.—Police Department—continued.	£	£
	23	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Telephone services (including installation, extensions, maintenance, rent, and calls) Travelling - expenses of police and transport of prisoners, transfer expenses of police and their families, and repairs to vehicles damaged by	3,200	
	25	prisoners	22,500	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910—	100,850	
		Subsidies from local bodies Refunds of costs of prosecutions Refunds of travelling-expenses, &c Sick deductions Clothing deductions, &c Miscellaneous recoveries	1,750 500 250 100 100 150	
		${m Total-Subdivision}$ No. I	2,850 98,000	404,130
	:	Subdivision No. II.—Police: Miscellaneous Services.		
	26 27	CHARGES FOR AND INCIDENTAL TO— Compensation for automatic pistols and other expenses of administration of the Arms Act, 1920 Compassionate allowance to widow and children of late Constable J. Dorgan, who was shot whilst on	500	
	28	Compassionate allowance to widow of late Constable M. Leahy	250	
	29	Compassionate allowance to widow of late Inspector L. Mullaney Special allowance to ex-Constable H. J. Stewart for	235	
	! 	serious permanent injuries received in the service	39	1 10
		Total—Subdivision No. 11		1,12

## PENSIONS DEPARTMENT.

					19	<b>922–2</b> 3.	
		<del></del> -	-	Salarie	s. Other	Charges.	Total.
Vote No. 2	21.—1	Pensions Department		£ 22,		£ 04,696	£ 127,496
		TOTAL	•••	22,	800 1	04,696	12 <b>7 ,49</b> 6
Number of Persons.	Item.	PENSIONS DE	PARTME!	NΤ		1922	2–23.
1922-23.		VOTE No. 21.	21 /11/1 M13/	.,		2	£
	1	*Salaries—					ı
		Administration	ve Divisio	N.			
1		1 at £837 (Commissioner)	)	•••		837	
		CLERICAL	Division.		·		
1		Class I— 1 at £575	•••	•••	•••	575	
2		Class III— 2 at £480		•••		960	
5		Class IV— 5 at £430	•••		•••	2,150	
8		Class VI— 6 at £330 2 at £310	•••	•••	£ 1 980 620	2,600	
		Class VII— 1 at £305 8 at £295 4 at £275	•••	•••	305 2,360 1,100	2,000	
		1 at £265 1 at £245 4 at £235	•••	•••	265 245 940		
		3 at £215 21 at £200 1 at £150 8 at £130	•••	•••	4,200 150 1,040		
		9 at £105 12 at £90 2 at £70 (10 months)	•••		945 1,080 116		
<b>7</b> 8		3 at £70 (9 months)	•••	•••	157	13,548	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List,"

#### PENSIONS DEPARTMENT—continued.

Number of Persons.	Item.	DENGLONG DEDARGMENT	1922-	<b>-23.</b>
1922–23.	 	PENSIONS DEPARTMENT—continued.		
		VOTE No. 21continued.	£	£
	1	Satianies—continued.		
		GENERAL DIVISION.		
		4 at £154 616		
		3 at £142 • 426 1 at £130 130		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
11		2 at £105 210		
100			1,496.	
106	-	Cadets' lodging-allowances Salaries and honoraria of members of War Pensions Board	$\frac{634}{2,320}$	
		Salaries and honoraria of members of War Pensions	2,020	
		Medical Appeal Board (3 months) Salary, Pensions Medical Examiner (9 months)	400 900	
			26,420	
		Less proportion of salaries provided for but not	1 000	
		payable for full vear	1,029	
		Less second deduction from cost-of-living in-	25,391	
		crease or bonus	491	
			24,900	
٠		Less estimated credits under Section 48 of the Public Revenues Act, 1910, being contribution from Imperial Government for services ren- dered in payment of Imperial pensioners		
		residing in New Zealand	2,100	,
			*22,800	
	0	OTHER CHARGES FOR AND INCIDENTAL TO—		
	2	Advertising, photographs, books, newspapers, and other publications	20	
	3	Exchange and commission on money-orders	625	
	4	Expenses in connection with War Pensions' Com-	1 50	
	5	mission, 1922 Fees for certificates of age	150 10	
	6	Fuel, light, power, and water	100	
	7	Grants to recipients of New Zealand Cross	80	
	8.	Interpreters' fees	10	
	9	Loading on life-insurance premiums on account of	250	
	10	impaired health occasioned by war service Medical fees	7,500	
	11	Medical treatment of returned soldiers	113,700	
	12	Office-cleaning	50	
	13	Office fittings and requisites (including printing and	2 000	
	14	stationery) Payment to Post and Telegraph Department for	3,000	
		services of officers	16,668	
	15	Payment of hospital maintenance charges and allow- ances in respect of Imperial ex-soldier P. R. Hill, charged to Imperial Pensions Account, which		
		amount the Ministry of Pensions, London, declines		
		to accept as a liability on Imperial Government	2	
	16	Payment of passage-money in respect of Imperial War Pensioner P. M. Gore, charged to Imperial Pensions Account, which amount the Ministry of		
	[ 1	Pensions, London, declines to accept as a liability	1	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### PENSIONS DEPARTMENT—continued.

Number f Persons.	tem.		1922-	-23.
6		PENSIONS DEPARTMENT—continued.		
922-23.	1			
		VOTE No. 21—continued.	£	£
1		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	17	Pensions to epidemic widows and their dependants	55,000	
ļ	18	Postage, telegrams, and rent of boxes	4,000	
ĺ	19	Rent of offices	20	
	20	Special annuities (86 cases)	4,637	
	$\overline{21}$	Telephone services (including installation, extensions,	1,33,	
		maintenance, rent, and calls)	135	
	22	maintenance, rent, and calls) Temporary assistance	8,347	
	23	Travelling allowances and expenses	4,000	
	24	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	50	
			241,196	
İ		Less estimated credits under Section 48 of the	,	
		Public Revenues Act, 1910— £		
		Defence Department vote 300		
		War Expenses Account 113,400		
1			113,700	
1		TOTAL—VOTE No. 21		127,4
<u>l</u>				

#### MINES DEPARTMENT.

							1	922–23.	
						Salaries.	Ot	her Charges.	Total.
Vote No. 2	22.—M	Iines D	epartment-						_
Subdivisi	ion I.	.—Mine	s Departme	nt		£ 11,3	29	£	£ 11,329
,,			ogical Surv			3,8	79	2,905	6,78
			ellaneous Se		•••			18,107	18,10
,,			L-VOTE			15,2	ns -	21,012	36,220
	${f TOT} A$		LVOIE	NO. 22	•••	15,2	-	21,012	36,220
	1017		•••	•••	•••	10,2	00	21,012	30,220
Number of Persons.	Item.	V	OTE No.	22.—MINE	S DEPA	ARTMENT	١.	1929	2–23.
1922–23.	 		Subdivisi	on No. I.—M	lines Dep	partment.		£	£
	1	*Salai		MINISTRATIVE	Divisio	ON.			*
1		1 a	t £775 (Un	der-Secretary	7)			. 775	
			P	ROFESSIONAL	Division	Ν.			
			ss A— at £750 (6	months)	•		£ 37 <i>8</i>	1	
1			at £725 (7		•••	•••	428	5	
			ss C					- 800	
7			at £485 at £470 (£	20 increase f	or 8 mor	iths)	2,910 468	3	
		Cla	ss D					3,373	
0			at £430		•••	•••	430		
2		1	at £340		•••	•••	340	770	
	!	(11~	ss IV—	CLERICAL D	IVISION.		•		
1			at £430			•		. 430	
			ss VI—			•			
1			at £315 ss VII		•••	•••	. ••	. 315	
			at £305				308	5	
			at £295		•••	•••	590		
			at £255		•••	• • •	255		
	İ		at £215 at £130 (1	£15 increase	 for 8 m	onths	430	,	
	.			rease for 7					
				ase for 4 mon			369	<b>)</b> .	
10		1	at £90			•••	90	)	
	-	:		(3.5 . 6 . 1			<del></del>	2,039	
	.	Pro	portion $(\frac{1}{6}$ Linister of	th) of salary Mines	ot Priv	ate Secret	ary to		
	1			mines ances of cade	ate	. •••		. 69 . 25	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

#### MINES DEPARTMENT -- continued.

Number of Persons.	Item.	WOMEN AS A STATE OF THE STATE O	1922-	-23.
1922–23.	 	VOTE No. 22.—MINES DEPARTMENT—continued.		
		Subdivision No. I.—Mines Department—continued.	£	£
	1	Salaries—continued.		
15		GENERAL DIVISION.  2 at £420 840 1 at £400 400 4 at £280 (1 for 1 month) 85 4 at £255 (1 month) 85 1 at £250 250 1 at £215 215 1 at £174 174		
15		1 at £142 142	2,969	
38			11,565	
		Less second deduction from cost-of-living increase or bonus	236	
		W. J. G. J. T. T.		*11,32
•		Total—Subarvision No. 1		11,02
		Subdivision No. IIGeological Survey Branch.	3	
		Salaries-		
		Professional Division.		
1		1 at £791 (Director)	791	
1		1 at £575	575	
1		1 at £505 (£20 increase for 6 months)  Class D.—	495	
2		1 at £375 375 Class E— 1 at £330 330	805	
2		1 at £295 (£25 increase for 7 months) 285  CLERICAL DIVISION.	615	
1		Class V— 1 at £360	360	
1		Class VII— 1 at £305	305	
9	.	-	3,946	
		Less second deduction from cost-of-living increase or bonus	67	
		-	*3,879	
	2 3	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other periodicals Fees for expert assistance (including preparation of	50	
	4 5 6 7	reports)  Field expenses  Freight, cartage, and transport charges  Fuel, light, water, and cleaning  Instruments, purchase of	293 300 40 25	

\* Includes cost of-living increase to scale salaries or wages.

### ${\tt MINES\ DEPARTMENT--} continued.$

VOTE No. 22.—MINES DEPARTMENT—continued.	
1922–23.	<del></del>
Subdivision No. II.—Geological Survey Branch— & continued.	£
OTHER CHARGES FOR AND INCIDENTAL TO—continued.	
8 Instrument and outfit allowances and repairs and	
maintenance instruments 14  9 Office fittings and requisites 5	.
Postage, telegrams, and rent of boxes 5	
Printing bulletins, lithographing, &c 60	
12	
13   Rates 5 14   Telephone services (including installation, extensions,	4
maintenance, rent, and calls) 2	<b>5</b>
15 Travelling allowances and expenses 35	1
$\frac{17}{\sqrt{2}} = \frac{1}{\sqrt{2}} \frac{1}{\sqrt$	
18 Contingencies, including unforeseen expenditure in-	
cidental to the other items of the vote 2	0
9.00	 =
Total—Subdivision No. II 2,90	6,784
	·
Subdivision No. III.—Miscellaneous Services.	
CHARGES FOR AND INCIDENTAL TO-	
19 Advertising, photographs, books, newspapers, and	
other periodicals 5	9
Assistance towards— 20 Ambulance classes 2	<u> </u>
Maintenance of roads and works 1,00	
22 Prospecting 5,00	0
Bonus of 4d. per lb. for the production of the first 40,000 lb. of good retorted quicksilver 66	7
24 Cost of collecting goldfields revenue 5	
Deficiency in Receiver's accounts, Stafford	2
Diamond and other drills and appliances (working-	
expenses only), (partly recoverable) 1,19 Examinations, Mining and Coal-mines Acts 15	
Expert and temporary assistance, fees, wages, &c 64	
29 Freight, cartage, and transport charges 5	)
30 Fuel, light, water, and cleaning 8 Government Firewood Depot: Working expenses	5
Government Firewood Depot: Working expenses (including salaries of staff, wages, and cost-of-living	
bonus), (recoverable) 2,50	0
Grants—	
32   Libraries in mining townships   10   33   Mine-water flooding, Thames   51	
34 Sick and accident funds 10	1
35 Instruments and apparatus 7	
36 Instrument and outfit allowances for Inspectors of	
Mines and repairs and maintenance instruments 21  Karaka Creek cut improvements 23	
38 Law-costs 20	
Maintenance of Water-races—	_
39   Waimea—Kumara 50   40   Mount Ida 8	1
40   Mount Ida	
Office fittings and requisites (including typewriters) 10	
Postage, telegrams, and rent of boxes 45	) [

<sup>\*</sup>Includes cost-of-living increase to scale salaries or wages.

## $A \ ppropriations \ for \ Consolidated \ Fund \ Services.$

#### MINES DEPARTMENT—continued.

Number of Persons.	Item.		1922	<b>-23.</b>
1000 00	-	VOTE No. 22—MINES DEPARTMENT—continued.	<del></del> ,	10.00
1922–23.		Subdivision No. III.—Miscellaneous Services—contd.	£	£
		CHARGES FOR AND INCIDENTAL TO—continued.		
	44	Printing and stationery	500	
	45	Purchase of plant for experiments in connection with		
		the low-temperature distillation of coal	250	
	46	Schools of Mines	4,229	
	47	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	180	
	48	Travelling allowances and expenses	1,500	
	49	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	20	
			20,907	
		Less estimated credits under Section 48 of the		
		Public Revenue Act, 1910—		
		Drilling-expenses, sale of firewood, publica-	i	
		tions, &c	2,800	•
		Total—Subdivision No. III		18,10
		TOTALVOTE No. 22	]-	36,220
		TOTALI—VOLE NO. 22	•	60,22C
	ТОТ	ΙΔΤ,	£36,220	

### DEPARTMENT OF INTERNAL AFFAIRS.

V				19	<b>22</b> –23.	
·		-	Salaries.	Othe	r Charges.	Total.
ote No. 23.—	Department of Internal Affairs—		£		£	£
Subdinision	I.—Head Office		18,606		27,968	46,574
	I.—Clerk of Executive Council		46			40
	I.—Ministers' Secretaries		4,623			4,62
,, $I$	$V.$ $ Messengers, \ Office-keepers, \ and \ determinents$	Char-	38,519		17,238	55,75
	women		0.700		* *00	70.00
	V.—Registrar-General's Office	•••	9,100		7,108	16,20
	I.—Census and Statistics	•••	13,122		18,479	31,601
,, V.I	I.—High Commissioner's Office I.—Museum	•••	15,881		18,003	33,889 7,411
T	V T) ' T I	•••	2,8 <b>4</b> 3 5,998		$\begin{bmatrix} 4,568 \\ 3,182 \end{bmatrix}$	9,180
	X.—Dominion Laboratory X.—Miscellaneous Services	•••	5,336 $5,145$		153,151	158,296
,,	VOODVOUTVOOVO NOTOVOOD	•••	J,110			
	Total—Vote No. 23		113,883	:	249,697	363,580
f Persons. Iter	VOTE No. 23.—DEPARTM	ENT OF	TNTERNA	L.	1922	–23.
1.322-20.	AFFAIR				£	£
	Subdivision No. I	RS.			£	£
1.522-20.	Subdivision No. I	RS. —Head O	ffice.		£	£
	Subdivision No. I *Salaries— Administrative	RS.  —Head C  Division	ffice.			£
	Subdivision No. I *SALARIES— ADMINISTRATIVE 1 at £920 (Under-Secretary)	RS.  —Head O  Division	office.	•••	£	£
:	Subdivision No. I *Salaries— Administrative	RS.  —Head O  Division	office.	•••		£
	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary  PROFESSIONAL  Class A—  1 at £675	RS.  —Head O  Division	office.	•••		£
1	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—	RS.  —Head O  Division	office.	•••	920 675	£
1	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470	RS.  —Head O  Division	office.		920	£
1	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—	RS.  —Head O  Division	office.		920 675	£
1 1 1	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DI	AS.  —Head O  Division  Division	office.		920 675 470	£
1 1 1 1	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DE  Special Class—	AS.  —Head O  Division  Division	office.		920 675 470 110	£
1 1 1	*Salaries—  *Salaries—  Administrative  1 at £920 (Under-Secretary)  Professional  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  Clerical Di  Special Class—  2 at £675	AS.  —Head O  Division  Division	office.		920 675 470	£
1 1 1 1	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DE  Special Class—  2 at £675  Class I—	AS.  —Head O  Division  Division	office.		920 675 470 110	£
1 1 1 1	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DE  Special Class—  2 at £675  Class I—  1 at £625	AS.  —Head O  Division  Division	office.		920 675 470 110	£
1 1 1 1 2 1	*Salaries—  *Salaries—  Administrative  1 at £920 (Under-Secretary)  Professional  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DE  Special Class—  2 at £675  Class I—  1 at £625  Class II—	AS.  —Head O  Division  Division	office.		920 675 470 110 1,350 625	£
1 1 1 1	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DE  Special Class—  2 at £675  Class I—  1 at £625  Class II—  1 at £525	AS.  —Head O  Division  Division	office.		920 675 470 110	£
1 1 1 1 2 1	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DE  Special Class—  2 at £675  Class I—  1 at £625  Class II—  1 at £525  Class III—	AS.  —Head O  Division  Division	office.		920 675 470 110 1,350 625 525	£
1 1 1 1 2 1	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DE  Special Class—  2 at £675  Class I—  1 at £625  Class II—  1 at £525	AS.  —Head O  Division  Division	Office.		920 675 470 110 1,350 625	£
1 1 1 1 2 1 1 1 2	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DI  Special Class—  2 at £675  Class I—  1 at £625  Class II—  1 at £525  Class III—  2 at £480  Class V—  4 at £380	AS.  —Head O  Division  Division	office.	   £ 520	920 675 470 110 1,350 625 525	£
1 1 1 1 2 1	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DI  Special Class—  2 at £675  Class I—  1 at £625  Class II—  1 at £525  Class III—  2 at £480  Class V—  4 at £380  1 at £360	AS.  —Head O  Division  Division   ivision	office.	  	920 675 470 110 1,350 625 525 960	£
1 1 1 1 2 1 1 1 2	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DI  Special Class—  2 at £675  Class II—  1 at £625  Class III—  2 at £480  Class VI—  4 at £380  1 at £360  Class VI—	AS.  —Head O  Division  Division   ivision	office.	    520 360	920 675 470 110 1,350 625 525	£
1 1 1 1 2 1 1 1 2	Subdivision No. I  *SALARIES—  ADMINISTRATIVE  1 at £920 (Under-Secretary)  PROFESSIONAL  Class A—  1 at £675  Class C—  1 at £470  Class F—  1 at £110  CLERICAL DI  Special Class—  2 at £675  Class I—  1 at £625  Class II—  1 at £525  Class III—  2 at £480  Class V—  4 at £380  1 at £360	AS.  —Head O  Division  Division   ivision	office.	   £ 520	920 675 470 110 1,350 625 525 960	£

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

Number of Persons.	Item.	VOTE No. 23.—DEPA	ARTMENT C		ERNAL	1922–	23.
1922–23.		,			.  -		
1		Subdivision No. I.	—Head Office-	—continu	ed.	£	£
	1	Salaries—continued.					
	_	DAHAMIES—COMMINGO.					
			Division—contr	inued.			
		Class VII—			£		
		4 at £305	•••	• • •	1,220		
		2 at £295 4 at £275	• • •	•••	590		
		2 at £255	•••	•••	1,100		
		1 at £235	•••		235		
		3 at £215	•••		645	1	
		4 at £200	•••		800		
		2 at £130	•••		260		
28		5 at £105	***	• • •	525		
40		1 at £90	•••	•••	90	5,975	
1		Official Secretary to	His Excellen	cv the G	overnor-	0,010	
		General				525	
		Allowances to officer	s temporarily	performin	g special		
		or higher duties	(under Public	Service	Regula-	00	
		tion 24A or 209)	•••	•••	•••	80	
		CHENE	RAL DIVISION.		£		
		1 at £450			450		
		1 at £340 ( $10\frac{1}{2}$ month		•••	298		
		1 at £290 ( $10\frac{7}{2}$ month		•••	254		
		1 at £285	•••	•••	285	1	
		2 at £255	• •••		510	'	
	l.	1 at £255 (3 months) 1 at £235		• • •	64		
		1 at £230	•••	•••	$\begin{vmatrix} 235 \\ 230 \end{vmatrix}$		
		1 at £225	•••		$\frac{200}{225}$		
		4 at £215	***		860		
		7 at £191	•	•••	$\lfloor 1,337 \rfloor$		
		2 at £178	•••	•••	356		
		2 at £174	•••	• • •	348		
		1 at £160 1 at £154		• • •	$egin{array}{c c} 160 &   \\ 154 &   \end{array}$	}	
		5 at £142	•••	•••	710	ļ	
		1 at £130	•••	•••	130		
35		2 at £105	•••		210		
		31				6,816	
82		Lodging-allowances	(cadets)	• • •		75	
					-	21,956	
		Less amount to be	e recovered fr	om Publi	c Service	21,500	
		Superannuation				2,635	
					-	<del></del>	
		Less—	·		£	19,321	
		Proportion of sal			050		
	.	not payable di Second deduction	uring current y	ear	250		
		increase or bo		-mving	465	ļ	
		111111111111111111111111111111111111111		•••		715	
					-		
		OTHER CHARGES FOR A	ND INCIDENTAL	то	-	*18,606	
		Department of Internal	A ffairs—				
	2	Advertising	y ware -			095	
	3	Benzine depot at Ro	torna (half-cos	t)	•••	$\begin{vmatrix} 235 \\ 206 \end{vmatrix}$	
				-;	• • • •	#O0	
	4				vation of	293	
	1 3	Bird-life, expenses in Commissions of Inqu Fire Brigades: Raily	connection w	ith preser		293 750	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number f Persons.	Item.	VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1922-	-23.
922-23.				
	:	Subdivision No. I.—Head Office—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
		Department of Internal Affairs—continued.		
	!	Fire Brigades Annual Conference—		
	7	Grant-in-aid	500	
	8	Railway passes for brigades attending	500	
	9	Freight, cartage, and transport charges	240	
	10	Fresh-water fisheries, expenses in connection with, in-		
		cluding wages of workmen, purchase of land, and erection of buildings	800	
	11	Fuel for Government offices	2,000	
	1.1	Hector Observatory—	2,000	
	12	Maintenance of grounds	80	
	13	General expenses (including temporary assistance)	180	
	14	Instruments and equipment	150	
	15	Imperial Institute, N.Z. contribution towards work of	1,000	
	16	Kinematograph-films: Cost of administration and ex-	649	
	17	penses in connection with the censorship of Land Agents Act, 1912: Payment to Hospital Boards	643	
	11	and other expenses incidental to issue of licenses	İ	
		under	350	
	18	Law-costs	10	
	19	Light, power, and water for Government buildings	3,750	
	20	Office fittings and requisites (including photographs)	200	
	21	Overtime and meal allowances	35	
	22	Payment to New Zealand Academy of Fine Arts,		
		Wellington, for part services of custodian, National Picture Gallery, and other charges in connection		
		therewith	160	
	23	Postage, telegrams, and rent of boxes	750	
		Printing and Stationery—		
	24	Head office	1,670	
	25	Ministers' offices (including office equipment)	1,320	
•	26	Protection of Tuatara lizards: Special payments to		
	1	lighthouse-keepers and others, also compensation for land for sanctuary on Kawera Island	175	
	27	Publications (including newspapers and books)	1,000	
	28	Renovation of historical graves of, and memorials to,	_,,,,,	
	1 1	soldiers and others who were killed or died in		
		connection with the Maori and Great Wars, includ-		
	1	ing wives and daughters of officers, and also men of		
	i l	the British and allied navies, and expenses in connection therewith	1 046	
	29	Salary, allowance, and expenses of Lady £	1,246	
	1 20	Medical Referee 480		
		Less recoverable from other Departments 384	1	
			89	
	30	Special allowance to shorthand-writers and typistes		
	. 61	employed in Ministers' offices	270	
	31	Telephone services (including installation, extensions,	600	
	32	maintenance, rent, and calls)	000	
	02	Less recoverable 726		
			1,028	
		Travelling allowances and expenses of—	· ·	
	33	Ministers (allowances only as authorized by the		
	0.4	Civil List Act, 1908)	1,750	
	84	Ministers beyond the Dominion	1,000	
	35 36	Ministers' expenses Private Secretaries to Ministers	$\frac{2,100}{2,000}$	
	37	Officers of the Department	$\begin{bmatrix} 2,000 \\ 750 \end{bmatrix}$	
	38	Contingencies, including unforeseen expenditure in-	100	
		cidental to the other items of the vote	50	
	1			
			27,968	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## ${\it Appropriations \ for \ Consolidated \ Fund \ Services}.$

of Persons.	Item.		-DEPARTMENT FFAIRS-continue		ERNAL	1922-	-23.
1922–23.			o. II.—Clerk of $Ex$		nuncil.	£	£
	39		ative Council (also S Private Secretary 			46	
			Total—Subdivisio	n No. II			4
		Subdivision N	o. III.—Ministers'	Secretarie	8.		
	40	Salaries-				! !	
2		Class II— 2 at £525 Class V—		•••	•••	1,050	
4		4 at £380 Class VII—	•••	•••		1,520	
		1 at £275 Secretary to Ca	abinet (also Clerk of rivate Secretary to	Executive	Council,	275	
	. 	£558)	•••			233	
		1 Private Se 14 Private S	addition to classific cretary to Minister ecretaries to Minist ation allowance—	at £100	each	100 700	
		8 at £100		•••	•••	800	
					-	4,678	
		Less seco	nd deduction from	cost-of-l	iving in-		
		crease o		•••		55	
		crease o		•••		55	*4,62
		crease o	r bonus	No. III		55	*4,62
	41	crease o	r bonus  Total—Subdivision  IV.—Messengers, C Charwomen.	 No. III Office-keepe		55	*4,62
	41	Subdivision No.	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	 No. III Office-keepe	rs, and	55	*4,62
	41	Subdivision No.  SALARIES—  Messengers, &c 1 at £350	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	 No. III Office-keepe	rs, and £ 350	55	*4,69
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220	55	*4,69
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	 No. III Office-keepe	rs, and  £ 350 1,220 5,600	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £260	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £260 2 at £255	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780 510	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £260 2 at £255 50 at £250	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780 510 12,500	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £260 2 at £255 50 at £250 18 at £245	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780 510 12,500 4,410	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £260 2 at £255 50 at £250	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780 510 12,500	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £255 50 at £255 50 at £250 18 at £245 9 at £240 10 at £235 3 at £231	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780 510 12,500 4,410 2,160 2,350 693	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £255 50 at £255 50 at £250 18 at £245 9 at £240 10 at £235 3 at £231 3 at £230	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780 510 12,500 4,410 2,160 2,350 693 690	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £255 50 at £255 50 at £250 18 at £245 9 at £240 10 at £235 3 at £231 3 at £230 2 at £225	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780 510 12,500 4,410 2,160 2,350 693 690 450	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £255 50 at £250 18 at £245 9 at £240 10 at £235 3 at £231 3 at £230 2 at £225 21 at £221 1 at £220	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780 510 12,500 4,410 2,160 2,350 693 690	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £250 18 at £255 50 at £255 9 at £240 10 at £235 3 at £231 3 at £230 2 at £225 21 at £221 1 at £220 2 at £219/15	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780 510 12,500 4,410 2,160 2,350 693 690 450 4,641 220 440	55	*4,62
	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £255 50 at £255 50 at £250 18 at £245 9 at £240 10 at £235 3 at £231 3 at £230 2 at £225 21 at £221 1 at £220 2 at £219/15 1 at £211	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780 510 12,500 4,410 2,160 2,350 693 690 450 4,641 220 440 211	55	*4,62
157	41	Subdivision No.  Salaries—  Messengers, &c 1 at £350 4 at £305 20 at £280 3 at £275 2 at £270 3 at £250 18 at £255 50 at £255 9 at £240 10 at £235 3 at £231 3 at £230 2 at £225 21 at £221 1 at £220 2 at £219/15	r bonus  Total—Subdivision  IV.—Messengers, Charwomen.  GENERAL DIVISION	No. III  Office-keepe	rs, and  £ 350 1,220 5,600 825 540 780 510 12,500 4,410 2,160 2,350 693 690 450 4,641 220 440	55	*4,62

<sup>\*</sup>Includes cost-of-living increase to scale salaries or wages.

#### DEPARTMENT OF INTERNAL AFFAIRS—continued.

Number of Persons.	Item.	HOME N. O. DED DEMINE ON INCHEDNAL	1922-	23.
1922-23.°		VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	£	£
		Subdivision No. IV.—Messengers, Office-keepers, and Charwomen—continued.		
	41	Salariescontinued.		
9		GENERAL DIVISION—continued.         Charwomen—       £         1 at £140        140         3 at £135        405         1 at £130        130         3 at £110        330         1 at £75        75	1,080	
166	-	Allowances under Public Service Regulation No. 208	39,865	
		(being long-service increment to charwomen)	39,885	
		Proportion of salaries and increases to salaries provided for but not payable during current year 234  Second deduction from cost-of-living increase or bonus 1,132	1,366 *38,519	
	42 43 44 45 46 47 48 49 50 51	OTHER CHARGES FOR AND INCIDENTAL TO— Compensation Payable to W. Clark under Workers' Compensation Act on account of accident sustained whilst on duty on 26th November, 1920, being half remuneration prior to accident Contribution towards payment of minimum and additional retiring allowances to Messengers (to cover liability incurred in previous year) Extra charwomen Extra messengers Motor cars, cycles, and accessories Office-cleaning (including upkeep of grounds) Special allowances to messengers, Wellington (includes allowances to Ministerial messengers) Travelling allowances and expenses Uniforms and overcoats for messengers Contingencies, including unforeseen expenditure incidental to the other items of the vote	245 28,541 4,423 750 2,150 600 300 900 25 38,038 76,557	
		Public Revenues Act, 1910— Messenger and charing services	20,800	
		Total—Subdivision No. IV		55,757

\* Includes cost-of-living increase to scale salaries or wages.

1922-23.		VOTE No. 23.—DEPA	RTMENT (	דים ידואיד ידו	DATAT		
		TELATI	RS —continued		TAM.		·
		Subdivision No. V.—	-Registrar-Ge	neral's Offi	ce.	£	£
1	52	SALARIES					
	[ [		AL Division.				
4	!	Class I—					
. 1	i	1 at £575 Class 1V—	***	• • •	•••	575	
.1		4 at £430 Class VI—	•••	•••		1,720	
5		5 at £330	•••			1,650	
ı		Class VII— 3 at £305			$\begin{array}{c c} \mathfrak{L} \\ 915 \end{array}$		
. !		2 at £295	•••		590		
	1 1	4 at £275			1,100		
		2 at £255	•••		510		
		$2~{ m at}~\pounds 215$		• • •	430		
		2 at £200		•	400		
		1 at £130		• • • •	130		
		1 at £105			105		
19		2 at £90	• • •	• • •	180		
		1 - 7 - 11				4,360	
		Lodging-allowance	 tampananili	 faxin	gnosial	50	
		Allowance to officer					
		or higher duties (un 209)	der rublic c	i	guiation	30	
		200)	•••	•••	•••	50	
		GENER	AL DIVISION.		£		
		1 at £191	•••		191		
		2 at £154	•••	•••	308	7	
		2 at £142			284		
7		2 at £105	•••	•••	210		
W part to 1						993	
36		Lodging allowance	•••	•••		20	
		T				9,398	
		$egin{array}{c} \operatorname{Less} & & & \\ \operatorname{Proportion} & & & & \end{array}$	of galaxies or	ad imanaaa			
			provided for				
	'		g current yea		9° 81		
		Second dedu	ection from	ost-of-livi			
		increase or	bonus		217		
						298	
					-	*9,100	
		Omiting Changes are in	TO INCOMPANY	T MO	-		
	50	OTHER CHARGES FOR AN			anritage	100	
	53 54	Office-cleaning, firing, Office furniture and fi		agne, and	Carrade	100 50	
•	0.4	Registration of births,		marria <i>do</i> a		90	
	55	Payment to Post Of				2,000	
	56	Payment to non-per				2,000	
	57	Postage, telegrams, ar				950	
	58	Printing and stationer				1,500	
	59	Telephone services (in				-,000	
		maintenance, rent,		•••		80	
	60	Temporary assistance				218	
	61	Travelling allowances				200	
	62	Contingencies, includ					
	-	cidental to the othe				10	
	1				1		
					-	7,108	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons	Item.	VOTE No. 23.—DEPAR	POMENTO C	AR INTER	DNAI.	1922–	2 <b>3.</b>
1922-23.	4		-continued		WINAII  -		
		Subdivision No VI.—	-Census and	Statistics		£	£
	63	Salaries					
_	00		Division.		1		
Ĭ		Special Class—					
1		1 at £725	•••	•••		725	
. 1		$Class\ II$ $1\ { m at}\ \pounds 525$				525	
•		Class III—	•••			525	
1		1 at £480	•••			480	
		Class V—				1 140	
3		3 at £380 Class VI—	• • •	•••	£	1,140	
		1 at £330			330	Ì	
3		2 at £295	•••		590		
		Class VII—	,			920	
		1 at £305 3 at £295	•••	•••	305 885	Į	
		1 at £275	•••		275		
		2 at £255	•••		510		
	,	1 at £235		•••	235	1	
	-	1 at £230	•••	•••	230	ļ	
		3 at £215 4 at £200	• • • •		645 800	ĺ	
		1 at £150		•••	150	ļ	
		8 at £130		•••	1,040	1	
		6 at £120		•••	720		
		6 at £105 8 at £90	•••	• • •	$\begin{bmatrix} 630 \\ 720 \end{bmatrix}$		
46		1 at £85 (9 months)		•••	64		
•		Tat des (o montas)	•••	•••		7,209	
			r Division				
		1 at £255 1 at £235	•••	• • •	255		
	-	1 at £225	•••	•••	$\begin{array}{c c} 235 \\ 225 \end{array}$		
		1 at £215			215	Ī	
		1 at £191			191		
10	,	7 at £174	•••	• • •	1,218		
13	2	1 at £154	• • •	•••	154	2,493	
68	3	Lodging-allowances	•••	•••		298	
	-						
		T				13,790	
		Less— Proportion of sa	laries provid	led for			
		but not payabl			342		
		Second deduction	n from cost-c				
		increase or bo	nus	•••	326	660	
						668	
						*13,122	
		OTHER CHARGES FOR AN					
	64	Census, 1921: Cost of				2,250	
	65	Collection of statistic pastoral	s, including	agriculti	irai and	5,250	
	66	Freight, cartage, and to	ransport ch	arges		20	
	67	Fuel, light, power, and	water			180	
	68	Office fittings and req	uisites (inclu	ıding prin	ting and		
	en	stationery)	d nort of L.	***	•••	1,050	
	69	Postage, telegrams, and Printing statistical pub		kes	•••	$\begin{bmatrix} 1,190 \\ 6,500 \end{bmatrix}$	
	71	Registration of Aliens		•••	•••	50	
	72	Telephone services (inc	luding insta				
		maintenance, rent, a		•••		28	
	73	Temporary assistance	•••	•••	1	1,926	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.		1922-	-23.
1922–23.	-	VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.		
10 <b>-2 -</b> 0.		Subdivision No. VI.—Census and Statistics—continued.	£	£
	74	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Travelling allowances and expenses	25	
	75	Contingencies, including unforeseen expenditure incidental to the other items of the vote	10	
		$Total-Subdivision \ No. \ VI                                  $	18,479	31,60
		Subdivision No. VII.—High Commissioner's Office.		
	76	SALARIES—	000	
		Secretary Finance Officer	$\begin{array}{c c} 902 \\ 791 \end{array}$	
		Assistant Secretary	525	
		Clerks and Messengers	22,941	
	! !	Miscellaneous wages Emigration and Exhibition Officer	$egin{array}{c c} 1,657 \ 725 \end{array}$	
		Veterinarian and Produce Officer	790	
		-	ου 991	
		Less amount recoverable:	28,331	
	1	War Expenses 1,800		
		Immigration Department 6,000		
	1	Life Insurance 450		
		Public Trustee 900 Public Trust Enemy Debts 700		
		Working Railways 815		
		Public Works 815		
		Post and Telegraph 465		
		Defence		
		State Fire 100	12,450	
		[~	15,881	
1	77	OTHER CHARGES FOR AND INCIDENTAL TO—		
	'	Advertising, photographs, books, newspapers, and other publications	1,800	
	78	Contributions due under National Insurance Act,	_,550	
	!	1911, in respect of clerks employed in the High		
	70	Commissioner's office	150	
	79 80	Cost of passages, London to New Zealand, of H. C.	3,264	
,	, 00 !	Cameron and family, on termination of appoint-		
	l i	ment in High Commissioner's Office	289	
	81	Expenses of official entertainments	500	
	82 83	Freight, cartage, and transport charges	100	
	84	Fuel, light, power, and water Motor vehicles, including upkeep and repairs	600 300	
	85	Office-cleaning	200	
	86	Office fittings and requisites (including printing and		
	977	stationery)	2,000	
	87   88	Postage, telegrams, and rent of boxes Refund to officers of difference between the amount of	2,000	
	00	income-tax payable in England and New Zealand	750	
	89	Rent, office-cleaning, fuel, and light	7,000	

### ${\bf DEPARTMENT\ OF\ INTERNAL\ AFFAIRS}-continued.$

Number of Persons.	vote No.	23.—DEPART AFFAIRS-			RNAL	1922-	23.
1922–23.	Subdivision	No. VII.— Hi			Office	£	£
}	2 Temporar 3 Travelling 4 Contingen	GES FOR AND IT y assistance allowances an cies, including to the other it	 d expenses unforesee	 n e <b>xpe</b> ndi		500 250 150	
!		to the other it	oms or the	1000	-		
						21,303	
	I Shi	estimated cred Public Revenue ipping charges vernment Depa nt, &c	s Act, 1916 on goods rtments	0— s for <b>G</b> o-	£	37,184	
		Total— $Sub$	division N	o. VII		3,300	<b>3</b> 3,884
	5 SALARIES—	ubdivision No.  Professions					
1	Class A— 1 at £7'	75 (Director)				775	
1	Class C-1 at £4'					470	
	Class $D$ —	•		•••	£	1,0	
2	1 at £43 1 at £38		••••	•••	430 380		
	Allowance or high	e to officer ten er duties (unde	nporarily per Public S	performing Service Re	special gulation	810	
	209)		•••	•••		107	
	2	GENERAL	${\bf Division.}$		*10		
3	2 at £255 1 at £235		•••	•••	$\begin{array}{c c} 510 \\ 235 \end{array}$		
						745	
7	Less-					2,907	
	t I Sec	oportion of sala to salaries pro- payable during cond deduction increase or bon-	vided for current ye from cost-	but not ar	12 52		
		moreuse or bon	us	•••		64	
					-	*2,843	
	6 Advertising papers, Board of	RGES FOR AND  Ig, purchase of  &c  Science and  Ig publications	f photogra  Art, expen	phs, books  ises incide	ntal to,	100	
	able) Collection	and establish relating to the	 ment of hi	storical an	 id other	2,485	
	of New Expenses	Zealand in connection	 with war	section as	nd with	175	
1	portrait Freight, c	s of New Zeals artage, and tra t, power, and v	anders who nsport cha	won the	V.C.	735 40 100	
		publications, pr				200	

 $<sup>\</sup>boldsymbol{\ast}$  Includes cost-of-living increase to scale salaries or wages,

	DEPARTMENT O	F INTERNAL	AFFAIRS	-continue	ed.	
Number of Persons. Item.	VOTE No. 23.—DI	EPARTMENT ( AIRS—continued		RNAL	1922-	23.
1922-23.	Subdivision No.	VIII.—Museum	-continue	ed.	£	£
103 104 105 106 107 108 109 110	OTHER CHARGES FOR Office fittings and stationery) Photographic and Postage, telegrams Specimen and pict Telephone services maintenance, re Temporary assista Travelling allowan Contingencies, inc	AND INCIDENTAL requisites (inclu phonographic su , and rent of box ures, purchase an  (including instal nt, and calls) nce ces and expenses	TO—conti	nued. ting and ation of tensions,	100 100 70 200 15 588 150	
	orderian to the o	oner rooms or one	, 1000			
	Public R	d credit under evenues Act, 191 eience and Art pu	l0	Ì	5,068	
	2500201 02 150	nonce una ma p.	201100011011	_		
	T	otal—Subdivision	n No. VII	II  -	4,568	7,411
111	Salaries—	IX.—Dominion		ry.		
	Profe Class A—	ESSIONAL DIVISIO	N.			
1	1 at £874 (Domi	inion Analyst)	•••	£	874	
3	1 at £600 2 at £525	•••		600 1,050		
	Class D—	•••			1,650	
1	$1$ at £430 $Class\ E$	•••	• • •	•••	430	
2	1 at £330 1 at £295	•••		330 295		
2	Class F— 2 at £215				625 430	
4			***	•••	450	
	Class VI—	ERICAL DIVISION.				
1	1 at £330 Class VII-		• • •		330	
$_2$	1 at £255 1 at £130	• • •	•••	255		
2		•••	***	130	385	
	Сег 2 at £330	NERAL DIVISION.		660		
	1 at £260	• • •		260		
5	1 at £255	•••		255		
	1 at £191	•••	•••	191	1,366	
17	Allowances (specia	ıl and equipment	)		52	
,	creases t but not current y Second de		led for	28 116	6,142	
					144	
				-		

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

mber ersons.	Item.					1922-	23.
	<u> </u>	VOTE No. 23.—DEPARTM	ENT (	OF INTER	RNAL _		
2–23.		AFFAIRSc	ontinue	l.		£	£
		Subdivision No. IX.—Dominio	m Labor	ratory—con	itinued.	æ	ಮ
		OTHER CHARGES FOR AND IN					
	112	Advertising, photographs,	books,	newspaper	rs, and	,	
	113	other periodicals Chemicals, apparatus, and		 to apparatu	ıs	$\begin{array}{c c} 125 \\ 700 \end{array}$	
	114	Explosives Act, expenses u Apparatus, books, and p		ls. nurchas	e of	100	
	115	Expenses in connection Less recoverable			<b>£1</b> ,000 900		
	1 - 0					100	
	$\begin{array}{c} 116 \\ 117 \end{array}$	General expenses Postage, telegrams, and	tolonbor		• • • •	50 90	
	118	Printing and stationery			£180	90	
		Less recoverable		•••	30		
						150	
	119	Salaries: Magazine-keep	ers			192	
	$\begin{array}{c} 120 \\ 121 \end{array}$	Travelling allowances ar Fees of officers of Domin	ion Tal	1808	tonding	680	
	121	science lectures, Victoria			tenung	30	
	122	Freight, cartage, and trans				100	
	123	Fuel, light, power, and wa	ter	•		250	
	124	Office fittings and requisi	tes (in <b>c</b> l	uding print	ting and	7.00	
	: :105	stationery) Postage, telegrams, and re	 nt of ho			160	
	$\begin{array}{c} 125 \\ 126 \end{array}$	Scientific research	116 01 002	xes	•••	50 250	
	127	Subscriptions to Technical	Societie			10	
	128	Telephone services (includi	ing insta	llation, ext			
		maintenance, rent, and	calls)	•••		20	
	129	Temporary assistance			•••	50	
	130 131	Travelling allowances and Contingencies, including			iture in-	50	
	101	cidental to the other ite	ms of the	e vote		25	
						9 190	
		Total—Su	bdivision	No. IX		3,182	9,18
	132	Subdivision No. X—Mi		ous Services			
	102	SALARIES (Relieving Staff)— CLERICAL 1					
		Class II—	-11131OR	•	£		
		1 at £525			525		
2	1	1 at £525 (5 months)	•••	•••	222	~ 4=	
1		Class III— 1 at £455 (2 months)				747   75	
1	•	Class IV—	• • •	•••		10	
2		2 at £430				860	
		Class V—					
0		2 at £380	•••	• •••	760		
3	'	1 at £360 (3 $\frac{1}{3}$ months) Class VI—	•••	•••	100	860	
Ü	1	3 at £330		•••	990	000	
J		1 at £330 (2 months)			55		
	-				26		
		1 at £310 (1 month)		•••		l	
6				•••	295	1,366	

Number Persons.	Item.					1922-	23.
		VOTE No. 23.—DEPART AFFAIRS-	MENT OF	INTE	RNAL	And below to compare the compare to	
922–23						£	£
		$Subdivision\ No.\ XMiscell$	aneous Servi	ces—cor	ntinued.		
	132	Salaries (Relieving Staff)—	-continued.				
		CLERICAL DIVIS	IONcontinu	ved.			
		Class VII—			£		
		3 at £305	•••	•••	915		
		1 at £295	• • •	• • • •	295		
	ļ	2 at £255	•••	•••	510		
	1	1 at £245	•••	•••	$egin{array}{c c} 245 &   \\ 235 &   \end{array}$		
	1	1 at £235	• • •	•••	600		
10		3 at £200 2 at £90	•••	•••	180		
13		2 86 3590	•••	•••		2,980	
		GENERAL	Division.		24.0	,	
		2 at £305	•••	•••	610		
		1 at £305 (7 months)	•••	•••	180		
		1 at £255	•••	• • •	255		
		1 at £245	•••		245		
		3 at £235	•••	•••	705		
	}	4 at £215 1 at £215 (2 months)	•••		860 36		
	1	4 at £191	• • •	•••	764		
		4 at £154	•••	•••	616	1	
		1 at £142 (7 months)	• • •	• •	87		
		1 at £130	•••		130		
		1 at £130 (9 months)	•••		102		
		1 at £114 (10 months)			95		
		1 at £114 (3 months)	•••	• • • •	29		
	1	1 at £105	•••		105		
28	1	1 at £75	•••		75		
	-					4,894	
55	_						
		Lodging-allowances (cad	ets)			31	
		Allowances to officers p	erforming s				
		duties (under Public S	ervice Regul	ation 24	<b>4∆</b> )	140	
		Less—			-	11,953	
		Proportion of salarie	s and increas	ses to		,	
	1	salaries provided f			2	i	
		during the current	t year	• • • •	2,189		
		Second deduction fr		iving			
		increase or bonns	• • •	•••	327		
	-		•		Septe a comment of the second of the second of	2,516	
					-	9,437	
		Less recoveries	•••		• • • •	4,292	
	1	I to the second				WE 145	
						*5,145	
					_		
		Charges for and inciden	VTAL TO		-		
			NTAL TO		-		
	133	Patriotic Societies, &c.—			-	150	
	133					150	
		Patriotic Societies, &c.— Audit of Patriotic Account	nts			150	
	133	Patriotic Societies, &c.— Audit of Patriotic Account  General— Actuarial work done by	nts the Governn			150	
		Patriotic Societies, &c.— Audit of Patriotic Account General— Actuarial work done by ance Department in c	nts the Governm onnection w	ith the	valuation	150	
		Patriotic Societies, &c.— Audit of Patriotic Account General— Actuarial work done by ance Department in c of Public Service, Rai	nts the Governm onnection w	ith the	valuation		
	134	Patriotic Societies, &c.— Audit of Patriotic Account General— Actuarial work done by ance Department in c of Public Service, Rai annuation Funds	nts the Governm onnection willways, and 	ith the Teacher 	valuation rs' Super-	150	
		Patriotic Societies, &c.— Audit of Patriotic Account General— Actuarial work done by ance Department in c of Public Service, Rai	nts the Government onnection willways, and accommodat	ith the Teacher  ion pro	valuation rs' Super-  ovided for		

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1922-	-23.
1922-23.				
		Subdivision No. X.—Miscellaneous Services—continued.	£	£
		CHARGES FOR AND INCIDENTAL TO—continued.		
		General—continued.		
	100	Advertising New Zealand—	450	
	$\begin{array}{c} 136 \\ 137 \end{array}$	Special publicity work in connection with Purchase of cinema camera	450 350	
	138	Anzac Memorial Service, London: New Zealand's		
	139	share	15	
		meeting at Wellington, January, 1923: Cost of	100	
	140	printing guide-book and circular and postages Cinematograph-films taken in France and elsewhere	100	
		for patriotic and other purposes, expenses in con-		
		nection with	1	
	141	Mrs. Hornsby, widow of the late J. T. M. Hornsby,		
	142	formerly M.P., for 1921–22 Widow and invalid child of the late E. Kellett,	100	
		M.P	500	
	143 144	Widow of the late J. H. W. Uru, M.P Widow of the late Hon. Te Heuheu Tukino,	500	
	1.45	M.L.C	50	
	$\begin{array}{c} 145 \\ 146 \end{array}$	Widow of the late Hon. P. J. Nerheny, M.L.C Widow of C. Morris, killed in 1916 at Otira Rail-	100	
		way-works, by landslide	94	
	$\begin{array}{c} 147 \\ 148 \end{array}$	W. T. Wood, ex-M.P Compassionate allowance (£500) and advance by	50	•
		way of loan (£750) to W. J. Mather, late Railway	1 070	
	149	employee, injured on duty Contribution towards relief of refugees in Smyrna	$\frac{1,250}{1,000}$	
		Cost of—		
	$\frac{150}{151}$	Annotating statutes for Government Departments Entertaining visitors to the Dominion and of	243	
	150	official functions	500	
	152	Cost-of-living bonus to annuitants under the Public Service, Railways, and Teachers' Superannuation		
		Funds and Civil Service Act, 1908, and to other	40.000	
	153	persons in receipt of retiring-allowances Disarmament Conference at Washington, 1921 (in-	40,800	
		cluding allowances and travelling-expenses of New		
		Zealand's delegate, Private Secretary, and Official Secretary)	3,000	
	154	Fire Hose: Purchased on account of £		
		Fire Brigades 1,000 Less estimated recoveries 999		
		Chanta to	1	
	155	Grants to— Cover expenses attending Tariff Conference at		
		$\mathfrak{L}$ Melbourne—		
		Hon. Minister of Customs 250   Private Secretary 159		
		Attendant 73	482	
	156	Cover travelling expenses and allowances of Sir	402	
		Francis Bell between London and San Fran-		
		cisco, or Vancouver, and of his attending Genoa Conference as New Zealand's repre-		
		sentative—		
		Travelling allowances and expenses, £ London to San Francisco, or Van-	•	
		couver 350 Travelling allowances and expenses,		
	1 :	Genoa Conference 85		
	I .		435	

	]			
Number of Persons.	Item.	VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1922-	-23.
1922–23.		Subdivision No. X.—Miscellaneous Services—continued.	2	£
		Charges for and incidental to—continued.		
		General—continued. Grants to—continued.		
	157	Dr. C. E. Adams, New Zealand's representative at Astronomical Expedition to Wallal, Western		
	<b>15</b> 8	Australia, to observe total eclipse of sun English Cricket Team, proposed visit of: Cost of	50	
	159	cables Hague and Genoa Conference: Travelling expenses	44	
	160	and allowances of Official Secretary	525	
	161	In settlement of petitions New Zealand Institute for research-work	$egin{array}{c} 250 \ 220 \end{array}$	
	162	New Zealand Institute, for earthquake investigation at Taupo	100	
	163	Otago Patriotic and General Welfare Association to supplement proceeds of the Benefit Race-		
	164	meeting in Dunedin History of New Zealand Wars: Cost of printing	200	
	165	Volumes I and II Loan to Mangawara River Board to enable them to	535	
	166	proceed with initial work Naturalization of animals and plants in New Zea-	1	
		land, amount guaranteed towards cost of publishing book on	400	
	167	New Zealand Gazette— £ Cost of printing 12,000 Less recoveries from subscribers 570		
	168	Official History of the visit of H.R.H. the Prince of Wales to New Zealand, cost of printing and pub-	11,430	
	169	lication of £	350	
		Expenses under Animals Protection Act 250 Less estimated recoveries 249		
	170	Parliaments of the Empire: Contribution towards	200	
	171	cost of producing journal (London publication)  Peace Treaty, cost of copies of	$\begin{array}{c} 200 \\ 742 \end{array}$	
	$\overline{172}$	Preservation of aboriginal rock paintings	30	
	173 174	Railway Superannuation Fund: Addition to subsidy Returned Soldiers' Association Conference: Rail	50,000	
	<b>1</b> 75	fares of delegates Reuter's Telegram Company: Payment for special	150	
	150	telegrams	500	
	$176 \mid 177 \mid$	Stephen's Island, protection of bush on Stores Control Board, expenses of	50 300	
	178	Stranded New-Zealanders: Assistance to return to New Zealand	700	
	179	Subsidies towards— Cost of renovating Maori War-time Historical		
į	180	Church at Russell (£1 for £1) Dominion Boy Scouts' Association (£1 for £1 up to	200	
	101	<b>£</b> 500)	500	
	181	Hostels situated in Wellington for providing suitable board and lodging for employees of the Public Service, as approved by the Public Service	F.0	
	190	Commissioner	150	
	182 183	Memorial to the late J. Bollard, M.P. (£1 for £1)  Re-erecting memorial to the late Sir John Mackenzie (£1 for £1)	150 500	
	184	Teachers' Superannuation Fund: Addition to subsidy	25,000	

#### DEPARTMENT OF INTERNAL AFFAIRS—continued.

Number of Persons.	Item.		1922-	23.
1922–23.	-	VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.		
1022-20.	1	III I IIIIII — commune.	£	£
		Subdivision No. X.—Miscellaneous Services—continued.		
		CHARGES FOR AND INCIDENTAL TOcontinued.		
		General—continued.		
	185	Telegrams beyond the Dominion	420	
	186	Temporary assistance	*925	
	187	Totalizators, expenses incidental to inspection of	1,000	
	188	Travelling allowance and expenses of members of		
	]	Public Buildings Board	25	
		Turnbull Library—		
	189	Expenses in connection with	1,492	
	190	Grant to Charles Wilson, Advisory Director (also		
	i	£700, Chief Librarian, General Assembly		
	101	Library)	50	
	191	Refund of stamp-duty on the Turnbull bequest	5,525	
	192	War trophies: Shipping, freight, railage, and inci-	004	
		dental expenses	264	
	.		153,301	
		Less estimated credits under Section 48 of the Public Reserves Act, 1910—	105,301	
		Opossums, &c	150	
		o possessio, test		
	1		153,151	
		Total—Subdivision No. X		158,29
		TOTAL—VOTE No. 23		363,58

TOTAL .... £363,580

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### AUDIT DEPARTMENT.

						.1	922-23.	
					Salari	es. Ot	her Charges.	Total.
ote No. 2	24.—	Audit	•	• • •	21	£ ,355	£ 3,538	£ 24,89
		rotal			21	,355	3,538	24,89
Number of Persons.	Item.						19	22–23.
1922–23.		Charg VOTE No. 24	geable on the	e Audit De	partment.		£	£
	1	*Salaries—						
1		Audit Offi	cer, London	•••	•••		. 60	0
			CLASSIFICAT	ION UNDER	Act.			
		Special Cl		L Division	τ.	•		
. 1		1 at £72 Class I—		•••	•••	 £	. 72	5
9		8 at £62 1 at £57		•••	•••	5,000 578		
5		Class II— 5 at £52		•••		•••	- 5,57 2,62	
4		Class III- 4 at £48			•••		. 1,92	0
1		Class IV- 1 at £48					. 43	0
		Class V— 12 at £3			•••	4,56		
15		1 at £36 2 at £34   Class VI-	5 (3  months)	), £365 (9 1	months)	36. 72		5
		6 at £33 1 at £31	80	  1), £330 (6 1	 nonths)	$\substack{\textbf{1,98}\\3\textbf{1}\\2,56}$	0	
19		1 at £29 3 at £28	95 (6 months 57 (3 months	s), £310 (6 1	${f nonths})$	30 85	3   7	0
5		Class VII 5 at £2' Class VII	75			• .	$\begin{bmatrix} - & 6,01 \\ 1,37 \end{bmatrix}$	
			35 (10 month 35	ns), <b>£</b> 255 (2 	•••	23 47 64	0	
		11 at £: 4 at £1	200 50 (3 months			$\begin{array}{c} 2,20 \\ 75 \end{array}$	0 .	
			50 (7 months 50 (6 months 50			17 35 45	0	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

#### AUDIT DEPARTMENT—continued.

Number Persons.	Item.		1922 -	23.
000 00		AUDIT DEPARTMENT—continued.		
922–23.		VOTE No. 24—continued.	£	£
	1	Salaries - continued.		
		CLERICAL DIVISION—continued.		
		Class VIII—continued.		
		6 at £130 780		
		3 at £105 315		
		5 at £90 450		
53		12 at £75 900	-	
			7,720	
		Lodging-allowance	400	
		GENERAL DIVISION.		
		1 at £215 215		
		1 at £191 191		
		1 at £235 (3 months) 59		
			465	
4		1 temporary cadet at £55	55	
1 7 17			99 545	
117		Less second deduction from cost-of-living in-	33,545	
		crease or bonus	690	
			*32,855	
		OTHER CHARGES FOR AND INCIDENTAL TO—		
	2	Advertising, photographs, books, newspapers, and		
		other publications	10	
	3	Allowance to Audit Officers, London, to cover cost of	200	
		living	200	
	4	Allowances to officers temporarily performing higher duties	100	
	5	Town coats	100 200	
	6	Office Cathings and magnicities	50	•
	7	Duinting and station one	350	
	8	Darta na talamana and ment of hamas	200	
	9	Rent	340	
	10	Telephone services (including installation, extensions,	010	
	""	rent, and calls)	100	
	11	Temporary assistance	*1,938	
	12	Travelling allowances and expenses	2,500	
	13	Contingencies, including unforeseen expenditure in		
		cidental to other items of the vote	50	
			6,038	
		Less estimated credits—	38,893	
		Audit inspection— £	50,050	
		Local Authorities 10,000		
		Government Departments and		
		Loan Accounts whose accounts		
		are kept on a commercial		
		basis 4,000	1	
			14,000	
		TOTAL—VOTE No. 24		24,8
	1			• -
		And the second s		

<sup>\*</sup>Includes cost-of-living increase to scale salaries or wages.

### PUBLIC SERVICE COMMISSIONER'S OFFICE.

					19	22–23.	•
				Salaries.	Othe	or Charges.	Total.
Vote No. 2	5.—I	Public Service Commi	ssioner's Office	£ 6,081		£ 2,231	£ 8,31
·		TOTAL		6,081		2,231	8,31
Number of Persons.	Item.					192	2–23.
1922–23.		FUBLIC SERVI	CE COMMISSIONI	ER'S OFFI	CE.		T
		VOTE No. 25.				£	£
	1	*Salaries—	CLERICAL DIVISION.				
		Special Class	·		£		
•	1	1 at £725	•••	•••	725		!
2		1 at £675 Class I—	•••	•••	675	1,400	
1		1 at £575	•	•••		575	•
		Class V—	e e			200	
1		1 at £380 Class VI—	•••	•••	• • • •	380	
		3 at £330	•••		990		
4		1 at £295	•••		295		
	-	Class VII—			075	1,285	1
		1 at £275 1 at £255	•••	•••	$\begin{array}{c} 275 \\ 255 \end{array}$		
	ļ	1 at £235	•••	•••	235		
		1 at £200	•••	•••	200		
		1 at £130	•••	•••	130		Ì
6		1 at £105	•••	•••	105	1,200	
			GENERAL DIVISION.			1,200	
		1 at £295		•••	295		
		2 at £255	•••		510		1
_		1 at £215	•••	• • •	215		1
7		3 at £152	•••	• • •	456	1,476	
21	_						
		<b>r</b>				6,316	
		portion provid during Second d	of officers absent and n of increases to sa ed for but not pa the current year eduction from cost-of- se or bonus	laries yable	100 135	235	
							1
						†6,081	
					,		.}

<sup>\*</sup> For particulars of salaries see "Public Service Classification List." † Includes cost-of-living increase to scale salaries or wages.

# PUBLIC SERVICE COMMISSIONER'S OFFICE—continued.

Number of Persons.		1922-2	23.
1922-23.	PUBLIC SERVICE COMMISSIONER'S OFFICE.		
	VOTE No. 25—continued.	£	£
	OTHER CHARGES FOR AND INCIDENTAL TO—		
2	Advertising vacancies in the Public Service Appeal Board—	300	
3	Allowance to Valuer-General for services on Board		
	at the rate of £81 per annum	81	
4	Expenses: Hearing of appeals	475	
5	Examinations: Public Service Senior and Entrance		
	$(£1,000 \text{ recoverable}) \dots \dots \dots \dots$	1,450	
6	Office fittings and requisites (including printing and	• •	
	stationery)	400	
7	Postage and telegrams	150	
8	Telephone services (including installation, extensions,		
	maintenance, rent, and calls)	75	
9	Temporary assistance	50	
10	Travelling allowances and expenses	400	
11	Contingencies, including unforeseen expenditure in-		
	cidental to the other items of the vote	50	
	-	3,431	
	Less estimated credits under Section 48 of	·	
	the Public Revenues Act, 1910— £		
	Examination Fees 1,000		
	Miscellaneous 200		
		1,200	
		2,231	
	TOTAL—VOTE No. 25		8,31
ТО'	ΓAL	£8,312	

#### PRINTING AND STATIONERY DEPARTMENT.

						19	922–23.		
					Salaries	. Oth	er Charges.	Total.	
					£	1	£	£	
ote No. 2	26.—]	Printing and Statione	ery		110,5	30	109,564	220,09	
	TOT	AL			110,5	30	109,564	220,09	
Number of Persons.	Item.		NG AND S	STATION	VERY.	<u>J</u>	1929	22–23.	
1922–23.	 	Classification	n and Increase	s under Re	gulation.				
		VOTE No. 26.					£	£	
	1	*Salaries-							
	•	1	INISTRATIVE	Divisio	N.	•			
		1 at £837 (Gove	rnment Pri	nter), (2	months)	£ 140			
1		1 at £775 (Gove	rnment Prin	ater), (10	months)	646	786		
		Pag	FESSIONAL	Division					
1		1 at £395 (Engir		DIVISION	•		395		
•		, ,	,		•••	•••	0.00		
		Class I—	LERICAL DI	VISION.					
1		1 at £625		•••	•••	•••	625		
1		Class II— 1 at £525					525		
•		Class III—		•••	•••	•••	020		
1		1 at £480					480		
		Class IV—							
2		2 at £430		•••	•••		860		
		Class V—				£			
4		1 at £380 3 at £360 (1 f	or 6 months	 s)	•••	380 90 <b>0</b>			
		Class VII—					1,280		
	-	5 at £305		•••	•••	1,525			
		2 at £295 2 at £235		• • •		590 470			
10		1 at £120				120			
		C-	eneral Di	VISION			2,705		
	İ	1 at £480	· Emision is	•••		480			
		6 at £395				2,370			
		2 at £385 1 at £380		• • •	•••	770			
		1 at £375				380 375			
		4 at £350		•••		1,400			
		3 at £325				975		•	
	*	1 at £315				315		1	

\* For particulars of salaries see "Public Service Classification List."

#### PRINTING AND STATIONERY DEPARTMENT—continued.

Number of Persons.	Item.	·				1922–	23.
922–23.	4	PRINTING AND STAT	IONER	Ycontin	ued.		
		VOTE No. 26—continued.			٠.	£	£
	1	Salaries—continued.					
		General Division	N-cont	inued.	1.74		
		18 at £305 (1 for 2 months)			£ 5,236		
		2 at £300		•••	600		
		13 at £295	•••	•••	3,835		
		1 at £285	•••	•••	285		
		98 at £280 (1 for 1 month)	•••	•••	27,183		
	Ì	34 at £290 3 at £275	•••	•••	$9,860 \\ 825$		
	1	4 at £260			1,040	İ	
	İ	3 at £255	•••	•••	765	ĺ	
	1	2 at £250	•••	•••	500		
		1 at £243	• • •	•••	243		
		2 at £240 4 at £235	•••	•••	$\begin{array}{c} 480 \\ 940 \end{array}$		
		4 at £205 (1 for 4 months)	• • • •	•••	683		
		6 at £176			1,056		
		1 at £174			174		
		12 at £270	•••	• • •	3,240		
		1 at £265	•••	•••	265		
		1 at £225 2 at £220	•••	• • •	$egin{array}{c} 225 \ 440 \end{array}$	2 × 4	
		3 at £210	•••	• • •	630		
		8 at £166			1,328		
		3 at £159	•••		477		
	}	2 at £156			312		
		25 at £146 (1 for 1 month)		• • •	3,516		
		1 at £142 2 at £133	•••	***	$\begin{array}{c} 142 \\ 266 \end{array}$		
		4 at £120			480		
		1 at £94		•••	94	•	
		1 at £165			165		
		8 at £263	•••		2,104		
302		2 at £115 4 at £81	•••		$\frac{230}{324}$		
502	_	4 80 201	•••	•••		77,178	
323						84,834	
		Folders, Sewers, and Mach Apprentices, Machine Boy	s, Read	der Boys,		5,670	
		Boys, Perforators, and G		· · · ·	•••	1,250	
		Extra hands	•••	•••	•••	21,125	
		1				112,879	
		Less second deductio	n from	cost-of-l	iving in-		
		crease or bonus	•••	•••	•••	2,349	
						*110,530	
		OTHER CHARGES FOR AND IN	CIDENTA	L TO—			
	2	Audit fees	•••		•••	50	
	3	Cost-of-living bonus		<u></u>		2,500	
	4	Freight, cartage, packing, in	surance	e, and wha	rf labour	9,000	
	$\begin{array}{ c c c c }\hline 5 \\ 6 \end{array}$	Fuel, power, gas, and light Grant to late Governmen	ıng t Print	er of six	months'	2,700	
		salary in lieu of leave of	${f absence}$			419	
	7	High Commissioner's Off	ice, Lo	ndon: Pi	_	150	
	8	of rent Machinery	•••	•••	•••	150 5,000	
	9	Medical services		•••	•••	175	
	10	Monotype machines, extras	connec	ted with		300	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages

### PRINTING AND STATIONERY DEPARTMENT—continued.

Number f Persons.	Item.	1922	<b>-23.</b>
922–23.	PRINTING AND STATIONERY—continued.	\ 	·
922-25.	VOTE No. 26—continued.	£	£
	OTHER CHARGES FOR AND INCIDENTAL TO-continued		
	11 Monotype metal	250	
	Motor vehicles: Purchase and maintenance .	100	
	10 000	100	
ļ	Overtime and meal allowances		
		3,000	
	10 11 11 11 11 11	20	
		3,000	
		75,000	
İ		6,000	
,	Telephone services (including installation, extension	s.	
	7 7 11 5	75	
		400	
	00 557	125	
		150	
	Contingencies, including unforeseen expenditure in		
		50	
		109,564	
	TOTAL—VOTE No. 26		220,09
	TOTAL	£220,094	

#### MENTAL HOSPITALS DEPARTMENT.

							19	922–23.	
					Salari	es.	Othe	er Charges.	Total.
Vote No. 2	7.—N	Iental Hospitals	•••	• • •	205	348,		£ 100,210	£ 305,558
		TOTAL		•••	205	,348		100,210	305,558
Number of Persons.	Item.			They are selected from the second selected from the selected from	***************************************			1922	-23.
1922-23.	-	MEI	NTAL HOS	SPITAL	S.				
1022-20.		VOTE No. 27.						£	£
	1	*Salaries—							
	-	l Apmi	NISTRATIVE	Divisio	N.				
	İ			Dividio	, , , , , , , , , , , , , , , , , , ,			1 015	
1	!	Inspector-Genera	al	•••	•••		•••	1,047	
		Рво	FESSIONAL	Division	N.				
	1	2 Medical Super						1,912	
	ji	1 Medical Sup intendent, Wa	ikeria Prisc	n, £750	)	_		206	
	:	1 Medical Super £920 2 months	rintendent a	at £956	(10 mor	iths, a	and	950	
		1 Medical Supe	rintendent	at £956	(3 mon	ths, a	and		
		£920 9 months 1 Deputy Inspec	s) :tor-General	•••	•••		•••	929 8 <b>37</b>	
8		2 Medical Superi	intendents a	t £775			•••	1,550	
		Class A—	4 650	_		. 0	£		
		3 Medical Offic 1 Medical Offic		)	•••		175 $525$		
		1 Chief Engir		 0 (also		`			
5		Public Heal	th Departm	ent)	***	4	150	0.150	
		$\begin{array}{c c} Class \ B \\ 2 \ Medical \ Offic$	care at £550	1		1	100	3,150	
3		1 Medical Offic	cers at 2000				525		
		Class D.—						1,625	
	i	1 Medical Offic 1 Medical Offi		 ) (10 m	 onthe	ŧ	500		
		and £400 2				4	142		
3		1 Medical Offic		• • •	•••	į	380		
						,		1,322	
								13,528	
	1		LERICAL DI	vision.				-	
1		Class II— 1 at £525						525	
	i :	Class III—	•	•	- • •				
1	-	1 at £500		•••	•••			500	
4		Class IV 4 at £430						1,720	
•		Class VI—							
<b>2</b>		2 at £335	•		• • •			<b>67</b> 0	

<sup>\*</sup> For particulars of salaries see " Public Service Classification List."

#### MENTAL HOSPITALS DEPARTMENT—continued.

Number of Persons.	Item.	MENTAL HO	SPITALS—	continued.		1922	<b>-23.</b>
192 <b>2–2</b> 3.	1	VOTE No. 27—continued.	<b>!.</b>			£	£
		CLERICAL D	ivision—cont	inued.			
		Class VII—			£		
	İ	5 at £305	•••	•••	1,525	i	
0		2 at £295	•••	• • •	590		
8		1 at £275	• • •	• • •	275	9 200	
						2,390	
	!	(Junua	AL DIVISION.			5,805	
					400		
		1 Assistant Inspector		•••	430		
		6 Storekeepers at £24		•••	1,470	i	
		1 Office Assistant 1 Office Assistant	•••	• • •	191   180		
	:	1 Office Assistant	•••	•••	154		
		1 Shorthand-writer a	nd typist	•••	154		
12		1 Shorthand-writer as	nd typist	•••	136		
ئدا	i	I Shormand-wines a.	ra olbise	•••		2,715	
		Head Attendants—			.  -		
4		Class A— 4 at £415				1,660	
		Class B—			0 605		
O		7 at £375	•••	•••	$\begin{bmatrix}2,625\\365\end{bmatrix}$		
8		1 at £365	•••	•••	909	2,990	
						<u> </u>	
						4,650	
		Matrons—			-		
		Class A—			۵۰۰		
	1	3 at £305	•••	• • •	915		
4		1 at £295	•••	***	295		
0	-	Class B—				1,210	
2		2 at £265 $Class$ $C$ —	• • •		•••	530	
7		7 at £245				1,715	
•		, 40 3213	•••				
		Engineers-	•			3,455	
		1 at £450			450		
		1 at £430	•••	•••	430		
		1 at £395			395		
		2 at £325	•••	•••	650		
		4 at £315	•••		1,260	İ	
10		1 at £130	•••		130		
						3,315	
1		Estate Manager— 1 at £380			-	900	
1		Farm Managers—	•••	•••	•••	380	
4		4 at £330				1,320	
		Farm Overseers—	•			_,520	
		1 at £295	•••	•••	295		
3		2 at £260	•••	•••	520		
		Stockmen—				815	
		1 at £230	•••		230		
		1 at £220	•••		220		
3		_ 1 at £195	•••		195		
		Dairyman—				645	
1		1 at £220		•••	•••	220	
						3,380	A
		Engine-drivers—			<del>_</del>		
		1 at £255	•••	•••	255	:	<i>.</i>
	1	11 at £250		•••	2,750	İ	
13		1 at £242			242		
10						3,247	

### MENTAL HOSPITALS DEPARTMENT—continued.

Number f Persons.	Item.	MENTAL HO	SPITALS—c	ontinued.		1922–	<b>23</b> .
1922–23.	1	VOTE No. 27—continued.	d.			£	£
		GENERAL I	Division—cont	inued.			
		Electricians—			£		
0		1 at £270	•••	• • •	270		
2		1 at £262	• • •	•••	262	532	
	1	Fitter—				992	
1		1 at £270	•••		••• }	2 <b>7</b> 0	
0		Labourers—					
2		2 at £235 Attendants—	•••	•••	•••	470	
		8 at £290	•••		2,320		
		45 at £280		•••	12,600		
		3 at £275			825		
		3 at £265	•••	•••	795		
		38 at £260 6 at £255		• • •	9,880 1,530	1	
		56 at £250	• • •		14,000		
		6 at £245	• • • •	•••	1,470		
		69 at £240		•••	16,560		
		56 at £235		•••	13,160		
		5 at £230	• • •	•••	1,150		
		5 at £225 34 at £220	•••	•••	$1,125 \\ 7,480$		
		39 at £215	•••		8,385		
404		31 at £210	•••	•••	6,510		
		Carpenters—				97,790	
		1 at £282	•••	•••	282	·	
		1 at £272	• • •	•••	272		
		7 at £270 1 at £262	•••		1,890		
		1 at £250	•••	•••	262 250		
		3 at £238	•••		714		
16		2 at £115	•••		230		
		Works Overseers-				3,900	
0		2 at £300	•••	•••	600		
3		1 at £270 Bricklayers—	•••	• • •	270	870	
3		3 at £270				810	
•		Blacksmiths—	•••	•••		010	
<b>2</b>		2 at £270		•••		<b>54</b> 0	
		Painters—					
		5 at £262	•••	• • •	1,310	ĺ	
7		1 at £250 1 at £115	• • •	•••	$\begin{array}{c} 250 \\ 115 \end{array}$		
•		Bootmakers—	•••	•••	110	1,675	
		2 at £244	•••		488	1,0,0	
		1 at £235	• • •	•••	235		
4		1 at £234	•••	•••	234		
		Bakers—			590	957	
		2 at £265 1 at £260	•••		530 260		
		1 at £255	•••		255		
		1 at £234			234		
6		1 at £230	•••		230		
		Butchers—				1,509	
0		2 at £231	•••	•••	462		
3		1 at £200 Poultrymen—	•••	* • •	200	662	
		1 at £225			225	002	
2		1 at £195	•••		195		
_		Plumbers—	-			420	
		2 at £270	•••		540		
		3 at £262	•••	* * *	786		
7		1 at £250 1 at £246	•••		250		
- 1		1 26 2524U	•••	•••	246	1,822	

		MENTAL HOSPITAI	S DEI	PARTMEN'	I—continue	d.		
Number of Persons.	Item.	MENTAL HOSE	PITALS	—continued		1922–23.		
1922–23.		VOTE No. 27—continued.				£	£	
	1	Salaries—continued.					æ	
		GENERAL DIVI	sion	continued.				
		Gardeners—			£			
		2 at £245 1 at £235	• • •	•••	490 235			
		1 at £205		•••	205			
5		1 at £200			200			
1	İ	Fisherman—				$\begin{array}{c} 1,130 \\ 215 \end{array}$		
1		1 at £215 Farm Hands—	•••	• • • •	,	210		
		1 at £245			245			
		1 at £235			235			
		1 at £200 4 at £195	•••	• • •	200 780			
	İ	1 at £193	•••	•••	193			
		2 at £190	•••	***	380			
		1 at £156	• • •	• • •	156			
		4 at £154	• • •	•••	616			
19		3 at £146 1 at £80	•••	• • •	438 80			
1.0		Messenger—		•••		3,323		
1		1 at £120				120		
		Nurses—			490			
		2 at £215 25 at £205		•••	$\begin{array}{c} 430 \\ 5,125 \end{array}$			
		6 at £200	•••	•••	1,200			
		9 at £195		•••	1,755			
		3 at £170		•••	510			
		1 at £165 3 at £160	• • •	• • •	165 480	!		
		4 at £155		•••	620	İ		
		10 at £150			1,500			
	İ	17 at £145			2,465			
		4 at £140 44 at £135	•••	•••	560 5 040			
		200 at £130	•••	•••	5,940 $26,000$			
358		30 at £125		•••	3,750			
	1	Cooks				50,500		
		2 Males at £245	•••	•••	490			
		1 Male at £230 2 Males at £219		•••	230 438			
		1 Male at £182	•••	•••	182		•	
		1 Female at £195			195			
10		3 Females at £150		•••	450			
12		2 Females at £130 Laundresses—		•••	260	2,245		
	Ì	1 at £190			190	4,430		
		2 at £140			280			
8		5 at £135		• • • •	675	1 145		
1		Ward-maid— 1 at £95				$egin{array}{c c} 1,145 \ 95 \end{array}$		
1		Official Visitors—			•••	90		
		7 at £26		•••	182	1		
9		2 at £13	•••	•••	26	000		
984					No constituent the set of the	208		
	-			_		211,303		
			luction	from cos	st-of-living	F 0~~		
		increase or bonus	5	•••	•••	5,955		
		<b>)</b>			;	*205,348		
		OTHER CHARGES FOR AND			<i>i</i>			
	2	Advertising, photograp	hs, boo	ks, newspa	pers, and	0.50		
	3	other publications Audit fees (to cover liabi	ity incr	irred for pre-	··· /reav suoiv	350 16		
	4	Bacteriological research		DIO PIO	Jun y (mr)	50		

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## $A\,ppropriations\,\,for\,\,Consolidated\,\,Fund\,\,Services.$

#### MENTAL HOSPITALS DEPARTMENT—continued.

Number f Persons.	Item.	MENTAL HOSPITALS—continued.	1922	-23.
922–23.	 	VOTE No. 27—continued.		THE STATE OF
			£	£
	5	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	30,000	
	6	Bedding and clothing Buildings, including additions, improvements, repairs,	30,000	
		and replacements	6,400	
	7	Compensation and costs to widow of late Thos.	•	
		Wadsworth, attendant, Waitati	775	
	$\begin{vmatrix} 8 \\ 9 \end{vmatrix}$	Dental services	150	
	9	Developmental work in connection with bringing land into cultivation, purchase of implements, stock, &c.	3,000	
	10	Farms, maintenance of (part recoverable)	15,000	
	11	Fencing, draining, and roading	400	
	12	Freight, cartage, and transport charges	4,000	
	13	Fuel, light, power, and water	20,300	
	$\begin{array}{ c c }\hline 14\\15\\ \end{array}$	Funerals, expenses of Furniture and fittings	400 1,100	
	16	Gardens and shrubberies, expenses of	250	
	17	Grant to Seacliff Staff Club	10	
	18	Inquiries under Public Service and Mental	· 1	
	10	Defectives Acts	50	
	19 20	Law-costs	4 500	
	20	Laundry	$\frac{4,500}{2,200}$	
	22	Maintenance fees overpaid, refund of	100	
	23	Medical fees for certificates and consultations	1,900	
	24	Motor-vehicles, maintenance of	1,200	
	0.5	Nursing staff—	0*	
	$\begin{vmatrix} 25 \\ 26 \end{vmatrix}$	Engagement of	25	
	20	Uniforms, purchase of Patients, expenses connected with—	3,500	
	27	Gratuities	1,000	
	28	"Patients' Friends"	200	
	29	Recreation	7,000	
	$\begin{vmatrix} 30 \\ 31 \end{vmatrix}$	Transfer Payment of life-insurance premium re J. J. Fitzpatrick,	400	
	91	mental patient (7 months)	14	
	32	Postage, telegrams, and rent of boxes	700	
	33	Printing and stationery	900	
	34	Rations	67,000	
	35	Rents and rates	2,620	
	36	Stores	5,800	
	37	Surgery and dispensary— Drugs and instruments	1,600	
	38	Wine, spirits, ale, and porter	80	
	39	Telephone services (including installation, extensions,	1	
	40	maintenance, rent, and calls)	450	
	40	Travelling allowances and expenses	1,400	
	41	Treatment and maintenance in general hospitals— Patients	100	
	42	Staff	150	
	43	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	100	
			185,210	
			390,558	
		Less estimated credits under section 48 of the	300,000	
•		Public Revenues Act, 1910—		
		Fees for maintenance of patients 70,000		
		Sale of farm-produce, live-stock, &c. 10,000 Stores, board, &c. (repaid by staff) 3,000	1	
		Miscellaneous 2,000		
			85,000	
		TOTAL—VOTE No. 27		305,55
	!			

#### DEPARTMENT OF HEALTH.

						1	922–23.	
					Salari	es. Ot	her Charges.	Total.
ote No. 2	8.—]	Department of Hea	lth		83	£ ,647	£ 154,589	£ 238,236
		TOTAL	•••		83	,647	154,589	238,236
Number of Persons.	Item.		rati (2002) (2012) err <del>aktarita</del>				1922	2–23.
1000 00		DEPA	RTMENT	OF HEAD	LTH.			
1922–23.		VOTE No. 28.					£	£
								~
	1	*Salaries—						
		Λ	DMINISTRAT	rive Divisi	ON.			
1	1	1 at £1,047 (Γ	liractor-Ga	naral of Ha	alth)		1.047	
1		,			,	•••	1,047	
			ROFESSIONA	L Division		£		
		3 at £956 2 at £874		•••		2,868		
		3 at £837		• • • •	•••	1,748		
		1 at £791		• • •	•••	2,511		
	İ	4 at £775		• • •	• • • •	791 3, <b>10</b> 0		
14	ļ	1 at £750		•••	• • • •			
14		Class A—		•••	•••	<b>75</b> 0		
		8 at £725				5,800	11,768	
9		1 at £675		•••	•••	675		
9		Class B—		•••	•••	010		
		10 at £600				6.000	6,475	
10			00 darra)	•••	• • • •	6,000		
12		1 at £600 (2	az days)	•••	• • • •	37 575		
		1 at £575 Class C—		•••	•••	575		
		1 at £505				505	6,612	
7				•••	•••	505		
7		6 at £485 Class D—		•••	• • •	2,910		
		3 at £430				1 000	3,415	
		1 at £395		•••	•••	1,290 $395$		
		1 at £380		•••	•••	380		
6		1 at £355		• • •	• • • •	355		
O		Class E—		•••		500		
3		3 at £330					- 2,420 $990$	
ن		Class F		• • •	• • • •	•••	990	
		1 at £130				130		
4		3 at £95		• • •		285		
		9 41 200		•••			415	
			CLERICAL	Division.			110	
		Class I						
1		1 at £575					575	
•		Class III—				•••		
2	}	2 at £480					960	
		Class IV—				•••		
1		1 at £430		•			430	
*		Class V—				•••	130	
2		2 at £380		•••			760	
_		Class VI—				•••		
7		7 at £330		•••			2,310	Į

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

imber Persons	Item.	DEPARTMENT OF	HEALTE	Icontinu	red.	1922–28	
22-23.4	 	VOTE No. 28—continued.			-		
	1	Salaries—continued.				£	£
		Class VII—			£	ı	
		3 at £305	•••		915		
		2 at £295	•••	• • •	590	i	
		2 at £275		••	550		
		3 at £255 4 at £235	•••	•••	$765 \mid 940 \mid$		
		2 at £215	•••	• • • • • • • • • • • • • • • • • • • •	430		
		4 at £200			800		
		1 at £150	• • •	• • • •	150	İ	
		6 at £130 6 at £105	•••	•••	780 630		
36		3 at £90		•••	270		
						6,820	
		Cadets' lodging-allowand	es	•••		220	
			Division.				
		1 at £425	•••	•••	425		
		5 at £380 2 at £370	• • • •	***	1,900 740		
		10 at £330	•••	•••	3,300		*
		16 at £320	•••		5,120		
	Ì	3 at £310	••	•••	930		
		7 at £305 2 at £295		•••	2,135	j	
		24 at £285		•••	590 6,840		
		1 at £280			280		
		9 at £275		•••	2,475		
		6 at £265	•••	•••	1,590		
		1 at £262 6 at £255	•••		$egin{array}{c} 262 \ 1,530 \end{array}$	1	
		9 at £245	•••		2,205		
		1 at £240	•••	• • •	240		
		1 at £239	• • •		239		
		22 at £235 1 at £235 (2 months)		• • •	$\begin{bmatrix} 5,170 \\ 40 \end{bmatrix}$		
		1 at £235 (1 month)			20	. [	
		11 at £225`	•••	• • •	2,475		
		1 at £225 (1 month)	•••		19		
		2 at £223 1 at £221	•••	•••	$egin{array}{c c} 446 & \\ 221 & \\ \end{array}$		
		13 at £215			2,795		
		1 at £215 (1 month)	•••		18	.	
		2 at £210	• • •	•••	420		
		7 at £205 1 at £205 (2 months)	•••	• • •	1,435 35		
		1 at £200 (2 months)		• • •	34		
		1 at £195	•••	***	195		
		5 at £191		•••	955		
		1 at £185 3 at £174	•••	•••	$\begin{array}{c c} 185 \\ 522 \end{array}$		
		1 at £165			165		
		3 at £154	•••	•••	462		
		1 at £150	•••		150		
		6 at £142 9 at £130	•••	•••	$egin{array}{c c} 852 & \\ 1,170 & \\ \end{array}$		
		1 at £130 (1 month)	•••	• • •	1,170		
		1 at £120 `	•••	•••	120		
		1 at £105	• • •	•••	105		
		1 at £105 (2 months) 7 at £90	•••	• • •	18		
		7 at £90 31 at £80		•••	$ \begin{array}{c c} 630 \\ 2,480 \end{array} $		
		1 at £75		•••	75		
		1 at £75 (2 months)	•••	,	13		
257		15 at £75 (6 months)	•••	•••	563	E0 000	
		27 lodging-allowances at	0.10		1,080	52,600	

Number of Persons.	Item.				_	1922-	23.
1 <b>922–</b> 23.	-  	DEPARTMENT OF H	EALTH	—continue	1.		
		VOTE No. 28—continued.				£	£
	1	Salaries—continued.					
		Unclassi	FIED.				
		3 Inspectors of Health—			£		
		1 at £360 1 at £310	•••	•••	$\frac{360}{310}$		
		1 at £305		•••	305		
	:	2 Dout Hoolth Officers				975	
		3 Port Health Officers— 1 at £300			300		
		1 at £175			175		
		1 at £75	• • •	•••	75	550	
		1 Medical Officer at £175				175	
		4 Medical Officers at £150		•••		600	
		3 Medical Officers at £100 1 Analyst at £250	• • •	•••	•••	$\begin{vmatrix} 300 \\ 250 \end{vmatrix}$	
	1	1 Analyst at £250	•••	• • • • • • • • • • • • • • • • • • • •	***	185	
	İ	1 Pathologist at £200		•••		200	
		1 Pathologist at £100 1 Assistant Bacteriologist a	 t.£185	•••		100 185	
		42 Medical Officers (Native	2)—	***		100	
		4 at £100	·	•••	400	:	
		3 at £75 2 at £60	•••	***	$egin{array}{c} 225 \ 120 \ \end{array}$		
		19 at £50	•••		950		
		5 at £40	• • •	•••	200		
		1 at £35 1 at £30	•••	•••	$\frac{35}{30}$		
		6 at £25		•••	150		
61		1 at £20	•••	•••	20	0 120	
423						2,130	
						5,650	
		Less second deductio	n from	cost-of-liv	ing in-	104,847	
		crease or bonus	•••	•••	•••	2,200	
			-	G .: 40		102,647	
	! !	Less estimated credits Public Revenues Act			of the		
	! 	Contributions by loca	l bodie	s towards	£		
		salaries of sanitary i Contributions by Na	nspector	rs	14,425	-	
		towards salaries					
		Hygiene Division	•••		2,310		
		Contributions from Na ment for medical offi		st Depart-	420		
		Amounts deducted		alaries of	120		
		Institutional employ	ees for	board and	1 000		
	! I	lodging Recoveries on account			1,000		
	İ	of Wellington Bacte	riologic	al Labora-	745		
		tory Recoveries for service	s of sa	nitary in-	745		
		spectors for disinfect	tions, &c	3	50		
		Recoveries for district	nursing	services	50	10,000	
	1	The state of the s					
				••		*83,647	

<sup>\*</sup> Includes cost-of-living increases to scale salaries or wages.

## $A \ propriations \ for \ Consolidated \ Fund \ Services.$

Number of Persons.	Item.		1922-	23.
1000 00	<del> </del>	DEPARTMENT OF HEALTH—continued.		
1922–23.		VOTE No. 28—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO		
		General Administration—		
	2	Advertising, photographs, books, newspapers, and		
		other publications	250	
	3	Compensation to Mrs. Buckingham, patient, in respect of accident at St. Helen's Hospital, Wellington	30	
	4	Compensation to widow of the late Inspector J. Johnston	768	
	5	Contribution towards salaries of officers of other	425	
	6	departments for services rendered	75	
	7	Freight, cartage, and transport charges	175	
	8	Fuel, light, and water Grant in respect of midwifery (pupil nurses' fees	110	
	"	paid) paid	100	
	9	Law-costs	50	
	10	Maternity homes, refund of fees	45	
	11	Office-cleaning	200	
	12	Office fittings and requisites (including printing and		
		stationery)	3,000	
	13	Overtime and meal allowances	50	
	14	Postages and telegrams	2,950	
	15	Quackery Prevention Act	10	
	16	Rent	175	
	17	Telephone services (including installations, exten-		
	1	sions, maintenance, rent, and calls)	1,875	
	18	Temporary assistance (part recoverable)	*28,150	
	19	Travelling-expenses	9,300	
	20	Typewriters, purchase and repair of	125	
	21	Uniforms, allowance to nurses for	100	
	22	Contingencies	50	
	}		47,903	
	20	Health Act-		
	23	Board of Health: Expenses of Venereal Diseases	250	
	1 24	Committee	350	
	24	Board of Health, other expenses (including fee to	. 50	
	05	members)	50	
	25	Compensation payable under Health Act	50	
	$\frac{26}{27}$	Disinfectants, purchase of (part recoverable)	500	
	28	Infectious diseases	1,200	
	29	Inspection of vessels (part recoverable) International Congress on Infantile Mortality: Ex-	1,500	
	49		25	
		penses of delegate	20	
	30		0.000	
	30	running-expenses (nert recoverable)	3 000 1	
		running-expenses (part recoverable) Motor hire in connection with special inspection of	3,000	
	30	Motor hire in connection with special inspection of	3,000	
		Motor hire in connection with special inspection of	1	
	31	Motor hire in connection with special inspection of destructor, Wellington Notification of infectious diseases		
	31	Motor hire in connection with special inspection of destructor, Wellington Notification of infectious diseases	1 1,250 700	
	31 32 33 34	Motor hire in connection with special inspection of destructor, Wellington	1,250 700 2,500	
	31 32 33 34 35	Motor hire in connection with special inspection of destructor, Wellington	1,250 700 2,500 200	
	31 32 33 34	Motor hire in connection with special inspection of destructor, Wellington	1,250 700 2,500	
	31 32 33 34 35	Motor hire in connection with special inspection of destructor, Wellington  Notification of infectious diseases  Quarantine expenses  Sera, purchase of and expenses incidental thereto (recoverable)  Vaccination and registration fees  Other expenses	1,250 700 2,500 200	
	31 32 33 34 35 36	Motor hire in connection with special inspection of destructor, Wellington	1,250 700 2,500 200 25	
	31 32 33 34 35	Motor hire in connection with special inspection of destructor, Wellington Notification of infectious diseases	1,250 700 2,500 200 25 11,351	
	31 32 33 34 35 36	Motor hire in connection with special inspection of destructor, Wellington	1,250 700 2,500 200 25	
	31 32 33 34 35 36	Motor hire in connection with special inspection of destructor, Wellington Notification of infectious diseases	1,250 700 2,500 200 25 11,351	

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

## $A \ propriations \ for \ Consolidated \ Fund \ Services.$

Number Persons.	Item.	DEPARTMENT OF HEALTH—continued.	1922–	23.
922–23.		VOTE No. 28—continued.		
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	38	Medical Practitioners Act— Expenses	50	
		-		
	39	Midwives Act— Examination expenses, &c. (including examination and incidental expenses of district midwives)	125	
	40	Nurses Registration Act— Examination expenses, &c	250	
	41	Plumbers Registration Act— Examination expenses, &c	750	
	42	Social Hygiene Act— Treatment, &c. (including bacteriological charges, supplies of drugs, cost of treatment of indigent patients, &c.)	2,750	
	43 44 45	Sale of Food and Drugs Act— Analysts paid by fees Other expenses (including purchase of samples) Law-costs	250 350 125 725	
	46	Masseurs Registration Act— Examination expenses, &c	100	
	47	Bacteriological Laboratories— Laboratory expenses (part recoverable)	1,500	
	48 49 50	Child Welfare Administration— Printing of "Baby's First Month" Other expenses (including hire of halls, advertising, &c. Travelling expenses and allowances	500 200 300	
			1,000	
	51 52 53	School Hygiene Adminstration— Other expenses (including equipment) Travelling allowances and expenses Uniforms, allowances to nurses for	250 5,750 350	
		-	6,350	
	54 55	Dental Hygiene Administration— Dental clinics and travelling ambulances, expenses of Travelling allowances and expenses	3,500 6 <b>5</b> 0	
		-	4,150	
	56 57 58 59	Maori Hygiene Administration— Other expenses (including establishment of temporary camp hospitals, &c.) Sanitation of Maori Settlement expenses Supply of medicines Maintenance of nurses cottage, Kahukura	900 25 2,000 300	
		-	3,225	

		DEPARIMENT OF HEALTH—communea.		
Number of Persons.	Item.	DEPARTMENT OF HEALTH—continued.	1922	-23.
1922-23.	 <b>⋠</b>	VOTE No. 28continued.		
1022 20.		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	60	Grants-in-aid— Children's Creche, Gisborne (£1 for £1 subsidy up to	-	
	60	£150)	150	
	61	Coromandel Hospital Board (validating item)	300	
	62	Inangahua Hospital Board: Grant by way of subsidy		
	CO	on account of the Waiuta Medical Association Knox Home for Incurables	360	
	63 64	Maintenance of delirium tremens patients in general	500	
	0.1	hospitals pavients in general	100	
	65	Maternity Hospital at Hastings	3,000	
	66	Medical and nursing services in country districts	050	
	67	(including Medical Associations) Medical research work	$egin{array}{c} 250 \ 25 \end{array}$	
	68	Mercury Bay Hospital Trustees (validating item)	300	
	69	Mount Magdala Asylum	400	
	70	New Zealand Nurses' Memorial Fund	35	
	71	Otago University—	100	
	$\begin{array}{ c c }\hline 71\\72\\ \end{array}$	Analytical laboratory Bacteriological laboratory	100 1,000	
	73	Dental bursaries	1,350	
	74	Pathological laboratory	200	
	75	Palmerston North Hospital Board (validating item)	600	
	76	Relief of indigent persons Royal N.Z. Society for Health of Women and	100	
		Children	İ	
	77	Karitane-Harris Hospital, Dunedin	2,850	
	78		750	
	79		750	
	80 81	Subsidies towards salaries of Plunket nurses Secretary: Grant towards salary	$\begin{array}{c} 11,875 \\ 200 \end{array}$	
	82	Director: Grant towards salary	400	
	83	Incidental grants (railway passes, &c.)	400	
	84	St. Mary's Guild Home, Karori	200	
	85 86	St. John Ambulance Aggesistion	200 800	
	87	St. John Ambulance Association Salvation Army	1,450	
	88	Whangarei Hospital Board (validating item)	2,326	
		Tractitutions and an acertaal of Demontment	30,971	
		Institutions under control of Department— Wages—		ı
	89		<b>54</b> 8	
	90	St. Helens Hospital, Gisborne	273	
	91	St. Helens Hospital, Wanganui	239	
	92	St. Helens Hospital, Wellington St. Helens Hospital, Christchurch	$\begin{array}{c} 709 \\ 374 \end{array}$	
	94	St. Helens Hospital, Dunedin	343	
	95	St. Helens Hospital, Invercargill	470	
	96	King George V and Infectious Diseases Hospitals,	22 000	
	97	Rotorua Otaki Sanatorium and Hospital	$\frac{22,000}{9,438}$	
	98	Te Waikato Sanatorium	$\substack{2,438\\250}$	
	99	Hanmer Hospital	10,700	
	100	Pukeora Sanatorium	17,000	
	101	Trentham Hospital	20,000	
	102	Maintenance— St. Helens Hospital, Auckland	1,900	
	103	St. Helens Hospital, Gisborne	850	
	104	St. Helens Hospital, Wanganui	850	
	105	St. Helens Hospital, Wellington	2,000	
	106	St. Helens Hospital, Christchurch	1,700	
	107 108	St. Helens Hospital, Dunedin St. Helens Hospital, Invercargill	$\frac{1,500}{900}$	
	109	King George V and Infectious Diseases Hospitals,	<i>D</i> (7)	
		Rotorua	26,000	

#### DEPARTMENT OF HEALTH—continued.

Number of Persons.	Item.	DEPARTMENT OF E	EALTH-	-continu	ed.	1922-	23.
1922–23.	-  	VOTE No. 28—continued.			-		
	110 111	OTHER CHARGES FOR AND IN Institutions under control of Maintenance—continued. Otaki Hospital Otaki Sanatorium				£ 680 2,500	£
	112	Te Waikato Sanatorium		•••		500	
	113	Leper Hospital		•••	•••	1,450	
	114	Hanmer Hospital Pukeora Sanatorium	•••	•••	•••	$\frac{16,000}{20,000}$	
	$\frac{115}{116}$	Trentham Hospital	•••			15,000	
	117	Purchase of supplies for D		t's Instit		100	
					-	167,274	
		Less estimated cree Public Revenu General Adminis Office expense Temporary ass Travelling-exp	es Act, 193 tration— s sistance		£ 250 10,000 4,000	362,221	
					14,250		
		Health Act— Disinfectants,		o <b>f</b>	300		
	į	Infectious dise		•••	$\begin{array}{c c} 25 \\ 400 \end{array}$		
		Notification of		diseases	10	İ	
		Motor-cars, me			2,000	1	
		Sera, purchase	of	•••	2,600		
		Hospitals Act— Purchase of st ment	ores and	equip- 	5,335 4,500		
		Plumbers' Regist Other expense		; <del></del>	50		
		Sale of Food and	l Drugs Ad	et—	100		
		Law-costs Analysts paid	by fees	•••	$\frac{100}{50}$	į	
					150		
		Bacteriological I Laboratory ex Institutions: M Wages—	penses		900		
		King Ğeorge V pital, Rotor	ua	Hos-	31,000	: 	
		Otaki Sanatori		•••	2,500		
		Otaki Hospita Te Waikato Sa		•••	$\begin{array}{c} 800 \\ 250 \end{array}$		
		Pukeora Sanat		•••	25,250		
		Hanmer Hosp	ital	•••	17,000		
		Trentham Hos	spital.	•••	22,000		
					98,800	123,985	
					į.	238,236	
		TOTAL	_VOTE	No. 28			238,2

£238,236

TOTAL ....

## NAVAL DEFENCE.

				1922–23.	
VOTE NO. 29.—NAVAL DEFENCE				£ 25 <b>7 ,</b> 350	
		TOTAL		257,350	
Number of Persons.	Item.	NORTH N. CO. NATIAL DEPENDED		1922-	23.
1922–23.	1	VOTE No. 29.—NAVAL DEFENCE.  Salaries—	ŀ	£	£
8		Full Pay, Wages, Allowances, Extra Pa Administrative staff (excluding Naval Secre Less second deduction from cost-of-li crease or bonus	etary)	3,560	
(*) 517 (†) 60		(*) Officers and ships' companies, H.M. "Chatham" and "Philomel," and	Ships	3,530	
585	-	entries under training		112,500	
		Charges for and incidental to—			
	2	Administration— Expenses in connection with payment of all	lotments	250	
		Victualling, Clothing, Implements, an Traps—	D MESS		
	3	Clothing Accounts— Clothing purchases, for issue as free kits entries and on repayment (less re	to new		
	$egin{array}{ c c c c c c c c c c c c c c c c c c c$	issues), (part recoverable)  Kit-upkeep allowance, and clothing gratuit  Rebate to officers on account of duty		2,808 7,250	
	6	uniforms Implement and Mess Trap Accounts— Purchase of mess traps, implements,	&c., for	50	
	7	supply and replacement  Victualling Accounts—  Victualling of personnel: Purchase of position and payment of victualling and messing		660	
	8	ances to officers and men (less repaymen Leave allowance and compensation in	t issues)	19,155	
		provisions	•••	2,150	
	9 10 11	Medical Services— Stores, provisions, sick-bay washing, &c. Dental treatment ashore Medical examination of recruits for s	 eagoing	110 400	
	$\begin{vmatrix} 11 \\ 12 \end{vmatrix}$	forces  Medical treatment ashore		150 350	

#### NAVAL DEFENCE—continued.

Number of Persons.	Item.	VOTE No. 29.— NAVAL DEFENCE -continued.	1922-	23.
1922-23.	-	Charges for and incidental to—continued.	£	£
		Repairs, Alterations, Docking, &c	•	J.
	13	H.M.S. "Chatham"	1,830	
	14	H.M.S. "Philomel"	400	
	15	Supply of steam sterilizer for "Philomel"	150	
		COAL AND OIL FUEL (including freight)— H.M.S. "Chatham"		
	16	H.M.S. "Chatham"	32,750	
	$\begin{vmatrix} 17 \\ 18 \end{vmatrix}$	H.M.S. "Philomel"	2,000	
	10	Coal stocked at Auckland and Suva, including freight involved in maintaining stocks, custody		
		of stocks, and supply of coaling-gear (part		
		recoverable)	9,500	
		,		
	10	Stores—		
	19	Naval, engineers, shipwrights, ordnance, torpedo and electrical	18,322	
		and discordar	10,022	
		Works-		
	20	Building of gun-mounting shed	1,500	
	21	Completion of Army hut used as emergency sick-	100	
	22	quarters Maintenance of dockyard plant and buildings	190 188	
		manushance of dockyard plant and buildings	100	
	23	Reserves— £		
		Pay and allowances whilst under training 1,222		
		Medical examination recruits 105		
		Travelling-expensès 500		
		Retaining fees 383 Out-of-pocket expenses (emergency list		
		officers) 290		
			2,500	
		Miscellaneous Effective Services—		
	24	Advertising, books, newspapers, and other publica-	150	
	25	tions Allowances in lieu of quarters (lodging-allowance)	$egin{array}{c c} 150 & \\ 365 & \\ \end{array}$	
	26	Bonuses to recruiters, &c	10	
	27	Cleaning Navy Office	45	
	28	Compensation for injuries and accidental death on duty	35	•
	29	Compensation for injuries: Recruit E. S. Cargill,		
	30	stoker, 2nd class Freight, insurance, landing, and transport charges	57	
	31	(excluding freight, &c., on coal) Fuel and light, Navy Office and emergency sick-	3,000	
	01	quarters	40	
	32	Gunnery and torpedo efficiency funds, good-shoot-	59	
	33	ing prizes Interments	20	
	34	Office fittings and requisites, including printing and		
	95	stationery	450	
	35 36	Passages, travelling allowances and expenses Postage, cablegrams, telegrams, and rent of boxes	$\begin{bmatrix} 2,500 \\ 425 \end{bmatrix}$	
	37	Rent of Navy office, storerooms, magazine (over-	120	
	01		1	
		head charges), &c. (part recoverable)	580	
	38	Telephone services (including installation, exten-		
		head charges), &c. (part recoverable) Telephone services (including installation, extensions, maintenance, rent, and calls) Training-service Fund	100 100	

## $A \ ppropriations \ for \ Consolidated \ Fund \ Services.$

#### NAVAL DEFENCE—continued.

Number of Persons.	Item.		1922-	-23.
 1922–23.	<b>_</b>	VOTE No. 29.—NAVAL DEFENCE—continued.	· · · · · · · · · · · · · · · · · · ·	
L922—20.		Charges for and incidental to—continued.	£	£
		Non-effective Services-		
	$\begin{array}{c} 41 \\ 42 \end{array}$	Deferred pay to officers and men	$14,145 \\ 90$	
	43	National Health Insurance to Admiralty  Pension contributions to Admiralty	6,230	,
	44	OUTSTANDING CLAIMS RECEIVED FROM ADMIRALTY		
		NOT YET BROUGHT TO ACCOUNT—		
		British Postal Orders sold 245		
		Clothing stores supplied 3,900 Coal and oil supplied to "Chatham" on voyage out (less credit for coal		
	į	used on trials) 3,857		
	-	Freight on stores 10		
		Implements, mess traps, &c., supplied 490 Panama Canal tolls and Consul's com-		
		missions 895 Repairs to H.M.S. "Philomel," Sep-		
		tember, 1916 37		
		Remittances of ships' companies' pay, paid in England 3, 150		
		Stores supplied (naval, engineers, ship-		
		wrights, ordnance, torpedo, and		
		electrical) 7,922		
		Victualling stores supplied 575	21,081	
	45	Contingencies, including unforeseen expenditure	21,001	
٠.		incidental to other items of vote	250	
		•	268,430	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910—		
		Admiralty, on account of pay, cloth-	]	
		ing, victualling, and rent 2,980		
		Goal 8,000		
		Miscellaneous 100	11 000	
			11,080	
		TOTAL—VOTE No. 29		257,35

TOTAL .. .. £257,350

#### DEFENCE DEPARTMENT.

	1922–23.
Vote No. 30.—DEFENCE DEPARTMENT—	£
Subdivision No. I.—General Headquarters	15,022
,, II.—Northern Command	42,231
,, III.—Central Command	38,154
IV.—Southern Command	36,803
,, V.—Administrative Departments	27,667
,, VI.—Maintenance Account	116,061
,, VII.—School of Instruction and Military	
Education of Officers undergoing	
$Instruction \ abroad$	5,460
,, $VIII.$ —Miscellaneous Charges	1,623
,, $IXAviation$	13,000
,, $X$ .— $N$ on-effective Services	12,419
,, $XIDominion$ Rifle Association and Rifle	
Clubs	20,190
TOTAL	328,630

Number f Persons.	Item.			1922–23.			
922–23.		VOTE No. 30.—DEFEI	NCE DE	PARTME	NT.	£	
		Subdivision No. 16	Feneral E	Icadquarte	rs.	<b>35</b>	ಪ
		Salaries—		1			
		GENERAL HEADQUARTERS S	STAFF-				
	1	Military Personnel-					
1		1 Major-General				1,092	
1		1 Brigadier-General, in	Charge A	Administra	tion	920	
3		3 LieutColonels at £6	90		•••	2,070	
2		2 Majors at £550	•••			1,100	
2	1 1	2 Captains at £425				850	
1		1 Lieutenant at £325	•••	•••		325	
	2	R.N.Z.A. attached to Ger	neral Hea	dquarters			
1		1 LieutColonel				740	
1		1 Captain	•••	•••		425	
12							
Parties and Article \$100 Account	3	Civilian Personnel-					
		* CLERICAL	Division	٦.			
		Class V			£ 140		
4		3 at £380 1 at £345	• • •	•••	$\begin{bmatrix} 1,140 \\ 345 \end{bmatrix}$		
4.		፲ ልዩ መፀደብ	•••	•••		1,485	
		Class VI—				1,100	
3		3 at £330	•••			990	

<sup>\*</sup> For particulars of salaries of Civilian Personnel see "Public Service Classification List."

Number Persons.	Item.	NOTE N OO DEED	MOD DED AD	(133), (f. 23.), 3, 7, 619	. 7	1922-	23.
$\frac{}{922-23.}$	·——)	VOTE No. 30.—DEFE					
		Subdivision No. 1.—Ge	neral Headqua	rters—co	ntinued.	£	£
		Salaries—continued.	·				
		GENERAL HEADQUARTE		tinued.			
	3	Civilian Personnel—co	ntinued.				
			ivision—contin	ued.	_		
		Class VII— 1 at £305			£ 305		
	i	2 at £275	•••	•••	550		
		1 at £235	office of Minister	n of Dofor	235		
		1 at £235 (clerk in a 1 at £114	onice of Ministe	r or Defer	nce) 235   114		
- 4	.	4 at £105	•••	•••	420		
14		4 at £90	•••		360 80		
		Lodging-allowance	•••	•••		2,299	
			RAL DIVISION.		055		
		1 at £255 1 at £215		•••	$egin{array}{c c} 255 \ 215 \end{array}$		
		6 at £191	•••		1,146		
		5 at £174	•••	•••	870		
		2 at £154 1 at £142	•••		$\begin{array}{c} 308 \\ 142 \end{array}$		
17		1 at £75	•••	•••	75	0.011	
38			•			3,011	
						*15,307	
	·	Less second de crease or bonu		cost-of-li	ving in-	285	
			-Subdivision N	o 7			15,02
		10000		<i>o</i> , <u>1</u>			,
		0 17 L	T 37 11	~ -			
:		Subdivision No. 1	1.—Northern (	Command	•		
		Salaries—					
		COMMAND HEADQUARTE	ers Staff-				
	4	Military Personnel-	•		£		
$\frac{1}{1}$		1 Colonel-Commands 1 LieutColonel, Chi			775		
1		1 Major, Artillery St			690 600		
1		1 Staff Major		•••	600		
1		1 Staff Captain	•••		425	3,090	
5	5	Civilian Personnel—				0,000	
		CLERI	CAL DIVISION.				
4		Class VI— 1 at £330				220	
1		Class VII—	•••	•••	£	330	
		1 at £305	•••	•••	305		
9		$1 \ { m at} \ \pounds 255 \ 1 \ { m at} \ \pounds 125$	•••		$\begin{array}{c} 255 \\ 125 \end{array}$		
3		1 800 20120	•••	•••	120	685	
			RAL DIVISION.				
		1 at £174 1 at £154	•••	•••	$\begin{array}{c c} 174 \\ 154 \end{array}$		
3		1 at £115	•••	•••	115		
	İ					443	
7							

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 30.—DEFENCE DEPARTMENT—contd.	1922-	23.
922–23.	 	Subdivision No. II.—Northern Command—continued.		
		Salaries—continued.	£	£
		REGIMENTAL AND AREA ADMINISTRATIVE AND INSTRUCTIONAL STAFF—		
	6	Military Personnel—		
4		Staff Officers in Charge Regimental Districts— 4 Majors: 3 at £600, 1 at £550 Area Officers—	2,350	
10		5 Captains at £425	2,125	
13	7	8 Lieutenants: 4 at £365, 2 at £330, 2 at £325  Warrant and N.C.O.s: Permanent Staff— £  18 Warrant Officers, Class I, at £355 6,390 6 Warrant Officers, Class II, at £330 1,980 6 Staff Sergtmajors, at £305 1,830	2,770	
36		6 Staff Sergeants at £285 1,710	11,910	
53	8	Civilian Personnel—	11,510	
,				
		CLERICAL DIVISION.		
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
9			905	
		GENERAL DIVISION. 1 at £250 250		
		1 at £235 235		
4		1 at £225 225 1 at £185 185		
7		PERMANENT FORCES—	895	
	9	Military Personnel—		
		R.N.Z.A.—	•	
		1 Major	600	
•		2 Captains at £425 3 Regimental Sergeants-major: 2 at 19s. 7d, 1 at at 18s. 11d. per diem	850   1,060	
		1 Sergeant-major Artificer, at 19s. 7d. per diem	358	
		2 Quartermasters-sergeant Artificers at 19s. 1d. per diem 2 Company Sergeants-major: 1 at 18s. 7d., 1 at	697	
	,	18s. 3d. per diem 1 Quartermaster-sergeant at 18s. 1d. per diem 2 Staff Sergeants: 1 at 17s. 9d., 1 at 17s. 8d. per	672 330	
		diem	646	
İ		1 Sergeant Artificer at 17s. 4d. per diem 1 Sergeant Fitter at 16s. 3d	$egin{array}{c} 317 \ 297 \end{array}  $	
		1 Sergeant Coxswain at 17s. 2d 3 Sergeants: 1 at 17s. 11d., 1 at 17s., 1 at 16s. 9d.	314	
ĺ		per diem	932	
	1	7 Corporals: 1 at 16s. 9d., 4 at 16s. 7d., 1 at 16s. 5d., 1 at 15s. 11d. per diem	2,107	
		1 Corporal at 15s. 8d. per diem 4 Bombardiers: 2 at 16s. 5d., 1 at 16s. 3d., 1 at	286	
		15s. 4d. per diem 6 Gunners: 2 at 15s. 6d., 1 at 15s. 4d., 1 at 14s.	1,176	
41		6d., 2 at 14s. 5d. per diem 3 Drivers: 1 at 15s. 8d., 1 at 14s. 1d., 1 at 12s 5d.	1,637	
		per diem	769	
	10	ARMY PAY CORPS-		
		1 Captain 1 Staff Quartermaster-sergeant at 17s. 10d. per diem	$egin{array}{c c} 465 & \\ 326 & \\ \end{array}$	
3		1 Sergeant at 16s. 4d. per diem	298	

Number of Persons.	Item.	VODE No 20 DEFENCE DEDARAMENT	1922-	-23.
1000 00		VOTE No. 30.—DEFENCE DEPARTMENT—contd.		
1922–23.		Subdivision No. II.—Northern Command—continued.	£	£
		Salaries—continued.		
		PERMANENT FORCES—continued.		
		Military Personnel—continued.		
11	11	ARMY ORDNANCE CORPS—  3 Captains: 2 at £425, 1 at £395  1 Warrant Officer, Class I, at 19s. 3d. per diem  1 Acting Quartermaster-sergeant at 17s. 8d. per dien  1 Acting Sergeant-artificer at 16s. 5d. per diem  1 Corporal at 15s. 5d. per diem  1 Artificer at 16s. per diem  3 Privates: 1 at 16s., 2 at 12s. 1d. per diem	352 323 300 282 292 734	·
		Less second deduction from cost-of-living in-	*43,168	
		crease or bonus	937	
		Total-SubdivisionNoII		42,231
		Subdivision No. III.—Central Command.		
		Salaries—		
		Command Headquarters Staff—		. •
	12	Military Personnel—		
		1 Colonel-Commandant, O.C. Command 1 LieutColonel, Chief Staff Officer 1 Staff Major 1 Staff Captain	775 690 550 425	
5		1 Major Musketry Instructor	550	
	13	Civilian Personnel—		
		CLERICAL DIVISION.		
1		$Class \ VI$ — $1  ext{ at } \pounds 330$	330	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	•	
3		2 at £215 430  GENERAL DIVISION.		
0		1 at £305 305		
2		1 at £191 191	496	
		REGIMENTAL AND AREA ADMINISTRATIVE AND INSTRUCTIONAL STAFF—		
	14	Military Personnel-		
		Staff Officers in Charge Regimental Districts—  1 Major at £550	550	
		3 Captains at £465	1,395 425	
		Area Officers—		
17		2 Captains at £425 10 Lieutenants: 5 at £365, 4 at £325, 1 at £300	$\begin{bmatrix} 850 \\ 3,425 \end{bmatrix}$	
;	15	Warrant and N.C.O. Instructors, Permanent Staff— 15 Warrant Officers, Class I, at £355	5,325	
	}	4 Warrant Officers, Class II, at £330	1,320	
35		8 Staff Sergeant-instructors at £305 8 Staff Sergeants: 1 at £300, 6 at £285, 1 at £255	$\begin{bmatrix} 2,440 \\ 2,265 \end{bmatrix}$	

 $<sup>\</sup>boldsymbol{\ast}$  Includes cost-of-living increase to seale salaries or wages.

material constraints of an experience of		DEFENCE DEPARTMENT—continued.		
Number of Persons.	Item.	VOTE No. 30.—DEFENCE DEPARTMENT—contd.	1922-	23.
922 <b>-</b> 23.	 	Subdivision No. III.—Central Command—continued.		
		Salaries—continued.	£	£
		REGIMENTAL AND AREA ADMINISTRATIVE AND INSTRUCTIONAL STAFF—continued.		
	16	Civilian Personnel—		
		CLERICAL DIVISION.		
4		Class VII— 4 at £305	1,220	
			,	
1		General Division.  1 at £255	255	
		Permanent Forces—		
	1.7	Military Personnel—		
	17	R.N.Z.A.—		
		1 Captain	425	
		1 Lieutenant	365	
		1 Hon. Lieutenant, W.O.I	365	
		1 Master-gunner at 19s. 7d. per diem 1 Sergeant-major Artificer at 19s. 7d. per diem	358 358	
		1 Regimental Sergeant-major at 19s. 7d. per diem	358	
		1 Battery Sergeant-major at 16s. 1d. per diem	294	
		1 Sergeant-major at 18s. 3d. per diem 2 Staff Sergeants: 1 at 17s. 9d., 1 at 17s. 5d. per diem	$\begin{vmatrix} 333 \\ 642 \end{vmatrix}$	
		1 Quartermaster-sergeant at 18s. 1d. per diem	330	
		5 Sergeants: 1 at 17s. 3d., 1 at 17s., 1 at 16s. 9d.,	1 500	
		2 at 16s. 5d. per diem 1 Sergeant Artificer at 16s. 4d. per diem	$egin{array}{c c} 1,530 & \\ 298 & \end{array}$	
		7 Corporals: 1 at 16s. 4d., 3 at 15s. 11d., 1 at 15s.	1 070	
		10d., 1 at 14s. 3d., 1 at 14s. 2d. per diem 5 Bombardiers: 1 at 15s. 6d., 1 at 15s. 5d., 1 at	1,978	
		15s. 4d., 1 at 15s. 2d., 1 at 13s. 4d	1,365	
		6 Gunners: 1 at 15s. 7d., 1 at 15s. 3d., 1 at 14s. 8d., 3 at 12s. 5d. per diem	1,511	
		7 Drivers: 3 at 14s. 8d., 1 at 12s. 6d., 2 at 12s. 5d.,		
		1 at 12s. per diem	1,704	
		1 Sergeant-major Coxswain at 19s. 6d. per diem	356	•
49		1 Staff-sergeant at 18s. per diem	329	
49		4 Gunners: 1 at 15s. 7d., 2 at 14s. 8d., 1 at 14s. 6d. per diem	1,085	
	10	-	,	
	18	Army Pay Corps— 1 Captain	465	
		1 Staff Quartermaster-sergeant at 17s. 7d. per diem	321	
3		1 Corporal at 14s. 2d. per diem	258	
			*39,049	
		Less second deduction from cost-of-living increase	905	
		or bonus	895	
		Total-Subdivision No. III		38,15
		Subdivision No. IV.—Southern Command.		
	19	Salaries—		
		Command Headquarters Staff—		
		Military Personnel— 1 Colonel-Commandant, O.C. Command	775	
		1 LieutColonel, Chief Staff Officer	690	
		1 Staff Major	550	
6		1 Staff Captain 2 Lieutenants: 1 at £365, 1 at £300 per diem	$\begin{array}{c c}425\\665\end{array}$	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 30.—DEFENCE DEPARTMENT—contd.	1922-	-2 <b>3.</b>
1922–23.		Subdivision No. IV.—Southern Command—continued.	£	£
		Salaries—continued.		<b>20</b>
		COMMAND HEADQUARTERS STAFF—continued.		
	20	Civilian Personnel—		
		CLERICAL DIVISION.		
1	-	$Class\ VI$ — 1 at £330	330	
	-	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1	
		1 at £215 218	5	
3		1 at £200 200	720	
		General Division. 1 at £154 159	<u> </u>	
2	*	1  at £105 $108$	5	
		REGIMENTAL AND AREA ADMINISTRATIVE AND INSTRUCTIONAL STAFF—	259	
	21	Military Personnel—		
		Staff Officers in Charge Regimental Districts— 3 Majors at £550	1 650	
		1 Captain O.C.F.A. Cadre	. 465	
5		1 Captain at £425	425	
10		5 Captains: 1 at £465, 3 at £425, 1 at £395 8 Lieutenants: 4 at £365, 2 at £325, 2 at £300		
13	22	Warrant and N.C.O. Instructors, Permanent Staff—	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
32		22 Warrant Officers, Class I, at £355 10 Staff Sergeants-major: 8 at £305, 2 at £280	7,810	
	23	Civilian Personnel—		
		CLERICAL DIVISION.		
2		Class VII— 2 at £305	610	
2				
		General Division. £ 1 at £280 280		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
5		1 at £195 196	5	
		PERMANENT FORCES—	1,160	
	24	R.N.Z.A—  3 Warrant Officers, Class I,: 2 at 19s. 7d., 1 a 19s. 3d. per diem 1 Battery Sergeant-major at 17s. 5d. per diem 1 Staff Sergeant at 17s. 5d. per diem 6 Sergeants: 1 at 17s. 7d., 1 at 17s. 6d., 1 at 17s.	. 1,065 . 318 . 318	
		2d., 1 at 17s., 1 at 16s. 9d., 1 at 16s. 4d. pe diem 10 Corporals: 2 at 16s. 6d., 1 at 16s. 5d., 1 at 16s 2d, 1 at 16s., 3 at 15s. 11d., 1 at 15s. 10d., 1 a	1,867	
		15s. 2d. per diem 5 Bombardiers; 1 at 15s. 11d., 3 at 15s. 5d., 1 a	. 2,928	
		13s. 11d. per diem 2 Gunners: 1 at 14s. 2d., 1 at 12s. 5d. per diem	. 1,388 . 486	
33	25	5 Drivers: 1 at 14s. 8d., 1 at 14s. 2d., 1 at 12s. 5d. 1 at 12s., 1 at 11s. 10d. per diem ARMY PAY CORPS—	. 1,188	
		1 Captain 1 Warrant Officer, Class I, at 19s. 5d. per diem		
3		1 Staff Quartermaster-sergeant. at 17s. 9d. per dien		

DEFENCE	DEPARTMENT	anntimued
OBBRIDGE	TO PARTIVER IN 13	CONUNINUED.

Number of Persons.	Item.	VOTE No. 30.—DEFENCE DEPARTMENT—contd.	1922-	23.
1922–23.	·	Subdivision No. IV.—Southern Command—continued.	£	£
	26	ARMY ORDNANCE CORPS—  1 Captain 1 Sergeant-major at 19s. 5d. per diem	465 354	æ
		1 Armourer Quartermaster-sergeant at 18s. 11d	345	
8		diem 1 Armourer Sergeant at 16s. 3d. per diem 2 Privates: 1 at 15s. 5d., 1 at 12s. 1d. per diem	604 297 502	
		Less second deduction from cost-of-living increase or bonus	*37,647	;
		Total—Subdivision No. IV		36,80
		Subdivision No. V.—Administrative Departments.		
		SALARIES—		
		Administrative Departments—		
	27	Military Personnel—		
		Army Pay Corps—		
	,	1 LieutColonel	690 405	
		18s. 7d., 1 at 17s. 1d. per diem	996	
7		1 Staff Quartermaster-sergeant at 16s. 6d. per diem 1 Staff Sergeant at 16s. 9d. per diem	301 306	
	28	ARMY ORDNANCE CORPS— 1 LieutColonel	<b>-10</b>	
		2 Captains at £465	740 930	
		1 Lieutenant	365	
		1 Sergeant-major Artificer at 19s. 7d. per diem 1 Conductor at 18s. 7d. per diem	358	
		1 Armourer Sergeant-major at 18s. 2d. per diem 1 Armourer Staff Quartermaster-sergeant at 18s. 9d.	340 332	
		per diem 1 Regimental Quartermaster-sergeant at 18s. 11d. per diem	343 346	
	!	2 Staff Quartermaster-sergeants: 1 at 16s. 7d., 1 at 16s. 5d. per diem	603	
		1 Quartermaster-sergeant Artificer at 19s. 2d. per diem		
		1 Armourer Staff Sergeant at 17s. 7d. per diem 3 Armament Staff Sergeants: 1 at 18s., 1 at	347 321	
		17s. 8d. 1 at 16s. 5d. per diem 5 Staff Sergeants: 2 at 16s. 11d., 2 at 16s. 6d., 1 at 15s. 9d. per diem	952	
		4 Armourer-sergeants: 2 at 16s. 4d., 1 at 15s. 9d., 1 at 15s. per diem	1,510 1,158	
		1 Saddler-sergeant at 16s 4d. per diem 6 Sergeants: 1 at 17s. 7d., 1 at 16s. 4d, 1 at	298	
		15s. 4d., 2 at 15s. 2d., 1 at 13s. 7d. per diem 7 Corporals 1 at 16s. 9d., 1 at 16s. 3d., 1 at 15s. 11d., 1 at 15s. 8d., 1 at 15s. 4d., 1 at	1,701	
		14s. 9d., 1 at 12s. 10d. per diem 1 Bombardier at 13s. 9d. per diem 12 Lance-corporals: 1 at 15s., 1 at 14s. 7d., 1 at 14s. 3d., 1 at 14s. 1d., 3 at 14s., 2 at 13s. 11d.,	1,965 251	
		1 at 12s. 4d., 1 at 12s. 3d., 1 at 12s. 2d. per diem	3,005	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### DEFENCE DEPARTMENT—continued.

	1			···········
Number of Persons.	Item.		1922–	23.
1922-23.		VOTE No. 30.—DEFENCE DEPARTMENT—contd.		
		Subdivision No. V.—Administrative Departments— continued.	£	£
		Salaries—continued.		
		Administrative Departments—continued.		
		Military Personnel—continued.		
	28	ARMY ORDNANCE CORPS—continued.  3 Artificiers a at 14s. 3d., 1 at 14s. 1d., 1 at 14s. per diem	773	
71		1 Gunner at 14s. 8d. per diem 15 Privates: 2 at 15s. 5d., 1 at 15s. 4d., 2 at 12s. 9d., 8 at 12s 8d., 1 at 12s. 7d., 1 at 11s.	268	
•	29	per diem R.N.Z.A. attached Headquarters—	3,607	
2		1 2nd-class Master-Gunner at 19s. 7d. per diem 1 Sergeant at 17s. per diem	358   310	
1 1		1 Honorary Captain in charge of Examination Records 1 Warrant Officer, Class I, in charge of Permanent	465	
_	30	Force Records at 19s. 7d. per diem N.Z. Military Supplies Purchase Office—	358	
	31	Salaries and office expenses Pay of Director-General of Medical Services and Assistant Directors of Medical Services from 21st	200	
	32	June, 1922 Salaries of Messengers and Charwomen	428 3,000	
			*28,330	
		Less second deduction from cost-of-living increase or bonus	663	
		Total—Subdivision No. V		27,667
		Subdivision No. VI.—Maintenance Account.		
	33	OTHER CHARGES FOR AND INCIDENTAL TO— Allowance for upkeep of Government bicycles	60	
	34	Ammunition— S.A.A., £62,000 (includes £4,000 short delivery for 1921–22) less £17,600 under Vote Rifle Clubs		
	35	and £2,000 under Vote Aviation Field and heavy guns ammunition and other ex-	42,000	
	36	plosives	5,000	
	37	other publications	1,350	
		Account) Clothing—	3,500	
	38	Cost of new issues to Permanent Forces, Territorial Forces, and Cadets	2,500	
	39	Provision of material for making up uniforms for next year	5,000	
	40 41	Laundering and renovating part worn uniforms	8,000	
	42	Compensation in respect to accidents and sickness  Disinfectants, scavenging, cleaning, and washing	750 200	
	43	Drill-halls— Maintenance, including building material and	1,500	
	44	stores Pay of caretakers	1,000	
	45	Rent and insurance	500	
	46	Hire of buildings for drills, also parade-grounds	2,000	

\* Includes cost-of-living increase to scale salaries or wages.

f Persons.	Item.		1922-	-23.
*	[	VOTE No. 30.—DEFENCE DEPARTMENT—contd.		
1922-23.				
		Subdivision No. VI.—Maintenance Account—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	,	
	47	Efficiency fees and badges	50	
	48	Forage and straw for bedding	200	
	49	Fuel	1,000	
	50	Horse hire	50	
	51	Horses, permanent, maintenance of	500	
	50	Launches—		
	52	Maintenance of "Lady Roberts," including cost of	200	
	53	fuel, stores, and other charges (exlusive of wages)	200	
	99	Maintenance of "Janie Seddon," including cost of	200	
	54	fuel, stores, and other charges (exlusive of wages) Hire of launches	300	
	55	T !! ;	$\begin{bmatrix} 250 \\ 150 \end{bmatrix}$	
	56		· ·	
	57	Lighting	3,000	
•	58		500	
	59	Medical fees for examination of officers and trainees	650	
	60	Medicine, medical stores, and attendance Medals, purchase and engraving of	200	
	61		300	
	01	Offices and buildings (other than drill-halls), mainten-		
		ance (including building material and stores),	0 500	
	62	cleaning of offices, and rent of	2,500	
	02	Ordnance Stores: Accourrements, small-arms, ma-		
		chine-guns, camp equipment, harness and saddlery,	1	
		tools, materials, signalling and electric-light stores,	!	
		barrack and hospital stores, Field and Garrison	11 500	
	63	Artillery material, armaments, vehicles, &c	$\frac{11,500}{1,000}$	
	64	Pay and allowances	1,000	
		Postages	2,000	
	65	Telegraph charges	1,000	
	66 67	Printing and stationery	4,665	
	67	Prizes for rifle shooting for Area, Command, and	0.000	
	20	Dominion Rifle Meetings	2,000	
	68 69	Rations and allowance in lieu	1,000	
	-	Regimental Funds grant	3,500	
	70	Rifle ranges and targets: Maintenance of and	0.000	
	71	construction of miniature ranges	2,000	
	$\frac{71}{72}$	Rifle ranges, pay of caretakers	1,866	
	73	Telephone services	1,200	
	74	Tram, coach, and ferry fares	1,280	
	14	Transfer and removal expenses	640	
	75	Transport—	1 000	
	76	Motor vehicles, hire of	1,000	
	77	Rail fares and freights	11,000	
	78	Shipping charges, freights, cartage, &c	2,500	
	78	Steamer fares	$\frac{1,500}{6,750}$	
	80	Travelling-allowances	6,750	
	81	Veterinary medicines and veterinary stores	100	
	91	Water	350	
			140,061	
		Less estimated credits—		
		Ammunition 11,000	•	
	1	Clothing 8,000	*	
		Ordnance stores 4,000		
		Hire Defence vessels 1,000		
			94 000	
			24,000	

Number of Persons.	Item.		1922-	·2 <b>3.</b>
1922 -23.	<b>4</b>	VOTE No. 30.—DEFENCE DEPARTMENT—contd.		
1922-25.		Subdivision No. VII.—School of Instruction and Military Education of Officers undergoing Instruction abroad.	£	£
		Education of Officers and Cadets abroad—		
	82	6 Lieutenants, undergoing instruction in India, at		
19	83	£375 each (1918–19 and 1919–20) 13 Cadets at the Royal Military College, Duntroon,	4,062	
	84	pay and maintenance, at £414 each (final payment) Rail, steamer, and other charges	$\begin{array}{c c} 1,239 \\ 150 \end{array}$	
	85	Value of binoculars on issue to Lieutenant W. G. Gentry, lost whilst on active service in India	9	
		Total-Subdivision No.VII		5,460
		•		
		Subdivision No. VIII.—Miscellaneous Charges.		
		CHARGES FOR AND INCIDENTAL TO-		
	86	Additional allowance to cover expenses of transfer	0	
	87	of Sergeant-Instructor J. F. Walsh from Milton Audit fees (to cover liability incurred for previous	8	
	88	year)	20	
		ment for pensions of Officers and N.C.O.s while		
		serving under agreement with the New Zealand Government, &c	210	
	89   90	Courts of Inquiry, expenses in connection with	50	
		Expenses in connection with the installation and use of wireless sets	100	
	91 92	Extra duty pay Guards of honour and escorts	50 10	
	93	Law-costs	100	
	94	Proficiency pay for Gunners and Drivers	50	
	95 96	Refund Customs duty	300	
		Rewards payable to Police for securing convictions for certain breaches of the provisions of the Defence		
	07	Act	50	
	97	Two Staff Sergeants-major, acting as Government House Orderlies	600	
	98	Contingencies, including unforeseen expenditure inci-		
		dental to the other items of the vote	75	
		Total—Subdivision No. VIII		1,623
		Subdivision No. IX.—Aviation.		
		Salaries—		
		MILITARY PERSONNEL—		
		(Secretary to Air Board and Inspector of Civil		
		Aviation Officer in charge Government Machines and In-	415	
	99	spection Civil Aviation	500	
		Clerk to Secretary Air Board Ledger-keeper	280	
		Storeman	255 132	

Number f Persons.	Item.	VOTE No. 30.—DEFENCE DEPARTMENT—contd.	1922-	-23.
		Subdivision No. 1X.—Aviation—continued.		
. 1922 <b>-23</b> .		CHARGES FOR AND INCIDENTAL TO-	£	£
		Stores and Supplies—		
		Petrol Caxtrol R		
		Castor		
		Spares Refresher Course—		
		30 Pilots, aeroplane		
	100	20 Pilots, seaplane		
	100	Rations	<b>3,906</b>	
		Railway and steamer fares and travelling-allowance of students		
		Small Arms Ammunition		
		Miscellaneous		
		Works, Buildings, and Land— 2 Hangars, Sockburn		
		Works, buildings and land	)	
	101	Miscellaneous Services—	940	
	$\begin{array}{c} 101 \\ 102 \end{array}$	Freights Travelling-expenses	348 200	
	103	Subsidies to aviation companies	7,000	
		-	19 096	
		Less second deduction from cost-of-living in-	13,036	
	į	crease or bonus	36	
	1	Total—Subdivision No. IX		13,00
		10000-300000000000000000000000000000000		10,00
		Subdivision No. X.—Non-effective Services.		
		Charges for and incidental to—		
	104	Compassionate allowance to the widow of the late		
		Sergeant-Major W. Ainsworth, Government House	- 40	
	105	Orderly Funeral expenses	148 100	
	106	Pay of 131 Officers, N.C.O.s and men of the N.Z.	100	
		Permanent Forces while on leave pending re-	10 101	
		tirement	12,171	
		Total—Subdivision No. X		12,41
•				
		Subdivision No. XI.—Dominion Rifle Association		
	i	and Rifle Clubs.		
	İ	Charges for and incidental to—		
	1	Dominion Rifle Association Meeting—		
	107	Issue of S.A. ammunition on payment at reduced	1 000	
	108	rates Part maintenance of ranges and upkeep of targets	1,600	
	109	Miscellaneous charges	150	
	110	Pay, travelling expenses and allowances of military		×190
		staff and temporary employees engaged for the meeting	240	
	111	Rifle Clubs— Issue of S.A. ammunition on payment at reduced		
	111	rates payment at reduced	16,000	
	112	Railway warrants	1,000	
	$\frac{113}{114}$	Maintenance of rifle ranges and upkeep of targets Miscellaneous charges	700 300	
	114		500	22.3
		Total—Subdivision No. XI		20,1
		TOTAL—VOTE No. 30		328,6

#### CUSTOMS DEPARTMENT.

				19			23.	L.	
		,		Salarie	s. O	ther Cha	rges.	Total.	
Vote No. 31.—Customs Department—					1	á	e	£	
Subdivision I.—Customs Offices and Services					539	17,060		103,599	
,, II.—Customs : Miscellaneous Services						8.0	028	8,028	
Manual Varia No. 91				86,539		188	111,627		
TOTAL TOTAL									
	1017	ALI	•••	86,	539	25,	088	111,627	
Number of Persons.	Item.	VOTE No. 31.—CU		1922–23.					
1922–23.		Subdivision No. I.—C	Sustoms Office.	s and Ser	vices.		£	£	
	1	*Salaries—	•						
	-		ATIVE DIVISI	ON.					
1 1		1 at £1,138 (Comptrol 1 at £837 (Assistant-C		•••	£ 1,13 83				
		CLERIC	AL DIVISION.			_	1,975		
		Special Class—			1 22				
4		2 at £775 2 at £725	•••	•••	$\substack{1,55 \\ 1,45}$	0			
		${\it Class}~I$				- 8	3,000		
		1 at £625	•••	•••	62				
7		6 at £575	•••	•••	3,45		1,075		
		Class II— 1 at £525	•••	•••	52	5			
		1 at £525 (also sessional allowan	Private Secu	retary,	52	5			
6		4 at £500		•••	2,00	0			
		Class III—				-  8	3,050		
10		10 at £480	•••	•••	4,80				
13		3 at £455	•••	• • • •	1,36		5,165		
•		$Class\ IV\_$ 15 at £430			6 450	j	,		
26		11 at £405	•••	•••	6,450 $4,450$	5			
		Class V—			-	- 10	,905		
		13 at £380	•••	•••	4,940	)			
;	,	1 at £380 (2 months		•••	68	3			
		1 at £380 (1 month)	′	•••	32				
		11 at £360 6 at £345	•••	•••	3,960 $2,070$				
33		1 at £345 (1 month)			2,010				
	1	`				1	I .		

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

#### CUSTOMS DEPARTMENT—continued.

Number of Persons.	Item.		1922-23.					
4	.	VOTE No. 31.—CUSTOMS DEPARTMENT—						
1922–23.		con						
		Subdivision No. I.—Cus	stoms Offices	and Ser	vices—	£	£	
			tinued.					
	1	Salaries—continued.				•		
		CLERICAL DIV						
		Class VI—	181011-00/000/	www.	£			
		23 at £330	•••		7,590			
		5 at £310	•••		1,550			
30		2 at £295	•••		590	i		
		$Class \ VII$ —			-	9,730		
	1	2 at £305	•••	•••	610			
		3 at £295	•••	•••	885			
		9 at £275	•••	•••	2,475			
		13 at £255	•••	•••	3,315			
		11 at £235	•••	•••	2,585			
		1 at £220	• • •	• • • •	220			
		12 at £215	•••	•••	2,580			
		14 at £200 1 at £150	•••	•••	2,800			
	1	9 at £130	•••	•••	1 170			
	j	23 at £105	•••	•••	$egin{array}{c} 1,170 \ 2,415 \end{array}$	1		
104		6 at £90	•••	•••	540	],		
101		0 20 200	•••	•••	0±0	19,745		
		Cadets' lodging-allowar	nces—			10,110		
		4 at £40			160			
		14 at £30	•••		420			
		6 at £20	•••	•••	120			
						700		
			L Division.		1			
		1 at £305			305			
		3 at £300	•••	•••	900			
		13 at £280	•••	•••	3,640			
		32 at £260	•••	• • •	8,320			
		5 at £255	•••	•••	1,275			
		4 at £250		•••	1,000			
		6 at £245	•••	•••	1,470			
		1 at £240		•••	240			
		2 at £235	•••	•••	470			
		3 at £191	•••	•••	573			
		1 at £154	•••		154			
		1 at £142 1 at £130	•••	•••	$egin{array}{c} 142 \ 130 \end{array}$			
74		1 at £105	••••	•••	105			
		T WI TION	•••	•••		18,724		
299		Coastwaiters at sub	-ports (not	being	classified	10,121		
200	_	Customs officers)	(woo			260		
	1					89,423		
		Less second dedi	action from	cost-of-l	iving in-			
		crease or bon	ıs	•••	• • • •	1,984		
					[-			
			~			87,439		
		Less estimated cr						
		Public Revent						
		Charges for serv	ļ					
		ment Departn						
		Inland Rev						
		Internal At						
		Charges for serv	res to the p	ublic	415	000		
						900		
	1				ľ	*86,539		

 $<sup>\ ^*</sup>$  Includes cost-of-living increase to scale salaries or wages.

#### ${\tt CUSTOMS\ DEPARTMENT--} continued.$

Number of Persons.	Item.		1922-	-23.
1922-23.	-	VOTE No. 31.—CUSTOMS DEPARTMENT—		
1922-20.		continued.	£	£
		Subdivision No. I.—Customs Offices and Services—continued.		C
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other publications	100	
	3	Allowances to officers temporarily performing special or higher duties	400	
	4	Cost of instruments and uniform trimmings	25	
	5 6	Establishment of Inquiry Agency in America	1,000	
	. 0	Expenses connected with prosecutions and seizures under the Customs Acts, and legal expenses	75	
	7	Expenses of Head Office and local offices	1,400	
		Expenses of Inquiry Agent and Commercial Expert—		
	8	Special allowance while stationed away from New	055	
	. 9	Zealand Travelling and general expenses	$\begin{vmatrix} 255 \\ 300 \end{vmatrix}$	
	10	Office-cleaning	175	
	11	Office fittings and requisites (including printing and		
	. 10	stationery)	2,700	
	12	Overtime and meal allowances	1,500	
		Payment to other Departments for services of officers		
	13	Marine	260	
	14	Police	10	
	15	Post and Telegraph	4,000	
	16   17	Tourist Working Railways	50 10	
,	18	Postage, telegrams, and rent of boxes	1,100	
	19	Rewards in connection with the protection of the revenue and detection of offences under the		
	20	Customs Acts Telephone services (including installation, extensions,	700	
	21	maintenance, rent, and calls) Temporary assistance	500 ↓ *475 ↓	
	22	Travelling allowances and expenses	2,000	
	23	Typewriters	75	
	24	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
	į į	$\sim$	17,160	
•		Less estimated credits under Section 48 of the Public Revenues Act, 1910— Recoveries of postage, legal expenses, and		
	· i	miscellaneous expenses	100	
	1		17,060	
•		Total—Subdivision No. I		103,599
		Subdivision No. II.—Customs: Miscellaneous Services.	i	
	25	CHARGES FOR AND INCIDENTAL TO— Allowance to E. R. Brabazon, granted an equivalent salary payment in lieu of six months' leave on	900	
	26	retirement under Public Service Regulation 65 Contribution to International Customs Bureau, Brussels	388 200	
	27 28	Expenses of Customs Buildings, Wellington Grant to Cook and Niue Islands Governments of an amount equivalent to the Customs duties collected in New Zealand on goods afterwards shipped to those Islands	2,800	
	•	* Includes cost-of-living increase to scale salaries or wages	£,000	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### CUSTOMS DEPARTMENT—continued.

Number of Persons.	Item.		1922-	-23.
1922–23.	-   	VOTE No. 31.—CUSTOMS DEPARTMENT— continued.	The special control of the special control of	an American Market Market and an area.
		Subdivision No. 11.—Customs: Miscellaneous Services—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued. Refund of duty on—		
	29	Baggage not fully complying with the terms of the exemption under the tariff, but being baggage and effects not for sale	300	
	30	Chairs for invalids, and clothing, apparatus, and other articles for persons in poor circumstances	!	
	31	and who cannot pay the duty Cinematograph for Navy League for showing patriotic films to school children and others in	50	
	32	connection with its educational work  Electric battery to complete a fire-escape entered in March, 1922, by the Dunedin Fire Board, at 30 per cent., owing to inability of the importers to wait until 1st June, when the duty would	23	
		have been only 10 per cent., under the Customs Amendment Act, 1921	148	
	33	Marble bust of deceased soldier, son of a New Zealand resident Miniature rifles and ammunition for same for the	47	
	35	use of Territorials, Cadets, or Rifle Clubs Oil-engine imported to complete a fishing-launch	10	
		made in New Zealand but not strictly complying with the conditions of section 28 of the Customs Amendment Act, 1921	170	
	36 37	Plant for installation and equipment of electric smelting-furnace Printed matter for the use of Boy Scouts, as may	137	
	38	be approved by the Minister Printed matter of Navy League and similar patriotic societies, as may be approved by the Minister; also replica of battleship imported by the Wellington	10	
	39	Branch of the Navy League Printed matter, including photographs, advertising Canada and Hawaii, sent by the Canadian Government and by the Hawaii Tourist Bureau,	20	
	40	for free distribution throughout the Dominion Soldiers' war memorials raised by public subscription to be erected in public parks or places	1,000	
	41	Specially-made swimming costumes for the Island Bay Surf and Life-saving Club, being of a kind which no firm in New Zealand could economic-	1,000	
	$\begin{vmatrix} 42 \end{vmatrix}$	ally supply or make	3	
	43	under the British Preferential Tariff Tinplates made in the United Kingdom, which it was necessary, in the interest of New Zealand industries, to import from Australia during the period when the general tariff was in force on	300	
	44	goods from the Commonwealth Uniforms, fittings, and badges for Pipe Bands	471	
	45	which could not be made in New Zealand!  Vases imported by the Women's National Reserve for soldiers' graves at Karori Military Cemetery	$\begin{bmatrix} 143 \\ 11 \end{bmatrix}$	
	46 47	Wireless equipment for ships Refund of difference between 6s. the gallon and 3s. 6d. the gallon on South African wine shipped before 12th July, 1922, the estimated date upon	50	
		which all importers in New Zealand were notified of the cancellation of the treaty with South Africa	562	

#### CUSTOMS DEPARTMENT—continued.

CHARGES FOR AND INCIDENTAL TO—continued.  Refund of 1s. the lb. on South African tobacco shipped before 12th July, 1922, the estimated date upon which all importers in New Zealand were notified of the cancellation of the treaty with South Africa  49 Refund of license fees legally due by Customs agents for years during which the licenses were not used Refund of license fees for stills to be used in public hospitals, and for stills not in use sealed up to the satisfaction of the Collector of Customs 24  Sefund of poll-tax, through the Consul for the Republic of China, paid on account of a Chinese who became insane shortly after arrival in the Dominion, and was returned to China 100  Refund of preferential surtax on rowing-boats manufactured in and imported from Australia 100  Refund of supervision fees for breweries paid in excess through being overestimated 100  Shortage in cash at Auckland, being portion of sum of £100 which inexplicably disappeared after receipt. Investigation by the police and the Audit office did not disclose any explanation of the disappearance 55  Special travelling-allowance to the Comptroller of Customs while accompanying the Minister of Customs while accompanying the Minister of Customs to Australia for the purpose of arranging a reciprocal Customs Treaty with the Commonwealth 88	ersons. Item.		1922-	-23.
CHARGES FOR AND INCIDENTAL TO—continued.  Refund of 1s. the lb. on South African tobacco shipped before 12th July, 1922, the estimated date upon which all importers in New Zealand were notified of the cancellation of the treaty with South Africa	•	CUSTOMS DEPARTMENT—continued.		
Refund of 1s. the lb. on South African tobacco shipped before 12th July, 1922, the estimated date upon which all importers in New Zealand were notified of the cancellation of the treaty with South Africa	32–23. j	VOTE No. 31—continued.	£	æ
Refund of license fees legally due by Customs agents for years during which the licenses were not used Refund of license fees for stills to be used in public hospitals, and for stills not in use sealed up to the satisfaction of the Collector of Customs 24  Refund of license fees for stills used in Universities 2  Refund of poll-tax, through the Consul for the Republic of China, paid on account of a Chinese who became insane shortly after arrival in the Dominion, and was returned to China 100  Refund of preferential surtax on rowing-boats manufactured in and imported from Australia 100  Refund of supervision fees for breweries paid in excess through being overestimated 100  Shortage in cash at Auckland, being portion of sum of £100 which inexplicably disappeared after receipt. Investigation by the police and the Audit office did not disclose any explanation of the disappearance 75  Special travelling-allowance to the Comptroller of Customs while accompanying the Minister of Customs to Australia for the purpose of arranging a reciprocal Customs Treaty with the Commonwealth 88	48	Refund of 1s. the lb. on South African tobacco shipped before 12th July, 1922, the estimated date upon which all importers in New Zealand were notified of the cancellation of the treaty with		
for years during which the licenses were not used Refund of license fees for stills to be used in public hospitals, and for stills not in use sealed up to the satisfaction of the Collector of Customs  Refund of license fees for stills used in Universities Refund of poll-tax, through the Consul for the Republic of China, paid on account of a Chinese who became insane shortly after arrival in the Dominion, and was returned to China Refund of preferential surtax on rowing-boats manu- factured in and imported from Australia Refund of supervision fees for breweries paid in excess through being overestimated Shortage in cash at Auckland, being portion of sum of £100 which inexplicably disappeared after receipt. Investigation by the police and the Audit office did not disclose any explanation of the disappearance  Special travelling-allowance to the Comptroller of Customs while accompanying the Minister of Customs to Australia for the purpose of arranging a reciprocal Customs Treaty with the Common- wealth 88	10		284	
Satisfaction of the Collector of Customs  Refund of license fees for stills used in Universities  Refund of poll-tax, through the Consul for the Republic of China, paid on account of a Chinese who became insane shortly after arrival in the Dominion, and was returned to China 100  Refund of preferential surtax on rowing-boats manufactured in and imported from Australia 100  Refund of supervision fees for breweries paid in excess through being overestimated 100  Shortage in cash at Auckland, being portion of sum of £100 which inexplicably disappeared after receipt. Investigation by the police and the Audit office did not disclose any explanation of the disappearance 75  Special travelling-allowance to the Comptroller of Customs while accompanying the Minister of Customs to Australia for the purpose of arranging a reciprocal Customs Treaty with the Commonwealth 88		for years during which the licenses were not used Refund of license fees for stills to be used in public	5	
Refund of poll-tax, through the Consul for the Republic of China, paid on account of a Chinese who became insane shortly after arrival in the Dominion, and was returned to China 100  Refund of preferential surtax on rowing-boats manufactured in and imported from Australia 100  Refund of supervision fees for breweries paid in excess through being overestimated 100  Shortage in cash at Auckland, being portion of sum of £100 which inexplicably disappeared after receipt. Investigation by the police and the Audit office did not disclose any explanation of the disappearance 75  Special travelling-allowance to the Comptroller of Customs while accompanying the Minister of Customs to Australia for the purpose of arranging a reciprocal Customs Treaty with the Commonwealth 88	51	satisfaction of the Collector of Customs		
Dominion, and was returned to China Refund of preferential surtax on rowing-boats manufactured in and imported from Australia Refund of supervision fees for breweries paid in excess through being overestimated 100  Shortage in cash at Auckland, being portion of sum of £100 which inexplicably disappeared after receipt. Investigation by the police and the Audit office did not disclose any explanation of the disappearance Special travelling-allowance to the Comptroller of Customs while accompanying the Minister of Customs to Australia for the purpose of arranging a reciprocal Customs Treaty with the Commonwealth 88		Refund of poll-tax, through the Consul for the Republic of China, paid on account of a Chinese	24	
factured in and imported from Australia 100 Refund of supervision fees for breweries paid in excess through being overestimated 100 Shortage in cash at Auckland, being portion of sum of £100 which inexplicably disappeared after receipt. Investigation by the police and the Audit office did not disclose any explanation of the disappearance 75 Special travelling-allowance to the Comptroller of Customs while accompanying the Minister of Customs to Australia for the purpose of arranging a reciprocal Customs Treaty with the Commonwealth 88	59	Dominion, and was returned to China	100	
through being overestimated		factured in and imported from Australia	100	
of £100 which inexplicably disappeared after receipt. Investigation by the police and the Audit office did not disclose any explanation of the disappearance.  56 Special travelling-allowance to the Comptroller of Customs while accompanying the Minister of Customs to Australia for the purpose of arranging a reciprocal Customs Treaty with the Commonwealth 88		through being overestimated	100	
not disclose any explanation of the disappearance . 75  Special travelling-allowance to the Comptroller of Customs while accompanying the Minister of Customs to Australia for the purpose of arranging a reciprocal Customs Treaty with the Commonwealth 88	55	of £100 which inexplicably disappeared after receipt.	i :	
wealth 88	56	not disclose any explanation of the disappearance.  Special travelling-allowance to the Comptroller of Customs while accompanying the Minister of Customs to Australia for the purpose of arranging	75	
Total—Subdivision No. II 8			88	
		Total—Subdivision No. II		8,028
TOTALVOTE No. 31 111	; 	TOTALVOTE No. 31		111,62

## MARINE AND HARBOURS AND INSPECTION OF MACHINERY DEPARTMENT.

				!		1922-23.	
					Salaries.	Other Charges.	Total.
Vote No. 3	32.—M	Iarine Department—			£	£	£
Subdivisio	m $I$	-Head Office			6,699	2,599	9,298
,		- Harbours			2,099	2,890	4,989
,		$-Lighthouses \dots$		•••	17,305	15,930	33,235
"		- Weather-reporting and	Meteorolog	ical	-1,630	4,301	5,931
"	V	Office Superintendents o Marine, &c.	f Mercan	tilc	11,098	2,090	13,188
	VI.	-Inspection of Machinery	<i>I</i> .		19,635	7,096	26,731
"		Protection of Fish and			2,637	8,690	11,327
	III	Government Steamers	•••	• • •	718	20,650	21,368
,,		Miscellaneous Services			•••	6,223	6,223
	Ί.	OTAL -VOTE No. 32	41.6	•••	61,821	70,469	132,290
	TO!	PAT	•••	•••	61,821	70,469	132,290
Number of Persons.	Item.	en en en en en en en en en en en en en e				19	22–23.
1922- <b>2</b> 3.	1	VOTE No. 32.—M	ARINE I	DEPA	RTMENT.		
		Subdivision .	No. I.—H	ead O	ffice.	£	£
	1	*Salaries					·
		Administ	RATIVE DI	VISION	١.		,
1		1 at £837 (Secretary a	nd Chief In	specto	or of Machin	ery) 83	7
		Profess	IONAL DIV	ISION.			
1		1 - 4 001 (-1 The mi		:r D.	.1.11.		
1		1 at £91 (also Engi Works Departmen		161, Pt	10116	9	1
1		Class A—	0)		• • •		
		1 at £725			• • •	72	5
		Cleri	CAL DIVIS	ON.			
	1 .	Class I—					
1		1 at £575			• • •	576	5
		Class V				<b>.</b>	
0		1 at £380 1 at £360				380	
2		Class VI—				360 740	n   ·
4		4 at £330	•••			1,320	
•		Class VII—	***			_,	1
		1 at £265				265 <sup>†</sup>	
		1 at £235				235	
		2 at £215	•••			430	
		3 at £200	• • •			600	
n	1	1 at £125				125	
9	I .	1 at £95				95	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

1,750

## 

Number Persons.	Item.	VOTE No. 32.—	MARINE DEP.	ARTME	NTco	itinued.	1922-	23.
922–23.		Subdivision	No. 1.—Head	Office	continue	d.  -		
İ	1	Salaries—cont	inued.				3	£
			GENERAL DIVI	SION		£		
		1 at £215				215	i	
		1 at £203	• •			203		
4		2 at £191		•		382	VAO	
j							. 800	
							6,838	
	i		ond deduction fro	m cost-	of-living i	ncrease	100	
		or bon	us	•	•••	•••	139	
							6,699	
[		Other Charges f	for and incidenta	l to		-		
	2	Advertising,	photographs, b	ooks, n	ewspape		~0	
	3	other publi	ications ige, and transpoi	et abova	00	•••	50 100	
	4		ower, and water		es	•••	50	
(	5	Office fittings	s and requisites	(includ	ing print	ing and	,	
		stationery)				•••	1,000	
	$\begin{bmatrix} 6\\7 \end{bmatrix}$		l meal-allowance grams, and rent			• • •	$\frac{20}{400}$	
	8		grams, and rent ervices (including			tension	:FOO -	
			ce, rents, and ca				100	
	9	Temporary as	ssistance				724	
	$\begin{vmatrix} 10 \\ 11 \end{vmatrix}$	Travelling all	lowances and exp	penses		•••	$\frac{125}{20}$	
	$\frac{11}{12}$	Contingencies	Purchase and is (including unfo	reseen e	 expenditi	re inci-	30	
		dental to t	he other items of	f the vo	te)		20	
	!						2,619	
						-		
			imated credits t			of the	9,318	
			lic Revenues Act llaneous	c, 1910-			20	
		Miscel	naneous	•	•••		20	
		Tota	$al\_Subdivision$	No. I				9,29
		Suho	livision No. II	Harbo	)HFS			
	13				,			
	13	Salaries	Professional D	IVISION				
		Ulass D—	. HOTELONGIAN D	i vibion.				
	!	Kaipara						
1		1 at £436	0		• • •		430	
$_2$		$\begin{array}{c} Picton-\\ 1 \text{ at } \pounds 39s \end{array}$	5		ı		395	
-	:	_ 000 000					300	
		Hokianga-	GENERAL DIVI	SION.		£		
	i	1 at £315	•••			315		
İ	· I	1 at £243				243		
		Kaipara—					558	
,		1 at £243	••	•	• • •	•••	243	
	ļ	Wellington— 1 at £245				245		
5	. 1	1 at £155	••	•		155		
	- 1		j.				400	

 $\ast$  Includes cost-of-living increase to scale salaries or wages.

## MARINE AND HARBOURS AND INSPECTION OF MACHINERY DEPARTMENT—continued.

Number f Persons.	Item.	VOTE No. 32.—MARINE DI	1922–23.				
922-23.	-	Subdivision No. II.—H	!arbours-c	ontinued.			
	13	Salaries—continued.				£	£
		Unclass	IFIED.				
		Ngunguru—				0.0	
		$Harbourmaster \ Tongaporutu$ —`	•••	•••		20	
		Light-attendant				30	
		Awakino—				0.5	
		$egin{aligned}  ext{Light-attendant} \  ext{\it Marakopa} &-\!$	• • •	• • •		25	
		Light-attendant				12	
	i :	Mokau— Signalman				90	
		Napier Bluff Lighthouse—	•••	•••		.,0	
		Lightkeeper		•••		20	
		$Waitapu- \\ Harbourmaster$				30	
	İ	Collingwood—	1 /1				
		Harbourmaster and Lig.  Karamea—	ntkeeper	• • •		70	
		Harbourmaster, Signaln	ıan, and W	harfinger		155	
		Hokitika— Lightkeeper				25	
	1	Okarito		•••	•••	20	
		Signalman	•••	•••	• • •	130	
		Okuru Signalman				70	
		Waikawa					
		$Harbourmaster \ Anglem \ Point$	• • •	• • •		12	
	!	Light-attendant	•			60	
.4 20	:	Port Waikato—				40	
15		Beacon-attendant	•••	•••		40	
					İ	2,815	
		Less second deduction or bonus	from cost-o	f-living inc	rease	56	
		or bonus	•••	•••			
		Taga wantuibutiana f	mann Crasta	non Vata	d	2,759	
		Less contributions fr Wellington Harbour		ms vote	and	660	
	l i	G			-		
		Other Charges for and incide	ental to-			*2,099	
	14	Advertising, photographs,		ewspapers,	and		
	1.	other publications	•••	•••	• • • •	10	
	$\begin{array}{ c c c }\hline 15 \\ \hline 16 \end{array}$	Boats, buildings, and repai Buoys and beacons and ha	.rs .rhour main	tenance	:::	150   800	
	17	Office expenses				40	
	18	Prosecutions under Harbot	ars Act	• • •		10	
	19	Renewal of wharves		***		250	
	20	Repairs to Kaipara beacons	s			1,100	
	21					20	
	22	Telephone services (includi	ng installat	ion, extens	sions,		
		maintenance, rent, and o		•••		40	
	$\mid 23 \mid$	Travelling allowances and				150	
	24	Wages		•••		500	
	25	Contingencies, including u	nforeseen	expenditur	e in-	1	
	!	cidental to the other iten				20	
	į				-		
						3,090	
	 !				_		
		Less estimated credits	under Sec	ction 48 o	$\left  - \right $	3,090 5,189	
		Less estimated credits Public Revenues	Act, 1910-	•		5,189	
			Act, 1910-	•			

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### $A\,ppropriations\,\,for\,\,Consolidated\,\,Fund\,\,Services.$

of Persons.	Item.	VOTE No. 39	MARINE DEPARTI	MENT e	ontinand	1922	<b>-23.</b>
922–23.	<del>-</del>				onumuca.		
		Subdin	vision No. III—Lighti	iouses.		£	£
	25	SALARIES—				-	
			GENERAL DIVISION.		£		
		1 at £410			410		
		1 at £300		• • • •	300		
	1	10 at £260 1 at £250	* * *		$ \begin{array}{c c} 2,600 \\ 250 \end{array} $		
		5 at £245	***	•••	1,225	1	
		1 at £240	•••		240	:	
		7 at £235	• • •		1,645		
		2 at £230	***		460		
		2 at £225	***	• • •	450		
		41 at £220 1 at £200	••	•••	$9,020 \\ 200$		
		2 at £195	***	***	390		
		2 at £190	•••		380	ŀ	
		1 at £155	***		155		
78		1 at £100		•••	100		
			TT			17,825	
1		1 at £50	Unclassified.			50	
-	į		•••	•••			
	1					17,875	
			ond deduction from	cost-of-liv	ving in-		
		crease	or bonus	•••	•••	570	
					-	*17,305	
					-	11,500	
	l l						
	26 27 28 29	Boats for ligh Books, magaz Carriage of magaz Compensation widow of A	for and incidental to thouses, including reprines, and newspapers ails tuneral, and med . Duncan, deceased, la	oairs  ical expe		100 150 650	
	27 28 29	Boats for ligh Books, magaz Carriage of magaz Compensation widow of A Castlepoint	thouses, including reprines, and newspapers ails  funeral, and med	oairs  ical expe	nses to eeper at	150 650 780	
	27 28 29 30	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing	thouses, including reprines, and newspapers ails a, funeral, and med Duncan, deceased, la	oairs  ical expe ate lightko 	nses to eeper at 	150 650 780 250	
	27 28 29 30 31	Boats for ligh Books, magaz Carriage of magaz Compensation widow of A Castlepoint Fencing Fog signals, c	thouses, including reprines, and newspapers ails  a, funeral, and med  b. Duncan, deceased, le  c  artridges, and maint	oairs ical expe ate lightko	nses to eeper at	150 650 780 250 1,000	
	27 28 29 30 31 32 33	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas	thouses, including reprines, and newspapers ails a, funeral, and med Duncan, deceased, la	oairs ical expe ate lightko	nses to eeper at	150 650 780 250	
	27 28 29 30 31 32 33 34	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' stati	thouses, including replines, and newspapers ails a., funeral, and med. Duncan, deceased, least such artridges, and mainthing light in Tiri Tiri on allowances of automatic lights	oairs  ical expe ate lightke  enance Lighthous	nses to eeper at	780 250 1,000 100 800 500	
	27 28 29 30 31 32 33 34 35	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' stati Maintenance Medical exam	thouses, including replines, and newspapers ails a., funeral, and med. Duncan, deceased, least successful and maint hing light in Tiri Tiri on allowances of automatic lights inations and expenses inations and expenses	oairs ical expe ate lightke enance Lighthous	nses to eeper at 	150 650 780 250 1,000 100 800 500 500	
	27 28 29 30 31 32 33 34 35 36	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' stati Maintenance Medical exam New dwelling	thouses, including replanes, and newspapers ails a, funeral, and med. Duncan, deceased, least substituting light in Tiri Tiri on allowances of automatic lights inations and expenses at lighthouses (replanes).	oairs ical expe ate lightke enance Lighthous	nses to eeper at	150 650 780 250 1,000 100 800 500 500	
	27 28 29 30 31 32 33 34 35 36 37	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' stati Maintenance Medical exam New dwelling Oil and stores	thouses, including replines, and newspapers ails to funeral, and med Duncan, deceased, le artridges, and mainthing light in Tiri Tiri on allowances of automatic lights inations and expenses at lighthouses (replands	eairs  ical expe te lightle  enance Lighthous   accements)	nses to eeper at	780 250 1,000 100 800 500 500 5,800	
	27 28 29 30 31 32 33 34 35 36	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' stati Maintenance Medical exam New dwelling Oil and stores Purchase and	thouses, including replines, and newspapers ails to funeral, and med. Duncan, deceased, leading to the control of the control	cairs  ical expe ate lightke  enance Lighthous  acements) icles, and	nses to eeper at	150 650 780 250 1,000 100 800 500 500 5,800 550	
	27 28 29 30 31 32 33 34 35 36 37 38	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' stati Maintenance Medical exam New dwelling Oil and stores Purchase and Repairs to ligh Telephone ser	thouses, including replines, and newspapers ails to funeral, and med. Duncan, deceased, leading and mainthing light in Tiri Tiri on allowances of automatic lights inations and expenses at lighthouses (replace the control of the con	cairs  ical expe te lightle  enance Lighthous  cements)  icles, and c	nses to eeper at see harness	780 250 1,000 100 800 500 500 5,800	
	27 28 29 30 31 32 33 34 35 36 37 38 39 40	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' stati Maintenance Medical exam New dwelling Oil and stores Purchase and Repairs to ligh Telephone ser maintenance	thouses, including reprines, and newspapers ails  a, funeral, and med  Duncan, deceased, le  artridges, and mainthing light in Tiri Tiri on allowances of automatic lights inations and expenses at lighthouses (replated to the second to the s	ical expe ical expe	nses to eeper at see harness	780 250 1,000 100 800 500 500 500 550 1,160	
	27 28 29 30 31 32 33 34 35 36 37 38 39 40	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' stati Maintenance Medical exam New dwelling Oil and stores Purchase and Repairs to ligh Telephone ser maintenanc Travelling-alle	thouses, including reprines, and newspapers ails  a, funeral, and med  Duncan, deceased, le  artridges, and mainthing light in Tiri Tiri on allowances of automatic lights inations and expenses at lighthouses (replated to the second to the s	cairs  ical expe ate lightke  cannote Lighthous  cacements)  icles, and c lation, ext	nses to eeper at se harness ensions,	780 250 1,000 100 800 500 500 5,800 5,800 40 700	
	27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' static Maintenance Medical exam New dwelling Oil and stores Purchase and Repairs to ligh Telephone ser maintenanc Travelling-alle Wages of tem	thouses, including reprines, and newspapers ails a, funeral, and med. Duncan, deceased, least and maint hing light in Tiri Tiri on allowances of automatic lights inations and expenses at lighthouses (replative property of horses, we had thouses, dwellings, & vices (including install e, rent, and calls) owances and expenses porary keepers	eairs ical expe iteal expe itealightko enance Lighthous cements) icles, and c lation, ext	nses to eeper at se harness ensions,	780 250 1,000 100 800 500 500 500 550 1,160	
	27 28 29 30 31 32 33 34 35 36 37 38 39 40	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' static Maintenance Medical exam New dwelling Oil and stores Purchase and Repairs to ligh Telephone ser maintenanc Travelling-alle Wages of tem Contingencies	thouses, including reprines, and newspapers ails  a, funeral, and med. Duncan, deceased, least reprinciple of horses at lighthouses (replational and expenses at lighthouses, dwellings, & vices (including install e, rent, and calls) owances and expenses porary keepers  including unforesee	cairs  ical expe te lightle  enance Lighthous  cements)  icles, and c lation, ext   n expendi	nses to eeper at se harness ensions, ture in-	150 650 780 250 1,000 100 800 500 500 5,800 550 1,160 40 700 *3,000	
	27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' static Maintenance Medical exam New dwelling Oil and stores Purchase and Repairs to ligh Telephone ser maintenanc Travelling-alle Wages of tem Contingencies	thouses, including reprines, and newspapers ails a, funeral, and med. Duncan, deceased, least and maint hing light in Tiri Tiri on allowances of automatic lights inations and expenses at lighthouses (replative property of horses, we had thouses, dwellings, & vices (including install e, rent, and calls) owances and expenses porary keepers	cairs  ical expe te lightle  enance Lighthous  cements)  icles, and c lation, ext   n expendi	nses to eeper at se harness ensions,	780 250 1,000 100 800 500 500 5,800 5,800 40 700	
	27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' static Maintenance Medical exam New dwelling Oil and stores Purchase and Repairs to ligh Telephone ser maintenanc Travelling-alle Wages of tem Contingencies	thouses, including reprines, and newspapers ails  a, funeral, and med. Duncan, deceased, least reprinciple of horses at lighthouses (replational and expenses at lighthouses, dwellings, & vices (including install e, rent, and calls) owances and expenses porary keepers  including unforesee	cairs  ical expe te lightle  enance Lighthous  cements)  icles, and c lation, ext   n expendi	nses to eeper at se harness ensions, ture in-	150 650 780 250 1,000 100 800 500 500 5,800 550 1,160 40 700 *3,000	
	27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' static Maintenance Medical exam New dwelling Oil and stores Purchase and Repairs to ligh Telephone ser maintenanc Travelling-alle Wages of tem Contingencies	thouses, including reprines, and newspapers ails  a, funeral, and med. Duncan, deceased, least reprinciple of horses at lighthouses (replational and expenses at lighthouses, dwellings, & vices (including install e, rent, and calls) owances and expenses porary keepers  including unforesee	cairs  ical expe te lightle  enance Lighthous  cements)  icles, and c lation, ext   n expendi	nses to eeper at se harness ensions, ture in-	150 650 780 250 1,000 100 800 500 500 5,800 5,800 1,160 40 700 *3,000	
	27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, ce Installing flas Keepers' static Maintenance Medical exam New dwelling Oil and storase Purchase and Repairs to ligh Telephone ser maintenanc Travelling-alle Wages of tem Contingencies cidental to the	thouses, including regines, and newspapers ails  a, funeral, and med. Duncan, deceased, least  artridges, and mainthing light in Tiri Tiri on allowances of automatic lights inations and expenses at lighthouses (replations and expenses (replations), dwellings, & vices (including install e, erent, and calls) owances and expenses porary keepers  , including unforesee the other items of the	cairs  ical expe ate lightke  enance Lighthous  cements)  icles, and c.  lation, ext   n expendivote	nses to eeper at se harness ensions, ture in	150 650 780 250 1,000 100 800 500 500 5,800 5,800 1,160 40 700 *3,000	
	27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, ce Installing flas Keepers' static Maintenance Medical exam New dwelling Oil and stores Purchase and Repairs to ligh Telephone ser maintenanc Travelling-alle Wages of tem Contingencies cidental to the	thouses, including reprines, and newspapers ails  a, funeral, and med. Duncan, deceased, least ridges, and mainthing light in Tiri Tiri on allowances of automatic lights inations and expenses at lighthouses (replative in the control of the co	cairs  ical expe ate lightke  enance Lighthous  cements)  icles, and c.  lation, ext   n expendivote	nses to eeper at se harness ensions, ture in	150 650 780 250 1,000 100 800 500 500 5,800 5,800 1,160 40 700 *3,000	
	27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42	Boats for ligh Books, magaz Carriage of me Compensation widow of A Castlepoint Fencing Fog signals, c Installing flas Keepers' stati Maintenance Medical exam New dwelling Oil and stores Purchase and Repairs to ligh Telephone ser maintenanc Travelling-alle Wages of tem Contingencies cidental to the	thouses, including regines, and newspapers ails  a, funeral, and med. Duncan, deceased, least  artridges, and mainthing light in Tiri Tiri on allowances of automatic lights inations and expenses at lighthouses (replations and expenses (replations), dwellings, & vices (including install e, erent, and calls) owances and expenses porary keepers  , including unforesee the other items of the	cairs  ical experiments lighthous comments co	nses to eeper at se harness ensions, ture in	150 650 780 250 1,000 100 800 500 500 5,800 5,800 1,160 40 700 *3,000	

 $<sup>\</sup>ensuremath{^{*}}$  Includes cost-of-living increase to scale salaries or wages.

Number							
of Persons.	Item.	VOTE No. 32MA	ARINE DEPARTM	IENTcon	tinued.	1922–	23.
192 <b>2</b> –23.		Subdivision No. II		ng and Me	teoro-		
	144	0	$logical\ Office.$			£	£
	44	Salaries—			į		
		Pro	FESSIONAL DIVISIO	Ν.			
		Class $A$ —			!		
1	:	1 at £625				625	
1	ļ	Class C - 1 at £450				450	
.1		1 86 5400	•••	• • •	• • •	450	
		C	LERICAL DIVISION.				
		Class VII—					
1		1 at £305				305	
		G	ENERAL DIVISION.				
1		1 at £191				191	
			~-				
F-7		. 7 T 1 Dt	Unclassified.			0.5	
7		7 Local Reporter	rs	* * *	•••	85	
					-	1,656	
			d deduction from	cost-of-livi	ng in-	,	
	(	crease or	bonus			26	
		j 			ye ne	*1,630	
		Other Charges for a	and incidentar to-			1,000	
	45		f district weather-re	porting sta	tions	50	
	46	Fuel, light, power	er, and water	•••		20	
	47	Inspection of sta		•••	••••	1.00.	
	49	Maintenance of o	Josefvalories	•••	•••	$\frac{20}{30}$	
	50	Postage, telegran	ns, and rent of boxe	es		3,355	
	51	Printing and sta	tionery	• • •	•••	150	
	52 53		ruments and repairs pment, and books		••	$\frac{200}{220}$	
	54		es (including install	ation, exter	asions.	ا ۵۵۰۵۰	
	1	maintenance,	rent, and calls)	•••		50	
	55	Temporary assist			····	*96	
	56		ncluding unforeseen		ire in-	20	
	ļ	cinemai to the	other items of the	vote	• • •	20	
	i					4,311	
		Logg ogtivne	ted credits under	Section 48	of the	5,941	
	i		Revenues Act, 1910		OI GITE:		
			struments	•••		10	
			~				
	Į i	Total—	Subdivision No. I		•••		5,98
	!						
	Ì						
		Subdivision No. V					
			iners of Masters	and Mates	, and		
		Surveyors of Si	wps.				
	57	SALARIES					
	1		FESSIONAL DIVISION	τ.			
		Class B—			£		
4		2 at £575 2 at £550			$\begin{bmatrix} 1,150 \\ 1,100 \end{bmatrix}$		
7		Class C	•••	•••		2,250	
		2 at £505	• • •		1,010		
3		1 at £485	•••		485		
	l					1,495	

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

Number i Persons.	Item.	VOTE No. 32.—MAR	INE DEPARTI	AENT—co	ntinued.	1922–23.	
922–23.	·[]	Subdivision No. V Marin	Superintenden e, &ccontinue		ntile	£	£
	57	Salaries—continued	·•				
			L Division—con	itinued.			
		Class $D$ — 4 at £430			£ 1 790	ì	
	j	5 at £410	***	•••	$\begin{bmatrix} 1,720 \\ 2,050 \end{bmatrix}$	1	
10		1 at £395	•••	•••	395		
						4,165	
			rical Division.		1		
1		Class VI— $1  at  £330$				330	
1.		Class VII—	•••	•••	•••	330	
		1 at £305		• • • •	305		
		1 at £265	•••		265	-	
		1 at £200	*	•••	200		
4		1 at £130	•••	•••	130	000	
		Con	NERAL DIVISION.			900	
		2 at £410			820		
		1 at £330			330		
		1 at £315	•••		315		
-		1 at £275	•••		275		
7		2 at £142	***		284	2,024	
			Unclassified			2,024	
		Shipping Officer, (	)nehunga	•••		50	
		Shipping Officer, V	Whakatane	•••		$\begin{array}{c c} 25 \end{array}$	
5		3 Load-line Inspec	etors: 1 at £20,			40	
	İ	Contribution to P					
		services perform	ed by Postmaste	er at Taura	nga	25	
						11,304	
		Less second de	eduction from co	st-of-living	increase	11,001	
		or bonus		•••		206	
						*11,098	
		Other Charges for a	nd incidental to-	_			
	58	Administration of	the Shinning or	. 1 0			
			me embhing ar	ia Seamen .	Act, and		
	~	inquiries into sh	ipping casualties			520	
	59	inquiries into shi Advertising, photo	ipping casualties ographs, books,				
		inquiries into shi Advertising, photo other publication	ipping casualties ographs, books, ns	newspape 	ers, and	20	
	59 60 61	inquiries into shi Advertising, photo other publication Expenses connected	ipping casualties ographs, books, ns ed with examina	newspape 	ers, and		
	60 61 62	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning	ipping casualties ographs, books, ns ed with examina, and water	newspape tions	ers, and	20 250	
	60 61	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning Office fittings and	ipping casualties ographs, books, ns ed with examina, and water	newspape tions	ers, and	20 250 10 10	
	60 61 62 63	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning Office fittings and stationery)	ipping casualties ographs, books, ns ed with examina and water requisites (included)	newspape tions uding print	ers, and	20 250 10 10	
	60 61 62 63 64	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams	ipping casualties ographs, books, ns ed with examina and water requisites (included)	newspape tions uding print	ers, and	20 250 10 10 10	
	60 61 62 63 64 65	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams Rent	ipping casualties ographs, books, ns ed with examina and water requisites (inclus, and rent of books, and rent of books,	newspape tions uding print xes	ers, and	20 250 10 10	
	60 61 62 63 64	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams	ipping casualties ographs, books, ns ed with examina and water requisites (include, and rent of books, and rent of books, and controlled installed.	newspape tions uding print xes	ers, and	20 250 10 10 10	
	60 61 62 63 64 65 66	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams Rent Telephone services maintenance, re Temporary assista	ipping casualties ographs, books, ns ed with examina and water requisites (inclusion, and rent of books, and rent of books, and calls) nce	newspape tions uding print xes llation, ext	ers, and ting and ensions,	20 250 10 10 10 600 200 200	
	60 61 62 63 64 65 66 67 68	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams Rent Telephone services maintenance, re Temporary assista Travelling allowan	apping casualties ographs, books, ns ed with examina and water requisites (inclusive, and rent of books, and rent of books, and calls) nce ces and expense	newspape tions uding print xes llation, ext	ers, and	20 250 10 10 10 600 200 200	
	60 61 62 63 64 65 66	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams Rent Telephone services maintenance, re Temporary assista Travelling allowan Contingencies, inc	apping casualties ographs, books, ns ed with examina and water requisites (including instant, and calls) nce ces and expense luding unforesee luding unforesees	newspape tions uding print xes llation, ext s en expendit	ers, and	20 250 10 10 10 600 200 200 200 *150 170	
	60 61 62 63 64 65 66 67 68	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams Rent Telephone services maintenance, re Temporary assista Travelling allowan	apping casualties ographs, books, ns ed with examina and water requisites (including instant, and calls) nce ces and expense luding unforesee luding unforesees	newspape tions uding print xes llation, ext s en expendit	ers, and	20 250 10 10 10 600 200 200 2120 *150	
	60 61 62 63 64 65 66 67 68	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams Rent Telephone services maintenance, re Temporary assista Travelling allowan Contingencies, inc	apping casualties ographs, books, ns ed with examina and water requisites (including instant, and calls) nce ces and expense luding unforesee luding unforesees	newspape tions uding print xes llation, ext s en expendit	ers, and	20 250 10 10 10 600 200 200 200 *150 170	
	60 61 62 63 64 65 66 67 68	inquiries into shi Advertising, photo other publication Expenses connected Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams Rent Telephone services maintenance, re Temporary assista Travelling allowan Contingencies, inc	apping casualties ographs, books, ns ed with examina and water requisites (including instant, and calls) nce ces and expense luding unforesee luding unforesees	newspape tions uding print xes llation, ext s en expendit	ers, and	20 250 10 10 600 200 200 200 *150 170 20	
	60 61 62 63 64 65 66 67 68	inquiries into shi Advertising, photo other publication Expenses connecte Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams Rent Telephone services maintenance, re Temporary assista Travelling allowan Contingencies, inc cidental to the of	ipping casualties ographs, books, ns ed with examina and water requisites (including instant, and calls) nce ces and expense luding unforesees ther items of the	newspape tions ading print xes llation, ext s en expendit	ers, and	20 250 10 10 10 600 200 200 200 *150 170	
	60 61 62 63 64 65 66 67 68	inquiries into shi Advertising, photo other publication Expenses connecte Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams Rent Telephone services maintenance, re Temporary assista Travelling allowan Contingencies, inc cidental to the contingencies.	apping casualties ographs, books, ns ed with examina and water requisites (including instant, and calls) nce ces and expense luding unforesee luding unforesees	newspape tions ading print xes llation, ext s en expendit	ers, and	20 250 10 10 600 200 200 200 *150 170 20	
	60 61 62 63 64 65 66 67 68	inquiries into shi Advertising, photo other publication Expenses connecte Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams Rent Telephone services maintenance, re Temporary assista Travelling allowan Contingencies, inc cidental to the co	ipping casualties ographs, books, ns ed with examina and water requisites (incluse, and rent of books, and rent of books, and calls) nce ces and expense luding unforesees their items of the decrease act, 191 ous	newspape tions uding print llation, ext s en expendite vote  Section 48	ers, and	20 250 10 10 600 200 200 200 *150 170 20	
	60 61 62 63 64 65 66 67 68	inquiries into shi Advertising, photo other publication Expenses connecte Fuel, light, power, Office-cleaning Office fittings and stationery) Postage, telegrams Rent Telephone services maintenance, re Temporary assista Travelling allowan Contingencies, inc cidental to the co	ipping casualties ographs, books, ns ed with examina and water requisites (inclus, and rent of books, and rent of books, and calls) nce ces and expense luding unforesees their items of the decrease and calls and calls are the second expense the second expense luding unforesees and expense ludi	newspape tions uding print llation, ext s en expendite vote  Section 48	ers, and	20 250 10 10 600 200 200 200 *150 170 20	

Number f Persons.	Item.	***************************************	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	A 185 (mar e		1922–	23.
922–23.	-   	VOTE No. 32.	MARINE DEP.	ARTMEN	T		
		Subdivision No.	VI.—Inspection of Survey of Ships.	Machine	ry and	£	£
	70	Salaries-					
		PRO	OFESSIONAL DIVISIO	N.			
		Class $A$ —					
1		1 at £725	***		•••	725	
	1 1	Class B—			£		
10		3 at £600	•••	•••	1,800		
10		7 at £550	•••	•••	3,850	- 0-0	
		Class C			E E E E	5,650	
14		11 at £505 3 at £485	•••	• • •	$\begin{bmatrix} 5,555 \\ 1,455 \end{bmatrix}$	1	
14:		Class D—	•••	•••	1,400	7,010	
		12 at £430			5,160	7,010	
14		2 at £410	•••	•••	820		
				***		5,980	
	1	Cı	LERICAL DIVISION.			,	
		Class VII				ļ	
		1 at £305	•••	•••	305		
2	l i	1 at £130	•••	•••	130		
		_				435	
4			ENERAL DIVISION.			140	
1		1 at £142	•••	•••	•••	142	
	1 1				-	19,942	
		Less second	deduction from cost	t-of-living	increase	15,542	
		or bonus				307	
		or bonus	•••	•••	•••		
						*19,635	
					-		
		•					
	1						
		Odlan Olaman fan					
	71	Other Charges for a	otographs, books,	nomonen	bee and		
	71	other publicati			ers, and	100	
	72	Collection of insp	nection fees	•••	• • • •	$\begin{array}{c c} 120 \\ 150 \end{array}$	
	73	Expenses couned	eted with examinat	ions	***	250	
	74	Fuel, light, power			•••	20	
	75	Office-cleaning	,		•••	20	
	76	Office fittings ar	nd requisites (includ	ding print			
		stationery)	•		•••	600	
	77	Postage, telegrar	ns, and rent of box		•••	400	
	78	Prosecutions und	ler the Inspection of		nery Act	20	
	79	Rent		•••	•••	130	
	80	Survey of unseav				10	
	81	Telephone servic	es (including install			000	
	90		rent, and calls)	•••	•••	200	
	$\begin{vmatrix} 82 \\ 83 \end{vmatrix}$	Temporary assis	ances and expenses	•••	•••	*196	
	84	Contingencies in	ances and expenses acluding unforeseer	 expendi	ture in-	5,000	
	OTE		other items of the			50	
	- 1	oraciton to the					
						7,166	
					-	26,801	
			ted credits under S		3 of the	26,801	
			ted credits under S Revenues Act, 1910		3 of the		

 $<sup>^{\</sup>ast}$  Includes cost-of-living increase to scale salaries or wages.

Number of Persons,	Item.	VOTE No. 32.—MARINE DEPARTMENT— continued.	1922-23.	
1922–23.		Subdivision No. VII.—Protection of Fish and Oysters.	£	£
4	85	SALARIES— PROFESSIONAL DIVISION. Class B—		
1		1 at £525	525	
		General Division. £ 1 at £325 325		
6		1 at £325	1,698	
30		Unclassified. 30 Inspectors: 3 at £40, 1 at £35, 5 at £25, 5 at £12, 7 at £10, 2 at £7 10/, 6 at £6, 1 at £5	466	
		Less second deduction from cost-of living in-	2,689	
		crease or bonus		
	86 87 88 89 90 91 92 93 94 95 96 97 98	Casual labour  Collection and distribution of brown-trout ova Expenses in connection with salmon hatcheries  Grant for maintenance of Portobello Fish-hatcheries Importation of edible crabs and lobsters  Maintenance and working-expenses of launches Office expenses Picking and sale of oysters (recoverable) Planting oysters (recoverable) Prosecution under the Fisheries Act, 1908 Purchase of nets and gear for sale to fishermen (recoverable) Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to the other items of the vote  Less estimated credits under Section 48 of the Public Revenues Act, 1910—  Sale of trout ova Sales of fishing-gear  Total—Subdivision No. VII	*2,637  200 50 1,000 750 250 500 30 5,000 500 10 50 8,890  11,527	11,327
1	99	Subdivision No. VIII.—Government Steamers.  SALARIES— PROFESSIONAL DIVISION.  Class A— 1 at £725 Less second deduction from cost-of-living increase or bonus	725	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages

Number of Persons.	Item.	VOTE No. 32-MARINE DEPARTMENT-	1922-	23.
1922-23.		continued.		
		Subdivision No. VIII—Government Steamers—contd.	£	£
	100	CHARGES FOR AND INCIDENTAL TO— Expenses connected with training-ship "Amokura" Working-expenses of Government steamers, including wages, maintenance, repairs, replacements, and other expenses incidental to their upkeep within or outside the Dominion—	500	
	101 102	Working-expenses and Repairs— S.s. "Hinemoa" S.s. "Tutanekai"	550 20,000	
		-	21,050	
		<del> -</del>	21,768	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910— Freight and passage-money	400	
		Total—Subdivision No. VIII		21,36
		Subdivision No. IX.—Miscellaneous Services.		
	103	Charges for and incidental to— Allowances to officers performing special or higher	100	
	104	duties Beacons, buoys, and lights at—	100	
	105	Waitapu, leading-lights Boatman's cottage, Rawene: Removal and re-erection	110	
		at Heads	500	
	106	Charts, saleable books, and forms (recoverable)	900	
	107	Checking overcrowding of steamers Contribution towards New Zealand's Sailors' Room,	500	
	100	England	25	
	109	Contribution towards salary of Wharfinger, Mokau Harbour Board	90	
	110	Expenses in connection with the Thames Harbour		
	111	Commission Grant for assistance to Mokau Harbour Board	320 150	
	112	Grant to Nelson Harbour Board for compensation on		
	110	readjustment of rating area	1,500	
	113	Maintenance of leading-lights, Piako River	75	
	114	Motueka Harbour (improvements)	500	
	$\begin{vmatrix} 110 \\ 116 \end{vmatrix}$	Nautical tables, preparation of New Zealand Nautical Almanac (part recoverable)	323 500	
	117	Relief of distressed seamen	50	
	118	Relief of distressed New Zealand seamen and others	30	
		in the United Kingdom	100	
	119 120	Removal of stranded whale from Paremata Beach Removing willows from Waiotu Stream (subsidy, £2	50	
	121	for £1) Rent, High Commissioner's Office, London, pro-	35	
	100	portion of	100	
	$\begin{vmatrix} 122 \\ 123 \end{vmatrix}$	Repairs to Beacon, Jackson's Head	250	
	11.25	Repairing and extending French Pass Wharf	45	

## MARINE AND HARBOURS AND INSPECTION OF MACHINERY DEPARTMENT—continued.

Number of Persons.	Item.		1922-	23.
1922-23.		VOTE No. 32—MARINE DEPARTMENT— continued.  Subdivision No. IX.—Miscellaneous Services—continued.	£	£
	125 126	CHARGES FOR AND INCIDENTAL TO—continued.  War medals and ribands for crews of mercantile marine vessels  Contingencies, including unforeseen expenditure incidental to the other items of the vote	100 50	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910— £ Sales: Nautical Almanac 400 Charts, &c 300	6,923	
		Total—Subdivision No. IX		6,223
		TOTAL—VOTE No. 32		132,290
	TOT	ΓΑΙ	£132,290	

#### DEPARTMENT OF LABOUR.

				1922–23.				
		<del></del> -	-	Salaries.	Othe	er Charges.	Total.	
ote No. 8	33.—I	Department of Labour		£ 25,269		£ 14,534	£	
	TO	OTAL		25,269		14,534	39,80	
Number of Persons.	Item.		<u> </u>			1922	<b>–23.</b>	
1922–23.	-  	DEPARTM	ENT OF LABO	UR.				
	1	VOTE No. 33.				£	£	
	-		RATIVE DIVISION	J.				
1		1 at £775 (Secretar Chief Inspector an	y, Registrar Ind	lustrial Uni	ons,	775		
			SIONAL DIVISION.					
1		Class D— 1 at £395		•••		395		
			<b>D</b>					
		Class II—	CAL DIVISION.					
1		1 at £525	•••	***		525		
2		Class III—	il vosa 1 for 9 m	antha' full ti	200			
2		2 at £480 (1 for fu and 6 months' h	alf time)		me,	720		
		Class IV—	······ ,		£			
		2 at £430	•••		860			
5		3 at £405	•••	1,	215	0.055		
1		Class V— 1 at £380				$\begin{array}{c} 2,075 \\ 380 \end{array}$		
1		Class VI—	•••	•••	•••	360		
3		3 at £330				990		
		Class VII—				!		
		2 at £305 (1 for fu	ll year, 1 for 11 i		585			
		4 at £275	•••		100			
		5 at £255	···	. 1,	275			
		1 at £245 (3 mont 4 at £235		•••	$62 \mid 940 \mid$			
		2 at £215	•••	•••	430			
		5 at £200	*	1.	000			
		1 at £130	•••	•••	130			
		3 at £105	•••		315			
29		2 at £90	•••	•••	180	0.015		
		Dout colonian of Area	one estine of Ola	mlra of Armoni	3.0	6,017		
		Part salaries of Offic 4 at £55		iks of Awar	220			
5		1 at £10	•••	•••	10			
9	1	~ ~~ <del>~</del> ~ ~ ~ .	•••	***		1		

 $<sup>\</sup>boldsymbol{*}$  For particulars of salaries see " Public Service Classification List."

#### DEPARTMENT OF LABOUR—continued.

Number of Persons.	Item.	DEPARTMENT OF LABOUR—continued.	1922–23.		
1922–23.	1	VOTE No. 33—continued. Salaries—continued.	£	c	
	1 1	SALARIES—continued.	at	${f \pounds}$	
		GENERAL DIVISION. £			
		2 at £385 770			
		4 at £370 1,480			
		2 at £350 700			
		2 at £340 680			
		4 at £335 (3 for full year, 1 for 2 months) 1,061			
		9 at £325 2,925			
		1 at £315 315			
		4 at £280 1,120			
		1 at £275 275			
		2 at £265 530			
	1	1 at £250 250			
		1 at £245 245			
		1 at £225 225			
	1	1 at £215 215			
		1 at £191 191			
		4 at £174 696			
		1 at £154 154			
		3 at £142 426			
		3 at £130 390			
		1 at £105 105			
		4 at £90 360			
53		$\begin{array}{cccccccccccccccccccccccccccccccccccc$			
00		1 20 20	13,188		
		T1	15,100		
		Unclassified.			
		3 at £625 1,875			
1		1 at £480 480			
6		2 at £107 214			
			2,569		
107		Lodging-allowances	114		
		Part salary Private Secretary Minister of Labour,	1 111		
		(paid to Railways Department)	208		
		(para to zimi wijo z spinimito)			
		,	28,186		
		Less proportion of increases provided for but			
	]	not payable for full year	234		
			27,952		
		Less proportion of salaries of officers partly	2,,002		
		engaged in Housing Branch and charged to			
		that vote	2,030		
			25,922		
		Less second deduction from cost-of-living in-	_0,022		
		crease or bonus	653		
		0.0000 0.2 0.0000			
			*25,269		
		OTHER CHARGES FOR AND INCIDENTAL TO-	20,200		
	2	Advertising, photographs, books, newspapers, and			
	_ ~	other publications	450		
	3	Allowance to police and other officers acting as	100		
	U	departmental agents	850		
	4	Allowances to officers temporarily performing special	000		
	ı.	or higher duties	10		
	5	Bicycles, motor-cycles, &c.— £	10		
	"	Maintenance of and repairs to 225			
		Purchase of 75			
		Lutonase of 10	300		
	a	Cost of special typewritten reports under the Indus-	500	•	
	6	trial Conciliation and Arbitration Act	OK		
!	-7	Donation to the funds of the North Canterbury	25		
į	7		10		
	1 1	Unemployment Committee!	10		

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

### DEPARTMENT OF LABOUR—continued.

1000.00	1			
	<del></del>	DEPARTMENT OF LABOUR—continued.		<del></del>
1922–23.		VOTE No. 33—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	8	Expenses, Medical Referees, under the Workers'	10	
	9	Compensation Act, 1908 Fares, board and lodging, and supplies advanced to	10	
		persons proceeding to employment (part recover-		
		able)	1,000	
	10	Fees— Payable to acting members of the Court of		
		Arbitration	717	
	11	Payable to assessors of Industrial Councils	3,100	
	12	To chairmen of Labour Disputes Investigation Committees	50	
	13	Freight, cartage, and transport charges	30	
	14	Fuel, light, and water	170	
	15	Grant in lieu of leave of absence (6 months) to Mr. T. Harle Giles, late Conciliation Commissioner,		
		Auckland · ·	308	
	16	Law-costs (part recoverable)	100	
	$\begin{vmatrix} 17 \\ 18 \end{vmatrix}$	Office fittings and requisites  Overtime and meal allowances	$\frac{200}{30}$	
	19	Postage, telegrams, and rent of letter-boxes	1,904	
	20	Printing and stationery	4,000	
	21	Purchase of boots and shoes under section 5 (3) of	5	
	22	the Footwear Regulation Act, 1913 Purchase of dwelling-house for official use (including	9	
		insurance, rates, and repairs of same)	20	
	23	Refund to Department of Industries and Commerce		
		of salary of Mr. P. Hally while acting as Conciliation Commissioner	119	
	24	Rent restriction: Valuations under War Legislation	110	
	25	Act, 1917	20	
	25	Telephone services (including installation, extensions, maintenance, rent, and calls)	290	
	26	Temporary assistance	20	
	27	Travelling allowances and expenses	6,500	
	28	Typewriters and other office appliances— Purchase and repairs	100	
	29	Weights and Measures Act— £	100	
		Administration expenses 430		
		Purchase of standard weights, measures, &c. 50 Repairs &c. of standard weights, measures, &c. 20		
		Repairs &c, of standard weights, measures, &c. 20	500	
	30	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	50	
			20,888	
		Less estimated credits under Section 48 of the		
		Public Revenues Act, 1910— £		
		Fares 500 Law-costs 50		
		Miscellaneous 200		
			750	
		Less reduction by Public Accounts Committee	20,138 5,604	
		-	14,534	
		TOTAL—VOTE No. 33		39,80

### DEPARTMENT OF LANDS AND SURVEY.

			•				199	<b>22</b> –23.	
		· <del></del>			Salaries	. (	)the	r Charges.	Total.
Vote No. 34.	—De	epartment of Land	s and Survey—		£			£	£
Subdivision	n I.–	-Department of La	nds and Survey		98,	814		65,645	164,45
		—Miscellaneous Se	•					40,983	40,988
"			7 0 0 0 0 0 3	•••				<del></del>	
T	ОТА	٠	•••	•••	98,	814		106,628	205,442
Number of Persons.	tem.	**************************************						1929	2–23.
1922–23.	 	VOTE No. 34	DEPARTMEN. AND SURVEY		OF LA	NDS			<u> </u>
		Subdivision No	I.—Department of		nde and	Sumo	,,	£	£
	,		Dopar unione of	2300	and and	Swice	9.		
	1	*SALARIES AI	OMINISTRATIVE DI	visio	N.				
1		1 at £1,001 (Under-Secretary); 1 at £920 (8 months, £615; 4 months, £330)						945	
			ROFESSIONAL DIVI	STON		,			
		Class A—	ROFESSIONAL DIVI	BIUN	•		e		
1	1	1 at £775	•••		•••		75		
0		6 at £725	•••		•••	$\frac{4}{3}$			
9	İ	2 at £675 $Class$ $B$ —	•••		•••	1,36	טט	C 455	
		1 at £675				6'	75	6,475	
		1 at £600	•••		•••		00		
		1 at £575	•••		•••		75		
		1 at £550	•••		•••		50		
5	İ	1 at £525	•••				25		
		Class C-						2,925	
		12 at £505	•••			6,0	60	2,020	
		5 at £470				2,3			
19		2 at £470					40		
		Class $D$ —						9,350	
	-	19 at <b>£</b> 430	•••			$8,1^{\circ}$	70	·	
		4 at £415				1,60			i
		4 at £410			•••	1,6			
		5 at £395	. •••			1,9			1
_		4 at £375			• • •	1,5	00		
37		_1 at £355	•••			3	55		1
		Class E-						15,300	
10		12 at £330	•••			3,9			
16	}	4 at £310	•••		• • •	1,2	40	r 000	
	1	Class F—					00	5,200	
		1 at £200	•••		•••		00		
		3 at £195	• • •				85		
İ		5 at £150 7 at £130	•••				50 10		
16									

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

Number of Persons.	Item.	VOTE No 84	-DEPARTMENT OF	L.A.N.T	OS ANT)	1922-	2 <b>3.</b>
			SURVEY—continued.	LIMI	DB AND	£	
		Subdivision No. 1	T.—Department of Lan continued.	ds and	Survey-	*	£
	1	Salaries—conti	inued.				
			CLERICAL DIVISION.				
1		Class I—		,	£		
2		1 at £625 1 at £575	•••	• • •	$egin{array}{c} 625 \ 575 \end{array}  $		
۵		Class II—	•••	• • • •	010	1,200	
		1 at £525	•••	•••	525	1,200	
2		1 at £500	•••	•••	500		
		Class III—			1 440	1,025	
4		3 at £480 1 at £455	•••	•••	$\begin{array}{c c} 1,440 \\ 455 \end{array}$		
#		Class IV—	***	•••	±00	1,895	
		14 at £430			6,020	,,,,,	
18		4 at £405	•••		1,620	- 0.0	
	!	Class V— 19 at £380			7,220	7,640	
		19 at £360	•••	•••	3,600		
35		6 at £345	•••		2,070		
		Class VI—				12,890	
		38 at £330	•••	• • •	12,540		
43		3 at £315 2 at £295	•••		945		
40	1	Class VII—	•••		590	14,075	
		53 at £305	•••		16,165	11,010	
56		3 at £295	***		885		
		Class VIII—			4 400	17,050	
		16 at £275	***		4,400		
		14 at £255 21 at £235	•••	•••	$ \begin{array}{c c} 3,570 \\ 4,935 \end{array} $		
		26 at £215	•••		5,590		
		40 at £205	•••		8,200	İ	
		1 at £200	,		200		
		5 at £150 54 at £130	• •	• • •	$\begin{array}{c} 750 \\ 7,020 \end{array}$		
		40 at £105	•••		4,200		
234		17 at £90	•••		1,530		
			0 5			40,395	
		4 at £430	GENERAL DIVISION.		1 700		
		8 at £425	***	•••	$\begin{array}{c c} 1,720 \\ 3,400 \end{array}$		
•	ļ	11 at £395	•••		4,345		
		3 at £375	. •••		1,125		
		1 at £360	•••		360	i	
		6 at ±345 1 at £335	•••	• • •	$\begin{bmatrix} 2,070 \\ 335 \end{bmatrix}$		
		3 at £330	•••		990	İ	
		1 at £315	•••		315		
		5 at £310	•••		1,550		
		6 at £305	•••	•••	1,830		
		5 at £300 1 at £295	•••		$egin{array}{c c} 1,500 & \\ 295 & \end{array}$		
		2 at £280	•••		560		
		4 at £275	•••	•••	1,100		
		1 at £265	•••	• • •	265		
		1 at £260	•••		260		
		2 at £250 1 at £235	•••	•••	500 235		
		1 at £230	•••		230		
		1 at £225		• • • •	225	1	
		9 at <b>£215</b>	•••		1,935		

Number of Persons.	Item.	VOTE No. 34—DEPARTMENT OF LANDS AND	1922-23.	
1922–23.	ĺ	${f SURVEY-} continued.$		
		Subdivision No. I.—Department of Lands and Survey— continued.	£	£
	1	Salaries—continued.		
		General Division—continued.		
		3 at £200 600	1	
		2 at £196 392		
		1 at £191 191		
	1	5 at £185 925	}	
	! !	9 at £174 1,566	]	
		2 at £155 · 310		
		23 at £142 3,266		
		1 at £135 135		
		5 at £130 650		
		2 at £120 240	Ì	
139		9 at £105 945	i	
~	_		34,365	
636		Cadets' lodging-allowance	2,080	٠
	-	Less—	175,255	
		Estimated amount of salaries not		
		required for the year 1,936		
	1	Second deduction from cost-of-		
		living increase or bonus 4,072		
		<del></del>	6,008	
			*169,247	
			100,211	
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Account, record, and other books (including cost of		
	: <u>A</u>	material, printing, and binding)	650	
	3	Advertising, photographs, books, newspapers, and	000	
		other publications	2,750	
	4	Classification and valuation of lands and special re-	_,,,,,	
	_	ports (estimated recoveries, £800)	1,050	
	5	Commission on money-orders	2,700	
	6	Contract and schedule surveys	3,000	
	7	Education Reserves: Expenses of management (es-	,,,,,,	
	i	timated recoveries, £600)	750	
	8	Equipment and wages of staff and survey parties	35,000	
	9	Freight, cartage, and transport charges	200	
	10	Fuel, light, power, and water	300	
		Grant to officers on retirement in lieu of leave of		
	11	absence— T. N. Brodrick, Under Secretary, Wellington	500	
	111	T. N. Brodrick, Under-Secretary, Wellington	500	
	$\mid 12 \mid$	A. J. Rossiter, Chief Clerk and Receiver of Land	ns l	
	19	Revenue, Hokitika	95	
	13	G. H. M. McClure, Commissioner of Crown Lands,	950	
	14	Wellington Inspection, management, &c., expenses of settlement,	358	
	T.T	forest, and flax lands—		
		Extra Rangers 3,430	-	
	i	Travelling-expenses, &c 11,250		
			14,680	
	15	Instruments, machinery, and plant	1,250	
	16	Insurances	50	
	17	Kauri-gum Industry Act, 1910—		
		Rangers' salaries, travelling and other expenses		
		(estimated recoveries, £200)	85	
	18	Land Boards: Fees to members, and including ex-		
	18	Land Boards: Fees to members, and including expenses in lieu of fees	3,750	
	18 19		3,750 150	

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

Number Persons.	Item.	VOTE No. 34.—DEPARTMENT OF LANDS AND	1922-	-23.
922–23.		SURVEY—continued. Subdivision No. I.—Department of Lands and Survey—	£	£
		continued.	2	<b>↓</b>
	21	Other Charges for and incidental to—continued.  Motor vehicles: Purchase and maintenance	900	
	22	Office-cleaning	100	
	23	Office fittings and requisites (including printing and	7 000	
	24	stationery) Overtime and meal allowances	7,000	
	25	Postage, telegrams, and rent of boxes	7,000	
	26	Premiums to teaching-surveyors (teaching survey cadets)	450	
	27	Rent	950	
	28	Telephone services (including installation, extensions,	050	
	29	maintenance, rent, and calls)	650	
		Extra clerks		
		$egin{array}{cccccccccccccccccccccccccccccccccccc$	*3,492	
	30	Temporary Surveyors and Parties— &		
		Extra surveyors )		
		Extra surveyors' assistants \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \		
			*2,977	
	$\begin{vmatrix} 31 \\ 32 \end{vmatrix}$	Travelling allowances and expenses	7,250 $200$	
	33	Trigs and standards, establishment and maintenance of Contingencies, including unforeseen expenditure in-	200	
		cidental to the other items of the vote	175	
			100,862	
		-	270,109	
		Less estimated credits under Section 48 of the Public	270,109	
	ļį	Revenues Act, 1910—		
		Services rendered to Stamp Duties Department 12,500		
		Administration expenses of National		
		Endowment Account 7,500 Administration expenses of Lands for		
		Settlement Account 15,000		
1		Native Land Settlement Account: Ser-		
		vices of Officers 17,750 Administration expenses of Hauraki		
		Plains Settlement Account 2,100		
'		Administration expenses of Rangitaiki Land Drainage Account 2,000		
		Land Drainage Account 2,000 Administration expenses of Swamp		
		Land Drainage Account 2,200		
;		Administration expenses of Kauri-gum Industry Account 625		
		Classification, &c., of lands 800		
		Computation of Tide Tables for Marine		
		Department 500   Discharged Soldiers Settlement Account		
		for management and other depart-		
		mental expenses 40,000 Education Reserves 600		
		Kauri-gum Industry Act, 1910 200		
		Map publication 800		
		Miscellaneous credits, representing charges for surveys, draughting work,		
		&c., performed for other departments,		
		survey fees, search fees, &c 3,075		
		I	105,650	

 $<sup>\</sup>ast$  Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 34.—DEPARTMENT OF LANDS AND SURVEY—continued.	1922–23.		
1922–23.	·	SORVE1—continued.			
		Subdivision No. II.—Miscellaneous Services.	£	£	
		CHARGES FOR AND INCIDENTAL TO-			
	34	Awaiti Canal and Road	90		
	35	Board of Examiners of Surveyors, grant to	350		
	36	Cemeteries—	50		
	37	Fencing, forming, and improving cemeteries	50		
	0,	Compensation for injuries to employees while in dis- charge of their duties, medical and other attendance			
		during illness, and contingent expenses in connection	Ì		
		with same	250		
	38	Compensation for land resumed under the Land Act,			
		1908, for scenery and other public purposes	50		
	39	Compensation to L. V. O'Shea for losses sustained in			
	1.0	connection with unseasonable forced sale of stock	100		
	40	Contribution to the Royal Geographical Society,	10		
	41	England	10		
	$\begin{vmatrix} 41\\42 \end{vmatrix}$	Crown lands draining, &c. (general)	50		
	12	Destruction of rabbits on Crown lands: Wages and other expenses	10,000		
	43	Other expenses Drainage—	10,000		
		La Fontaine Creek, Westland District (subsidy,	250		
	4.4	£1 for £1)	250		
	44	Erection of river-protective works to protect adjoining	100		
	45	lands (including supply of wire to settlers)  Exchange Crown lands for private lands, equality of	$egin{array}{c c} 100 \ 25 \end{array}$		
	46	Expenses of inquiries	20		
	47	Expenses in connection with the establishment of the	20		
	-	Gisborne Land District	500		
	48	Extinguishing fires: Charleston Coalfields (subsidy,	1		
		£1 for £1)	23		
	49	Fees to examiners, draughtsmen's examinations	10		
	50	Flax, planting of, on face diggings, Waiharara	100		
	51	Grant: Winton Borough Reserve, Southland	75		
	52	Grass-seed for Crown lands	750		
	53	Hauraki Plains Settlement Account: Rates on			
		unoccupied Crown lands—Section 5, Hauraki Plains Amendment Act, 1911	474		
		Kapiti Island—	1,1		
	54	Expenses of supervision and maintenance of oil-			
	.	launch	200		
	55	Fencing and improvements	400		
	56	Kea suppression, contribution to Department of Agri-	ļ		
		culture towards cost of	700		
	57	Lake Takapuna Board, expenses of	50		
	58	Lake Wanaka mail-service (subsidy)	25		
	59	Mackenzie County Plantation Reserves: Cost of	371		
	60	planting trees	911		
	30	and Tarawera Rivers (on account of £2,000)	785		
	61	Midland Railway Reserves: Refund of timber	.55		
		royalties to local authorities	5,830		
,	62	Mokau River Mail Service (subsidy)	25		
	63	Noxious weeds on Crown land, eradication of	1,500		
j	64	Oraka Creek Outfall: Cost of improving, clearing, and			
	0.5	snagging	50		
İ	65	Payment of capital value of land to be acquired in	F0		
,	ee l	lieu of post-office site (Wainui Domain)	50		
	66	Payment of compensation in connection with adjust-	oo l		
ļ	67	ment of boundaries, Section 68, Waikumete Parish	99		
	01	Payment of compensation for Native Land wrongfully sold by the Crown in the belief that same was			
	ĺ	Crown land—			
ļ		Ohinemuri, No. 6 Block 425			
		Sections 7 and 8, Parish of Komakorau 450			
		·	875		

Number of Persons.	Item.		1922-	-23.
1922–23.	 	VOTE No. 34.—DEPARTMENT OF LANDS AND SURVEY—continued.		
		Subdivision No. II Miscellaneous Services—continued.	£	£
		CHARGES FOR AND INCIDENTAL TO—continued.		
	68	Preventing encroachment of rivers on Crown reserves Protective Works—	50	
	69	Clarence River stock reserve	400	
	70	Small Grazing-run 102c	70	
	71	Rabbiting unlet Crown lands	300	
	72	Rangitaiki Land Drainage— Grant on account towards construction of main	90	
	73	Arterial Road through Rangitaiki Plains Rates on Unoccupied Crown Lands—	90	
	10	Rangitaiki Land Drainage Account (Section 6,	1	
		Rangitaiki Land Drainage Act, 1910)	200	
		Recreation-grounds and Domains—	200	
	74	Cobden Domain (subsidy, £1 for £1)	30	
	75	Fencing and improvement	50	
	76	Uretawa Domain Board (subsidy, £1 for £1)	50	
	77	Refunds for improvements effected	50	
	78	Removal of groynes, Waikato River	70	
	79	Removal of sunken and derelict logs, Northern		
		Wairoa River	300	
	80	Removing sunken logs from Kaihu River	115	
	81	Removing sunken logs from Mangawhara Stream	100	
	82	Repairs and alterations to buildings on Crown lands	50	
	83	Road Access—	50	
	84	Clarence Valley, Marlborough	50 200	
	85	Kurapete Road: Clearing slips, &c	50	
	86	To Lochinvar Run, Canterbury Kumara-Kapitea Road: Payment of compensation	30	
		and erection of fencing	224	
	87	Matiere Township	400	
	88	Moerangi Block	740	
	89	Motatau Extension Block	350	
	90	Ngatapa Block, access to	400	
	91	Omahu Block, Ohinemuri Survey District	750	
	92	Section 38, Block XV, Oparara S.D	200	
	93	Oparau Block	20	
	94	Pakuratahi Block	150	
	95	Purahotangahia Block: Completion of road forma-	232	
	96	tion Access to Pastoral Run 173, Canterbury: Bridge	202	
	50	over Broken River	250	
	97	Run 149a, Leatham Survey District	540	
	98	Run 107, Marlborough	150	
	99	Run 124, Marlborough (subsidy, £1 for £1)	100	
	100	Small Grazing-run 189 and Lease in Perpetuity 279,		
		Marlborough	70	
	101	Takahue-Whangape Block (on account of £2,000)	25	
	102	Henderson Block, Swanson: Grant, £500 (subsidy,	222	
	100	£3 to £1—£400) District	900	,
	103	Through Section 271, Waiawa Survey District,		
		being purchase of 5 acres for road and fencing	165	
	104	same Wharepunga Extension No. 3 Loan Block	75	
	104	Roading—	10	
	105	Sections 24 and 71, Tokatoka	150	
	106	Waitakaruru-Morrinsville Road	850	
	107	South Westland mail-steamer subsidy	600	
	108	Special rates to local authorities	100	
	109	Stewart Island: Interest on £2,000, part purchase-		
		money; annual payment, £160	270	
	110	Te Akau to Raglan ferry service (subsidy)	30	
	111	Tokanui-Haldane Road, Southland	300	

#### DEPARTMENT OF LANDS AND SURVEY—continued.

Number of Persons.	Item.		1922-	-23.
1922–23.		VOTE No. 34.—DEPARTMENT OF LANDS AND SURVEY—continued.		
1(22 25)		Subdivision No. II.—Miscellaneous Services—continued.	£	£
		Charges for and incidental to—continued.  Tokatoka Block—		
	112	Drain through Section 62, Block XVI, Tokatoka: Cost of acquisition, severance, &c	20	
	113	To Kowhai outlet-drain through Section 1, Block XVI, Tokatoka (subsidy)	250	
	114	Tokatoka, Nos. 1, 2, and 3 Blocks— Formation of roads and widening drains under		
	115	control of Otamatea County Council Widening and improving drains under control of	1,750	
	116	Raupo Drainage Board Tokatoka Swamp : Stopbank and drainage	950 200	
	117 118	Tokatoa Swamp drainage Travelling-expenses of W. T. Neill, Surveyor-General,	550	
	119	as New Zealand representative to Conference of Surveyors' Boards, Melbourne Value of improvements on pastoral and small grazing-	80	
		runs on expiry of license, payment of, to outgoing lessees	500	
	$\frac{120}{121}$	Waitakaruru-Pokeno Road Waitoa River: Snagging (above junction with Piako	400	
	122	River)	100 45	
	123 124	sidy, 10s. for £1) Wanganui River (improvement) Wanganui River mail service	2,500 1,705	
	$\frac{125}{126}$	Wanganui River mail service Water-supply (experimental tests) Water-supply for settlers, Tematai Road, Te Puke	50	
	127	(subsidy, £1 for £1) Westport-Karamea mail service, subsidy towards	580 300	
		I are commitments which will not be amounted	44,483	
•		Less commitments which will not be expended during the year	3,000	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910—	41,483	
		Miscellaneous	500	
		Total Subdivision No. II		40,98
		TOTALVOTE No. 34		205,442

TOTAL .... £205,442

### VALUATION DEPARTMENT.

						1	922–23.	
					Salarie	98. O	ther Charges.	Total.
Vote No. 3	5.—V	aluation		•••	£ 35,057		£ 7,296	£ 42,358
T	OTA]	<u></u>			35	,057	7,296	42,358
Number of Persons.	Item.						192	2–23.
1922–23.		VOTE No. 35.	VALUAT	ION.				
	1	*Salaries— A	.DMINISTRATIVE	: Divisio	N.		£	£
1	ļ	1 at £874 (al	so £81 Public	Service I	Board of	Appeal)	874	
			Unclas	SSIFIED.				
1		1 at £775 (P	resident of Ass	essment	Court)	•	. 775	-{ 
		Clara 7	CLERICAL D	ivision.				
1		Class I— 1 at £575		•••	•••		. 575	
2		Class II— 2 at £525		•••	•••	••	. 1,050	
2		Class III— 2 at £480	٠			•••	. 960	
		Class V— 7 at £380		•••	•••	£ 2,660		
9		1 at £360 1 at £345			•••	360 34 <i>8</i>		
11		Class VI— 11 at £330	)				3,365	
		Class VII— 15 at £305	<b>,</b>			4,578		
		2 at £295 3 at £275		•••		590 828	)	
		1 at £235		•••		238	5	
		2 at £215 2 at £205		• • •	* * *	430 410		
	Ì	2 at £130				260		
		1 at £105		•••		10	5	
29		1 at £90		• •	•••	90	- 7,520	
		Lodging-a	llowances	•••		•••	1 00	
			GENERAL D	ivision.				
	!	4 at £575	•			2,300		
	i	3 at £550			• • •	1,650		
	!	8 at £525 3 at £505		•••	•••	$\frac{4,200}{1,518}$		
		2 at £480			•••	960		
	1	7 at £455				3,188	ັ້	
	į	1 at £235			•••	238	ŏ	
		1 at £215			•••	$\frac{218}{1.144}$		
	1	6 at £191 2 at £174			•••	$\frac{1,140}{348}$		

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

#### VALUATION DEPARTMENT—continued.

Number f Persons.	Item.	VALUATIO	Ncontinue	ed.		1922-	23.
922-23.	 	VOTE No. 35—continued.			-	1	
022 20.	1	SALARIES—continued.				£	£
		BALARIES—continuea.	•				
		General Div	ision <i>contin</i>	nued.	£		
		2 at £142	•••		284		
		1 at £150	•••	•••	150		
		2 at £130	• • •	•••	260	1	
50		8 at £105	•••	•••	840	17 000	
100		T . 1 13				17,288	
106		Lodging-allowance	•••	• • •	•••	20	
		Less—				36,077	
		Proportion of in	creases to s	alaries		, , , ,	
		provided for	but not pa	ayable			
		during current		•••	330	1	
		Second deduction	i from cost-of	-living			
		increase or bo	nus		690		
						1,020	
	ĺ						
		2 2				*35,057	
		OTHER CHARGES FOR ANI			, , .  -		
	2	Advertising, books, n			l l	140	
	9	cations	•••	* * *	•••	140 600	
	3	Assessment Court experience Fees to valuers	nses	•••	•••	7,000	
	$\begin{vmatrix} 4 \\ 5 \end{vmatrix}$	Freight, cartage, and tr	ongnovt cher		••	7,000	
	6	Fuel, light, power, and		rges	•••	20	
	7	Law-costs	Waller	•••	•••	100	
	8	Maps and tracings, sched	dules of land t	transactio	ons. &c.—	100	
		New maps			£960		
		Maintenance			240		
						1,200	
	9	Office-cleaning				30	
	10	Office fittings and requ	isites (includ	ding prin	ting and		
	1	stationery)	•••	•••		1,800	
	11	Overtime and meal allo	wances	_ •••		50	
	12	Payment to Post and	Telegraph	Departi	ment for	100	
	1.0	services of officers		•••	•••	100	
	13	Postage, telegrams, and	rent of boxe		•••	1,400	
	14	Rent	* * *	•••	•••	50	
	15	Revision of districts	 Indina inatall	lation or	tongiona	2,000	
	16	Telephone services (inc.	idung matan	iadon, ex		280	
	17	maintenance, rent, a		•••		2,077	
	18	Temporary assistance Travelling allowances a	nd expenses	•••	•••	7,500	
	19	Typewriters: Purchase	and renairs	•••		50	
	20	Contingencies, includin	g unforeseer	n expend			
		cidental to the other	items of the	vote		10	
	}				\ <u>-</u>		
						24,457	
		Less estimated cre			8 of the	.	
		Public Revenu		<del></del>	_		
		Contributions fro			£ .		
		Land-tax Depa	artment		15,771	ļ	
		New Zealand	State Adv	vances	1 000		
		Office	m District W	oluces	1,000		
		Recoveries from					
		chased	f motor-cars	-	390		
		cnaseu	•••	•••	000	17,161	
						11,101	
						7,296	
		TOTAL	-VOTE No.	35			42,3
	1	,			}		,-

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### ELECTORAL DEPARTMENT.

							192	22-1923.	
•						Salaries.	Oth	er Charges.	Total.
ote No. S	36.—]	Electoral	• • •		•••	£ 3,6		£ 80,980	£ 84,65
Te	OTAI	i.	•••	•••	••• •••	3,6	578	80,980	84,65
Number of Persons.	Item.		The second secon				AND STATEMENT OF S	192	2–23.
1922-23.		VOTE No. 8	36.	ELECTO	DRAL.	r		£	£
	1	*SALARIES-		CLERICAL I	Division.				
1		Class II	 525		•••	•••		525	
1		Class V- 1 at £ Class VI	380			•••		380	
1		1 at £			•••		•••	200	
4		1 at £ 1 at £ 1 at £ 1 at £	191 154 142	General l	Oivision.   		£ 191 154 142 110	505	
7		For pay	ments o	f Registra	rs		• • •	2,010	
				luction fro	m cost-of-	living inc	rease or	3,712	
		bonus			•••	•••	• • •	+3,678	_
				•					_
	2 3		rni <b>t</b> ure,	FOR AND I fittings, & notographs	c.		 ora and	200	
	4	other Electors	publica l rolls,	tions formation		•••		20	
	5 6	Freight,	s of by- cartage	elections a, and tran		 ges		5,000 250 130	
	8	General			iter	••••	•••	50 25,000	
	9 10	Prepa Law-cos	ration a sts	nd printin	•••		•••	30,000	
	11 12			under Lice nittee elec		1908		10,000	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List." scale salaries or wages.

 $<sup>\</sup>dagger$  Includes cost-of-living increase to

### ELECTORAL DEPARTMENT—continued.

1922–23.	ELECTORAL—continued.		
1922–23.			
	VOTE No. 36.—continued.  OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Office requisites	£	£
1	Printing and stationery	5,000 2,500	
1	6 Rent 7 Representation Commission, expenses of	50 100	
	8 Travelling allowance and expenses 9 Telephone services (including installation, extensions, maintenance, rent, and calls)	250 100	
2	Contingencies, including unforeseen expenditure incidental to the other items of the vote	20	
	Less estimated credits under Section 48 of the	81,980	
	Public Revenues Act, 1910— Sale of rolls, &c	1,000	
	TOTAL—VOTE No. 36	80,980	84,65

#### DEPARTMENT OF AGRICULTURE.

							*	
						19	922–23.	
		- Annexes			Salarie	s. Oth	er Charges.	Total.
					£		£	£
sto No. 9	r7 /	Agriculture			156,	nen	95,751	251,81
ле но. э	, — E	_	•••	•••	·			
		TOTAL	•••	•••	156,	060	95,751	251 ,81
Number of Persons.	Item.			,			1929	2–23.
922-23.	<u></u>	}  VOTE No. 37.	AGRICULT	URE.				
		HEAD OFFICE-					£	£
	1	*Salaries—						
	1	ADM	INISTRATIVE		N.	£		
2		1 at £1,092 (Dire 1 at £775 (Assis	ector-Genera tant Directo	ıl) r-Gener	 al)	$1,092 \\ 775$		
_							1,867	
		Class A	FESSIONAL 1	JIVISION	•			
1		1 at £725	•	•••		•••	725	}
		Class B— 1 at £600			•••	600		
9		1 at £575		•••	•••	575		
3		1 at £525 Class C—	•	•••	•••	525	1,700	
3		3 at £450	•	•••	•••	***	1,350	
		Class D— 3 at £430			•••	1,290		
		1 at £410				410	ŀ	
		1 at £375		••		375	1	
7		1 at £355 1 at £340			•••	$\frac{355}{340}$		
•		Class E-		•	•••	340	2,770	1
2		2 at £330			•••	•••	660	
		Class F—.				1 075		}
		5 at £215 1 at £195		• • •	•••	$1,075 \\ 195$		
7		1 at £130				130		
		1					1,400	1.
			LERICAL DI	VISION.				
		Class II— 1 at £525				525		1
2			also Private	Secre	tarv.	020		
			lowance, £50		•••	525		
		(1) 777					1,050	
1		Class III— 1 at £480					480	
1		Class IV—		•••	•••	•••	±00	
2		2 at £430		•••			860	
		Class V—				0.000		
7		6 at £380 1 at £350 (9 r			•••	$\frac{2,280}{262}$		
,		1 00 2000 (3 1	nonuis)	• • •	* * *	202	$_{2,542}$	1

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

## ${\tt DEPARTMEN'T} \quad {\tt OF} \quad {\tt AGRICULTURE--} continued.$

Number f Perso <b>ns.</b>	Item.	AGRICULTU	1922–23.				
922–23.	<del></del>	VOTE No. 37—continued.					
		HEAD OFFICE—continued.				£	£
	1	Salaries—continued.					
		CLERICAL DIV	ision—cont	inued.			
•		Class VI—		•		0.070	
9		9 at £330 Class VII—	•••	•••	£	2,970	
		14 at £305		•••	$\frac{2}{4,270}$		
		1 at £295	•••		295		
	ļ	1 at £285			285		
		1 at £280		•••	280		
		1 at £275	•••	•••	275		
		4 at £265	•••		1,060		
		5 at £255	* * *	•••	1,275   705		
		3 at £235 6 at £200 (1 for 4 mc	inths)	•••	$705 \mid 1,067 \mid$		
		3 at £130			390		
		4 at £125	•••		500		
	-	1 at £120	•••		120		
	1	3 at £105	•••	•••	315		
		1 at £90			90		
50		2 at £70	•••	•••	140	11 00-	
		CIMINDA	L Division.			11,067	
		2 at £480	ייין סומוייד יי		960	1	
	1	1 at £380	•••	•••	380		
		3 at £375	•••		1,125		
		1 at £375 (4 months)			125		
	1	2 at £370	,		740		
		3 at £360	•••	• • •	1,080		
		1 at £330	• •••	• • •	330		
		1 at £330 (2 months)	•••		55		
		1 at £305 6 at £280			305 1,680		
	Ì	1 at £280 (2 months)		•••	47		
		1 at £270 (2 months)	•••		45		
		1 at £262			$2\overline{62}$		
		1 at £255	•••	•••	255		
		1 at £250			250		
		1 at £235		• • •	235		
		1 at £231	•••	•••	231		
	1	1 at £215	• • •	•••	215		
		3 at £191		•••	573		
		1 at £174	•••	•••	174		
		6 at £142 1 at £105	•••	•••	852 105		
		1 at £95	•••		95	1	
		1 at £90		•••	90		
43		1 at £75	•••	•••	75		
	-					10,284	
139				r		39,725	
		Less second dedu	etion from	cost-of-l	iving in-	00,140	
		crease or bonus				874	
					ŀ		
		Other Charges for and inc	iden <b>t</b> al to-	-		*38,851	
	2	Advertising, printing, s	tationery, a	nd photog	graphs	4,000	
	Q	Agricultural Instruction	n—			1,000	
	3 4	Agricultural instruct Co-operative Field Co- for Visitors—	op Experin	y nents and	Provision	1,000	
	5	Wages and other e Departmental Exhib	expenses oits at A. a	and P. As	ssociation	752	
		Shows—					

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

## ${\tt DEPARTMENT} \ \ {\tt OF} \ \ {\tt AGRICULTURE--} continued.$

	·				
Number	Item.	·	1000	00	
of Persons.	200121	${ m AGRICULTURE}-continued.$	1922– <b>23.</b>		
1922–23.		VOTE No. 37—continued.			
1922–20.		HEAD OFFICE—continued.	£	£	
				•	
		Other Charges for and incidental to—continued.			
,	6	Agricultural Investigations— Regrassing Denuded Lands—			
	0	Wages and other expenses	50		
	7	Vitality of seeds, particularly Chewing's Fescue	50		
	8	Bicycles, motors, and repairs	200		
	$\begin{vmatrix} 9 \\ 10 \end{vmatrix}$	Board of Agriculture	450		
	10	jured through duty at a poison-mixing depot	176		
		Contributions, Subsidies, and Grants—			
	11	Bonus for improvements in phormium-dressing ma-	200		
	12	chinery Contribution to Imperial Bureau of Mycology	200   250		
	13	Contribution to Imperial Bureau of Entomology	400		
	14	Contribution towards cost of printing report of New			
		Zealand Council of Agriculture	25		
	15	Grant in connection with repairs to Levin water-	100		
	16	Grant towards expenses Canterbury Seedgrowers'	100		
		Association	100		
	17	International Institute of Agriculture, contribution	000		
	18	to and cost of representation at Lincoln Agricultural College, in connection with	200		
	.LO	plant breeding and selection (seed wheat and oats)	500		
	19	Moa Seed Farm Association	300		
	20	Model dairy farm and experimental area, Stratford	400		
	$\begin{array}{c c} 21 \\ 22 \end{array}$	Steamer service, Westport-Karamea  Distribution of pure seed wheat (recoverable)	$\begin{array}{c} 100 \\ 100 \end{array}$		
	23	Expenses of officer of High Commissioner's Staff	100		
		visiting New Zealand with a view to becoming			
	0.4	familiar with local produce and trading conditions	450		
	24	Expenses of Standing Produce Committee (including New Zealand Wool Committee)	100		
		Experimental and Instructional Farms: General	100		
		Working, Rent of Land, Buildings, Purchase of			
		Stock, Provision for Visitors, and Salaries of			
		Student Assistants, Learners, Special Instructors, and Domestic Assistants,—			
	25	Moumahaki—			
		Wages and other expenses	3,850		
	26	Ruakura— Wagas and other expenses	10, 200		
	27	Wages and other expenses Weraroa—	10,200		
		Wages and other expenses	6,000		
	28	Ashburton—	75A		
	29	Wages and other expenses Waimaunga (West Coast, S.I.)—	750		
	] ""	Wages and other expenses	700		
		Experimental Areas—			
	30	North Auckland Gum Lands—	20		
	31	Wages and other expenses · Puwera—	20		
		Wages and other expenses	1,000		
	32	Albany—	150		
	33	Wages and other expenses	150		
	úυ	Wages and other expenses (part recoverable)	500		
	34	Galloway	1		
	0.5	Wages and other expenses	600		
	35	Winton— Wages and other expenses	800		
	36	Gore—	300		
		Wages and other expneses	350		
	37	Lucerne Areas—	40		
	1	Wages and other expenses	40		

#### DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.		1922	-23.
1922–23.	-  <u></u> ]	${ m AGRICULTURE} continued.$	1	
1522-20.		VOTE No. 37—continued.	£	£
		Head Office—continued		
		Other Charges for and incidental to—continued.		
	38	Experimental seeds and plants for distribution	20	
	39	Freight, cartage, and transport charges	100	
	40	Grading grain	50	
	41	Laboratories— Biological Laboratory and Seed-testing station	500	
	42	Chemical Laboratory	300	
	43	Law-costs	25	
	44	Lime production: Development of	20	
	1,5	New Zealand Hemp Industry—		
	45	Grading New Zealand hemp	50	
	46	Investigations respecting yellow-leaf disease affecting flax	150	
	47	Postage, telegrams, and rent of boxes	8,250	
	48	Preparation and distribution of publications	5,500	
	49	Promotion of sale of New Zealand produce in outside	,	
		markets	350	
	50	Purchase of books, newspapers, and other publications	450	
	51	Purchase of stud stock, including expenses of import-	50	
	52	ation (part recoverable)	50 300	
	53	Rents of Offices in New Zealand and abroad, Fuel,	500	
		Light, Water, Furniture, Office Requisites, In-		
	+	surance, Cleaning Offices, Outbuildings, Yards,		
		and Approaches—		
	٠, ١	Wages and other expenses	1,747	
	54	Telephone services (including installation, extensions,	900	
	55	maintenance, rent, and calls) Temporary assistance	$300 \mid *2,565 \mid$	
	56	Travelling allowances and expenses	6,000	
	57	Upkeep and Improvement of Buildings and Fences	.,	
		on Departmental Reserves and Grounds—		
		Wages and other expenses	175	
	58	Contingencies, including unforeseen expenditure incidental to the Head Office items of the vote	100	
		cidental to the Head Office Items of the vote		
		Live-stock Division—	61,915	
	59	Salaries—		
		Professional Division.		
1		1 at £775 (Director)	775	
		Class B—		
5		$egin{array}{cccccccccccccccccccccccccccccccccccc$		
9		Class C— 515	2,975	
		9 at £505 4,545	2,010	
		3 at £470 1,410		
15		$3 \text{ at } £450 \qquad \dots \qquad 1,350$	- 00×	
		Class D— —————————————————————————————————	7,305	
		2 at £430 860 1 at £430 (4 months) 143		
	i	3 at £410 1,230		,
7		1 at £375 375		
·		CLERICAL DIVISION.	2,608	
		Class IV—		
1	!	1 at £430	430	
		Class VI—		
1		1 at £330	330	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages,

Vumber Persons.	Item.	AGRICULTURE—continued.				1922-	23.
922–23.	 	VOTE No. 37—continued					
		LIVE-STOCK DIVISION—continu	$\iota ed.$			£	£
	59	Salaries—continued.					
	0.5						
		CLERICAL DIVISIO	)NCONU	inuea.	£		
		3 at £305	•••		915		
		1 at £255	•••	• • • • • • • • • • • • • • • • • • • •	255		
		1 at £215 1 at £200	•••		$\begin{array}{c c}215\\200\end{array}$		
7		1 at £115 (1 month)	•••		10		
		General D	ITTETON			1,595	
		4 at £480	···		1,920		
		17 at £430	•••		7,310		
		1 at £430 (4 months) 1 at £430 (5 months)			143 180		
	ļ	7 at £380		••	2,660		
		8 at £370	• • .		2,960		
		1 at £367 7 at £360	•••	•••	$\begin{bmatrix} 367 \\ 2,520 \end{bmatrix}$		
		1 at £355		•••	355		
		1 at £350			350		
		1 at £338 37 at £330			338 12,210		
		3 at £325		••	975		1
		12 at £320			3,840		
		19 at £315 6 at £310	• • •		5,985 1,860		
		4 at £305		•••	1,220		
•		3 at £295			885		
		16 at £290 9 at £285		•••	$\frac{4,640}{2,565}$		
		3 at £280			840		
	i	6 at £275		•••	1,650		
		6 at £265 2 at £255	• • •	•••	1,590 510		
		2 at £250		•••	500	İ	
		4 at £245		••	980		
		1 at £240 (11 months) 1 at £235	• • •	•••	220 235		
		11 at £231 (1 for 4 months		•••	2,387		
		1 at £225	•		225		
		1 at £223 1 at £220	• • •	•••	223 220		
		1 at £210		•••	210		
		1 at £207		• • •	207		
201		1 at £174 1 at £155	•••	•••	$egin{array}{c c} 174 & 155 & \end{array}$		
201		1 20 2100	•••	•••	100	63,609	
1		1 Inspector of Manure-ster	rilizing	•••		525	
239						90 150	
209		Less second deduction	on from	cost-of-l	iving in-	80,152	
		crease or bonus	•••			1,673	
						*79 170	
	i	Other Charges for and incider	ıtal to—			*78,479	
	60	Bicycles, motors, and repa	irs	•••		1,000	
	g1	Destruction of Noxious We Destruction of Noxious		n Nativo	Landa		
	61	Wages and other expe				200	
	62	Wages and Expenses in c	onnectio	n with De	struction		
		of Noxious Weeds—				050	
		Wages and other expe	пвев	•••	•••	250	
	63	Destruction of Rabbits, (					-
		Poison-mixing Depo					

#### DEPARTMENT OF AGRICULTURE—continued. Number Item 1922-23.of Persons. AGRICULTURE—continued 1922-23, VOTE No. 37—continued. £ £ LIVE-STOCK DIVISION—continued. Other Charges for and incidental to—continued. Destruction of Rabbits—continued. 64 Destruction of Rabbits on Crown Lands— Wages and other expenses 10,000 65 Destruction of Rabbits on Native Lands-Wages and other expenses 7,500 Diseases of Livestock— Applying tuberculin test to cattle and disposing of 66 diseased stock 150 Experiments in connection with bush-sickness and 67 allied troubles 100 Inoculation of Calves for "Black-leg"-68 Wages and other expenses 125 69 Expenses in connection with control of cattle-tick, and provision for caretakers at crossing places ... 500 70 Subsidies to cost of erection of cattle-dips 3,400 Destruction of the kea 71 1,500 Experimental Farm, Mamaku: General Working, 72Buildings, Purchase of Stock, and Provision for Visitors-Wages and other expenses ... ... Inspection of Manure-sterilizing (Australia and India): Labour, Travelling, Office, and other 1.25073 Expenses-Wages and other expenses 750 74Inspection of meat 75075 Law-costs 75 Poultry farms-Avonhead: General Working, Buildings, Purchase of Birds and Material, and Provision for 76 1,550 Wages and other expenses Plant transferred from Milton Poultry 1.630 77 Milton: General Working, Buildings, Purchase of Birds and Material, and Provision for Visitors-Other expenses 30 Preparation of wool specimens for instructional pur-78 poses 25Quarantine Stations, Auckland, Wellington, and 79 Lyttelton-Wages and other expenses 1,450 80 Removal expenses 1,000 Shortage in accounts of G. A. E. Sands (deceased), 81 Inspector of Stock at Lumsden 10 82 Telephone services (including extensions, maintenance, rent, and calls) ... 500 \*3,719 83 Temporary assistance ... ... Travelling allowances and expenses 84 18,000 ... 85 Veterinary Laboratory: General Working, Land and Buildings, and Investigation of Diseases— Wages and other expenses 575 86 Contingencies, including unforeseen expenditure incidental to the Live-stock Division items of the vote 40 64,029 HORTICULTURE DIVISION-87 Salaries— PROFESSIONAL DIVISION. Class A-1 at £700 700 1 Class C-

470

1 at £470

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.	AGRICULTURE	-cont	inued.		1922-	23.
1922-23.		VOTE No. 37—continued.					
		Horticulture Division—con	tinued.			£	£
	87	Salaries—continued.					
		CLERICAL D	TV1010	•			
		Class V—	IVISION				
1		1 at £380	•••	•••	•••	380	
1		Class VI— 1 at £330		•••	•••	330	
		Class VII—			£		
		1 at £305 1 at £150	•••	•••	305 150		
		1 at £125	•••	•••	125		
5		1 at £105 1 at £75	•••	•••	105 75		
J		I at \$10	•••	***		760	
		GENERAL D	ivision	۲.	400		
		1 at £420 1 at £415	•••	•••	$\begin{array}{c} 420 \\ 415 \end{array}$		
		1 at £385	•••		385		
		5 at £375		•••	1,875		
		1 at £360 1 at £355	•••	•••	360 355		
		1 at £350	•••	•••	350		
		4 at £345		•••	1,380		
		7 at £325 2 at £305	•••	•••	$\begin{bmatrix} 2,275 \\ 610 \end{bmatrix}$		
		1 at £305 (5 months)	••	•••	127	·	
		1 at £305 (3 months)	•••	•••	77		
		1 at £300 4 at £295	• • •	•••	300 1,180		
		2 at £275 (1 at 3 months)			344		
		1 at £275 (2 months)		•••	46		
	1	1 at £270 2 at £255 (1 at 6 months)	•••	•••	$\begin{array}{c} 270 \\ 382 \end{array}$		
		1 at £250	• • • •	•••	250		
		2 at £223 (1 at 6 months)	•••	•••	335		
		2 at £207 (1 at 6 months) 1 at £191	•••	•••	311 191		
		1 at £142 (8 months)	•••	•••	95		
45		1 at £105 (6 months)	•••	•••	52	10.005	
54	-					12,385	
<u> </u>	-	Tora gooond doductio	n fuar	n anak af lin		15,025	
		Less second deduction crease or bonus				319	
						*14,706	
		Other Charges for and incident Apiary Industry—	tal to-	_			
	88	Establishment of queen	-rearin	g apiary, T	auranga		
	89	Horticultural Station Purchase of beekeeping	• • •	•••		50	
	09	experiments, &c.	, 16qu	isites, illate		25	
	90	Subsidy, National Beeke Zealand (£1 for £1)	epers'	Association		100	
	91	Bicycles, motors, and repa Fruit Industry—		•••	•••	1,500	
	92 93	Collection of orchard tax Compensation to nursery				250	
	00	with fire-blight quaran		. 1000 111 001		2,108	
	94	Control of fireblight dise	asè	•••	•••	1,000	
	95	Co-operative fruit-testing Experimental orchard, P			•••	50 450	
	97	Fumigation and destruct	ion of	diseased fru	it	275	
	98	Guarantee on shipments				12,000	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### DEPARTMENT OF AGRICULTURE—continued.

Number f Persons.	Item.	${\bf AGRICULTURE-} continued.$		1922-	23.
922–23.	<u> </u>	VOTE No. 37—continued.			
		HORTICULTURE DIVISION—continued.		£	£
		Other Charges for and incidental to—continued.			
	00	Fruit Industry—continued.  Purchase of orchard requisites, fruit for ex	novi		
	99	$\mathrm{ments, \&c.} \qquad \ldots \qquad \ldots$		25	
		Horticultural Stations: Rent of Land, General V			
		ing, Buildings, Purchase of Stock, Provisio Visitors, and Salaries of Learners, Specia	l In-		
		structors, and Domestic Assistants,— Arataki—			
	100	Wages and other expenses		350	
	101	Tauranga—		450	
	101	Wages and other expenses $\cdots$ Te Kauwhata—	***	450	
	102	Wages and other expenses (recoverable)		4,000	
	103 104	$egin{array}{lll}  ext{Law-costs} & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & $		30 500	
	105	Telephone services (including installation, extens			
	106	maintenance, rent, and calls) Temporary assistance		*1,170	
	107	Travelling allowances and expenses		4,800	
	108	Contingencies, including unforeseen expenditur cidental to the Horticulture Division items of	e in-   f the		
	i	vote		25	
				29,233	
	100	Dairy Division—			
	109	Salaries— Professional Division.			
-		Class A—		700	
1		$1 \ { m at} \ \pounds 700 \ ({ m Director}) \qquad \dots \qquad \qquad \dots \\ Class \ B \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad$	•••	700	
1	1	1 at £525	•••	525	
		CLERICAL DIVISION.			
1		Ulass V 1 at £380		380	
-		Class VII—	£	900	
		2 at £305 1 at £295	610 295		
		2 at £275 (1 at 4 months)	367		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{bmatrix} 510 \\ 215 \end{bmatrix}$		
		1 at £125	125		
16		4 at £120 $3$ at £105 (1 at 3 months)	480 236		
10		,		2,838	
		GENERAL DIVISION. 1 at £700 (6 months, in London)	350		
		16 at £480 $\dots$ 7	,680		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	450 ,580		
		2 at £395	790		
			,520		
		2 at £375 2 at £370 (6 months)	750 370		
		1 at £360	360		
		2 at £330 8 at £305 2	660 ,440		
		5 at £300 1	,500		
53		1 at £290 2 at £142	$\begin{array}{c} 290 \\ 284 \end{array}$		
		•		20,024	
72	-			24,467	
		Less second deduction from cost-of-living crease or bonus	in-	443	
			}	*24,024	

\* Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	${ m AGRICULTURE-} continued.$	1922-	-23.
1922–23.	ļ	VOTE No. 37—continued.		
1022-20.		DAIRY DIVISION—continued.	£	£
		Other Charges for and incidental to—	i	
		Bicycles, motors, and repairs		
	$\begin{vmatrix} 110 \\ 111 \end{vmatrix}$	Cow-testing Associations (recoverable) Grading of dairy-produce—	3,600 600	
	112	Wages and other expenses (recoverable)	000	
	113	Law-costs Payment of fees for semi-official testing of purebred	$\begin{array}{c c} 400 \\ 25 \end{array}$	
	114	dairy cows in Nelson District (recoverable)	20	
	115	Purchase of dairy requisites and produce for experi-	150	
	115	ments (recoverable) Removal expenses	300	
	116	Removal expenses of Dairy Produce Officer from	200	
	117	New Zealand to London Semi-official testing of pure-bred dairy cows	500	
	118	Telephone services (including installation, exten-	250	
	119	sions, maintenance, rent, and calls)	100	
	120	Temporary assistance (part recoverable)  Travelling allowances and expenses	120 *7,751	
	121	Contingencies, including unforeseen expenditure inci-	9,546	
	122	dental to the Dairy Division items of the vote	15	
	İ		23,457	
			20, 401	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910—	334,694	
	ļ	Head Office— £		
		Salaries 600		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		Publications 2,000	ł	
		24,800		
		Live-stock Division—		
	,	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		Destruction of rabbits: Depart-		
		ment of Lands and Survey 10,000		
		Destruction of rabbits: Native Department 7,500		
		Farm areas 1,000		
		Quarantine-stations 600		
	;	31,600	İ	
		Horticulture Division— Farm areas 6,000		
		Fumigation and destruction of		
		fruit 200		
		Collection of orchard-tax 500		
		6,700		
		Dairy Division— Cow-testing 5,150		
		Grading of dairy-produce 11,900		
		Dairy instruction 2,733		
		19,783	00,000	
			82,883	
	<u> </u>	TOTAL—VOTE No. 37		251,81
	TO	ΓAL	£251,811	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

# TOURIST DEPARTMENT.

		· 		19	922–23.	
			Sala	ries. Otl	ner Charges.	Total.
Vote No. 3	8.—T	ourists	3	£ 4,080	£ 40,149	£ 74,229
	,	TOTAL	3	4,080	40,149	74,229
Number of Persons.	Item.	TOURISTS.			1929	2–23.
1922–23.	1	VOTE No. 38.  *Salaries—  Administrative Divi	sion.		£	£
1		1 at £775 (General Manager)	• • • • • • • • • • • • • • • • • • • •		775	
1		Professional Divis  1 at £956 (Balneologist)	ion.		956	
1		Class D 1 at £525		·	525	
1		CLERICAL DIVISION Class I—  1 at £375 (also Department Commerce, £300)		stries and	375	
3		Class III—  2 at £480  1 at £330 (also Department dustries and Commerce, £1	of In- 00, and	£ 960		
6		Customs, £50)  Class V— 6 at £380	•••	330	1,290 2,280	
2		Class VI— 2 at £330	••• •••	•••	660	
18		Class VII— 6 at £305 1 at £295 1 at £255 1 at £235 4 at £215 2 at £200 3 at £105		1,830 295 255 235 860 400 315	4 100	
		Cadets' lodging-allowances	•••		4,190	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

# ${\bf TOURIST} \quad {\bf DEPARTMENT--} continued.$

Number of Persons.	Item.		OIIDIOMO	7		1922-	23.
1922–23.			OURISTS—continue	ed.	-	1	
		VOTE No. 38—co	ntinued.			£	£
	1	SALARIES—contin	nued.				
			GENERAL DIVIS	ON	£		
		1 at £405	OENERAL DIVIS		$\overset{\mathfrak{x}}{405}$		
		1 at £380	•••	•••	380	•	
		1 at £335 4 at £330	•••	•••	335		
		2 at £320	•••	•••	$\begin{array}{c c} 1,320 \\ 640 \end{array}$		
		1 at £300	***	•••	300		
		1 at £290	•••	•••	290		
		2 at £285 3 at £280	•••	•••	570 840		
		1 at £270	•••	•••	270		
		4 at £262	•••		1,048		
		3 at £260 2 at £255	***	•••	780		
		2 at £250	•••		510 500		
		2 at £246	•••		492		
		4 at £240	•••	•••	960		
		6 at £239 2 at £235	•••	•••	1,434 470		
		7 at £230	•••	•••	1,610		
		6 at £223	•••	•••	1,338	-	
		7 at £220 3 at £215	•••	•••	1,540		
		1 at £200	•••		$\begin{array}{c c} 645 \\ 200 \end{array}$		
		1 at £195			195		
		1 at £190	•••	•••	190		
		1 at £185 1 at £180	•••	•••	185 180		
		3 at £174	•••	•••	522		
		1 at £165	•••		165		
		1 at £145	•••	•••	145		
		5 at £140 2 at £135	•••	• • •	$\begin{array}{c} 700 \\ 270 \end{array}$		
		4 at £130	•••	•••	520	-	
		4 at £125	•••	•••	500		
		1 at £120 3 at £105	•••	•••	120		
95		1 at £75	•••	•••	$\begin{bmatrix} 315 \\ 75 \end{bmatrix}$		
			•••			20,959	
		to retirement months), 1 a	ance cers (8) granted leav nt: 1 at £262 (1 mo nt £239 (1 month), 2 at £220 (	onth), 1 a at £235 (1	t £260 (2 month),	180	
			Unclassified.				
		1 at £241	CLERICAL DIVISION.		£		
			Department of Ind	ustries	241		
		and Comr	nerce, £50)		50		
3		1 at £25	•••	•••	25	316	
		1 / 0004	GENERAL DIVISION.			910	
		1 at £234 1 at £230	•••		234		
		3 at £220	• * *	•••	230 660		
		1 at £205	***	•••	205		
		1 at £204		•••	204		
	1	1 at £193			193		

## TOURIST DEPARTMENT—continued.

Number of Persons.	Item.	TOURISTS—continued.	1922-	-23.
1922–23.		VOTE No. 38continued.	£	£
	1	Salaries—continued.	æ	<b>ತ</b> ಲ
		Unclassified—continued.	ļ	
		GENERAL DIVISION—continued. £		
	İ	1 at £150 150		
		1 at £146 146		
		1 at £126 126		
	Í	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	İ	
	i	1 at £107 110		
		3 at £100 300		
19		1 at £70 70		
	-		3,020	
150		•		
		Less-	35,626	
		Amounts deducted for board, &c 390	1	
		Proportion of increases to salaries pro-		
		vided but not payable for full year 119 Second deduction from cost-of-living		
,		increase or bonus 945		
			1,454	
		·		
	İ		*34,172	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Advertising, photographs, books, newspapers, and		
		other publications	2,000	
	3	Allowance to officers temporarily performing special or higher duties	175	
	4	D 1	10	
	5	Claims in connection with passenger booking	5	
	6	Compensation to A. Armstrong for loss of employ-	•	
	_	ment	125	
	7	Entertaining-allowances for oversea agents (2)	140	
	8	Fox and Franz Josef Glaciers: Tracks and huts	100	
	9	Freight, cartage, and transport charges	30	
	10	Fuel, light, power, and water	100	
	11	Glade House and Te Anau-Wakatipu-Milford Track— Maintenance, including furniture and repairs	0.447	
		Grants in lieu of leave of absence on retirement—	2,447	
	12	W. H Frethey, Chief Clerk, Wellington	118	
	13	T. Roberts, Launchmaster, Te Anau	38	
		Lakes Te Anau and Manapouri—		
	14	Maintenance of steamers and jetties, including		
		repairs	500	
	15	Maintenance of hostels, baths, or reserves at Little		
		Barrier Island, Waiotapu, Te Puia, Tokaanu, Morere, Tarawera, Pukaki, and Te Anau, and		
	+	reserves vested in Department	500	
	16	Manapouri-Doubtful Sound Track: Maintenance of		
		huts and tracks	20	
		Mount Cook Hermitage Hostel, Tracks, and Huts—	1	
	17	Maintenance, including guiding, equipment, furni-		
	10	ture, and repairs	1,955	
	18	Office-cleaning	250	
	19	Office fittings and requisites (including printing and	750	
	20	stationery) Overtime and meal allowances	50	
	$\frac{20}{21}$	Postage, telegrams, and rent of boxes	550	
	22	Purchase of material, &c., in Australia for Govern-	355	
	1	ment Departments, to establish a credit for (re-		
		coverable)	50	
		Queenstown Reserves—		
	23	Maintenance, improvements, music, &c	110	

 $<sup>\</sup>boldsymbol{\ast}$  Includes cost-of-living increase to scale salaries or wages.

## TOURIST DEPARTMENT—continued.

Number of Persons.	Item.	TOURISTS—continued.	1922-	23.
1922–23.	 	VOTE No. 38—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	~	~
	24	Rents of overseas offices	950	
	25	Rotorua Acclimatization District—		
		Maintenance, including bonuses to honorary		
	20	rangers	650	
	26	Rotorua Baths—	4 000	
	0.77	Maintenance, including furniture and repairs	4,968	
	27	Rotorua Sanatorium— Maintenance, including wines, spirits, furniture,		
		supplies, and repairs	4,914	
		Rotorua Works, including Whakarewarewa—	1,011	
		Maintenance of—	*	
	28	Electric light and power system	1,961	
	29	Reserves, gardens, parks, and bands or orchestra	1,000	
	30	Water-supply and sewerage	4,161	
	31	Wharves and beacons	25	
		Subsidies—		
	32	Accommodation-house, Waimarino	50	
	33	Coach, motor, and steamer services—		
		Fairlie-Pukaki-Hermitage-Queenstown 790	İ	
		Lake Wanaka 30		
		Lumsden-Te Anau 150 Waimarino-Tokaanu 200		
		M M1		
		Dana Walka Canna Wakalaa		
	1	Ross-Waino Gorge-Weneka 250	1,620	
	34	Egmont National Park and Domain Board	200	
	35	Lindis Pass Hotel	33	
	36	New Plymouth Tourist and Expansion League	75	
	37	Te Aroha Hot Springs—		
	1	Maintenance of baths, gardens, tea-kiosk, subsidy		
	İ	to doctor, music, furniture, and repairs	1,495	
	38	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	250	
	39	Temporary assistance	250	
	40	Tongariro National Park: Maintenance, &c.	300	
	41	Travelling allowances and expenses	400	
	42	Typewriters: Purchase and repairs	1 007	
	43	Waikaremoana: Maintenance of Lake House	1,987	
	44	Waimangu Round-trips and Hostel— Maintenance and repairs, hostel, furniture, boat-		
		shed, boats, and tracks	800	
	45	Waitomo Caves and Hostel—	000	
	. 10	Maintenance, including furniture and repairs	3,957	
	46	Contingencies, including unforeseen expenditure in-	-,	
		cidental to the other items of the vote	50	
		-	40,199	
		-		
		Less estimated credits under Section 48 of the	74,371	
		Public Revenues Act, 1910—		
	:	Salaries of officers performing Post-		
		office duties 67		
		Officer performing duty for Lands		
		and Survey Department 25		
		Purchase of material, &c., in Aus-		
		tralia for Government Depart-		
		ments 50		
		·	142	
		MOMAT NOME N - 90		
		TOTAL—VOTE No. 38		74,2

## DEPARTMENT OF EDUCATION.

	1922–23.				
<del></del>	Salaries.	Other Charges.	Total.		
Vote No. 39.—Education Department—	£	£	£		
Subdivision I.—Head Office	2 <b>6</b> ,682	3,700	30,382		
EDUCATIONAL AGENCIES.	<b>4</b>		***************************************		
Subdivision II.—Elementary Education	29,335	1,668,380	1,697,715		
" III.—Secondary and Higher Education	1,385	209,720	211,105		
" IV.—Technical Instruction	2,003	124,970	126,973		
" V.—Training of Teachers	•••	148,310	148,310		
" VI.—Native Schools	55,335	8,060	63,395		
" VII.—School buildings, furniture, and sites	•••	153,210	153,210		
	88,058	2,312,650	2,400,708		
PHYSICAL AGENCIES. Subdivision VIII.—Physical Instruction	3,940	3,100	7,040		
SOCIAL AGENCIES.  Special Schools— Subdivision IX.—Education of the Blind X.—School for the Deaf	 6,2 <b>6</b> 3	80 Cr. 95	80 6,168		
XI.—Schools for the Feeble-minded $XII$ .—Child Welfare	$6,130 \ 24,395$	3,010 77,825	$9,140 \\ 102,220$		
	36,788	80,820	117,608		
" XIII.—Material and Stores " XIV.—Miscellaneous Services	•••	Cr. 900 16,667	Cr. 900 16,667		
	•••	15,767	15,767		
TOTAL—VOTE No. 39	155,468	2,416,037	2,571,505		
TOTAL	155,468	2,416,037	2,571,505		

Number of Persons.	Item.	VOTE No. 39.—EDUCATION DEPARTMENT	1922–23.	
1922–23.	1	Subdivision No. I.—Head Office.  *Salaries— Administrative Division.	£	£
1 1		1 at £1,138 (Director of Education) 1 at £874 (Assistant Director of Education), (9 months)	1,138 656	
1		PROFESSIONAL DIVISION.  Class A—  1 at £775 (Chief Inspector of Schools)  Class B—	1,794 775	
2		1 at £675 (General Professional officer and Inspector) 1 at £625 (Architect)	675 625	
		 	2,075	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

Number of Persons.	Item.	VOTE No. 39.—EDUCATION DEPARTMENT—			INT—	1922–2	-23.	
19 <b>2</b> 2–23.	,	Subdivision No. I.—I		continu	ed.	£	£	
	1	Salaries—continued.				*	æ	
			Division.					
		$Class\ Special$ —						
1		1 at £725 $Class~I$ —	•••	•••	•••	725		
1		1 at £625		•••		625		
		Class II—			£			
2		1 at £525 1 at £500	•••	•••	525 500			
		Class III—				1,025		
1		$1$ at £480 $Class\ IV$ —	•••	•••	•••	480		
2		2 at £430	•••		••	860		
		Class V— 5 at £380			1,900			
6		1 at £360	•••	•••	360			
		Class VI—			0 640	2,260		
		8 at £330 2 at £310	•••	•••	$\begin{bmatrix} 2,640 \\ 620 \end{bmatrix}$			
13		3 at £290	•••	•••	870	4 100		
		Class VII— 2 at £305			610	4,130		
		2 at £295			590			
		5 at £275 2 at £250	•••	•••	$\begin{bmatrix} 1,375 \\ 500 \end{bmatrix}$			
		1 at £235		• •	235			
		2 at £215	•••	•••	430			
		10 at £200 3 at £130	***	•••	2,000   390			
		8 at £105	•••	•••	840			
		12 at £90 2 at £75	•••	•••	$\begin{array}{c c} 1,080 \\ 150 \end{array}$			
51		2 at £70 (9 months)	•••		105			
		Lodging-allowances		•••	280	0 505		
						8,585		
		CENTERAL	- Dryrarov			18,690		
		1 at £330	Division.	•	330			
		1 at £305	•••	· · · ·	305			
		1 at £280 2 at £255	•••	•••	280 510			
		1 at £235		•••	235			
		2 at £215 1 at £191	···	•••	430 191			
		1 at £180	•••	•••	180			
		2 at £174 2 at £154	•••	•••	348 308			
		1 at £150	•••	•••	150			
		1 at £130	•••		130			
25	3	4 at £114 2 at £105	•••	•••	$\begin{array}{c} 456 \\ 210 \end{array}$			
	-	Lodging-allowances	•••	•••	40	4 100		
						4,103		
	1	Unch 1 at £575 (Private Secr	assified. etary to the	e Prime M	inister)	575		
	_				-	575		
	. 1	1 '			_	5,5		
10	_					27.237		
	-	Less second deducrease or bonus	action fron	n cost-of-	living in-	27,237 555		

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 39.—EDUCATION DEPARTMENT—	1922-	-23.
1922-23.	-	continued.		
		Subdivision No I.—Head Office—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Advertising, photographs, books, newspapers, and	100	
	9	other publications	100 150	
	$\begin{vmatrix} 3 \\ 4 \end{vmatrix}$	Office requisites Overtime and meal allowance	150	
	5	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	150	
	$\begin{vmatrix} 6 \\ 7 \end{vmatrix}$	Temporary assistance Travelling allowances and expenses	*2,600 550	
	8	Contingencies, including unforeseen expenditure inci-	330	
		dental to the other items of the vote	10	
			3,710	
		Less estimated credits under Section 48 of the	5,110	
		Public Revenues Act, 1910	10	
			3,700	
		$Total-Subdivision   extbf{No.}  I $		30,382
		Subdivision No. II.—Elementary Education.		
	9	Salaries—		
		Professional Division. ${\it Class~B}$		
		9 at £675 $\cdots$ 6,075		
		28 at £625 17,500		
		6 at £600 3,600		
44		1 at £575 575	27,750	
		Class D—		
		1 at £430 (Woman Inspector), (4 months) 150		
		$\begin{array}{ccccc} \text{months}) & \dots & \dots & \dots & \dots \\ 1 \text{ at $\pounds 430$ (Editor, $School Journal)} & \dots & 430 \end{array}$		
		1 at £265 (Correspondence Teacher) 265		
4		1 at £240 (Assistant Correspondence		
		Teacher), (5 months) 100	945	
48	-	Temporary Inspectors	1,000	
	_	20mponing, 22mponing		
		T 1 1 leading from each of living increases	29,695	
		Less second deduction from cost-of-living increase or bonus	360	
		or solids		
			*29,335	
	10	Charges for and incidental to— Conveyance of school-children, instructors, and		
	10	teachers, and allowances for board of children		
		who have to live away from home to attend school	42,000	
	11	Correspondence classes	100 500	
	$egin{array}{ c c c c c c c c c c c c c c c c c c c$	Education Gazette (part recoverable) Fares of pupils attending Standard VI examination	50	
	10	Grants to Education Boards for the following pur-		
	14	poses:— General Administrative Purposes: Capitation on		
	14	average attendance and £750 to each Board	36,690	
	15	Incidental expenses of School Committees (clean-	00.000	
	10	ing, disinfecting, &c.)	$96,000 \\ 1,250$	
	16 17	School and class libraries: Capitation, &c Teachers' Salaries: Including pupil-teachers' and	1,200	
	-	probationers' allowances, and salaries of super-	1 210 000	
			1,518,000	
	18   19	Inspection: Extra clerical assistance, typing, &c Manual instruction: Capitation, salaries, and material	69,680	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.		1922	-23.
1922-23.	-	VOTE No. 39.—EDUCATION DEPARTMENT—		
. <i>344</i> -40.		continued.	£	£
		Subdivision No. II.—Elementary Education—continued.		
		CHARGES FOR AND INCIDENTAL TO—continued.		
	20	Office requisites, telephones, cleaning, firing, advertis-	100	
	21	ing, &c Organizing teachers: Salaries and travelling allow-	100	
		ances and expenses	12,640	
	22 23	Removal of teachers School Journal: Printing, material, apparatus, con-	800	
	1	tributors' fees, postages, &c	8,500	
	24	Travelling expenses and allowances of Inspectors, &c., including transfers	10,500	
	25	Contingencies, including unforeseen expenditure in-		
	!	cidental to the other items of the vote	10	
			1,797,170	
	!	Less credits under Sections 263 and 264 of the Land Act, 1908 (£43,000), and the Education		
	: '	Reserves Amendment Act, 1914 (£85,000)	128,000	
			1,669,170	
		Less estimated credits under Section 48 of the	1,000,110	
		Public Revenues Act, 1910—		
	į	Sale of School Journals and Education Gazette, &c., and fees for special examination	790	
		•	1,668,380	
	İ	Total—Subdivision No. II		1,697,71
	!	Subdivision No. III. — Secondary and Higher Education.		
	26	Salaries-		
		PROFESSIONAL DIVISION.		
	i	Class $B$ — $\pounds$ 1 at £775 775		
2	:	$1 \text{ at } \pounds 625$ $625$		
		Less second deduction from cost-of-living in-	1,400	
		crease or bonus	15	
			*1,385	
			1,500	
	$ _{27}$	OTHER CHARGES FOR AND INCIDENTAL TO— Conveyance and board of pupils	7,500	
	$\begin{vmatrix} \tilde{2}8 \end{vmatrix}$	District High Schools: Grants for salaries of		
	29	secondary teachers Manual Instruction: Capitation, salaries, and material	$34,570 \\ 3,200$	
	30	Secondary Schools and Colleges: Grants for salaries		
	31	and incidental expenses	166,340	·
	l i	versity College (science)	100	
	32	Travelling expenses and allowances of Inspectors, &c., including transfers	400	
		University Colleges—	i	
	33 34	Agricultural bursaries: Allowances and tuition fees Educational bursaries	700 900	
	35	Otago University: Grant for addition to salaries of		
	36	Medical Professors (£300 per annum) (recoverable)	300	
		Special bursaries for returned soldiers and assistance to deserving students in cases of hardship	50	
	37	Victoria College Lecturer on Education	250	

 $<sup>\</sup>boldsymbol{*}$  lucludes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	VOTE No. 39.—EDUCATION DEPARTMENT— continued.	1922-	-23.
1922–23.		Subdivision No. III.—Secondary and Higher $Education$ —continued.	£	£
	38	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Workers' Educational Association: Grants for organizing purposes, 2 years  Contingencies, including unforeseen expenditure incidental to the other items of the vote	500	
		Less credits under Sections 263 and 264 of the Land Act, 1908	214,820 4,800	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910— Otago University	210,020	
		Total—Subdivision No. III	209,720	211,105
	40	Subdivision No. IV.—Technical Instruction.  Salaries— Professional Division.		
1		Class A—  1 at £775 (Superintendent, Technical Education)  Class B—	775	
2	_	2 at £625	1,250	
3	 -  	Less second deduction from cost-of-living increase or bonus	2,025	
			*2,003	
	41 42 43 44 45 46 47 48	OTHER CHARGES FOR AND INCIDENTAL TO— Grants for— Capitation and salaries, &c., technical and continuation classes Conveyance of instructors and students attending registered classes Conveyance and board of pupils Examination expenses (part recoverable) Material Scholarships and bursaries Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to the other items of the vote	113,910 1,000 4,000 200 4,800 3,100 500	
		Less credits under Sections 263 and 264 of the Land Act, 1908	127,520 2,400	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910—- Examination fees, &c	125,120	
		Total—Subdivision No. IV	124,970	126,973

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

DEPARTMENT	OE	EDUCATION—con	timned
	OT.	THE CONTRACTOR CON	www.

Number of Persons.	VOTE No. 39.—EDUCATION DEPARTMENT—		1922 <b>–23.</b>		
1922–23.	Subdivision No. V.—Training of Teachers.	£	£		
49	CHARGES FOR AND INCIDENTAL TO— Training Colleges— Allowances to students, and fees	124,300			
50	Salaries of staffs of training colleges (one-half, the other half is charged to "Elementary Education"), including associated teachers	18,600			
52	Special instruction, libraries, clerical assistance, and incidental expenses  Science apparatus and material  Training of Teachers (other than Students of Train-	2,500 400			
53 54	ing Colleges)— Fares of instructors and teachers attending training classes Classes at sub-centres	3,000 2,500			
55	Contingencies, including unforeseen expenditure incidental to the other items of the vote	10			
	Less credits under Sections 263 and 264 of the Land Act, 1908	3,000			
	Total—Subdivision No. V		148,31		
	Subdivision No. VI.—Native Schools.				
56	Salaries of teachers of village schools	55,000			
2	PROFESSIONAL DIVISION.  Class B—  1 at £675 675 1 at £600 600	1,275			
ļ	Less second deduction from cost-of-living in-	56,275			
	crease or bonus	940 *55,335			
58 59 60 61	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, forwarding charges, translation fees, fuel, planting, sanitation, water, &c Books, apparatus, and other school requisites Conveyance, ferrying, and board of children Higher Education, Scholarships, and Apprenticeship Manual instruction (including equipment and material,	30 2,000 1,400 4,500			
62 63 64 65	instructors, and scholarships) Special allowances to teachers in isolated places Storage and despatch of school books and material Travelling allowances and removal expenses Contingencies, including medical examination of teachers and unforeseen expenditure incidental to the other items of the vote	250 120 1,000			
	Less credits under Sections 263 and 264 of the Land Act, 1908	9,670 1,600			
	Less estimated credits under Section 48 of the Public Revenues Act, 1910— Fines for non-attendance, &c	8,070			
	Tota l—Subdivision No. VI	8,060	63,39		

 $<sup>\ ^{*}</sup>$  Includes cost-of-living increase to scale salaries or wages.

## ${\tt DEPARTMENT\ OF\ EDUCATION--} continued.$

Number of Persons.	Item.	VOTE No. 39.—EDUCATION DEPARTMENT— continued.	1922-	-23.
1922-23.		Subdivision No. VII.—School Buildings, Furniture, and Sites.	£	£
	66 67 68 69 70	CHARGES FOR AND INCIDENTAL TO—  General maintenance of school buildings under control of Education Department, including small additions to buildings, alterations, rebuilding, furniture, fittings, fencing, rents, additions and improvements of sites, and incidental expenses—  Native schools  Industrial schools  Schools for the Feeble-minded  School for the Deaf  Public Schools—  Maintenance and repair of school buildings and	3,450 1,000 1,000 500	
	71	residences (including alterations and small additions); repair and renewal of outbuildings, furniture, and fences; rents of buildings and sites  Grants to Education Boards—  For house allowances to teachers	104,000	
	72 73 74	Grants for—  Maintenance of Secondary School buildings  Maintenance of Technical School buildings  Rebuilding and furnishing of schools destroyed by	100 600	
	75	ire, and for rent of and alterations to temporary premises during rebuilding (recoverable)  Rents for Manual and Technical Schools and class purposes	10,000	
	76	Contingencies, including unforeseen expenditure incidental to the other items of the vote School sites: Payment to Land for Settlements Account for	10 300	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910— Fire Insurance Fund, &c	163,210	
		Total—Subdivision No. VII		153,210
		Subdivision No. VIII.—Physical Instruction.		
	78	Salaries— General Division.		
13		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
13			4,035	
-		Less second deduction from cost-of-living increase or bonus	4,035 95	
		Other Charges for and incidental to—	*3,940	
	79 80	Courses of instruction for teachers (including railway fares) Material, Officers' requisites, uniform allowances,	100	
	81	advertising, printing, forwarding charges, books, &c. Travelling allowances and expenses	$\frac{1,000}{2,700}$	

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages,

#### DEPARTMENT OF EDUCATION—continued. Number Item. 1922-23. of Persons. VOTE No. 39.—EDUCATION DEPARTMENT— 1922 - 23.continued. £ £ Subdivision No. VIII.—Physical Instruction—contd. OTHER CHARGES FOR AND INCIDENTAL TO-continued. 82 Contingencies, including unforeseen expenditure in-10 cidental to the other items of the vote 3,810 Less credits under sections 263 and 264 of the Land Act, 1908 700 3.110 Less estimated credits under Section 48 of the Public Revenues Act, 1910-Sale of material and books 10 3,100 Total—Subdivision No. VIII 7,040 Subdivision No. IX.—Education of the Blind. CHARGES FOR AND INCIDENTAL TO-83 Grant to trustees for maintenance of Government pupils 750 Special instruction (woodwork, &c.), and secondary 84 education of pupils 50 Contingencies, including unforeseen expenditure in-85 cidental to the other items of the vote 10 810 Less estimated credits under Section 48 of the Public Revenues Act, 1910— Fees 730 Total—Subdivision No. IX 80 Subdivision No. X.—School for the Deaf (Sumner). 86 SALARIES-PROFESSIONAL AND EDUCATION DIVISIONS. Teachers-1 at £625 625 1 at £430 430 ٠. 1,080 3 at £360 ... 1 at £320 320 ... . . . 1 at £295 295 ... ... 2 at £255 510 5 at £235 1,175 . . . 1 at £225 225 ... . . . 205 16 1 at £205 4,865

GENERAL DIVISION.

470

430

390

150

Maintenance Staff— 2 at £235

2 at £215

2 at £195

1 at £150

Number of Persons.	Item.	VOTE No. 39.—EDUCATION DEPARTMENT—	199	22-23.
1922–23.		Subdivision No. X.—School for the Deaf—continued	. £	£
	86	Salaries—continued.		
		GENERAL DIVISION—continued.		
		$Maintenance\ Staff$ —continued. £ 4 at £125 50	_ !	
			5	
13	j l		5	
29	-	<del></del>	2,100	)
29	_		6,965	
		Less deductions for board	522	
			G 449	_
		Less second deduction from cost-of-living in	6,443	)
		crease or bonus	180	)
			#e 000	_
		OTHER CHARGES FOR AND INCIDENTAL TO—	*6,263	
	87	Additional salary payable to male married teachers.	150	)
	88	Advertising, photographs, books, newspapers, an	ıd	
	89	other publications House allowance	10	
	90	Maintenance of institution, including provision	**	
		clothing, equipment, stock, and implements .	2,000	)
	91	Travelling allowances and expenses (including trans	it   250	,
	92	of children)	• • •	<b>'</b>
		cidental to the other items of the vote .	25	<b>i</b>
			2,455	_
		Less credits under Sections 263 and 264 of th		
		Land Act, 1908	150	)
			2,305	_
	: 1	Less estimated credits under Section 48 of th		
		Public Revenues Act, 1910—		
	1	Fees for maintenance, &c	2,400	
	1 .		Cr. 95	
		$Total-Subdivision\ No.\ X$ .		- 6,16
		Subdivision No. XI.—Schools for the Feeble-minded.		
	93	•		
		Salaries—		
		Education and General Divisions.	İ	
		Special School for Girls, Richmond,—	_	
0		Teachers 47	1	
2		2 at £235 47 Maintenance Staff—	0	
		1 at £335 33	5	
		1 at £235 23	i i	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	i	
7		1 at £90 9	II.	
•		·		
•		1,61		
1		Medical officer (part time, non-resident) 8. Wages temporary employees 10	_	
	i	***************************************		
	: 1	1,80		
		Less deductions for board 15	$\begin{bmatrix} 0 \\ - \end{bmatrix}$ 1,650	
	1 E		—; <u>1,000</u>	i

\* Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	,	1922-	23.
1922-23.	-	VOTE No. 39.—EDUCATION DEPARTMENT— continued.	£	£
		Subdivision No. XI.—Schools for the Feeble-minded— continued.	~	~
	93	Salaries—continued.		
		Education and General Divisions—continued.	į I	
		Special School for Boys, Otekaike,— Maintenance Staff— &		
		2 at £330 660		
		1 at £285 285		
		1 at £260 260		
		$7 \text{ at } \pounds 235 \qquad \qquad \dots \qquad 1,645 \ 1 \text{ at } \pounds 215 \qquad \qquad \dots \qquad 215 \  $		
	}	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		4 at £195 780		
•		1 at £155 155		
		$3 \text{ at } \pounds 150 \qquad \qquad \dots \qquad \qquad 450$		
0.7		$3 \text{ at } \pounds 125$ $375$		
27		2 at £120 240		
37	_	$\overline{5,475}$	•	
	-	Less deductions for board 780		
			4,695	
		-	0.245	
		Less second deduction from cost-of-living in-	6,345	
		crease or bonus	215	
			6,130	
	94	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other publications	20	
	95	House allowance	40	
	96	Maintenance of institutions, including provisions, cloth- ing, equipment, stock, farm expenses, legal ex-	C 500	
•	97	penses, &c Travelling allowances and expenses, including transit of children	6,500 1,000	
	98	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
			7,610	
		Less credits under Sections 263 and 264 of the	100	
		Land Act, 1908	400	
		•	7,210	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910—	,	
		Maintenance fees, sale of produce, &c	4,200	
			3,010	
		Total—Subdivision No. XI	! !	9,140
			İ	
		Subdivision No. XII.—Child Welfare.		
	99	Salaries and Wages		
		Education and General Divisions.		
1 1		Assistant Lady Inspector of Industrial Schools Supervising, Visiting, and Probation Officer	430 380	

Number Persons.	Item.	VOTE No. 39.—EDUCATION DEPARTMENT—continued.				1922–23.	
922–23.		Subdivision No. XII.—Ch		re—conti	nued.	£	£
	99	SALARIES AND WAGES—con	tinued.				
		Education and General	L Divisio	ns-contin	nued.		
		Visiting and Probation Of	ficers—		£		
		1 at £380	•••	•••	380	İ	
		1 at £370 (4 months)			123		
		3 at £350 1 at £340	•••	• • •	$\begin{array}{c c} 1,050 \\ 340 \end{array}$		
		3 at £330	•••		990		
12	1	3 at £320	•••		960	1	
	1				<del></del>		
		T 1-1	f 1 3		3,843		
		Less deductions	ior board	•••	60-	3,783	
		Receiving Homes, Probate	ion Home	s, and Ch	ild Wel-	3,103	
		fare Centre— Whangarei Child Welfar	e Centre-				
1		1 at £250	•••	•••		250	
		Auckland Receiving Hor			£		
	l i	1 at £315 1 at £305	• • • •	• • •	315		
	1	1 at £235	•••		$\begin{vmatrix} 305 \\ 235 \end{vmatrix}$		
		1 at £230	•••	•••	230		
		3 at £215			645		
		1 at £205			205		
		1 at £170	•		170		
		1 at £150			150		
		1 at £140 1 at £125	•••	• • •	$\begin{array}{c c} 140 \\ 125 \end{array}$		
13	1 1	1 at £62	•••	•••	$\begin{array}{c c} 123 \\ 62 \end{array}$		
10		1 00 00 0	•••				
		Less deductions	for board		2,582 80		
		Hoop doddonons	ioi bomia	• •••	<del></del>	2,502	
		Auckland Probation Hor	me—			,	
		1 at £235		•••	235		
		1 at £215	• • •	•••	215		
5		2 at £130 1 at £88	•••	•••	$egin{array}{c c} 260 & \\ 88 & \\ \end{array}$		
J		1 80 200	•••	•••			
					798		
		Less deduction i	for board		190		
		TI ili Di-i II				608	
		Hamilton Receiving Hollands	me—		255		
		1 at £215	•••	•••	215		
		1 at £160		•••	160		
4	l i	1 at £140	•••		140		
		T J. J. Air Air	f 1		770		
•		Less deduction	or board	•••	30	740	
		Wanganui Receiving Ho	me			740	
		1 at £265	•••	•••	265		
		1 at £205		•••	205		
		1 at £195			195		
		1 at £125	•••	•••	125		
5		1 at £124		•••	124		
			•		914		
	1. 1	Less deductions for h			140	-	
	j l	Liess deductions for r	mara				

Number of Persons.	Item.	VOTE No. 39.—EDUCATION DEPARTMENT—					1922–23.	
1922–23.		Subdivision ·No. XII.—Ch		e—contin	ued.	£	£	
	99	SALARIES AND WAGES—conti	•					
		Education and General	Division	s —contin	ued.			
		Receiving Homes, &c.—cont	•					
		Palmerston North Child 1 at £245		entre—	£ 245	;		
2		1 at £110	•••	•••	110	355		
		Napier Receiving Home-				500		
	! !	1 at £265	•••	•••	265			
		1 at £225			225			
		1 at £160		• • •	160	}		
_	1 1	. 1 at £150			150	i		
5		1 at £125	•••	• • •	125			
		Less deductions	for board		925 60			
				•••		865		
		Wellington Receiving Ho	ome		005			
	1	1 at £265	• • •	•••	265			
		1 at £255	•••	•••	255			
		1 at £215 1 at £205	•••	• • •	215 205			
		1 at £195	•••	•••	195			
		1 at £185	•••	•••	185			
	1	1 at £150		•••	150			
		2 at £140	•		280			
		1 at £125			125			
10		Medical Officer (part tir	me, non-res	sident)	55			
		T 77.0			1,930			
		Less deductions	for board	•••	80	1,850		
		Wellington Probation He	ome—		1	,		
		$1 \text{ at } \pounds 225$			225			
		1 at £175	•••	•••	175			
3		1 at £140	• • •	•••	140			
		T J.J	fan haans		540			
		Less deductions		•••	120	420		
		Wellington Children's H	ome (Mira	mar)		1 50		
1		1 at £150 Nelson Receiving Home		•••	'	150		
		1 at £245			245			
	'	1 at £215			215			
		1 at £195			195			
		1 at £170			170	1		
5	1	1 at £130	• • •		130			
		Less deductions	fou board		955	•		
				•••	80	875		
	į.	Greymouth Child Welfar	re Centre—	-	2.5	•		
<b>2</b>	!	1 at £240 1 at £150	•••		240 150			
_				<del>•</del>		390		
		Christchurch Receiving 1 1 at £310	(1011) <del>6</del> —		310			
		1 at £285		•••	285			
		1 00 2200			200 I			
	j l	1 at £235			235			

197

Number of Persons.	Item.					1922-	23.
1922–23.		VOTE No. 39.—EDU	CATION DEP ontinued.	ARTME	ENT—	<del>"</del>	
.022-20.						£	£
		Subdivision No. XII	•	econti	nuea.		
	99	SALARIES AND WAGES-	-continued.				
		EDUCATION AND GER	NERAL DIVISIONS	s—contin	rued.		
		Receiving Homes, &c.	continued.				
		Christchurch Recei		ntinued.	£		
	i	1 at £215	•••	• • •	215		
	!	1 at £195	•••	•••	195		
		4 at £150	•••	• • •	600	İ	
		1 at £130	•••	• • •	130		
	j	2 at £120		• • •	240		
13		Medical Officer (pa	art time, non-res	sident)	55		
					2,490		
		Less deduct	ions for board	•••	170	0.900	
		Christchurch Proba	tion Home—			2,320	
		1 at £235	***		235		
		1 at £195	•••		195		
		2 at £140	•••		280		
5		1 at £94	•••		94		
_							
					804		
		Less deduc	tions for board	•••	120	604	
		To Overge Home	Thristohanah			684	
1	:	Te Oranga Home, (	Jiristenuren—		}	215	
1		Timaru Child Welf	ana Cantra	•••	•••	219	
	i	1 at £255			255	}	
2		1 at £120	•••	•••	120		
4	1	1 00 2120	•••	•••		375	
		Dunedin Probation	Home—			3.3	
	: 1	1 at £235			235		
		1 at £140	•••		140		
3	i l	1 at £94	•••		94		
					469		
		Less deductions	for board		50	4.4.5	
		Tayonaanaill Child V	Walfara Cantra			419	
1	i	Invercargill Child V 1 at £245	venare Centre-	-		245	
*		1 00 0110	•••	•••		-20	
		Industrial Schools—					
	1	Weraroa Boys' Tr	aining Farm				
		1 at £525			525		
		1 at £330			330		
		2 at £285			570		
		4 at £235			940	1	
		2 at £215			430	-	
		2 at £205			410	į	
		2 at £195	•••	•••	390		
		1 at £185	•••		185	1	
	}	1 at £145	•••		145		
		1 at £130	•••	•••	130	j	
		2 at £120	•••	•••	240		
21		2 at £110	•••	•••	220		
△1		7 W. W.T.T.O.	•••	•••			
			•		4,515		
		Less deduct	ions for board	•••	290		
					i	4,225	

of Persons.	Item.					1922-	23.
	-  ,	VOTE No. 39 —EDUCATION DEPARTMENT—				100	
1922–23.		CO	ontinued.			£	£
		Subdivision No. XII.	—Child Welfar	econtin	ued.	æ •	æ
	99	SALARIES AND WAGES-	-continued.				
		Education and Gen	ERAL DIVISIONS	s-continu	ıed.		
		Industrial Schools—	continued.				
		Caversham (includ	ing Clothing Fac	ctory)—	£		
		1 at £315			315		
		1 at £265	•••		265		
		1 at £255	•••		255		
	1 1	2 at £235			470		
	1 1	1 at £215			215		
	1 .	1 at £205			205		
		1 at £170			170		
		2 at £150			300		
		1 at £140			140		
		2 at £135			270		
14		1 at £110	***	,,,	110		
-	-						
104	}				2,715		
•	-	Less deduct	ions for board		240		
						2,475	
						25,330	
		Reduction in s	alaries recomn	nended 1	by the	•	
		Public Accoun	ts Committee	•••	•••	300	
			1	1:		25,030	
		Less second de crease or bo		 308t-01-11V	ing in-	635	
						*24,395	
	100	OTHER CHARGES FOR A Boarding-out of chil	AND INCIDENTAL	TO-	fanta in		
	100	foster homes and v					
		have died from infl	warden of orhingr	*** 44 TTO DC	Lmr orrap	Er 000	
		nave alea mom min				75 000	
	101	_		•••	•••	75,000	
	101	Law-costs	uenza		  nubli-	75,000	
	l01 l02	Law-costs Libraries at Governm	uenza		d publi-	50	
	102	Law-costs Libraries at Governm cations	uenza  nent schools, pic 	tures, and	·		
		Law-costs Libraries at Governm cations Maintenance of inn	uenza nent schools, pic nates in Gove	tures, and	Schools	50	
	102	Law-costs Libraries at Governm cations Maintenance of inn and of probatione	uenza nent schools, pic nates in Gove rs in Probation	tures, and rnment	Schools nedical	50	
	102	Law-costs Libraries at Governm cations Maintenance of inn and of probationer attendance of infa	uenza nent schools, pic nates in Gove rs in Probation nts, and genera	tures, and  rnment Homes, i	Schools medical of the	50	
	102	Law-costs Libraries at Governm cations Maintenance of inn and of probationed attendance of infa institutions, include	uenza nent schools, pic nates in Gove rs in Probation nts, and genera	tures, and rnment Homes, a al upkeep ork on lan	Schools medical of the	50	
	102	Law-costs Libraries at Governm cations Maintenance of inn and of probationer attendance of infa institutions, include Maintenance of inmat	uenza nent schools, pic nates in Gove rs in Probation ants, and genera ing stock and we tes in private Inc	tures, and rnment   Homes, a l upkeep ork on lan dustrial S	Schools medical of the id chocls:	50 50 21,000	
	102	Law-costs Libraries at Governme cations Maintenance of innance of infaction attendance of infactions, include Maintenance of inmate Capitation, refunds	nent schools, pic nates in Gove as in Probation ants, and generating stock and we tes in private Inc s of maintenance	tures, and rnment Homes, a l upkeep ork on lan dustrial S	Schools medical of the id chocls:	50 50 21,000 2,500	
	102 103 104 105	Law-costs Libraries at Governm cations Maintenance of inn and of probationer attendance of infa institutions, include Maintenance of inmat Capitation, refunds Maintenance of inmat	nent schools, pic mates in Gove rs in Probation onts, and generating stock and we tes in private Inc s of maintenance tes sent to other	tures, and rnment Homes, a l upkeep ork on lan dustrial S paymen r instituti	Schools medical of the d chocls: ts, &c. ons	50 50 21,000	
	102	Law-costs Libraries at Governme cations Maintenance of innance of infaction attendance of infacting institutions, include Maintenance of inmated Maintenance of inmated Maintenance of inmated Payment to Post at the Cost of	nent schools, pic mates in Gove rs in Probation onts, and generating stock and we tes in private Inc s of maintenance tes sent to other	tures, and rnment   Homes,   I upkeep ork on lar dustrial S paymen r instituti Departm	Schools medical of the d chocls: ts, &c. ons ent for	50 50 21,000 2,500	
	102 103 104 105	Law-costs Libraries at Governme cations Maintenance of innance of infainstitutions, include Maintenance of inmate Capitation, refunds Maintenance of inmate Payment to Post a services of officers	nent schools, pic mates in Gove rs in Probation ants, and generating stock and we tes in private Inc. s of maintenance tes sent to other and Telegraph in connection	tures, and rnment   Homes,   I upkeep ork on lar dustrial S paymen r instituti Departm	Schools medical of the d chocls: ts, &c. ons ent for	50 50 21,000 2,500 50	
	102 103 104 105 106	Law-costs Libraries at Governme cations Maintenance of innance of infainstitutions, include Maintenance of inmate Capitation, refunds Maintenance of inmate Payment to Post a services of officers for children boards	nent schools, pic mates in Gove rs in Probation ants, and generating stock and we tes in private Inc. s of maintenance tes sent to other and Telegraph in connection and out	tures, and rnment   Homes, a l upkeep ork on lar dustrial S paymen r instituti Departm with pa	Schools medical of the id chocls: ts, &c. ons ent for yments	50 50 21,000 2,500 50 1,000	
	102 103 104 105 106	Law-costs Libraries at Governme cations Maintenance of innance of infance attendance of infance institutions, include Maintenance of inmance of	nent schools, pic nates in Gove s in Probation nts, and generating stock and we tes in private Inc s of maintenance tes sent to other and Telegraph in connection d out arnings	tures, and rnment   Homes,   I upkeep ork on lar dustrial S paymen r instituti Departm	Schools medical of the id chocls: ts, &c. ons ent for yments	50 50 21,000 2,500 50 1,000 200	
	102 103 104 105 106 107 108	Law-costs Libraries at Governme cations Maintenance of innance of infance attendance of infance institutions, include Maintenance of inmance application, refunded Maintenance of inmance application, refunded Maintenance of inmance application, refunded Maintenance of inmance application, refunded Maintenance of inmance application, refunded Maintenance of inmates, early controlled in the second of inmates, and the second of maintenance and increase and inc	nent schools, pic nates in Gove rs in Probation onts, and generating stock and we tes in private Inc tes of maintenance ttes sent to other and Telegraph of in connection do out arnings ce payments	tures, and rnment ; Homes, ; al upkeep ork on lar dustrial S e paymen r instituti Departm with pa	Schools medical of the d chocls: ts, &c. ons ent for yments	50 50 21,000 2,500 50 1,000 200 200	
	102 103 104 105 106 107 108 109	Law-costs Libraries at Governme cations Maintenance of information and of probationer attendance of infaring institutions, included Maintenance of inmation Capitation, refundaded Maintenance of inmation and Payment to Post as services of officers for children boarded Refund of inmates' earlighted Refund of maintenan Rent, office requisites	nent schools, pic nates in Gove rs in Probation onts, and generating stock and we tes in private Inc tes of maintenance tes sent to other and Telegraph of out ornings ce payments s, telephones, le	tures, and rnment ; Homes, ; al upkeep ork on lar dustrial S e paymen r instituti Departm with pa	Schools medical of the id chocls: ts, &c. ons ent for yments	50 50 21,000 2,500 50 1,000 200 200 1,500	
	102 103 104 105 106 107 108 109 110	Law-costs Libraries at Government cations Maintenance of incommon and of probationer attendance of infainstitutions, included Maintenance of inmate Capitation, refundate Maintenance of inmate Payment to Post as services of officers for children boarded Refund of inmates' earlighted Refund of maintenant Rent, office requisite Rent, Te Oranga Hongarian Ren	nent schools, pic nates in Gove rs in Probation onts, and generating stock and we tes in private Inc tes of maintenance tes sent to other and Telegraph of out ce payments set, telephones, le me (Christchurch	tures, and rnment ; Homes, i al upkeep ork on lar dustrial S e paymen r instituti Departm with pa ighting, & h), (land)	Schools medical of the id chocls: ts, &c. ons ent for yments	50 50 21,000 2,500 50 1,000 200 200	
	102 103 104 105 106 107 108 109	Law-costs Libraries at Governme cations Maintenance of information and of probationer attendance of infaring institutions, included Maintenance of inmation Capitation, refundaded Maintenance of inmation and Payment to Post as services of officers for children boarded Refund of inmates' earlighted Refund of maintenan Rent, office requisites	nent schools, pic nates in Gove rs in Probation onts, and generating stock and we tes in private Inc. tes of maintenance tes sent to other and Telegraph of out terpings te payments state (Christchurc including fees	tures, and rnment ; Homes, i al upkeep ork on lar dustrial S e paymen r instituti Departm with pa ighting, & h), (land)	Schools medical of the id chocls: ts, &c. ons ent for yments	50 50 21,000 2,500 50 1,000 200 200 1,500	

 $<sup>\</sup>boldsymbol{*}$  Includes cost-of-living increase to scale salaries or wages.

VOTE No. 39.—EDUCATION DEPARTMENT—	2–23.
1922–23. continued.	£
Subdivision No. XII.—Child Welfare—continued.	
OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Wages of inmates employed on farm work, &c 200  Contingencies, including unforeseen expenditure in-	
cidental to the other items of the vote 10	)
109,825	
Less credits under Sections 263 and 264 of the Land Act, 1908 2,000	
107,825	<u>-</u>
Less estimated credits under Section 48 of the Public Revenues Act, 1910—	
Maintenance fees, sale of produce, rent of property, &c 30,000	1
77,825	_
Total—Subdivision No. XII	- 102,220
Subdivision No. XIII.—Material and Stores.	
CHARGES FOR AND INCIDENTAL TO—  Material and stores—	
Special schools 8,550	
Store (rent, lighting, cleaning, &c.), cartage, &c 450	 
Less transfer to other items of this Vote 9,000	
100	
Less estimated credits under Section 48 of the Public Revenues Act, 1910—	
Issues on payment 1,000	)
Total—Subdivision No. XIII	- Cr. 900
Subdivision No. XIV.—Miscellaneous Services.	
CHARGES FOR AND INCIDENTAL TO— Accidents to school children—Grants for medical and	
legal expenses, scholarships, and compensation 295	
118 Audit fees for inspection of accounts 20 119 Compassionate allowance to the widow of the late	,
Mr. F. Bethune, formerly teacher of the Newtown Public School 57	
120 Compensation to teachers, Waikeri Native School, for losses through destruction of residence by fire	
121 Conference of Education Authorities 250	
122 Council of Education, including District Advisory Committees: Allowances and travelling-expenses of members, clerical assistance, advertising, in-	
cidental expenses, &c 250	
Examinations: Teachers', Public Service, Scholarships, &c 5,500	
Expenses connected with visits of Department's officers and representatives to other countries 100	

DEDARTMENT	OF EDUCATION -	anntinued
DEPARTMENT	OF EDUCATION -	-continuea.

Number of Persons.	Item.	YOUT N. OO TIDIIGARION DIDADRING	1922	2-23.
1922-23.		VOTE No. 39.—EDUCATION DEPARTMENT— continued.	0	
		Subdivision No. XIV.—Miscellaneous Services—contd.	£	£
	105	CHARGES FOR AND INCIDENTAL TO—continued.		
	125	Grading and certificates of teachers (including cost of inquiries, legal expenses, Courts of Appeal connected		
	126	therewith, advertising, travelling-expenses, &c.) Grant in aid of free kindergartens for infants under	700	
		school age, Montessori equipment, cinematograph	9 500	
	127	apparatus, pictures, &c Grant to Wellington Education Board for expenses in	2,500	
		connection with the case "Delaney versus Wellington Technical School Board"	335	
	128	Kitchener Memorial Scholarships: Subsidies on contributions	10	•
	129	N.Z. Ensigns for schools	100	
	130	Office furniture, fittings, and requisites	800	
	131	Printing and stationery, including supply of Par-		
	:	liamentary Papers	4,500	
	132	Postage, telegrams, and rent of boxes	3,250	
	133	Purchase of motor-cars for School		
	1	Inspectors (amount to be recovered £		
	İ	subsequently) 2,500  Less estimated recoveries for current		
		year 1,250	,	
	1	year 1,250	1,250	
	134	Storage and despatch of stores and stationery	70	
	135	Training-classes for returned soldiers: Capitation, &c.	20	
	136	War bursaries	550	
	137	Contingencies, including unforeseen expenditure incidental to all other items of the vote	10	
		cidental to all other items of the vote	10	
	i		20,667	
		Less estimated credits under Section 48 of the		
		Public Revenues Act, 1910—		
	. 1	Examination fees; audit teachers' super- annuation account, teachers' certificates,		
		licenses to teach, &c	4,000	
		Total—Subdivision No. XIV		16,66
		TOTAL—VOTE No. 39  -		2,571,50

TOTAL .... .... £2,571,505

## NEW ZEALAND STATE FORESTS ACCOUNT.

	1922–23.			
	Salaries.	Other Charges.	Total.	
Vote No. 66.—State Forest Service—				
Capital Charges	£	£	£	
Subdivision I.—Salaries	9,676		9,676	
" II.—General Development		3,890	3,890	
III.—Forest Fire Prevention		675	675	
IV.—Education: National Forestry		460	460	
School, &c.	•••	3.00	200	
V Forant Panagrah		2,775	2,770	
IVI Gamana A Homestation	•••	$\frac{2}{42},420$	42,420	
TIII Aggrication of Indiagonala Forests de	•••	$\begin{bmatrix} & \stackrel{\pi \kappa}{1}, \stackrel{\pi \kappa \sigma}{125} \end{bmatrix}$	1,125	
TITT County and Control Jan to Trans De Jan	• • •	1	1,120	
for Tree-planting: Miscellaneous	•••		•••	
•	9,676	51,345	61,021	
C) (1) 7.7% (1) (2)				
Operation and Maintenance Charges—	07 006		24 224	
Subdivision I.—Salaries	21,386	***	21,386	
" II.—General Development	•••	16,518	16,518	
" III.—Forest Fire Prevention	• • • •	2,930	2,930	
" IV.—Education: National Forestry	•••	700	700	
School, &e.				
" V.—Forest Research	***	2,900	2,900	
" VI.—General Afforestation	****	1,050	1,050	
" VII.—Acquisition of Indigenous Forests, &c.	•••		•••	
" VIII.—Grants and Subsidies to Local Bodies for Tree-planting: Miscellaneous	•••	855	855	
Ţ-	21,386	24,953	46,339	
TOTAL  -	31,062	76,298	107,360	

Number of Persons.	Item.	STATE FORES	T SERVIC	CE.		1922-	23.
1922-23.						_	
		Subdivision No.	1.—Salar	ies.		£	£
		VOTE No. 66.					
	1	*Salaries-					
		Administrativ	E Division	N.	£		
		1 at £1,000 (Director)			1,000		
2		1 at £625 (Secretary)		• • •	625		
		Professional	Division.	•		1,625	
		Class B—			COF		
2		1 at £625 1 at £525			$\begin{bmatrix} 625 \\ 525 \end{bmatrix}$		
4		Class D—	•••			1,150	
		1 at £470			470		
2		1 at £375	•••	• • •	375	045	
	,					845	

<sup>\*</sup> For particulars of salaries see " Public Service Classification List."

Number f Persons.	Item.	am i ma non	nom er	DIII	.,	,	1922-	-23.
922–23.	·	STATE FOR			•	-		
		Subdivision 1	Vo. I.—S	alarres.—	continued	•	£	£
		VOTE No. 66—contin	nued.					
	1	SALARIES—continue	à.					
			ERICAL D	ivision.	1			
1		Class III— 1 at £480					400	
1		Class IV—		• • •	• • •	• • • •	480	
1		1 at £430			•••		430	
1		Class V— 1 at £380				•••	380	
		Class VI—				£		
10	İ	7 at £330 3 at £310		• • •	• • •	2,310 930		
10		Class VII—		•••	• • •	950	3,240	
, 1		1 at £255			• • •		255	
	;	Class VIII— 1 at £200				200		
	Ì	1 at £130				130		
c		3 at £90			• • •	270		
6		1 at £75		•••	•••	75	675	
		Cadet's lodging-al	llowance		• • •	•••	140	
		Gı	eneral I	Division.				
		2 at £725			•••	1,450		
		2 at £625 1 at £600		•••	•••	$\begin{array}{c c} 1,250 \\ 600 \end{array}$		
		3 at £390		•••		1,170		
		6 at £370				2,220		
		1 at £350 5 at £325		• • •		350 1,625		
		17 at £320				5,440		
		8 at £310 8 at £295				2,480		
		2 at £280		• • •		2,360 560		
		5 at £270				1,350		
	į	1 at £262 1 at £255	•	• • •	• • •	262 255		
		1 at £215		• • • •	•••	215		
		2 at £191		***	•••	382		t we to
		1 at £174 1 at £142			• • •	$\begin{array}{c c} 174 \\ 142 \end{array}$		
		1 at £130				130		
69		1 at £114		••		114	22,529	
95		Allowances to of £75 each)	ficers per	forming l	higher dut	ties (2 at	150	
	 	Less—						
		Proportion	of salar	ies allow	ed for	£	31,899	
		but not	payable		• • •	110		
		Second d	eduction crease or			627		
		III guivii	iorease or	DOLLUS	•••	. ———	737	
		•				-	31,162	
		Less estimat Public Re			Section 4	8 of the	100	
		TI <sub>n</sub> 4	al—Subd	inininina 1	lo T			*31,0

 $<sup>\</sup>mbox{*}$  Includes cost-of-living increase to scale salaries or wages.

Number of Persons.	Item.	STATE FOREST SERVICE—continued.		1922–	23.
1922–23.		VOTE No. 66—continued.  Subdivision No. II.—General Development and Manment of State Forests, Provisional State Forests	nage- , and	£	£
		forested Reserves.  Capital Charges—			
	_	Other Charges for and incidental to—	1		
	2	Buildings	•••	450	
	3	Demarcation	• • • •	550	
	$egin{array}{c} 4 \ 5 \end{array}$	Field equipment, tools, instruments, and tents Forest Atlas	•••	$645 \mid 600 \mid$	
	6	Office equipment		450	
	7	Motor vehicles		595	
	8	Roads, trails, and fences		475	
	9	Telephone lines		125	
		_	-		
		Total—Capital Charges	•••	3,890	
		OPERATION AND MAINTENANCE CHARGES-			
		Other Charges for and incidental to—			
	10	Advertising		135	
	11	Communication expenses		450	
	12	Fiscal management expenses		300	
	13	Forest reconnaissance		1,775	
	14	Grazing reconnaissance	•••	350	
	15	Kauri-gum, collection of		50	
	16	Legal expenses	•••	250	
	17 18	Maintenance field equipment, tools, &c.	• • • •	$\begin{bmatrix} 175 \\ 90 \end{bmatrix}$	
	19	Maintenance office equipment Maintenance roads, trails, and fences	•••	90 85	
	20	Office supplies, printing, and stationery		1,050	
	$\overline{21}$	Office rent, heating, lighting, and cleaning		2,100	
	22	Overtime and tea-money		50	
	23	Policing, patrol and maintenance		935	
	24	Settlement land examination		350	
	25	Special forest investigations		350	
	26	Temporary assistance		903	
	$\begin{array}{ c c }  & 27 \\  & 28 \\  \end{array}$	Timber cruising, valuation, and appraisal		4,220	
	29	Transportation expenses and upkeep of motor veh Travelling expenses and allowances		950 1,950	
	30	Contingencies	•••	1,300	
	00	···	•••	100	
	1	•		16,618	
		Less estimated credit under Section 48 of	f the		
	ļ	Public Revenues Act, 1910		100	
		Total—Operation and Maintenance Charges	s	16,518	
	i.		ĺ		00.44
		Total—Subdivision No. II			20,40
		Subdivision No. III.—Forest Fire Fighting and Prition: Indigenous Forests.	even-		
		Capital Charges—			
		Other Charges for and incidental to—			
	31	Equipment		450	
	32	Protection improvements		225	
		-			
		Total—Capital Charges			

	i	i de la composição de l		I	
Number of Persons.	Item.	STATE FOREST SERVICE—continued.		1922–	23.
1922–23.		VOTE No. 66—continued.		<del></del>	
		Subdivision No. III.—Forest Fire Fighting and Pretion: Indigenous Forests—continued.	ven-	£	£
		Operation and Maintenance Charges—			
	33 34 35 36	Other Charges for and incidental to— Communication and controls Locomotion Maintenance of equipment Wages	•••	150 400 65 2,345	•
		Logg estimated avadit under Section 49 of	the c	2,960	
	*	Communication and controls Locomotion			
		Total—Operation and Maintenance Charges	•••	2,930	
ű.		Total—Subdivision No. III			3,605
	! !	School, Ranger Instruction School, Working Re ence Library, Departmental Publications,	fer-		
		CAPITAL CHARGES—	350 110		
	37 38				
		Total—Capital Charges	library and text books 350 nic equipment 110		
		OPERATION AND MAINTENANCE CHARGES-			
	39 40 41 42 43	Photographic records and material Preparation and publication of Service bulletins Professional trade and current publications		. 400 150 70	
		Less estimated credits under Section 48 of	the	720	
				20	
		Total—Operation and Maintenance Charges	•••	700	
		Total—Subdivision No. IV			1,160
	44 45	Subdivision No. V.—Forest Research: Silvicultu Ecological Utilization and Forest Management.  CAPITAL CHARGES—  Other Charges for and incidental to— Forest Experiment Station Purchase of lease of Sections 1139 and 1219, Bl		2,000	
:	46	V, Kanieri Survey District, for nursery site Timber-testing equipment and apparatus		350 425	
		Total—Capital Charges	-	2,775	

Number of Persons.	Item.	STATE FOREST SERVICE—	-continue	₹.	1922-2	23.
000.00	-	VOTE No. 66—continued.		`  -		
922–23.		Subdivision No. V.—Forest Research: logical Utilization and Forest Management			£	£
		OPERATION AND MAINTENANCE CHARGE	es	!		
		Other Charges for and incidental to	)			
	47	Forest Ecology	•••		1,450	
	48	Silvicultural management studies	•••	•••	350	
	49 50	Utilization Timber products testing and invest.	igations	•••	300	
	. 50	•	o .	-	800	
		Total—Operation and Mainten		rges	2,900	
	1	Total-Subdivision`N	o. V			5,67
		Subdivision No. VI.—General Affores: Tree - planting, Maintenance an Plantations, Operations of Nursers Activities.	d Protec	ction of		
		CAPITAL CHARGES—	_			
		Other Charges for and incidental to Nurseries—	)—-			
	51	Hanmer			3,600	
	$\frac{52}{50}$	Ranfurly	• • • •	•••	700	
	53	Rotorua	•••		7,336	
	1 34	Tapanui Plantations	•••	•••	3,330	•
	55	Balmoral	•••		1,000	
	56	Conical Hills	•••		1,590	
	57	Dumgree	•••	•••	15	
	58 59	Dusky Hill	•••	!	50	
	60	Gimmerburn Greenvale	• • •	•••	$\begin{array}{c c} 15 \\ 1,750 \end{array}$	
	61	Hanmer Springs	•••		1,730 $1,125$	
	62	Kaingaroa			6,515	
	63	Kaingaroa West	•••		5,605	
	64	Naseby	• • •	•••	905	
	65	Puhipuhi	• • •		500	
	67	Pukerau Raincliffe	• •	•••	435 15	
	68	Te Kapo	•••	:	15	
	69	Waiotapu			2,565	
	1 70	Waitahuna	• • •	• • •	15	
	71	Whakarewarewa			3,665	
	72	Land purchase for extension of nur	series and	l planta-	4 90#	
	73	tions Sand dune reclamation and afforest	etion		$\frac{4,325}{1,750}$	
	74	Temporary assistance (at nurseries)			317	
		Less-			47,138	
	Ī	Amount reduced by Public Ac	ecounts	£		
		Committee Second deduction from cost-o	faliving	3,716		
	1	increase or bonus		1,002		
	1				4,718	
		Total—Capital Charges			42,420	
		OPERATION AND MAINTENANCE CHAR	GES	-	<del></del>	
		Other Charges for and incidental to-			!	
	75	Forest regulation studies	_ 		250	
76		Preparation of planting plans and f	nsion	900		
	!	- · · · · · · · · · · · · · · · · · · ·		-		
	1	Then continued 3:	g	10	1,150	
	•	Less estimated credits under Public Revenues Act, 1910	section 4		100	
		1 abite thevendes Act, 1910	•••		100	
		Total—Operation and Mainten	ance Cha	rges	1,050	
	1	Total-Subdivision				43,47

#### NEW ZEALAND STATE FORESTS ACCOUNT—continued.

Number of Persons.	Item.		1922-	-23.
1922–23.		STATE FOREST SERVICE—continued.		
1944-40.		VOTE No. 66—continued.	£	£
		Subdivision No. VII — Acquisition of Indigenous Forests.		
		Capital Charges—		
	77 78	Other Charges for and incidental to— Purchase of Lot 1 of Section 1,605, Block IV, Mahinapua Survey District Refund to Native Land Settlement Account for pur-	125	
		chase of Waipoua Blocks 2B3D1, 2B3A2, and 2B3B2	1,000	
		Total—Capital Charges	1,125	
		Total—Subdivision No. VII		1,125
	,			
		Subdivision No. VIII.—Grants and Subsidies to Local Bodies for Tree-planting: Miscellaneous.		
		Capital Charges—		
	79	Other Charges for and incidental to— Trounson's Kauri Park— Fencing and erection of caretaker's cottage for a Forest Guard at (recoverable)	700	
	,	Total—Capital Charges	700	
		Operation and Maintenance Charges-		
	80	Other Charges for and incidental to— Mackenzie County Plantation Reserves, cost of planting trees	800	
	81	Subsidy, £1 for £1, to New Brighton Borough Council for tree-planting Trounson's Kauri Park—	55	
	82 83 84 85	Development of marginal protection (recoverable) Firebreaks, clearing, and ploughing (recoverable) Forest protection and policing (recoverable) Guard's wages (recoverable)	150 120 110 260	
		Total—Operation and Maintenance Charges	1,495	
	l	,	2,195	
	! : . !	Less recoveries from Scenery Preservation Account	1,340	
		Total—Subdivision No. VIII		855
		TOTAL—VOTE No. 66		107,360

STATE FORESTS ACCOUNT

£107,360

## STATE COAL-MINES ACCOUNT.

						1	9 <b>2</b> 2–2 <b>3</b> .	· · · · · · · · · · · · · · · · · · ·
					Salaries	. Otl	her Charges.	Total.
	 207 (	Sharta Garal Institute	1 11 1 10 10 10 10 10 10 10 10 10 10 10		£	70	£	£ 970, 204
vote No. (	37	State Coal-mines	•••		12,5		257,725	270,304
		TOTAL	•••		12,	579	257,725	270,304
Number of Persons.	Item.						192	22–23.
1922–23.		VOTE No. 67.	STATE COAL	L-MINE	S.		<u>2</u>	£
							, SE	್ಷ 
	1	*Salaries	ROFESSIONAL	Division	,			
	j	Class A-	•					
1	i	1 at £791 (S	uperintenden	t, State (	Coal-mine	es)	791	-
		Class D				£		
. 4		3 at £464 1 at £395		•••	•••	1,392		!
4		1 20 2000		•••	•••	395	1,787	7
		Olana III	CLERICAL D	vision.				
		Class III— 1 at £480 (£	25 increase fo	or 4 mon	ths)	463	3	į
2		. 1 at £480 (5	$\frac{1}{2}$ months)	•••	•••	218		
		Class IV—					- 681	
1		1 at £405		• • •			408	5
		Class V—						
		2 at £380			•••	760		
4		1 at £360			• • •	360	1	
4		1 at £345		•••	•••	345	1,468	5
0		Class VI—						1
2		2 at £330		•••	• • •	•••	. 660	<b>,</b>
		Class VII—						
		4 at £305 1 at £225		•••	•••	$\frac{1,220}{255}$		
			£20 increase	for 6 mc	nths)	605		*
			25 increase fo			108		
			15 increase f			100		
11		1 at £90 (£1	.5 increase for	11 mont	ihs)	89	$\frac{0}{-}$ 2,377	,
		Proportion (on	e-sixth) of Sa	alary of	Private S	ecretar	y   2,011	
		to Minister	of Mines		•••	••	. 69	)
			GENERAL D	vision.				
		1 at £405		•••	•••	405		
		1 at £370		•••	•••	370		
		2 at £351 1 at £340		•••	•••	702 340		
		1 at £300			•••	300		
	1	2 at £280				560		İ

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

#### Appropriations for State Coal-mines Account.

#### STATE COAL-MINES ACCOUNT —continued.

Number Persons.	Item.		1922	-23.
922–23.	ļ	STATE COAL-MINES—continued.		
944-40.		VOTE No. 67—continued.	£	£
	1	Salaries—continued.		
		General Division—continued.		
		1 at £275 275		
		2 at £265 530		
		$2 \text{ at } £260 \qquad \qquad \dots \qquad 520$		
		1 at £238 238		
1.0		1 at £223 223		
16		1 at £154 (£12 increase for 5 months) 147	4 610	
41			4,610	
	-		12,845	
		Less second deduction from cost-of-living in-	2	
		crease or bonus	266	
			*12,579	
		OTHER CHARGES FOR AND INCIDENTAL TO-	150	
	$\begin{vmatrix} 2\\3 \end{vmatrix}$	Audit fees for inspection of accounts	150	
	) o	Compensation and expenses under Workers' Compensation Acts	1,500	
		pensation Acts	1,000	
	4	Christchurch	14,000	
	5	Wanganui	4,000	
	6	Wellington	32,000	
	7	Grant, bowling green and tennis court, Runanga	100	
	8	Grant towards purchase of new residence for Doctor	100	
	0	at Runanga Harbour rates and royalty	7 500	
	9	TT 1 (Y)	7,500   150	
	111	James colliery expenses	21,500	
	12	Liverpool Colliery expenses	172,000	
	13	Office fittings and requisites (including printing and		
		stationery)	200	
	14	Postage, telegrams, and rent of boxes	150	
	4 ~	Prospecting and Development of State Coal-mines—	250	
	15	MacDonald Mine	250	
	$\begin{array}{ c c }\hline 16\\17\\ \end{array}$	James Mine	5,000   13,000	
	18	Purchase price of Doctor's former residence at	10,000	
	1.0	Runanga, for Mine-manager	350	
	19	Seddonville Colliery expenses	200	
		Subsidies—	.	
	20	Runanga Medical Association	200	
	21	Runanga Brass Band, for instruments	75	
	22	Travelling allowances and expenses	250	
	23	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
~				
		Tare estimated anodity and describes 40 of the	272,725	
		Less estimated credits under Section 48 of the		
		Public Revenues Act, 1910— Sale of firewood, stores, &c	15,000	
		Sale of firewood, stores, &c		
		mo	257,725	
		TOTAL—VOTE No. 67		270,3

STATE COAL-MINES ACCOUNT

£270,304

 $<sup>\</sup>boldsymbol{\ast}$  Includes cost-of-living increase to scale salaries or wages.

#### SCENERY PRESERVATION ACCOUNT.

			1922–23.			
			Salaries.	Othe	er Charges.	Total.
ote No. 6	8. –S	cenery Preservation	£ 25		£ 11,116	£ 11,14
	!	TOTAL	25	- <del></del>	11,116	11,14
Number of Persons.	Item.	SCENERY PRESERVAT	ION		1922	<b>⊢2</b> 3.
1922–23.	-	VOTE No. 68.	ION.		£	£
					æ	æ
	1	*Salaries— CLERICAL DIVISION.				
1		Class I— 1 at £25 (being portion of salar	v of Chief Cl	ork		
	-	Lands Department, £625)	· ···		25	
		OTHER CHARGES FOR AND INCIDENTAL	то—			
	2	Acquisition of part Section 14,		rish,		
	3	Taines Mountain Administration of reserves and histo	 oric spots (inc	 lnd-	452	
		ing fencing and other works)			200	
	4	Compensation, &c., in connection under the Scenery Preservation A		ken	250	
	5	Compensation for lands acquired alc		anui	200	
		River	 .l.am fan aan	•••	75	
	6	Compensation for Native lands to purposes (including historic spots)				
		Works Act, 1908, and the Native	Land Act, 19	09	100	
	$\begin{array}{ c c }\hline 7\\ 8\end{array}$	Expenses of Boards Gerard's Bush, Sections 6 and 7, B	lock VI Win	ton.	20	
		contribution towards purchase of				
	9	£1) Kaituna Scenic Reserve, contributi	on tomonda		360	
	9	chase of (subsidy, £1 for £2)		pur- 	500	
	10	Kauri Park, Kaihu, planting of			250	
	11 12	Kirk's Bush, Papakura, acquisition Lake Brunner Scenic Reserve 1451:			1,600	
	12	works (£1 for £1)			25	
	13	Mokau River Scenic Reserve: Comp				
		acquired on south bend of Mokat purposes (balance)	i Kiver for sc	enic	3,000	
	14	Ngaruru Bay Scenic Reserve, acquis	sition of	•••	1,030	
	15	Puketarata 4H Block, near Wangan	ui, acquisitior	of	400	
	16	Purchase price of 874 acres of Ta				
		exchanged for 22,000 acres of lar karemoana (balance)	ia so liske /	v #1-	100	
	17	Round Bush, Foxton: Fencing	•••		120	
	18	Ruapekapeka Pa: Renovation		;	200	
	19	Section 9, Greystoke Settlement: P	ayment of cap	oital	1	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

680

# Appropriations for Scenery Preservation Account.

## SCENERY PRESERVATION ACCOUNT—continued.

Number of Persons.	Item.		1922–	23.
	- <u> </u>	SCENERY PRESERVATION—continued.		
19 <b>2</b> 2–23.		VOTE No. 68—continued.	£	£
	20	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Sections 30 and 32, Elthorpe Settlement: Payment		
	1 20	of capital value	413	
	21	Surveys, valuations, and incidental expenses	700	
	22	Trounson's Kauri Forest, charges in connection with		
		acquisition and maintenance of	1,745	
	23	Turuturumokai Pa Scenic Reserve: Cost of planting	<b>50</b>	
	24	native trees	76	
	24	Waipu Gorge Scenic Reserve: Acquisition of Part Section 137-9, Wairau Parish	200	
	25	Whangarei Borough Scenic Reserve: Contribution	200	
	-0	towards purchase (subsidy, £1 for £1)	685	
	26	Whitikau Scenic Reserve, capital value of	335	
			13,516	
		Less amount recoverable from Public Works Department representing one-third cost of acquisition of land at Lake Waikaremoana		
		Watershed	2,400	
		TOTAL -VOTE No. 68	11,116	11,1

SCENERY PRESERVATION ACCOUNT .. £11,141

# NAURU AND OCEAN ISLANDS ACCOUNT.

					19	22–23.	
				Salaries.	Othe	r Charges.	Total.
ote No. 6	9.—N	auru and Ocean Islands		£		£ 175,000	£ 175,000
	7	COTAL				175,000	175,000
Number of Persons.	Item.	NAURU AND OCI	EAN ISL	ANDS.		1922	2–23.
	1	VOTE No. 69.  OTHER CHARGES FOR AND IN Purchase and distribution Zealand, freight, agents of the expenses, &c.	n of pho	sphates in	New lling-	£ 175,000	£
		TOTAL—V	OTE No.				175,000

#### LAND FOR SETTLEMENTS ACCOUNT.

Salaries.   Other Charges.   Total.	• • • • • • • • • • • • • • • • • • • •		199	22–23.	
Vote No. 70.—Land for Settlements Expenses			Salaries. Othe	r Charges.	Total.
Number of Persons   Item.   LAND FOR SETTLEMENTS EXPENSES.   1922–23.	Vote No. 7	0.—I	·		
1922-23.   LAND FOR SETTLEMENTS EXPENSES.   1922-23.		<u>.</u>	TOTAL 440	4,818	5,258
VOTE No. 70.   £		Item.		1922	-23.
CLERICAL DIVISION.   767	1922–23.		VOTE No. 70.	£	£
1	1	1	CLERICAL DIVISION.	767	
Less second deduction from cost-of-living increase or bonus	1		1 5+ 6420	430	
Advertising, photographs, books, newspapers, and other publications	2			7	
Office fittings and requisites (including printing and stationery)		3	Advertising, photographs, books, newspapers, and other publications Audit fees		
Preliminary expenses, valuations, and expenses under the Land Settlement Finance Act			Office fittings and requisites (including printing and stationery)	30	
Services rendered by other Departments ‡250 Telephone services (including installation, extensions, maintenance, rent, and calls) 20 Travelling allowances and expenses 750 Typewriters: Purchase and upkeep 10 Contingencies, including unforeseen expenditure in-		7	Preliminary expenses, valuations, and expenses under the Land Settlement Finance Act Refund of proportion of land-tax and rates upon	500	
Travelling allowances and expenses 750 Typewriters: Purchase and upkeep 10 Contingencies, including unforeseen expenditure in-			Services rendered by other Departments Telephone services (including installation, extensions,	‡250	
		12	Travelling allowances and expenses Typewriters: Purchase and upkeep Contingencies, including unforeseen expenditure in-	750 10	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List." † Includes cost-of-living increase to scale salaries or wages. ‡ Surveys, &c., previously charged to preliminary expenses.

# Appropriations for Land for Settlements Account.

## ${\tt LAND} \ \ {\tt FOR} \ \ {\tt SETTLEMENTS} \ \ {\tt ACCOUNT}--continued.$

lumber Persons.	Item.		1922-	<b>2</b> 3.
922–23.		LAND FOR SETTLEMENTS EXPENSES—continued.		
		VOTE No. 70—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
		Lands Department—		
		Roading, drainage, improvements, &c., for the benefit		
		or protection of settlements under Section 77 of the Land for Settlements Act, 1908:—	!	
	14	Beaumont: River protective works (subsidy, £1	į	
		for £1)	400	
	15	Harihari Settlement: River protection (sub-		
		sidy, £1 for £4)	80	
	16	Hereford Settlement: Water-supply, Section 1	150	
	17	Heretaunga Settlement: Eradication of gorse	35	
	18	Kota Settlement: Formation and metalling Kota	900	
	19	Road	800 363	
	$\begin{vmatrix} 19\\20 \end{vmatrix}$	Longbush Settlement: Roading and fencing	909	
	40	Makareao Settlement: Extra mileage charge levied by Railways Department on railway-line		
		to lime-works	150	
	21	Ohauiti Settlement : Road to Oropi	400	
	22	Otekaike Settlement: Boring wells and erection		
		of wind-mills (subsidy, £1 for £1)	620	
	23	Otekaike Settlement: River protective works	210	
	24	Remuera Settlement, Auckland: Drainage of		
	05	Lake Omapere	35	
	$\begin{vmatrix} 25 \\ 26 \end{vmatrix}$	Steward Settlement protective works	$egin{array}{c} 270 \ 170 \end{array}$	
	$\frac{20}{27}$	Waari Hamlet: Formation of streets	170	
	4	Waddington Settlement: Roading and Drainage (balance)	20	
	28	Waipapa: Protective works, South Bank George	20	
		Stream, through Harkaway Flat (subsidy,		
		£1 for £1)	50	
	29	Wangapeka Settlement: Protective works to		
		prevent encroachment of river	100	
	30	Wilford Settlement: Removal of house from	240	
		Patrick Street	240	
			6,236	
			0,200	
	[		7,426	
	,	Less estimated credits under Section 48 of		
	1	the Public Revenues Act, 1910—		
	<i>'</i>	Land for Settlement Account (Dis-	ł	
	!	charged Soldiers Settlement Account),		
		(salaries, £750; preliminary expenses,	0.100	
		£849; travelling expenses, £569)	2,168	
		TOTAL—VOTE No. 70		5,2

LAND FOR SETTLEMENTS ACCOUNT

£5,258

Appropriations for Land for Settlements Account (Discharged Soldiers Settlement Account).

# LAND FOR SETTLEMENTS ACCOUNT. DISCHARGED SOLDIERS SETTLEMENT ACCOUNT.

	,		1922–23.			
				s. Other Charges.		Total.
ote No. 7	and for Settlement of Discharged	£ 		£ 5,123	£ 5,128	
	Soldiers: Expenses	•••	5,1		5,128	
Number f Persons.	j Item.	LAND FOR SETTLEMENT OF D	ISCHARGI	1922–2		2–23.
922–23.		SOLDIERS: EXPENSE VOTE No. 71.			£	£
	1	Administration of estates (including a year out of Land for Settlement Acc	ount)	l last	2,918	
	2 3 4 5 6 7	OTHER CHARGES FOR AND INCIDENTAL Goat Hill Settlement: Roading Inquiry Board: Expenses of Kopuku Settlement, access to Kopuku No. 2 Settlement, access to Oakwood Settlement, Canterbury: F Waitohi Peaks Settlement, roading	····		438 1,000 25 25 175 542	
		TOTAL—VOTE No.	71		2,205	5,123

## NATIVE LAND SETTLEMENT ACCOUNT.

			1922–23.			
			Salaries.	Other	Charges.	Total.
Vote No. 72	2.—N	Tative Land Purchase Expenses	£ 1,440		£ 7,248	£ 8,688
		TOTAL	1,440		7,248	8,688
Number of Persons.	Item.				1922	2–23.
1922–23.		NATIVE LAND PURCHASE E VOTE No. 72.	XPENSES.		£	£
. 2	1	*SALARIES—  CLERICAL DIVISION.  Class II— 2 at £525		٠	1,050	
1		Class IV— 1 at £430	•••		430	
3		Less second deduction from crease or bonus	cost-of-living	in-	1,480 40	
					†1,440	
	3	CHARGES FOR AND INCIDENTAL TO— Contribution towards expenses of U tion scheme Grant to Hon. A. T. Ngata to cover in attending meetings at Ruatoki	 expenses incu and elsewher	rred e in	500	
	4 5	connection with consolidation of the Crown and the Natives in Ur Legal expenses in connection with C Overtime to Messrs. H. R. H. Balne and R. J. Knight in connection	90 2,140			
	6 7 8	of the interests of the Crown ar Urewera lands (£75 each) Purchase-money for Te Aroha Block Travelling and general administration Valuation fees	225 1,643 2,500 150			
		TOTAL-VOTE N	o. 72		7,248	8,68

NATIVE LAND SETTLEMENT ACCOUNT .... £8,688

<sup>\*</sup> For particulars of salaries see "Public Service Classification List." † Includes cost-of-living increase to scale salaries or wages.

## Appropriations for Housing Account.

## HOUSING ACCOUNT.

							1	922–23.		
	Salaries.						es. Ot	her Charges.	Total.	
Vote No. 73.—Housing						3,	612	£ 147,625	£ 151,23'	
	TOT	AL	•••			3,	,612	147,625	151,23	
Number of Persons.	Item.							1929	2 <b>–23.</b>	
1922–23.	   V	OTE N	o. 73	HOUS	SING.				0	
	1	*Salari		TEDICAT	Division			£	£	
1			s <i>III</i> — at £480 (3 n				f time)	240		
1			s <i>IV</i> — at £405					405		
1			s V— at £380					380	•	
1			s <i>VI</i> — at £330 (4 n	nonths)	•••		•••	110		
		1 a 1 a	s <i>VII</i> — at £305 at £295 at £295 (1 n	aonth)		•••	£ 305 295 25		·	
6		1 a 1 a	at £235 at £200 at £105	1011011)	•••	•••	235 200 105			
					Division			1,165		
		1 at 1 at 1 at 1 at	£315 (4 mo £315 (2 mo £305 (2 mo £215 £154 (4 mo £142	nths) nths)		•••	525 53 51 215 52 284			
12			<b>£</b> 130	T.	•••	•••	130			
3		1 at	£920 ( $\frac{1}{2}$ mor £330 ( $1\frac{1}{2}$ mor £277 ( $\frac{1}{2}$ mor	onths)	SIFIED. 	•••	39 42 12			
25		Lode	ging-allowar	ice to Ca	dets and	Typistes		93		
			Less— Increases able fo Second	r the full	year	•••	51	3,733		
				ncrease o			70	_ 121		
								†3,612		

 $<sup>\</sup>ast$  For particulars of salaries see " Public Service Classification List." to scale salaries or wages,

<sup>\*</sup> Includes cost of-living increase

## Appropriations for Housing Account.

#### HOUSING ACCOUNT—continued.

Number of Persons.	Item.		1922-	-23.
	.	${\bf HOUSING} continued.$		
1922–23.		VOTE No. 73—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Acquisition of land	300	
	3	Advertising, newspapers, and other publications	25	
	4	Allowances to officers temporarily performing special		
		or higher duties	10	
	5	Audit fees	50	
	6	Bicycles: Purchase and upkeep	40	
	7	Commission	150	
•	8	Erection	133,000	,
	9	Fuel, light, power, and water	20	
	10	Insurance	3,200	
	11	Law-costs	50	
	12	Office fittings and requisites (including printing and		
		stationery)	200	
	13	Overtime and meal allowances	20	
	14	Payment to Labour Department for services of		
		officers	2,030	
	15	Postage, telegrams, and rent of boxes	200	
	16	Proportion of cost of sewerage at Miramar to connect	200	
	10	with workers' dwellings	900	
	17	Purchase of equity under Section 19, Housing Act,	200	
	11	1919 1919	300	
	18	Potes	500	
	19		350	
	1	Rent		
	20	Repairs and maintenance	500	
	21	Roading, surveying, &c	5,000	
	22	Services of messengers, charwomen, window-cleaners,	000	
		&c.	300	
	23	Telephone services	20	
	24	Travelling allowances and expenses	400	
	25	Typewriters: Purchase and repairs	10	
	26	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	50	
			147,625	
		TOTAL—VOTE No. 73		151,237
	İ			•

HOUSING ACCOUNT

£151,237

Appropriations for Discharged Soldiers Settlement Account and Fishing Industry Promotion Account.

#### DISCHARGED SOLDIERS SETTLEMENT ACCOUNT. •

						1922-	<b>2</b> 3.	
ote No.	74.—]	Expenses of Management	• • •		•••	£ 40,00	00	
		$ ext{TOTAL}$	•••	•••		40,000		
Number of Persons.	Item.	EXPENSES OI	D. D.C. A. N.T. A. C. L. EV.	NA TANTA		1922–	13.	
1922-23.		VOTE No. 74.	·	WEIN I.		£	£	
	1	Lands Department: Reco departmental expenses tration of the Discharg	connected v	with the a	dminis-	40,000		
	. 2	Other Charges for and inc Inquiry Board: Expe	ridental to—		•••	4,000		
		TOTALVO	TE No. 74	•••			44,00	

#### FISHING INDUSTRY PROMOTION ACCOUNT.

			,				19	22-23.	
			•		-	Salaries.	Othe	er Charges.	Total.
Vote No.	75.—	Fishing Indu	ıstry F	Promotion		£		£ 10,000	£ 10,000
		TOTAL	•••	•••	•••	•••		10,000	10,000
Number of Persons.	Item.	FISI	HING	INDUSTRY	PRON	IOTION.	: <del></del> ,- <del>-</del>	1929	2–23.
1922–23.		VOTE No.	75.					£	£
	1 2	Advance motion	s and e n Act, n reali	zation of secu	er Fishir  irities	•••	Pro- 	10,000 113	
			Γ	TOTAL— VOT	E No.	75	•••		10,113
FISHI	NG	INDUST	RY	PROMOTI	ON A	.ccount	 [		£10,113

## WESTPORT HARBOUR ACCOUNT.

				199	22–23.			
			Salaries.	Othe	r Charges.	Total.		
ote No.	76'	Westport Harbour	£ 600		£ 23,325	£ 2 <b>3,9</b> 28		
		TOTAL	600		23,325	23,925		
Number of Persons.	Item.	WESTPORT HARBOU	JR.		1922	2 <b>-2</b> 3.		
1922–23.		VOTE No. 76.			£	£		
2	1	SALARIES— UNCLASSIFIED.  1 at £400 1 at £200		£ 400 200	600			
	2 3 4 5 6 7 8	OTHER CHARGES FOR AND INCIDENTAL Accident insurance Dredging (including repairs and mai Grant to Westport School of Mines Harbour maintenance and working-Office expenses Working-expenses, repairs, and mai Contingencies, including unforeseen dental to the other items of the ve	intenance) expenses ntenance of tu expenditure i	ig nci-	850 14,700 25 6,650 300 850			
		Less estimated credits under S Public Revenues Act, 1910 Miscellaneous	Section 48 of	the	24,025			

WESTPORT HARBOUR ACCOUNT

£23,925

# WAR EXPENSES ACCOUNT.

				19	22–23.		
		<del></del>	Salaries.	Othe	er Charges.	Total.	
Vote No. 7	′7. —\	War Expenses—	£		£	£	
Subdivisi		I.—General Expenditure I.—Repatriation	27,750 14,963	Cr.	990,474 2 <b>64</b> ,535	1,018,224 Cr. 249,572	
		TOTAL	42,713		725,939 768,0		
Number of Persons.	Item.	•			192	22–23.	
1922–23.		WAR EXPENSES.					
1000-20.		VOTE No. 77.			£	£	
		Subdivision No. I.—General Exp	an di tauna				
		Subutitision 140. 1.—General 1924	enanun.				
	1	General Expenses—					
	1	Advertising, office expenses, prin exchange on remittances, &c.	ting, station	ıery,	10,000	n	
	2	Proportion rent High Commissione	r's Office in	con-	10,000		
	[	nection with war-expenses matt					
	3	registration Camps and depots, expenses of	٠ ١	•••	300		
	4	Clerical assistance	•••		34,647 $11,752$		
	5	Clerical assistance, Audit Branch	•••	•••	300		
	6	Clerical Assistance: Proportion sale	aries, High C	com-			
		missioner's staff, engaged on cler expenses, transport, &c.	ical work re	war	1,800	n	
	7	Compassionate allowance to A. T. G	riffin		28		
		Commissions and Courts of Inquiry					
	8	Compensation to H. H. Thompson			100		
	9	tence of court-martial, subseque Legal expenses of H. H. Thomps	ently annulle	d	100	)	
	"	with court-martial	on in connec	201011	53	3	
	10	Cost of special constables, &c., at R	arotonga to	quell			
•		riots by returned Rarotongan men	nbers of the	New			
	11	Zealand Expeditionary Force Educational and vocational training	• • • • • • • • • • • • • • • • • • • •	•••	98 5,450		
	12	Equipment	•••	•••	106,50	ő	
	13	Forage	• • •		500	0	
	14	Hanmer Farm	3'		100	0	
	15	League of Nations: New Zealand secretariat expenses for year endin					
		1922			6,000	0	
	16	Mechanical transport	•••	•••	500	0	
	17	Medals and decorations— Cost of war medals			1,92	6	
	18	Pay of medal engraving staff, mat	erials, engra	 ving-	1,02	0	
		machines, &c		•••	2,15	0	
	10	Medical expenses—			0.04	0	
	19 20	Artificial-limb manufacture Dental services	•••	•••	9,94		
•	21	Funeral expenses of ex-members	of New Zea	land		~	
		Expeditionary Force			2,00	0	
	22	Medical supplies and treatment of					
	23	tary hospitals, sanatoria, and a Salaries of administrative staff	t public hosp	oitals 	0.05		

# $Appropriations \ for \ War \ Expenses \ Account.$

### WAR EXPENSES ACCOUNT—continued.

Number of Persons.	Item.	WAR EXPENSES—continued.	1922-	23.
1922-23.		VOTE No. 77—continued.		
		Subdivision No. 1.—General Expenditure—continued.	£	£
		General Expenses—continued.		
	24	Pay of Troops— Provision for issues not cleared, balances of pay still		
		due, balances deceased soldiers' estates, refunds due to Australian and Imperial forces for ad-		
		vances to New Zealand Expeditionary Force, &c.	10,000	
	25	Retrospective Allowances— &		
		Children's 1,000 Widowed mothers and other dependants 2,000		
	0.0		4,000	
	26	Difference between New Zealand Expeditionary Force and Imperial rates of pay, allowances and		
,	:	gratuities for members of Imperial, Naval, and Air Forces domiciled in New Zealand	3,000	
	27	Postage, telegrams, cables, telephones, &c	5,000	
	28	Preparation of War Histories— Amount agreed upon in final settlement of		
		publishers' claim in respect of additional cost of printing first edition of Volume II, Official		
		History of the War	1,896	
	29	Balance of order of 1,000 copies of Volumes I, II, and III to be taken by Government in terms of		
	30	contract with publishers Grant to Major F. Waite for services in revision of	518	
	30	Gallipoli volume prior to publication of subse-		
	31	quent editions Prisoners of war and alien enemies, maintenance and	45	
	32	repatriation of Rations	25,000 35,000	
•	33	Refund to Wairarapa Patriotic Association of propor-	30,000	
		tion of proceeds of sale of Soldiers' Club, and officers' mess buildings at Featherston camp	150	
	34 35	Sale of surplus stores, expenses in connection with Superannuation: Arrears of Contributions of Railway	4,850	
		servants while serving with New Zealand Expedi-	400	
		tionary Force	400	
	36 37	Assisted passages of wives and fiancés Four weeks' privilege rail fares in New Zealand	200 800	
	38	Freight and charges on divisional equipment from		
	39	United Kingdom to New Zealand	10,000 10,000	
	40	Liability to Ministry of Shipping for passage money of New Zealand troops, proportion cost	1	
		reconditioning vessels, coal, bedding, &c. (including Hospital Ships)	475,000	
	41	Travelling-expenses	50	
	42	War gratuities— New Zealand Expeditionary Force, and V.A.D.'s		
		of British domocile who worked in New Zealand hospitals	10,000	
	49	War graves and memorials—	10,000	
	43	New Zealand's proportion of expenses of Imperial War-graves Commission	35,000	
	44 45	Miscellaneous expenses, photographing graves, &c. Contribution to Internal Affairs Department for	1,000	
	-5	proportion cost of staff dealing with overseas	900	
	46	graves records and correspondence Memorials to be erected, 6 at £5,000	309 28,400	
	47	War Graves: Supply of headstones for war graves in New Zealand and expenses incidental thereto.		
	1	Amount required to 31st March, 1923	2,500	

# $Appropriations \ for \ War \ Expenses \ Account.$

#### WAR EXPENSES ACCOUNT—continued.

Number of Persons.	Item.	WAR EXPENSES—continued.	1922	2–23.
1922-23.		VOTE No. 77—continued.	-	
		Subdivision No. 1.—General Expenditure—continued.	£	£
	48	War Office Account— Estimated balance of claims for animals, issues of equipment, miscellaneous charges against New Zealand Expeditionary Force, interest, &c	50,000	
		Less estimated credits under Section 48 of the Public Revenues Act, 1910, as under:—	1,110,739	
		Adjustment with War Office re per capita maintenance of troops in the field 1,910 Adjustment re divisional equipment 5,398 Otago Hospital Board: Part cost of erection of soldiers' ward 1,400 Privilege rail tickets returned to Railways Department 2,600 Rations handed over to Department of Health with military hospitals 3,500		
		Recoveries from—  Gilbert Islands re pay of Gilbert  Island members of N.Z.E.F 3,700  Tonga and Fiji re expenses of prisoners of war from those islands 1,000		
		Sale of— Dismantled camp timber 1,700 Medical stores 15,000 Mechanical transport to Post and Telegraph Department 5,000 Surplus stores 40,000 Vocational - training stores handed		
		over to Department of Health with military hospitals 1,450 Miscellaneous 9,857  Total—Subdivision No. I	92,515	1,018,22
		Subdivision No. II—Repatriation. Repatriation (Repatriation Act, 1918)—		, 1,010,32
	49	Salaries, including Honoraria OTHER CHARGES FOR AND INCIDENTAL TO—	14,963	
	50 51 52 53	Advertising Financial assistance to soldiers (mostly recoverable) General administration expenses Grant to Otago University towards fees of returned	50 63,000 1,000	
	54 55 56	soldier students  Postage, telegrams, and rent of boxes  Printing and stationery  Rent	750 1,500 800 1,600	
	57 58	Telephones Travelling allowances and expenses	125 200	
		Less estimated credits under section 48 of the Public Revenues Act, 1910, and repayments of loans	83,988	
		Total—Subdivision No. II		Cr 249,579
	]	TOTAL—VOTE No. 77		768,652

### PUBLIC TRUSTEE'S ACCOUNT.

Vote No. 80.—Public Trustee's  TOTAL	Account	142,	892 892	£ 44,505 44,505	Total. £ 187,397
	··· ··· ··· ··· ··· ··· ··· ··· ··· ··	142,	892	44,505	187,397
TOTAT.					187,397
TOTAL	on the Public Trust	ee's Acco			187,39
Number of Persons.	on the Public Trust	ee's Acco		1929	223.
Chargeable			unt.		
1922–23. VOTE No. 80.	•			£	£
1 %CATADIRG					
1 at £955 10 1 at £920 (A	Unclassified. 10s. (Public Trustee) 9s. (Assistant Public T assistant Public Truste l'inancial Adviser)	 Trustee) ee)	£ 1,138 956 920 500	3,514	
	PROFESSIONAL DIVISI	on.			
1 at £725	(Solicitor to Public Tr (Chief Accountant)	•••	725		-
$\begin{array}{c c} 3 & 1 \text{ at } \pounds675 \\ Class B \end{array}$	(First Assistant Solici	itor)	675 ———	2,237	
1 at £600	···	***	600		
$\begin{array}{c c} 13 & 12 \text{ at } £52 \\ Class C -  \end{array}$		•••	6,300	6,900	
1 1 at £485 Class D—		.,,	•••	485	
16 at £43		•••	6,880		
6 at £395 5 at £375			$2,370 \\ 1,875$		}
29 2 at £355		•••	710	11,835	,
	CLERICAL DIVISION	,			
Special Cla		٠.			
4 at £725	•••	•••	2,900		
6 1 at £700 1 at £675		• • • •	700 675		
Class I—	•••	•••		4,275	
10 at £625		•••	6,250	,	
13 3 at £575	•••		1,725	7 075	
11   Class II— 11 at £52	5	•••		7,975 5,775	
5 at £480			•••	2,400	
7   Class IV— 7 at £430 Class V—			•••	3,010	
40 at £38			15,200		
6 at £360	,	•••	2,160		
47 1 at £348	,	•••	345	17,705	

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

# Appropriations for Public Trustee's Account.

## PUBLIC TRUSTEE'S ACCOUNT—continued.

Number f Persons.	Item.	PUBLIC TRUST	PP'S ACCOUNT	T santi		1922~	23.
922-23.		VOTE No. 80continu		1conti	nuca.		
	1		ea.			£	£
	1	SALARIES—continued.					
		CLERICAL Class VI—	Division—contin	nued.			
•		1 at £360			£ 360		
		· 25 at £330	•••		8,250		
		10 at £310	• • •	•••	3,100		
38		2 at £295	•••	•••	590		
		Class VII— 15 at £305			4 575	12,300	
		5 at £295	•••		$egin{array}{c} 4,575 \ 1,475 \end{array}$		
		9 at £275	•••	•••	$\frac{1,175}{2,475}$		
		26 at £255	•••		6,630	ł	
		9 at £235		•••	2,115		
		4 at £230	•••	•••	920		
		13 at £215 64 at £200	•••	•••	$\begin{array}{c c} 2,795 \\ 12,800 \end{array}$		•
		4 at £150	• •	•	600		
		55 at £130	•••	•••	7,150		
0.46		39 at £105	•••		4,095		
248		5 at £90	•••	• • •	450	40.000	
	1	GEN	ERAL DIVISION.			46,080	
		3 at £430	ERAL DIVISION.		1,290		
		1 at £380	•••	•••	380		
		2 at £330	•••		660		
	1	1 at £320	•••		320		
		1 at £310 3 at £305		•••	310		
		1 at £295	•••	•••	$\begin{array}{c} 915 \\ 295 \end{array}$		
		1 at £275	•••		$\begin{array}{c} 235 \\ 275 \end{array}$		
		2 at £255	•••	•••	510		
		1 at £245	•••	•••	245		
		4 at £235	•••	•••	940		
		1 at £230 16 at £215	***	•••	$230 \mid 3,440 \mid$		
		1 at £203	***	•••	203	j	
		9 at £191	•••		1,719		
		1 at £175	•••		175		
		29 at £174	•••		5,046	1	
		1 at £170 14 at £154	•••	•••	$\begin{bmatrix} 170 \\ 2,156 \end{bmatrix}$		
		15 at £142	•••		$\begin{bmatrix} 2,130 \\ 2,130 \end{bmatrix}$		
		11 at £130	•••	•••	1,430		
		3 at £114			342		
105		3 at £105	•••	•••	315		
125		1 at £90	•••	•••	90	99 596	
550		Lodging-allowances	<b>5—</b> -			23,586	
	-	13 at £20	•••	•••	260		
		1 at £30	•••	•••	30		
		Temporary assistar	ice			290 3,038	
		Tomborm's appropar		•••	•••		
	1.	Less				151,405	
	1		of increases pro	ovided		-	
		for but no		•••	5,350		
		Second ded	uction from co	ost-of-			
		living incre	ease or bonus		3,163	0 540	
						8,513	
						*142,892	
						,	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages

### Appropriations for Public Trustee's Account.

#### PUBLIC TRUSTEE'S ACCOUNT—continued.

Number f Persons.	Item.		1922	2–23.
	-	PUBLIC TRUSTEE'S ACCOUNT—continued.		
1922–23,		NOTE No 90i	£	£
		VOTE No. 80—continued.	. ab	ab.
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Additions, improvements, repairs, maintenance, in-		
	4	surance of premises, plant, and motor vehicles	5,000	
	3	Advertising, photographs, books, newspapers, and	5,000	
	9		3,500	
	4	Audit Office for inspection of accounts	945	
	5	Commission to agents other than permanent officers	3,500	
	6	Legal expenses	200	
	7	Overtime and meal allowances	400	
		Payment to Department of Internal Affairs on ac-	200	
		count of—		
	8	Wages of custodian, messengers, charwomen, &c.	4,500	
	9	Proportion of salaries of officers in High Com-	2,000	
		missioner's office and proportion of rent	1,800	
	10	Payment to Post and Telegraph Department for	,	
		services of officers	1,000	
	11	Postage, telegrams, rent of boxes, freight, and cartage	5,000	
	12	Printing and stationery	5,000	1.00
	13	Rates	400	
	14	Rent	3,000	
	15	Stores for cleaning, lighting, &c	3,000	
	16	Telephone services (including installation, extensions,		
		maintenance, rent, and bureau fees)	1,035	
	17	Travelling expenses and allowances	5,000	
	18	Contingencies, including petty expenses, fidelity in-	1.	
		surance, business extension, and sundries	1,225	
			44,505	
	1	TOTAL—VOTE No. 80		187,3

PUBLIC TRUSTEE'S ACCOUNT

£187,397

### NATIVE TRUSTEE'S ACCOUNT.

						199	22-23.			
					Salaries.	Other	Charges.	Total.		
Vote No. 8	1.—1	Native Trustee's Ac	ecount		£ 6,0		£ 1,365	£ 7,397		
	,	TOTAL		;	6,0	32	1,365 7,3			
Number of Persons.	Item.				, ,		1922	2-23.		
1922-23.		For Services char	geable on the	Native T	rustee's Ac	count.	£	£		
	1	*Salaries—	Unclassi	FIED.						
1		1 at £920 (Na	tive Trustee)	•••	•••		920			
		P	ROFESSIONAL	Division	•					
1		1 at £525 (Acc	countant)		•••	•••	525			
		Class II—	CLERICAL DI	vision.		ļ		-		
1			Deputy Nativ	e Trustee	)		525			
1		Class IV— 1 at £430		•••		•••	430			
12		Class VII— 3 at £305 4 at £295 1 at £255 1 at £200 1 at £130 1 at £120 1 at £115				£ 915 1,180 255 200 130 120 115	2,915			
		1 -4 6101	GENERAL DI	VISION.		101				
4		1 at £191 1 at £181 1 at £130 1 at £105		•••	•••	191 181 130 105				
	-	1 20 200		•••	•••		607			
	$\frac{1}{2}$	Temporary as	ssistance				5,922 200	-		
		_					6,122	~-		
		Less sec crease	cond deduction or bonus	on from	cost-of-liv	ing in-	90			
							†6,032			

<sup>\*</sup> For particulars of salaries see "Public Service Classification List." † Includes cost-of-living increase to scale salaries or wages.

# Appropriations for Native Trustee's Account.

### NATIVE TRUSTEE'S ACCOUNT—continued.

1922–23.		Item.	Number of Persons.
ount	For Services chargeable on the Native Trustee's Account —continued.	 	<b>1922</b> -23.
£	VODE No 01		
	VOTE No. 81—continued.		
	OTHER CHARGES FOR AND INCIDENTAL TO-		
e, in-	Additions, improvements, repairs, maintenance, in-	3	
300			
50		4	
30		5	•
	Postage, telegrams, freight, cartage, and rent of boxes	6	
	Post and Telegraph Department: Payment for ser-	7	
50	vices	0	
300	Printing and stationery Rent	8 9	
10	Standard for alamina limbian Communica	10	
	Telephone services (including installations, exten-	11	
50		11	
150	M 11: 11	12	
	Contingencies, including unforeseen expenditure inci-	13	
25	January to the selection of the mater		
1,365			
7,38	TOTAL—VOTE No. 81		

### GOVERNMENT INSURANCE ACCOUNT.

						192	<b>22</b> –23.	
				Salarie	s. C	ther	Charges.	Total.
Vote No.	82	-Government Insurance Ac	count		£ 731		£ 61,787	£ 103,51
		TOTAL		41,	731		61,787	103,51
Number of Persons.	Item.			mental base and the second of the second			1922	2-23.
1922–23.	-	Chargeable on the Gov	ernment Insu	irance A	ecount	•  -		1
1522-20.	1	VOTE No. 82. *Salaries—	,				£	£
		ADMINISTR	ATIVE DIVISIO	ON.				
1		1 at £1,138 (Commiss					1 199	
1		•		•••	•	••	1,138	
			IONAL DIVISIO	N.			: , = .	1
2		1 at £791 (Actuary) 1 at £675 (Assistant	Actuory)	***		•••	791 675	
4	٠.	,	• ,	•••,	•	'	. 010	
			AL DIVISION.		,	,		
		Special Class— 1 at £837			<b>4</b> 88			
3	Ì	2 at £675	•••	•••	1,38			
		Class I—					2,187	
4	1	4 at £575 Class II—	•••	•••	•		2,300	
1		1 at £500		·			500	
,		Class III—						
3	İ	3 at £480 Class IV—	•••	•••		••	1,440	
6		6 at £430					2,580	
	!	Class V—			4 5/	20		
14		12 at £380 2 at £360	•••	•••	$\frac{4,56}{7}$	20		
11		Class VI—	•••	•••			5,280	
21		21 at £330	•••	•••			6,930	
		Class VII— 11 at £305			3,38	55		
		3 at £295	•••			35		
	ļ	7 at £275	•••	• • •	1,99			
		6 at £255	•••		1,53			
		5 at £235 4 at £215	•••	•••	$1, \frac{1}{8}$	60		
		18 at £200	•		3,60			
		4 at £130				20		į.
		1 at £105				05		
71		12 at £90		•••	1,08	30		
		Lodging-allowances	•••	•••			15,035 400	,
			т.					
		Gener 1 at £255	AL DIVISION.		9	55		
,		1 at £235	•••	•••		35		
	1	4 at £174		•••		96	•	
		2 at £130	•••	•••		30		
		1 at £114			1.	14		
		1 at £105	***	•••	10	)5		
11	1	1 at £75			,	75		

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

# Appropriations for Government Insurance Account.

### ${\tt GOVERNMENT\ INSURANCE\ ACCOUNT--} continued.$

1	Number of Persons.	Item.	GOVERNMENT INSURANCE ACCOUNT—continued.	1922–23.		
1   SALARRES—continued.   Chief Medical Officer   South Medical Officer   South Medical Officer   South Medical Officer   South Medical Officer   South Medical Officer   South Medical Officer   South Medical Officer   South Medical Insurance premiums   South	1922–23.		VOTE No. 82—continued.			
Chief Medical Officer		1	Salaries—continued.	£	£	
Chief Medical Officer			General Division—continued.			
For auditing accounts	1			450		
Clerical work performed   360   Probationary cadets   360	1		For auditing accounts			
Probationary cadets	138			*00		
Less second deduction from cost-of-living increase or bonus		,		. 1		
Less second deduction from cost-of-living increase or bonus						
OTHER CHARGES FOR AND INCIDENTAL TO—			Less second deduction from cost-of-living in-	42,571		
OTHER CHARGES FOR AND INCIDENTAL TO—   Advertising, photographs, books, newspapers, and other publications				840		
OTHER CHARGES FOR AND INCIDENTAL TO—   Advertising, photographs, books, newspapers, and other publications				41 501		
2			Other Charges for and incidental to	41,731		
Allowances to officers temporarily performing higher duties   50		2	Advertising, photographs, books, newspapers, and		•	
duties		3		750		
Commission (including canvassers' allowances)			duties	50		
Commission to district managers on the net increase in new business and commission to officers   1,500			Bank exchange and agency fees			
In new business and commission to officers			Commission to district managers on the net increase	34,000		
Bezar		_	in new business and commission to officers	1,500		
Contribution to salary of Minister's Private Secretary   35     Fees for certificates of death, &c		7		100		
Treight, cartage, and transport charges			Contribution to salary of Minister's Private Secretary			
11						
12		,				
13						
Medical fees						
Office-cleaning						
Stationery		15				
17		16		0.750		
Payment to Department of Internal Affairs for services of messengers, night-watchmen, and charwomen		17				
Services of messengers, night-watchmen, and charwomen		1		200		
19						
Remuneration to Post and Telegraph Department for services rendered						
Services rendered			Postage, telegrams, and rent of boxes	3,000		
Rent		20		7.0		
Repairs, &c.		01				
Special travelling-allowance to Supervisor of New Business						
Business		l l	Special travelling-allowance to Supervisor of New	8,000		
Telephone services (including installation, extensions, maintenance, rent, and calls) 300				60		
maintenance, rent, and calls     300     Temporary assistance     492     Travelling allowances and expenses     800     Typewriters: Purchase and upkeep     100     Valuation fees       150     Contingencies, including unforeseen expenditure incidental to the other items of the vote     100     Turney   100     Travelling allowances and expenses         Turney   100     Tu		24	Telephone services (including installation, extensions,			
26				300		
Typewriters: Purchase and upkeep 100 Valuation fees 150 Contingencies, including unforeseen expenditure incidental to the other items of the vote 100  The sestimated credits under Section 48 of the		1	Temporary assistance			
Valuation fees			Travelling allowances and expenses			
Contingencies, including unforeseen expenditure incidental to the other items of the vote   100  67,912  109,643  Less estimated credits under Section 48 of the						
cidental to the other items of the vote $\cdots$ $100$ $\hline 67,912$ $\hline 109,643$ Less estimated credits under Section 48 of the				150		
Less estimated credits under Section 48 of the		29	cidental to the other items of the vote	100		
Less estimated credits under Section 48 of the						
Less estimated credits under Section 48 of the			•			
			Less estimated credits under Section 48 of the	109,643		
			D-11' D A-4 1010	6,125		
TOTAL—VOTE No. 82 108			TOTAL—VOTE No. 82		108,51	

### GOVERNMENT ACCIDENT INSURANCE ACCOUNT.

					199	22-23.	
			-	Salaries.	Othe	r Charges.	Total.
Vote No. 8	3.—Government Accide	ent Insurance	Ac-	£		£ 10,975	£ 10,975
	TOTAL	•••		• • •		10,975	10,975
Number of Persons.	Chargeable on t	he Government Account.	: Accid	lent Insura	nce	1922 £	-23.
1	1						, ±
	Commission Commission to Law-costs Provision for p 24 of the 1908 Travelling allo Contingencies,	on officers of Dep cayments to Life Government A wances and exp including unfo he other items	ionery cartment e Brancecident censes preseen	ch under Se Insurance  expenditur	Act, 	550 4,500 50 250 5,500 75	35 

GOVERNMENT ACCIDENT INSURANCE ACCOUNT

£10,975

# Appropriations for State Fire Insurance Account.

#### STATE FIRE INSURANCE ACCOUNT.

		AA				19	22-23.	
					Salarie	es. Othe	er Charges.	Total.
7ote No. 8	34.—5	State Fire Insurance	•••	•••	22	,843	£ 52,950	£ 75,798
		TOTAL	•••		22	,843	52,950	75,798
Number	Item.						1	2.00
of Persons.	1.00111.	Ohannaahla an tha	. 64-4- Ti-				1929	2–23.
1922–23.	-{- <del></del>	Chargeable on the	e State Fil	e insui	rance Ac	count.		
		VOTE No. 84.					£	£
	1	*SALARIES-						
	!	ADMI	NISTRATIVE	Divisio	ON.	£		}
		1 at £920 (Genera	al Man <b>a</b> gei	(1 mor	ith)	* 77		
2	ı	1 at £791 (Deput	y General	Manage	er)	791	000	
	1	Cr	ERICAL DI	VISION.			868	
•		Special Class—						
1	į	1 at £700		• • •		, , ,	700	
		Class I—						I :
1		1 at £625		• • •	• • •	•••	625	
		Class II—						
0		1 at £550		• • •		550	!	
2		1 at £525		•••		525	1,075	
		Class III—						
1		1 at £475		• • •	• • •		475	  -
		Class IV-						
2		2 at £430					860	
		Class V-						•
3		3 at £380					1,140	
		Class VI—						
6		6 at £330			• • •		1,980	
		Class VII—						
		11 at £305				3,355		
		2 at £295				590		
		5 at £275				1,375		
	!	3 at £255				765		
		4 at £235				940		
		6 at £215		• • •		1,290		
	:	5 at £200 9 at £130				1,000	I I	
		5 at £105				$\substack{1,170\\525}$		
52		2 at £90				180		
92		2 20 250			• • •	160	11,190	

<sup>\*</sup>For particulars of salaries see "Public Service Classification List." 31—B. 7.

## Appropriations for State Fire Insurance Account.

	<i></i>	STATE FIRE INSURANCE A	.CCOUNT	-continued	J.	
Number of Persons.	Item.	<u> </u>		_ ;	1922-23.	
1922–23.	-	STATE FIRE INSURANCE ACC	COUNT—co	intinued.		<del></del>
1044 20.		VOTE No. 84—continued.			£	£
	1	Salaries—continued.		:		
		GENERAL DIVISIO	N	£		
		2 at £215	•••	430		
	1	6 at £191	•••	1,146		
	1		•••	696		
	ì	$4 \text{ at } \pounds 174 \qquad \dots$	•••			
		4 at £154	•••	616		
		4 at £142		568		
		$2 \text{ at } £130 \qquad \qquad \dots$	•••	260		
	1	1 at £114	•••	114	İ	
		6 at £105	•••	630		
32	-	3 at £90	•••	270		
	-				4,730	
102	_				23,643	
		Less-				
		Estimated credits under S	ection 48	ļ		
		of the Public Revenues		225		
		Second deduction from cos		220		
		increase or bonus	0-01-11 <b>4</b> 1118	575		
	1	increase or bonus	•••	575	unn l	
					800	
					*22,843	
				•		
		OTHER CHARGES FOR AND INCIDEN		a a one sist		
	2	Allowances to officers temporari	ıy periormii	ig special	0.5	
	1	or higher duties	•••		25	
	3	Allowances to married officers t	o suppleme	nt salary		
	ĺ	to minimum	• • •		15	
	4	Board fees for unofficial member			90	
	5	Grant to Mr. C. R. C. Robieson (la	ate General	Manager)		
		in lieu of leave on retirement	•••		460	
	6	Lodging-allowances			85	
	1	Office Premises: Capital Expen	diture—Lar	id. Build-		
	1	ings, Alterations, Addition				
		Mortgages, and Incidental E				
	7		vhenses	!	20	
	$\frac{7}{9}$	Auckland (on account)	• • •	•••	1	
	8	Hamilton		•••	3,338	
	9	New Plymouth (on account			7,050	
	10	Palmerston North (on accord	ınt)		9,250	
	11	Wellington (on account)	•••	• • •	33, <b>50</b> 0 <sub> </sub>	
	12	Contingencies, including unfore	seen expend	diture in-	ļ	
•		cidental to the other items of	the vote	•••	100	
					53,933	
	İ	Less estimated credits und	er Section	48 of the	•	
	!	Public Revenues Act, I				
	İ	Interest and sale of mat		ilton and	İ	
	1	Wellington office prem	ses		983	
		tremingson onice premi		•••	300	

STATE FIRE INSURANCE ACCOUNT

£75,793

52,950

75,793

TOTAL—VOTE No. 84 ...

 $<sup>\</sup>ensuremath{^*}$  Includes cost-of-living increase to scale salaries or wages.

Appropriations for Public Service Superannuation Fund Account.

### PUBLIC SERVICE SUPERANNUATION FUND ACCOUNT.

				ļ		19	22–23.	
				,   	Salaries.	Oth	er Charges.	Total.
ote No.	85.—	Public Service St Account	uperannuatio 	n Fund	£ 2,51		£ 3, <b>6</b> 36	£ 6,14
	,	TOTAL		· · · ;	2,51	0	3,636	6,14
Number of Persons.	Item.	<u></u>		· · · · · · · · · · · · · · · · · · ·		I and the second	1922	<b>–23.</b>
1922–23.		Chargeable on the	ie Public Sei Accoui		rannuation	Fund		
							£	£
	$\frac{1}{ }$	†Salaries—	CLERICAL 1	Division.				
1	1	Class I—					COF	
1		1 at £625 Class III—			•••	•••	625	
1		1 at £480			•••		480	
	I .	Class VII— 2 at £305		•••	•	£ 610		
3	:	1 at £275		•••	•••	275		
		Class VIII— 1 at £200				200	885	
3		2 at £105				210	1	
		Lodging-allov	vance				$\frac{410}{30}$	
				D				
1	•	1 at £215	GENERAL I	DIVISION.			215	
	-				,			i .
9	. !	liess seco	and deduction	from cost	-of-living in	Crease.	2,645	
	i	or bon				4	135	
							‡2,510	
	2	OTHER CHARGE Amount of				forged		
		signature	Constitution	···		iorgea	6	l
	3	Audit fees			<b></b>		50	
	4	Office fittings stationery)	s and requis	ites (inclu			250	· ·
	5	Postage, teles	grams, and se	ervices	***		275	
	6	Heating, ligh			***	• • •	100	
	8	Rent Typewriters a	and adding-m	 nachines (	 upkeep)		$\frac{120}{10}$	
	9	Medical fees	•••	···			50	:
	10	Public Truste		•••	•••		2,500	
	$\frac{11}{12}$	Election expe Messenger se		•••	•••	•••	$\frac{100}{75}$	
	13	Contingencies			•••	•••	100	
							3,636	
			TOTAL-V	OTE No.	85	•••	3,000	6,14

<sup>\*</sup> Previously voted under Internal Affairs Department.  $\dagger$  For particulars of salaries see "Public Service . Classification List."  $\ddagger$  Includes cost-of-living increase to scale salaries or wages.

# STATE ADVANCES ACCOUNT.

				19	22–23.	
			Salaries.	Othe	er Charges.	Total.
	$ion I \\ II$	tate Advances—  .—Advances to Settlers Branch  .—Advances to Workers Branch  .—Advances to Local Authorities  Branch	£ 12,535 2,351 498		£ 379,868 103,575 104,050	£ 392,403 105,926 104,548
	<u>"</u>	rotal	15,384		587,493	602,877
Number of Persons.	Item.				1922	-23.
1922-23.	-   	VOTE No. 86.—STATE ADV		7		
	1	Subdivision No. I.—Advances to S *Salaries—	Settlers Brand	ch.	£	£
		Classification and Increases u	INDER ACT.			
		Administrative Divisio	N.	*		
1		1 at £874 (Superintendent), (also Wor	kers Branch,	£46)	874	
		Professional Divisio	N.			
1		Class B— 1 at £600 (also Workers Branch,	£25)	• • •	600	
		CLERICAL DIVISION.				
1		Class II—  1 at £550 (also Workers Branch,  Class IV—	£25)	£	550	
$_4$		1 at £455 3 at £430	1	455 $,290$		
1		Class V—   1 at £380   Class VI—		•••	1,745 380	
		3 at £360 3 at £330 1 at £310	1 	,080 990 310		
11		2 at £305 2 at £295 Class VII—		610 590	3,580	 
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	 	550 255 430		
		1 at £200 5 at £150 1 at £125	•••	$200 \\ 750 \\ 125$		
1 17		2 at £120 2 at £115	•••	$\frac{240}{230}$		
17		1 at £90	•••	90		

<sup>\*</sup> For particulars of salaries see "Public Service Classification List."

2,870

# $Appropriations \ for \ State \ Advances \ Account.$

#### STATE ADVANCES ACCOUNT—continued.

Number of Persons.	Item.	VOTE No. 86.—STATE ADVANCES—continued.	1922-	-23.
922-23.	-	TOTAL NO. OU. SINIE IN THIODS—CONGREGATION		
		Subdivision No. I.—Advances to Settlers Branch—continued.	£	£
	1	Salaries continued.		
		Classification and Increases under Act—continued.		
		GENERAL DIVISION. £		
		1 at £235 235		
		1 at £215 215	i l	
		2 at £174 348		
5		1 at £114 114		
		TEMPORARY CLERKS.	912	
		5 at £4 6s. 6d. per week 1,125		
6		1 at £2 1s. per week 107		
		·	1,232	
47		Cadets' lodging-allowances	100	
			12,843	
		Less second deduction from cost-of-living increase or bonus	308	
			*12,535	
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other publications	25	
	3	Audit fees, proportion of	300	
	$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Cleaning, lighting, heating, &c Fees paid for special services rendered in respect of	325	
		securities	65	
	6	Income-tax	18,000	
	7	Interest on loans	346,500	
	8	Losses on realization of securities and doubtful securities written down for the year ended 31st March,		
		1922	2,323	
	9	New Zealand stock and bonds, management charges		
		payable to Bank of England	1,860	
	10	Office fittings and requisites (including printing and	000	
	11	stationery) Office maintenance	800	
	$\begin{vmatrix} 11 \\ 12 \end{vmatrix}$	Payment to Post and Telegraph Department for	200	
	12	services of officers	800	
	1	Payment to Valuation Department for—	300	
	13	Agency work	650	
	14	Valuation fees	5,000	
	15	Petty general expenses	40	
	16	Postage, telegrams, and rent of boxes	900	
	17	Refund valuation fees on loans not entertained	1,000	
	18	Rent	600	
	19	Solicitor's costs and Court costs	20	
	20	Telephone services (including installation, extensions,	20	
	0.1	maintenance, rent, and calls)	60	
	21	Travelling allowances and expenses	300	
	22	Typewriters and adding machines: Purchase and upkeep	100	
			379,868	
		Total—Subdivision No. I		392

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

### Appropriations for State Advances Account.

#### STATE ADVANCES ACCOUNT—continued.

Number f Persons.	Item.					1922-	23.
922–23.	-   	VOTE No. 86.—STA	TE ADVANO	ES—conti	nued.		
		Subdivision No. II.—	$-Advances \ to \ V$	Vorkers Br	anch.	£	£
	23	Salaries—					
		Administ	RATIVE DIVISION	ON.			
		1 at £46 (also Settler				46	
			SIONAL DIVISIO	N.			
	: ! : !	Class C— 1 at £25 (also Sett	le <b>r</b> s Branch, £0	600)	•••	25	
		Cleri	CAL DIVISION.				
	1	Class III—		FF0:			
		1 at £25 (also Sett	lers Branch, £	550)	•••	25	
1	1 1	Class VI— 1 at £330		•••		<b>3</b> 30	
		Class VII—			£		
	ļ	1 at £275	•••	•••	275		
	1	1 at £235	•••	•••	235		
	1 :	2 at £200	•••	•••	400		
10	'	5 at £150	•••	•••	750		
10		1 at £90	***	•••	90	1 750	
	1	Gene	RAL DIVISION.			1,750	
		1 at £142	•••	• • •	142		
2	1	1 at £105	•••	•••	105		
10	-					247	
13		Less second de	eduction from	cost-of-liv	ring in-	2,423	
		crease or bonu				4,440	
		0.00000	••	•••		72	
						*2,351	
		OTHER CHARGES FOR	AND INCIDENTA	L TO			
	24	Audit expenses, prop		•••	•••	150	
	25	Cleaning, lighting, h	eating, &c.	•••	•••	100	
	26	Interest on loans	•••	•••	•••	96,000	
	27 28	Income-tax Losses on realization securities written				4,000	
	00	March, 1922			-1	500	
	29	New Zealand stock a payable to Bank o		nagement	charges	390	
	30	Office fittings and re	equisites (inclu	ding print	ing and		
	31	stationery) Payment to Post a	ınd Telegraph	Departm	ent for	200	
		services of officers Payment to Valuation	n Department	for—	•••	450	
	32	Agency work	•••	•••	•••	350	
	33 34	Valuation fees	mene	•••	•••	1,000	
	35	Petty general experience Postage, telegrams, a	enses and rent of box	es		10 ± 150 ±	
	36	Refund of valuation	fees on loans n	ot entertai		100	
	1 00					175	
	37	${f Rent}$	•••	•••	• • •	110	
		Rent	•••	•••		170	
		Rent		••••		103,575	

<sup>\*</sup> Includes cost-of-living increase to scale salaries or wages.

#### Appropriations for State Advances Account.

#### STATE ADVANCES ACCOUNT—continued.

Number of Persons.	Item.		1922-	- <b>2</b> 3.
1922–23.	-	VOTE No. 86.—STATE ADVANCES—continued.		
1022-20.		Subdivision No. III.—Advances to Local Authorities Branch.	£	£
	38	Salaries—		
		CLERICAL DIVISION.		
	1	Class V—		
1		1 at £360	360	
		Class VII		
1		1 at £150	150	
2	-		510	
		Less second deduction from cost-of-living in-	310	
		crease or bonus	. 12	
			*498	
	1			
		OTHER CHARGES FOR AND INCIDENTAL TO-	_	
	39	Audit expenses, proportion of	50	
	40	Cleaning, lighting, heating, &c	25	
	41	Interest on loans	103,200	
	42	New Zealand stock and bonds, management charges payable to Bank of England	350	
	43	Office fittings and requisites (including printing and	550	
	40	stationery)	125	
	44	Payment to Post and Telegraph Department for	, 120	
		services of officers	125	
	45	Postages, telegrams, and rent of boxes	150	
	46	Rent	25	
			104,050	
		Total—Subdivision No. III		104,54
		TOTAL-VOTE No. 86		602,87

\* Includes cost-of-living increase to scale salaries or wages.

£602,877

STATE ADVANCES ACCOUNT

By Authority: W. A. G. SKINNER, Government Printer, Wellington.—1922

• • • .